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➺➂⑨➀♥➄✐➂➓✇❫✺❸s③❑♥❚❦♠❫s➐❚❦✉❫☞❶❥❫✺➓➡⑨✲⑩❬r✉③❑⑩➒⑨➀➅❊⑨➀❦♠t✇③❑♥❂❶❥❫◗✐❛③❊♥➄❶❥❫◗✐❝❫❪➓➝❫◗❸➜❦♠r✉③❑❭✘⑨❑➅❑♥❬♣s❦♠t➡✈❊♦➄❫❪✐❪↔➒♥❬③❊♦➄✐➂♥❬③❑♦➒✐❝t✇♥❚❦♠♣sr✉❫❪✐✉✐♠③❑♥➄✐➂⑨➀♦◆⑩➄r♠③❑❰
↕❬➓✇❩s❭q❫→❶❥❫②❶❬t➭➯❲r✉⑨❊❸➜❦✉t➝③❊♥➂⑩➒⑨➀r❆❶❥❫◗✐➧➦➄➓➡✐➧❭qt✇♥➄❸✓❫◗✐✵⑩➄⑨❑r❧➑➲⑨❑t➭❦✉❫s❭q❫s♥❚❦✵❸✓③❊♥➄❶❥♦➄❸✓❦♠❫s♦➄r✉✐❪➟✢❢❄t❑➓❯Ï ③❑♥✰✐♠♦❬⑩❬⑩■③❊✐♠❫②✈❚♦❬❫P➓➝❫❪♦❬r✵♣❪⑩➄⑨➀t➡✐♠✐♠❫s♦➄r
❫❪✐❧❦❝↕❬t✇❫s♥❂⑩➄➓➝♦➄✐❝⑩➒❫s❦♠t➝❦♠❫✺✈❊♦➄❫✰➓✇⑨q➓✇③❑♥➄➅❑♦❬❫❪♦❬r❝❶➧Ï ③❑♥➄❶❬❫✝❸s⑨❑r✉⑨❊❸➜❦♠♣❪r♠t➝❦♠t➡✈❚♦❬❫✪❶❥❫✰➓❈Ï ③❊♥➄❶❥❫✪t✇♥➄❸✓t➡❶❥❫❪♥❊❦✉❫❑↔■t➝➓✌♥✵Ï ❫❪✐❧❦❝⑩➄⑨❑✐✤⑩➒③❚✐❧t✇↕❬➓✇❫
❶❥❫✪⑩❬r✉❫s♥➒❶❥r♠❫➂❫s♥❂❸s③❑❭q⑩❥❦♠❫✰❶❬❫❪✐✯➦➄➓➡✐✡❭qt➝♥➒❸✓❫❪✐✡✐✉⑨➀♥➒✐✯➑➲⑨➀t✇r♠❫➂➑➲⑨❑❸s❫✪Ð☞♦➄♥✣⑩➄r♠③❊↕❬➓➝❩❪❭q❫❷❶❬❫✪➣❑❫sr✉r✉③❑♦❬t✇➓➝➓➡⑨➀➅❊❫❝♥❄♦❬❭q♣sr✉t➡✈❊♦➄❫❑➟
Ñ✵❫❛❭q③❄❶❬❩s➓✇❫➂❶❥❫❷➨✤③❊➓➝➓➡⑨➀♥➒❶➧↔❄➓✇⑨❑r♠➅❊❫s❭q❫s♥❚❦→♦❥❦✉t➝➓✇t➡✐❧♣❷❶❬⑨➀♥➒✐→➓✇❫❪✐✕❸✓③❥❶❥❫◗✐✴❶❬t➭➯❲♣sr✉❫s♥➄❸s❫❪✐→➦➄♥❬t➡✐s↔❚➑➛③❊♦❬r♠♥➄t➭❦✕♦❬♥❬❫❷✐❧③❊➓➝♦❬❦♠t✇③❑♥✼⑩❬r⑥⑨➀➅❑❰
❭✘⑨✩❦✉t✇✈❚♦❬❫❝Ð✝❸✓❫✤⑩❬r✉③❑↕➄➓➝❩❪❭✺❫❊↔❑❫❪♥✘❭✺③❥❶❥t➝➦➒⑨❑♥❊❦✴➓➝❫➂✐♠❸⑥❨❬♣❪❭✘⑨❷♥❚♦➄❭✺♣❪r♠t➡✈❚♦❬❫❝✐♠♦❬r→✈❚♦❬❫❪➓✇✈❚♦❬❫◗✐②♥❬③❄❫s♦➒❶❬✐→❶❥♦✘❭✘⑨❑t➝➓✇➓✇⑨❑➅❑❫✤⑨❼➣❊③❑t➡✐❧t➝❰
♥➄⑨❑♥❊❦②➓✇❫❪✐②➦➄➓➡✐s➟✶Ò❑♦➒✐♠✈❚♦✵Ï Ð❷⑩❬r✉♣❪✐♠❫s♥❚❦→❸✓❫✡❭q③❥❶❥❩s➓✇❫✤♥✵Ï ⑨❷⑩➄⑨❊✐Pr♠❫◗Ó✓♦✘❶❥❫P④⑤♦➒✐⑤❦✉t➭➦➒❸❪⑨✩❦✉t➝③❊♥☞❦✉❨❬♣s③❊r♠t➡✈❚♦❬❫✤✐♠③❑➓✇t✇❶❥❫❊↔❑❫s❦→t➝➓➒t➝❭q⑩❬➓✇t➡✈❊♦➄❫
♦❬♥◆⑩➒⑨➀r⑥⑨➀❭q❩✓❦✉r♠❫✰⑨❑⑩❬⑩➒❫❪➓➝♣☞➓❯Ï t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫✝➓✇t✇♥❬♣st➡✈❚♦❬❫❑↔❲✈❚♦✵Ï t✇➓✶❶❥③❑t➝❦❛Ôs❦♠r✉❫✝❸⑥❨❬③❑t➡✐♠t✌✐♠♦❬t➝➣✩⑨❑♥❊❦➂❶❥❫❪✐➂❸✓③❊♥➄✐❧t➡❶❥♣❪r❧❦✉t➝③❊♥➄✐✡❨❬❫❪♦❬r♠t➡✐❧❰
❦♠t➡✈❚♦❬❫❪✐❪➟
❴✤③❊♦➄✐❛♥❬③❑♦➄✐❛t✇♥❊❦✉♣sr✉❫❪✐✉✐❧③❊♥➄✐✤t➡❸✓t✶⑨➀♦➞⑩❬r♠③❊↕❬➓✇❩s❭q❫✝❭q③❥❶❥❩s➓✇❫q❶❥❫✝➓➡⑨✲❶❥t➝➯❲r✉⑨❊❸➜❦♠t✇③❑♥➻⑨❑❸✓③❊♦❬r♠❦♠t➡✈❊♦➄❫✰⑩➄⑨➀r➂♦❬♥➻⑩➒❫s❦♠t➝❦➂③❊↕➄✐⑤❦⑥⑨❑❸s➓➝❫❊↔
⑨❼➣❑❫◗❸✘❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥➩❶❥❫✣➺❝t✇r✉t✇❸⑥❨❬➓✇❫✓❦q⑨➀♦➳↕■③❑r⑥❶➧↔P❫s♥Õ❶❥❫s♦❥➐➫❶❥t✇❭q❫s♥➄✐♠t✇③❑♥➄✐☞❶❬⑨➀♥➄✐✝♦❬♥➩❭qt✇➓➝t✇❫s♦➩❨❬③❑❭q③❑➅❊❩s♥❬❫❊➟◆❴✤③❊♦➄✐✝⑩➄r♠♣s❰
✐♠❫s♥❚❦♠③❊♥➄✐✪❫✓❦q⑨➀♥➄⑨❑➓➝❤❥✐♠③❑♥➄✐❷♦➄♥➩✐♠❸⑥❨➄♣s❭✘⑨✮♥❄♦❬❭q♣sr✉t✇✈❚♦❬❫✲✈❚♦❬t✴❫❪✐❧❦✺❸s③❑❭q⑩➄⑨✩❦✉t➝↕➄➓➝❫✲⑨❼➣❊❫❪❸✺➓✇❫❪✐☞❭✺♣s❦♠❨❬③❥❶❥❫◗✐✰♣❪➓➝♣❪❭✺❫❪♥❚❦✉✐✪➦➒♥❬t✇✐
✐❧❦✉⑨➀♥➒❶❬⑨➀r⑥❶❬✐✪➾➲✐✉⑨➀♥➒✐✡r✉⑨➀Ö✘♥❬❫s❭q❫s♥❚❦✤❶❥❫✪❭✘⑨➀t✇➓✇➓✇⑨❑➅❑❫◗➪✯❫s❦✤♥❬❫✝✐♠③❑♦❥➯❲r✉❫❷❶❬❫✪➣❑❫sr✉r✉③❑♦❬t✇➓➝➓➡⑨➀➅❊❫❛♥❄♦❬❭q♣❪r♠t➡✈❚♦❬❫❑➟✯×✴❫✰✐✉❸⑥❨❬♣❪❭q⑨✺❭q♣✓❰
➓➡⑨➀♥❬➅❊❫❝❶❥❫❪✐②❦♠❫◗❸⑥❨❬♥❬t➡✈❊♦➄❫❪✐✯❶➧Ï ⑨❑♥➄⑨➀➓✇❤❥✐❧❫✤⑨❊✐❧❤❄❭q⑩❥❦✉③➀❦♠t➡✈❚♦❬❫❝⑨❼➣❊❫❪❸✡♦❬♥➄❫✤➑➛③❑r✉❭✝♦➄➓✇⑨➀❦♠t✇③❑♥✘❶❥❫✤❦⑤❤❄⑩■❫❛❶❥③❊❭✘⑨➀t✇♥❬❫✡➦➒❸✓❦♠t➝➑⑤➟→❢❄♦❬t✇➣❼⑨❑♥❚❦
➓✇❫❪✐②r✉♣❪✐♠♦❬➓➝❦✉⑨➀❦✉✐P✈❚♦❬❫✤♥❬③❊♦➄✐②❶❥♣❪❭q③❑♥❚❦♠r✉③❑♥➄✐→✐❧♦❬r✴❸✓❫❝✐✉❸⑥❨❬♣s❭✘⑨➄↔➀♥❬③❑♦➒✐→⑨➀↕■③❑♦❬❦♠t➡✐♠✐♠③❑♥➄✐PÐ✰♦❬♥❬❫✡➅❑♣❪♥❬♣sr⑥⑨➀➓✇t➡✐♠⑨➀❦♠t✇③❑♥q❶❥♦✘❭q③❄❶❬❩s➓✇❫
❶❥❫✣➨✤③❑➓✇➓➡⑨➀♥➄❶➳❫s❦✺Ð❂♦➄♥➩❸s⑨❑➓✇❸s♦❬➓✯⑨❑♦❥❦♠③❊❭✘⑨✩❦♠t➡✈❚♦❬❫✲❶❥❫☎➓❯Ï t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫✲➓✇t✇♥❬♣st➡✈❚♦❬❫❑➟➥❴✤③➀❦✉r♠❫☎⑨➀♥➄⑨❑➓➝❤❥✐♠❫✲⑨➀❭q❩s♥➄❫❑↔PÐ◆♥❬③❑❦♠r✉❫
❸✓③❊♥❬♥➄⑨❑t✇✐✉✐♠⑨❑♥➄❸✓❫❊↔❥Ð☞➓➡⑨✺⑩❬r✉❫s❭qt➝❩❪r♠❫✯④⑤♦➄✐❧❦♠t➝➦➒❸❪⑨✩❦♠t✇③❑♥✣❦✉❨❬♣s③❊r♠t➡✈❚♦❬❫➂❶❬❫✰❸✓❫➂❦⑤❤❄⑩➒❫✰❶❥❫✪❭q③❥❶❥❩❪➓➝❫❊➟
Ø❹➬ ➉❪➈ ➴ ➌❊Ù ❐ ➈➥➍ ➠✢t✇➓❯↔✢⑩■❫✓❦♠t➝❦✝③❊↕➄✐⑤❦⑥⑨❑❸s➓➝❫❊↔✌❶❥t➝➯■r⑥⑨❑❸✓❦♠t✇③❑♥✵↔✌♣s➓✇♣s❭q❫s♥❚❦⑥✐➂➦➄♥❬t➡✐s↔✢❭q③❄❶❬❩s➓✇❫✼❶❥❫✼➨✤③❊➓➝➓➡⑨➀♥➄❶✵↔❆❭q♣✓❦✉❨❬③❥❶❥❫✼❶❥❫✘➓➡⑨
➑➛③❑♥➒❸➜❦♠t✇③❑♥✮✐♠t➝♥❬➅❊♦❬➓✇t➝❩❪r♠❫❊↔❥♣❪✈❚♦➄⑨✩❦✉t➝③❊♥✣❶❬❫✰➨✤❫s➓✇❭q❨❬③❑➓➝❦♠➽



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é í

î ★✰✠☞☛✌✞✡✠☞☛✌✥

ï✏ð✓ñ ➉❪➊ ➬ ➮✌❒✢➌➀➉◗ò ➬ ñ ó
ôöõ❛÷ ➋❬➌➀➉✘➋ ñ ➮ø➈◗ò➲❮➳ù✶Ù➲ò➲ú ➹ ➮➳ù✢➊ ➬ ➇✶Ù ➹ ❮➫➈ û

❾❥➟✇üý①②r✉❫s➓✇t➝❭qt✇♥➄⑨➀r✉❤✼r✉❫❪✐♠♦❬➓➝❦✉✐✕③➀➑P⑨❑✐♠❤❄❭q⑩❥❦♠③❑❦♠t➡❸➂⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐þ➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ➁
❾❥➟ÿ❾ ❢❄t✇❭q⑩❬➓➝t➝➦➄❫◗❶✮⑩❬r♠③❊↕❬➓✇❫s❭ ➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü◗❿

✁✄✂ ò➲➈◗➌➀➊ ➹ ➉❪ò✆☎❊➋❥➉❪ò ➬ ñ ➬✞✝ ➉✠✟ ➹ ➈◗ò➲❮➳ù✶Ù➲ò➲ú ➹ ➮➫ù✢➊ ➬ ➇✶Ù ➹ ❮ ï❬ô
í ➟✇ü✚❢❄③❊➓➝♦❥❦✉t➝③❊♥✮③➀➑❆❦✉❨❬❫✰✐♠t➝❭q⑩❬➓✇t➭➦➒❫❪❶✣⑩❬r✉③❑↕❬➓✇❫s❭✧♦➒✐❧t✇♥❬➅✘✐⑤❦⑥⑨➀♥➄❶➄⑨➀r⑥❶☎❶❥t➡✐✉❸✓r✉❫✓❦♠t✇➽❪⑨➀❦♠t✇③❑♥ ➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü í

í ➟✇ü❑➟✇ü ➠➄③❑r✉❭✝♦❬➓➡⑨✩❦✉t➝③❊♥➫➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü í
í ➟✇ü❑➟ÿ❾ ❢❚❦⑥⑨➀↕❬t✇➓✇t➭❦⑤❤✣✐⑤❦✉♦➄❶❥❤ ➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü í

í ➟ÿ❾ ❴✤♦➄❭✺❫❪r♠t➡❸s⑨❑➓✵❫✓➐❥⑩■❫sr✉t➝❭q❫❪♥❊❦⑥✐✯➑➛③❑r✕❦✉❨❬❫✰✐❧t✇❭q⑩❬➓✇t➭➦➄❫◗❶✮✐♠❸⑥❨❬❫❪❭q❫❽➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü☛✡
ó ➆✲❒✌☞■❮ ➹ ñ ➉ ➹ ➮✎✍✣➋➄Ù ➹ ➊☛✏✵ò ñ ➈◗➌✑✟ ➹ ❮ ➹ ï✓✒

➃➄➟✇üý①②r✉❫❪✐♠❫s♥❚❦✉⑨➀❦♠t✇③❑♥✮⑨➀♥➄❶☎➦➄r⑥✐❧❦✡⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐✯③➀➑✢❦♠❨❬❫❷❭q❫✓❦✉❨❬③❥❶ ➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü✑✔
➃➄➟ÿ❾✖✕➂➓✇③❑↕➄⑨❑➓✵❸✓③❑♥➒✐❧t➡✐⑤❦✉❫s♥➄❸s❤ ➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ü✑✗
➃➄➟ í✄✘ r✉r♠③❊r✡❫❪✐❧❦♠t✇❭✘⑨✩❦♠❫✪⑨❼➔✕⑨❼❤q➑➛r♠③❊❭✾❦♠❨➄❫✪③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫✧➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ❾❬ü
➃➄➟ ➃ ❴✤♦➄❭✺❫❪r♠t➡❸s⑨❑➓✵❫✓➐❥⑩■❫sr✉t➝❭q❫❪♥❊❦⑥✐✕③❑♥☎❦♠❨❬❫✰⑨❑♦❬➅❑❭q❫❪♥❊❦✉❫❪❶✲➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉t➝③❊♥ ➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ❾❬ü

✙✖✚ ➉❪❒✢➮ ➘✱➬✛✝ ➉✑✟ ➹ ➋➄➮✌➮✢ò➛➉◗ò ➬ ñ ➋❬Ù✯➈✑✟✌➋❥ù ➹✜✝ ❒ ñ ➌➀➉◗ò ➬ ñ ô➄ó
✡❥➟✇ü✢✕➂➓✇③❑↕➄⑨❑➓➧❫❪✐❧❦♠t✇❭q⑨➀❦♠❫➤➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ❾✣✡
✡❥➟ÿ❾ Ñ✵③❥❸❪⑨➀➓➧❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫✚➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ❾✥✤
✡❥➟ í ➎➏➓✇➓➝♦➄✐❧❦♠r⑥⑨✩❦✉t➝③❊♥ ➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ❾✥✗
✡❥➟ ➃ ➺❛❫❪❸✓③❊❭q⑩➒③❚✐❧t➝❦♠t✇③❑♥✮③➀➑✌❦♠❨❬❫✰⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓✵✐❧❨➒⑨➀⑩■❫❛➑➛♦➄♥➄❸➜❦✉t➝③❊♥ ➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ í ❿

✡❥➟ ➃➄➟✇ü ❴❝♦❬❭q❫sr✉t✇❸❪⑨➀➓✵➺❛t➝r⑥⑨❑❸❷➠❬♦➄♥➄❸➜❦✉t➝③❊♥✫➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ í ❿
✡❥➟ ➃➄➟ÿ❾ ⑧✡❫❪➅❑♦❬➓➡⑨➀r✉t✇➽s❫❪❶✲①✶③➀❦♠❫❪♥❚❦♠t➡⑨➀➓ ➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ í ü

û✄✦✧✟ ➹✩★❂➬ Ù❯Ù➲➋ ñ ➮ ❮ ➬ ➮ ➹ Ù ✁✞✁
✤❬➟✇üý①②r✉❫❪✐♠❫s♥❚❦✉⑨➀❦♠t✇③❑♥✣③➀➑✢❦♠❨❬❫✰➨❝③❑➓✇➓✇⑨❑♥➄❶✣❜❂③❥❶❥❫s➓➙➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ í❊í
✤❬➟ÿ❾ ⑧✡❫❪➓✇⑨➀❦♠t✇③❑♥✮↕➒❫s❦⑤➔✴❫❪❫s♥✮⑨➀♦❬➅❊❭q❫s♥❚❦♠❫◗❶✪✕❷⑨❑➓➝❫❪r♠➢❄t✇♥✣✐✉❸⑥❨❬❫s❭q❫✪⑨➀♥➒❶☎➨❝③❑➓✇➓✇⑨❑♥➄❶☎✐✉❸⑥❨❬❫❪❭✺❫✾➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ í ✡
✤❬➟ í ❳✕❨❬❫❪③❑r✉t➭❦✉t✇❸❪⑨➀➓ ✘ ➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥☎③➀➑✢❦♠❨❬❫✰Ñ❆t➝♥➄❫st➡❸❷➎➏♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫ ➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ í ✤
✤❬➟ ➃ ①②r✉③❄③➀➑✶③➀➑✌♥❄♦❬❭q❫❪r♠t➡❸s⑨❑➓➧➓➝③❥❸⑥➢❄t➝♥➄➅✱➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ➃❄❾

➆ ➆✼ù✢ù ➹ ñ ➮✌ò ÷ ó✫✁
✬ ➟✇ü➼❴✤t➝❦✉✐✉❸⑥❨❬❫✰⑨❑♥➄❶✣❢❬❸⑥❨➄⑨✩❦✉➽❑Ï❥❦✉❨❬❫s③❊r♠❫❪❭ ➟✪➟❷➟✪➟❷➟✪➟✪➟❷➟✪➟➂➟✪➟❷➟✪➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟➂➟✪➟❷➟✪➟❷➟✪➟❷➟✪➟✪➟ ➃ í
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↕➄⑨❊❶☎❸s③❑❭q⑩❬♦❥❦⑥⑨✩❦♠t✇③❑♥➒⑨➀➓➧❫✓Ö✼❸st➝❫❪♥➄❸✓❤❊➟

➎➏♥➻❦♠❨❬t➡✐❷➔✴③❊r♠➢❂➔✯❫✺⑩❬r♠③❊⑩➒③❚✐❧❫q⑨✣➔✯⑨❼❤✮❦✉③✮↕❚❤❄⑩➄⑨❊✐♠✐❷✐♠♦➄❸⑥❨➻⑨✣r✉❫✓➦➄♥➄❫s❭q❫s♥❚❦❪➟✺➵➥❫✼❸⑥❨❬③❄③❊✐♠❫☞⑨✮✐❧t✇❭q⑩❬➓✇t➭➦➄❫◗❶➤❸✓③❑♥❚❦✉❫✓➐❄❦
⑨➀♥➒❶✼❸✓③❊♥➄✐❧t➡❶❥❫❪r✴⑨☞❾✩❰❍➺þ➅❑❫❪③❑❭q❫✓❦✉r♠❤✺➔✡❨❬❫❪r♠❫➂➨✤❫s➓✇❭q❨❬③❑➓➝❦♠➽❛❫❪✈❚♦➄⑨➀❦♠t✇③❑♥✼❨➄⑨❊✐P❦✉③✝↕■❫➂✐♠③❑➓✇➣❑❫◗❶➧➟✢❳✕❨➄t✇✐✴➔✴③❊r♠➢✺t➡✐✴⑨✰➦➄r✉✐❧❦✯✐❧❦♠❫❪⑩
❦♠③✩➔✕⑨➀r⑥❶☎❫✓Ö✼❸✓t✇❫s♥❚❦❝❭q❫✓❦✉❨❬③❥❶❬✐✤⑨❑↕❬➓➝❫✰❦♠③q❦✉⑨❑➢❑❫✪t✇♥❚❦♠③✼⑨❑❸❪❸✓③❊♦❬♥❚❦✤⑩➒❫❪r❧➑➛❫◗❸➜❦♠➓✇❤✮❸✓③❑♥➒❶❥♦➄❸➜❦✉t➝♥➄➅q❦♠❨❬t✇♥❂➔✡t➝r✉❫❪✐✤t➝♥◆✐♠t➝❭☞♦❬➓➡⑨✩❦♠t✇③❑♥➒✐
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(Γε) : r = εγ(θ).

Γ
ε

Ωobs

ΓR

➠✢t✇➅❑♦❬r✉❫qü✥❊❑✕➂❫s③❊❭q❫✓❦♠r✉❤✼③❑➑❆❦♠❨➄❫✪⑩❬r♠③❊↕❬➓✇❫s❭

❳✕❨❬❫✤③❊♦❥❦♠➓✇t✇♥❬❫❝③❑➑■❦✉❨❬t➡✐→➔✯③❑r✉➢✝t➡✐→⑨❊✐P➑➛③❑➓✇➓✇③✩➔✤✐s➟✢➵➻❫➂❸✓③❊♥➄✐❧t➡❶❥❫❪rP➦➄r⑥✐⑤❦✴⑨✰⑩❬r♠③❊↕❬➓✇❫s❭ ❸s⑨➀➓✇➓✇❫❪❶✧▲❧❫✓➐❬⑨❑❸✓❦◆▼✕❦♠❨➄⑨➀❦→❦✉⑨❑➢❑❫◗✐P❦♠❨➄❫
➑➛③❑r✉❭✧③❑➑✶⑨q✐✉⑨❑❶❬❶❥➓✇❫❷⑩➒③❊t➝♥❚❦✤⑩❬r✉③❑↕➄➓➝❫❪❭❡➾

a
↔
bε
↔
V
⑨❑♥➄❶

Q
❫✓➐ ➔✡t✇➓✇➓➧↕➒❫✰❶❥❫s➦➄♥❬❫◗❶☎➓➡⑨✩❦✉❫sr➜➪➜➟






➠✌t✇♥➄❶
(uε, pε) ∈ V ×Qex

✐❧♦➒❸⑥❨✲❦✉❨➄⑨✩❦

a(uε, v) + bε(v, pε) = 〈f, v〉V,V ′ ∀v ∈ V,

bε(uε, q) = 0 ∀q ∈ Qex.

➾⑤ü❊➟➝ü❼➪

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ✡

➎➏♥➳❦✉❨❬t✇✐✝⑩❬r✉③❑↕❬➓✇❫s❭✮↔✶➔✴❫✼❦✉⑨➀➢❊❫✼t✇♥❊❦✉③➞⑨❑❸❪❸✓③❊♦❬♥❚❦✪❦♠❨❬❫☎⑩❬r♠❫◗✐❧❫❪♥➄❸✓❫✘③❑➑❝⑨◆✐♠❭q⑨❑➓➝➓✴③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫✘➔✡t➭❦✉❨➩❶❥t➡⑨➀❭q❫✓❦✉❫sr
ε
↔P✐♠③❂❦♠❨➄❫

✐♠③❑➓✇♦❥❦♠t✇③❑♥
(uε, pε)

♥➄⑨✩❦✉♦❬r⑥⑨➀➓✇➓➝❤❂❶❥❫❪⑩➒❫❪♥➄❶❬✐➂③❑♥
ε
➟❷➎➏♥◆③❑r⑥❶❥❫❪r❝❦✉③☎❶❥❫◗✐♠❸sr♠t✇↕➒❫✝❦♠❨❬t➡✐❷✐❧③❊➓➝♦❬❦♠t✇③❑♥✵↔❲t➝❦➂t➡✐❝⑩■③❊✐✉✐♠t➝↕❬➓✇❫✰❦✉③✲❦⑥⑨➀➢❊❫

⑨❑❶❬➣❼⑨❑♥❚❦✉⑨➀➅❊❫✝③❑➑②❦♠❨❬❫✺➑➲⑨❊❸➜❦➂❦♠❨➄⑨➀❦
ε
t➡✐➂➣❑❫❪r♠❤❂✐♠❭q⑨❑➓➝➓✶↕❄❤❂♦➄✐♠t➝♥➄➅✣⑨❑♥➻⑨❑✐♠❤❄❭q⑩❥❦♠③❑❦♠t➡❸☞⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐✡❦✉❨➄⑨✩❦✪➔✯❫☞➔✡t✇➓➝➓P❶❥❫◗✐♠❸sr♠t✇↕■❫

➓➡⑨✩❦♠❫❪r❪➟②⑦❛♥✘❦✉❨❬❫❝↕➄⑨❊✐❧t➡✐✴③➀➑➧❦♠❨➄❫❪✐♠❫❝r✉❫❪✐♠♦❬➓➭❦⑥✐s↔❚➔✯❫✤⑩❬r✉③❑⑩■③❊✐♠❫✡❦♠③☞r♠❫❪⑩❬➓✇⑨❊❸✓❫✡❦✉❨❬❫❝t✇♥❬t➝❦♠t➡⑨➀➓➧✐♠⑩➄⑨❑❸s❫✤③➀➑❆Ñ✌⑨➀➅❑r⑥⑨➀♥➄➅❑❫✕❭✝♦❬➓➝❦♠t✇⑩❬➓✇t➝❫❪r✉✐
Qex

↕❚❤➻⑨✮r♠❫◗❶❥♦➄❸✓❫◗❶➤✐❧⑩➄⑨❊❸✓❫
Qap

➟☎❳✕❨➄❫✼✐❧③❊➓➝♦❥❦✉t➝③❊♥
(uε, pε)

③➀➑✯❦♠❨❬❫✲❸s③❑r✉r♠❫◗✐❧⑩■③❑♥➒❶❥t➝♥➄➅☎♥❬❫❪➔ ⑩❬r♠③❊↕❬➓✇❫s❭➼➔✡t✇➓➝➓→❦♠❨❬❫❪♥
✐✉⑨✩❦♠t➡✐❧➑➛❤





➠✢t➝♥➒❶
(uε, pε) ∈ V ×Qap

✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

a(uε, v) + bε(v, pε) = 〈f, v〉V,V ′ ∀v ∈ V,

bε(uε, q) = 0 ∀q ∈ Qap.

➾⑤ü❊➟ ❾❊➪

➎➏♥✲③❊r✉❶❬❫sr✴❦♠③✺③❑↕❥❦⑥⑨➀t✇♥✲⑨✝♥❄♦❬❭q❫❪r♠t➡❸s⑨❑➓■✐♠③❑➓✇♦❥❦♠t✇③❑♥❆↔❚➔✯❫❛❸s③❑♦❬➓➡❶✲❶❬t✇✐✉❸✓r✉❫✓❦✉t➝➽❪❫✤❦♠❨➄t✇✐✕⑩❬r✉③❑↕➄➓➝❫❪❭ ♦➒✐❧t✇♥❬➅☞❦♠❨❬❫❷⑨➀⑩❬⑩➄r♠③❼➐❥t✇❭q⑨➀❦♠t✇③❑♥
✐♠⑩➄⑨❑❸s❫❪✐❷❶❥❫s♥➄③➀❦♠❫◗❶

V h ⑨➀♥➄❶
Qh

ap

③❑➑✯Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫✪➦➄♥❬t➝❦♠❫✘❫❪➓➝❫❪❭q❫s♥❚❦✉✐➂③❑♥➤⑨✣r♠❫❪➅❑♦❬➓➡⑨➀r➂❭q❫❪✐♠❨✵➟q❳✕❨❬❫✺✐♠③❑➓✇♦❥❦✉t➝③❊♥➻③❑➑→❦♠❨➄❫
❸✓③❊r♠r✉❫❪✐♠⑩■③❑♥➄❶❥t✇♥❬➅q❶❥t➡✐♠❸sr♠❫s❦♠❫❷⑩❬r✉③❑↕❬➓✇❫s❭

(uε,h, pε,h)
❦♠❨❬❫❪♥✮✐✉⑨✩❦✉t✇✐❧➦➄❫◗✐





➠✢t✇♥➄❶
(uε,h, pε,h) ∈ V h ×Qh

ap

✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦

a(uε,h, v) + bε(v, pε,h) = 〈f, v〉V h,V h′ ∀v ∈ V h,

bε(uε,h, q) = 0 ∀q ∈ Qh
ap.

➾⑤ü❊➟ í ➪

❳✕❨❬t➡✐❷⑩❬r✉③❑↕❬➓✇❫s❭➼❶❥❫❪⑩➒❫❪♥➄❶❬✐❷③❊♥◆❦⑤➔✯③✣✐♠❭✘⑨➀➓✇➓P⑩➄⑨➀r⑥⑨➀❭q❫✓❦✉❫sr⑥✐s↔
ε
⑨❑♥➄❶

h
➟✝➎❍❦✪t➡✐➂❦♠❨❄♦➄✐➂⑩■③❊✐✉✐❧t✇↕❬➓✇❫☞❦✉③✣❸s③❑♥➄✐♠t✇❶❬❫sr✪✐❧❫❪➣❑❫❪r✉⑨❑➓

r✉❫s➅❑t✇❭q❫❪✐✠❊
h
➅❊③❄❫❪✐✝❦♠③

0
➑➲⑨❑✐❧❦♠❫sr☞❦♠❨➒⑨➀♥

ε
↔P③❊r

ε
➅❑③❄❫◗✐✰❦✉③

0
➑➲⑨❊✐⑤❦✉❫sr☞❦♠❨➄⑨❑♥

h
➟➥➵➥❫✣➔✡t➝➓✇➓✕↕➒❫✣t➝♥❚❦✉❫sr✉❫❪✐❧❦♠❫❪❶➫t➝♥➩❦♠❨❬❫

✐♠❫❪❸✓③❊♥➄❶Õr♠❫❪➅❑t✇❭✺❫❊↔→➔✡❨❬❫❪♥➩❦✉❨❬❫❂❭q❫❪✐♠❨Õt➡✐✘❸✓③❚⑨➀r⑥✐❧❫✮❸✓③❊❭q⑩➄⑨➀r✉❫❪❶➫❦♠③➥❦♠❨❬❫◆✐♠❭✘⑨➀➓✇➓✡③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟✱➎➏♥✱✐♠♦➄❸⑥❨ ⑨➤✐❧t➝❦♠♦➄⑨➀❦♠t✇③❑♥✵↔
✐❧❦✉⑨➀♥➒❶❬⑨➀r⑥❶✣♥❚♦➄❭✺❫❪r♠t➡❸s⑨❑➓✵⑨➀⑩❬⑩➄r♠③❼➐❥t✇❭q⑨➀❦♠t✇③❑♥✮✐❧♦❬➯■❫❪r✉✐✕➑➛r✉③❑❭ ♥❄♦❬❭q❫sr✉t✇❸❪⑨➀➓✵➓✇③❥❸⑥➢❚t✇♥❬➅➒↔❬t➝♥✮❦✉❨❬❫✝✐♠❫s♥➄✐♠❫❷❦♠❨➒⑨✩❦

uε,h t➡✐❝⑨q↕➄⑨❊❶⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠t✇③❑♥➳③❑➑
uε t➭➑ ε t➡✐✝❦♠③❄③➻✐♠❭✘⑨➀➓✇➓✯❸s③❑❭q⑩➄⑨➀r✉❫❪❶➳❦♠③ h ➟➤➵➻❫✣➔✡t✇➓➝➓✯⑩❬r✉③✩➣❑❫✘❦✉❨➄⑨✩❦◗↔②♦❬♥➄❶❥❫❪r✝❦✉❨❬❫✮❸✓③❑♥➒❶❥t➭❦✉t➝③❊♥

ε < κh
➑➛③❊r→⑨❷➅❑t✇➣❑❫❪♥☞➦➄➐❄❫◗❶

κ > 0
↔❑❦♠❨❬❫❪r♠❫✡❫s➐❥t✇✐❧❦✉✐②⑨❑♥❬③➀❦✉❨❬❫sr②➦❬➐❥❫❪❶

κ > 0
✐♠♦➄❸⑥❨✺❦♠❨➄⑨➀❦ ‖uε−uε,h‖V > κ/ ln 1/ε

➟
❳✕❨❬t➡✐➂❭✺❫◗⑨➀♥➄✐❛❦✉❨➄⑨✩❦❷♦❬♥➄❶❥❫❪r➂❦♠❨❬❫q❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥◆❦✉❨➄⑨✩❦

ε
➅❑③❄❫◗✐✤❦✉③

0
⑨❑✐❝➑➲⑨❑✐❧❦❷⑨❊✐

h
❦✉❨❬❫s♥➥✐⑤❦⑥⑨➀♥➄❶❬⑨❑r✉❶➞⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠t✇③❑♥

❸✓③❊♥❄➣❑❫sr✉➅❑❫◗✐❆➣❊❫sr✉❤✝✐♠➓➝③✩➔✡➓✇❤❑➟✢➎➏♥q③❑r⑥❶❥❫sr✢❦♠③✰❸s♦❬r✉❫✕❦♠❨❬t➡✐P⑩❬r✉③❑↕❬➓✇❫s❭✮↔❊➔✴❫✕t✇♥❊❦✉r♠③❥❶❥♦➒❸✓❫✤⑨➀♥✘⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓❬✐❧❨➄⑨❑⑩➒❫✕➑➛♦➄♥➄❸➜❦✉t➝③❊♥
ψε❦♠❨➒⑨✩❦P❨➄⑨❑✐❆❦♠③❷r✉❫s⑩❬r✉③❥❶❥♦➄❸s❫②❦♠❨➄❫✯✐♠t➝♥➄➅❑♦❬➓➡⑨➀r✶⑨❑✐♠❤❄❭✺⑩❬❦♠③➀❦✉t✇❸✴↕■❫s❨➄⑨❼➣❄t✇③❑r✢③➀➑❬❦✉❨❬❫✕❫✓➐❬⑨❑❸✓❦✶✐♠③❑➓✇♦❥❦♠t✇③❑♥❆➟❆➎➏♥➄❶❥❫❪❫❪❶➧↔➀❦♠❨❬t➡✐✶↕➒❫❪❨➄⑨❼➣❄t➝③❊r

t➡✐✕❦♠❨❬❫✪r✉❫❪⑨❊✐❧③❊♥✲③❑➑✌❦✉❨❬❫✪⑩❬r✉❫s➣❄t➝③❊♦➄✐✕➓➡⑨❑❸⑥➢✼③❑➑✢❸✓③❊♥➄✐♠t✇✐❧❦♠❫❪♥➄❸✓❤❊➟②❳✕❨❚♦➒✐s↔❬➔✯❫✪❸✓③❊♥➄✐❧t➡❶❥❫❪r✕❦♠❨❬❫✪♥❬❫❪➔ ⑨❑⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨✩❦✉t➝③❊♥☎✐♠⑩➄⑨❑❸s❫
V h

e = V h ⊕ ✐♠⑩➄⑨❑♥ {ψε} ⑨❑♥➄❶✲❦♠❨❬❫✰✐♠③❑➓✇♦❥❦♠t✇③❑♥ (uε,h, pε,h)
③❑➑❆❦✉❨❬❫✰❸✓③❊r♠r✉❫❪✐♠⑩➒③❊♥➄❶❥t✇♥❬➅q❶❥t✇✐✉❸✓r✉❫✓❦✉❫❷⑩❬r♠③❊↕❬➓✇❫s❭





➠✢t✇♥➄❶
(uε,h, pε,h) ∈ V h

e ×Qh
ap

✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦

a(uε,h, v) + bε(v, pε,h) = 〈f, v〉V h,V h′ ∀v ∈ V h
e ,

bε(uε,h, q) = 0 ∀q ∈ Qh
ap.

➾⑤ü❊➟ ➃❄➪

❵❝✐♠t✇♥❬➅✲❦✉❨❬t➡✐❛♥➄❫s➔ ❶❥t➡✐✉❸✓r✉❫✓❦♠t✇➽❪⑨➀❦♠t✇③❑♥✵↔■❦✉❨❬❫✺⑨❑⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨✩❦✉t➝③❊♥❂↕➒❫◗❸✓③❊❭✺❫◗✐❷❸✓③❑♥➒✐❧t➡✐⑤❦✉❫s♥❚❦❪➟❷➎➏♥➄❶❬❫s❫❪❶✵↔➧➔✴❫✺➔✡t➝➓✇➓P✐❧❨➄③✩➔➙❦♠❨➄⑨➀❦
❦♠❨➄❫sr✉❫➂❫s➐❥t✇✐❧❦✉✐

κ > 0
t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦❝③➀➑

ε
⑨➀♥➄❶

h
✐♠♦➄❸⑥❨✣❦♠❨➄⑨➀❦

‖uε − uε,h‖H1(ΩR) 6 κ
√

ln 1/ε (ε1/2 + h).

➎➏♥✣❦♠❨❬❫✪➓➡⑨❑✐❧❦✡⑩➄⑨➀r♠❦✡③➀➑✌❦♠❨❬t➡✐✤❶❥③❥❸✓♦➄❭✺❫❪♥❚❦❪↔❬➔✯❫❷➔✡t➝➓✇➓✵➅❑❫s❦✡↕➄⑨❑❸⑥➢✘❦✉③✺❦♠❨❬❫✰➨❝③❑➓✇➓✇⑨❑♥➄❶✮✐♠❸⑥❨❬❫❪❭q❫❑↔❥③➀➑➚❦✉❫s♥✣♦➄✐♠❫❪❶✣t➝♥✮⑩❬r⑥⑨❑❸✓❦♠t➡❸✓❫❊➟
➎❍❦✡❦✉⑨❑➢❑❫◗✐→❦✉❨❬❫❷➑➛③❑r✉❭





➠✢t✇♥➄❶
(uε,h

h
, pε,h

h
) ∈ V h ×Qh

ap

✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦

a(uε,h
h
, v) + bε(v, pε,h

h
) = 〈f, v〉V h,V h′ ∀v ∈ V h,

bε(uε,h
h
, q) − Lε,h

h
c(pε,h

h
, q) = 0 ∀q ∈ Qh

ap.

➾⑤ü❊➟ ✡❊➪

➎➏♥✺❦♠❨❬t➡✐P➓➡⑨❑✐❧❦②✐♠❸⑥❨❬❫❪❭q❫❑↔
Lε,h

h

t➡✐P⑨❷⑩➄⑨➀r⑥⑨➀❭q❫✓❦✉❫sr✢❦♠❨➒⑨✩❦②t➡✐✶♥❬③➀❦→⑨➂⑩❬r✉t➝③❊r♠t❥➢❄♥❬③✩➔✡♥✺⑨➀♥➄❶☞❦✉❨➄⑨✩❦②❨➄⑨❊✐✢❦♠③✪↕■❫✤❸⑥❨❬③❊✐♠❫s♥☞③❑♥✺❦♠❨➄❫
↕➄⑨❊✐❧t➡✐✡③➀➑✶❫s❭q⑩❬t✇r✉t✇❸❪⑨➀➓❆❸s③❑♥➄✐♠t✇❶❬❫sr⑥⑨✩❦♠t✇③❑♥➒✐s➟②➵➥❫✪➔✡t✇➓➝➓✢✐❧❨❬③✩➔þ❦♠❨➒⑨✩❦❛❢❥❸⑥❨❬❫❪❭q❫✲➾⑤ü❊➟ ➃❊➪✡t✇✐✡r✉❫s➓➡⑨✩❦✉❫❪❶☎❦♠③✼➨❝③❑➓✇➓✇⑨❑♥➄❶➧Ï ✐❝❢❥❸⑥❨❬❫❪❭q❫

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



✤ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➾⑤ü❊➟ ✡❑➪➜➟❝➎➏♥➞⑩➄⑨➀r♠❦♠t➡❸✓♦❬➓➡⑨➀r◗↔❬❦✉❨❬t➡✐❝➔✡t✇➓➝➓✢➓✇❫❪⑨❑❶◆♦➄✐✡❦✉③☎⑨q❦✉❨❬❫s③❊r♠❫s❦♠t➡❸s⑨➀➓✢⑨➀⑩❬⑩➄r♠③❚⑨❑❸⑥❨✮③➀➑→➨❝③❑➓✇➓✇⑨❑♥➄❶❂✐♠❸⑥❨➄❫s❭q❫❪✐❝⑩❬r♠③✩➣❄t➡❶❥t✇♥❬➅✘❦♠❨➄❫
r✉❫❪✈❚♦❬t✇r♠❫◗❶➳➣✩⑨➀➓✇♦❬❫✣➑➛③❑r☞❦♠❨❬❫✮⑩➄⑨❑r✉⑨❑❭✺❫s❦♠❫❪r

Lε,h
h

➟Õ❳✕❨❬t✇✐✺t➡✐s↔→❦♠③➻❦♠❨❬❫✮↕■❫❪✐❧❦✺③❑➑❛③❊♦❬r☞➢❄♥❬③✩➔✡➓✇❫❪❶❬➅❑❫❑↔②❦♠❨❬❫☎➦➄r⑥✐⑤❦✘✐❧❫❪r♠t✇③❑♦➒✐
❦♠❨➄❫s③❑r✉❫✓❦✉t✇❸❪⑨➀➓✵❶❥❫❪➣❑❫❪➓➝③❊⑩❬❭q❫s♥❚❦❝⑨➀↕■③❑♦❥❦✡❦✉❨❬❫✝➨❝③❑➓✇➓✇⑨❑♥➄❶✣❭✺③❥❶❥❫❪➓❯❊✴✐♠③q➑➲⑨➀r◗↔❥❦✉❨❬❫✪⑩❬r✉③❑↕❬➓✇❫s❭ ③➀➑✢➦➄♥➄❶❥t✇♥❬➅✘❦✉❨❬❫✰➅❑③❄③❥❶☎➣❼⑨❑➓➝♦➄❫
➑➛③❑r✕❦✉❨❬❫✰➨✤③❊➓➝➓➡⑨➀♥➒❶✲⑩➄⑨❑r✉⑨❑❭q❫✓❦♠❫❪r✕t➝♥❂⑨➀♥✮⑨➀r✉↕❬t➝❦♠r⑥⑨➀r✉❤✘❭q❫❪✐♠❨☎❨➄⑨❊❶✣r♠❫❪❭q⑨❑t➝♥➄❫❪❶✣⑨➀♥✣③❑⑩■❫s♥❬❫◗❶✣✈❚♦❬❫◗✐⑤❦✉t➝③❊♥✵➟

❱ ❲❨❳ ✑✝✛②☛ ✑✝✠☎✍✻✥❆✗s✆❬❩✮✒✓✗✹❭✮✞✡✍❪❩✣✔✢★✰✷✣✒✓✞✤✆✟✥

➵➥❫✺⑨❑r♠❫☞⑩❬r♠❫◗✐❧❫❪♥❚❦♠➓✇❤☎t✇♥❚❦♠❫sr✉❫❪✐❧❦♠❫◗❶❂t✇♥➻⑨➀♥➥⑨❑❸s③❑♦➄✐❧❦♠t➡❸✰❶❥t➝➯■r⑥⑨❑❸✓❦♠t✇③❑♥◆⑩➄r♠③❊↕❬➓➝❫❪❭✮➟❷❜◆③❑r✉❫✰⑩❬r✉❫❪❸✓t➡✐♠❫s➓✇❤❑↔❲➔✴❫☞➔✯⑨❑♥❚❦❝❦♠③✣✐❧③❊➓➝➣❊❫
t✇♥

ΩR \ Ωi
ε

❦♠❨❬❫✺➨✤❫s➓✇❭q❨❬③❑➓➝❦♠➽✺❫❪✈❚♦➄⑨➀❦♠t✇③❑♥
∆u + k2u = f

➔✡t➭❦✉❨➞③❊♦❥❦♠➅❊③❑t✇♥❬➅✼r⑥⑨❑❶❥t➡⑨✩❦✉t➝③❊♥➞❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥✵➟❷❜❂③❑r✉❫s③✩➣❊❫sr◗↔
➔✯❫❛t✇❭q⑩➒③❚✐❧❫✪⑨✺➺❝t✇r♠t➡❸⑥❨❬➓✇❫✓❦✤❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥☎③❑♥☎❦♠❨❬❫❷↕■③❑♦❬♥➄❶➄⑨➀r✉❤

Γε ③❑➑❆❦✉❨❬❫✪✐❧❭✘⑨➀➓✇➓❲③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟✶➵➥❫❷❸s③❑♥➄✐♠t➡❶❥❫sr✡⑨➀♥☎❨❬③❑❭q③❑❰➅❑❫❪♥❬❫s③❊♦➄✐✯❸✓③❑♥➒❶❥t➭❦✉t➝③❊♥✼③❑♥✲❦♠❨❬❫❷✐♠❭q⑨❑➓➝➓❲③❊↕➄✐⑤❦⑥⑨❑❸s➓➝❫❊↔❊↕❬♦❬❦✯t➝❦✤✐❧❫❪❫s❭✘✐②❦✉❨➄⑨✩❦✡⑨✺✐❧t✇❭qt➝➓➡⑨➀r✴❦♠r✉❫❪⑨➀❦♠❭q❫s♥❚❦✯❸❪⑨➀♥☎↕➒❫❷⑨❑❶❥③❊⑩❥❦♠❫◗❶✘➑➛③❊r
♥❬③❊♥❥❰❈❨➄③❑❭q③❑➅❊❫s♥❬❫❪③❑♦➄✐✡↕■③❑♦➄♥➄❶❬⑨➀r✉❤◆❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥➄✐❪➟✪❳✕❨❬❫q✐⑤❦⑥⑨➀♥➄❶❬⑨❑r✉❶◆➣❼⑨❑r♠t➡⑨✩❦✉t➝③❊♥➄⑨➀➓❆➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉t➝③❊♥◆③➀➑→❦♠❨❬t➡✐➂⑩❬r♠③❊↕❬➓✇❫s❭✂t✇✐
❦♠❨➄❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅➄➟






➠✢t✇♥➄❶
u ∈ H1(ΩR \ Ωi

ε)
✐❪➟ ❦

u|∂Ωobs∪Γε = 0
⑨➀♥➒❶ ∀v ∈ H1(ΩR \ Ωi

ε)
✐s➟ ❦

v|∂Ωobs∪Γε = 0

∫

ΩR\Ωi
ε

∇u · ∇v − k2

∫

ΩR\Ωi
ε

uv +

∫

ΓR

vTRu =

∫

ΩR\Ωi
ε

fv.

➨✤❫❪r♠❫
TR

r✉❫✓➑➛❫❪r✉✐✴❦✉③☞❦✉❨❬❫✰➺❛t➝r✉t✇❸⑥❨➄➓➝❫s❦❧❰❈❦♠③➀❰➏❴✤❫❪♦❬❭✘⑨➀♥❬♥✣③❑⑩■❫sr⑥⑨✩❦✉③❑r✯➑➛③❑r✕❦✉❨❬❫✝❾❼❰➏➺ ➨✤❫❪➓➝❭q❨❬③❊➓➭❦✉➽❷❫❪✈❚♦➄⑨✩❦✉t➝③❊♥✵➟
TR

⑨❑❶❬❭✺t➝❦✉✐
⑨➀♥✮⑨➀♥➒⑨➀➓✇❤❊❦✉t✇❸❪⑨➀➓➧❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥✼❦✉❨➄⑨✩❦❝❸❪⑨➀♥✣↕➒❫✰❶❥❫◗❸✓③❊❭✺⑩■③❊✐♠❫❪❶☎♦➄✐♠t➝♥➄➅q➠➄③❑♦❬r✉t✇❫sr✕❫✓➐❥⑩➄⑨❑♥➄✐❧t✇③❑♥❆↔

TRu =
∑

n∈Z

un k
H

(1)′

n (kR)

H
(1)
n (kR)

einθ ➔✡❨❬❫sr✉❫
un =

1

2π

∫ 2π

0

u(R, θ)e−inθdθ,

➎❍❦☞t➡✐✝⑨➞❸✓➓➡⑨❑✐✉✐❧t➡❸s⑨❑➓Pr♠❫◗✐❧♦❬➓➝❦✰❦✉❨➄⑨✩❦
TR

t➡✐✝⑨◆❸s③❑♥❚❦♠t✇♥❄♦❬③❑♦➄✐✰➓➝t✇♥❬❫❪⑨❑r✝③❊⑩➒❫❪r✉⑨➀❦♠③❑r❷➑➛r✉③❑❭
H1/2(ΓR)

③❊♥❊❦✉③
H−1/2(ΓR)

➟
❴✤③❑❦♠❫❝❦♠❨➄⑨➀❦✴➔✯❫✤➔✯⑨❑♥❚❦②❦♠③✺❸✓③❑♥➒✐❧t➡❶❥❫sr✴⑨➀r✉↕❬t➭❦✉r✉⑨❑r♠❤☞❭q❫❪✐♠❨❬❫❪✐❪↔❊♥➄③➀❦→♥❬❫◗❸✓❫◗✐♠✐✉⑨➀r✉t➝➓✇❤☞⑨❊❶❬⑨➀⑩❬❦♠❫❪❶✘❦♠③✪❦✉❨❬❫❛✐♠❭✘⑨➀➓✇➓➒③❊↕➄✐⑤❦⑥⑨❑❸s➓➝❫

Ωi
ε

➟
❳✕❨❬t➡✐Pt➡✐✶❦♠❨❬❫❝r♠❫◗⑨❑✐♠③❑♥✝➔✡❨❄❤☞➔✴❫✡⑩❬r✉③❑⑩■③❊✐♠❫✯❦♠③✪♦➄✐♠❫✤⑨➂➦➒❸✓❦♠t➝❦♠t✇③❑♦➄✐②❶❬③❑❭✘⑨➀t✇♥✺➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉t➝③❊♥✣➾❯✐❧❫❪❫❫❋ ✡■❍➚➪✌➑➛③❊rP❦♠❨❬t➡✐②⑩➄r♠③❊↕❬➓➝❫❪❭✮↔
❫✓➐❄❦✉❫s♥➄❶❥t✇♥❬➅✪❦✉❨❬❫❛✐♠③❑➓✇♦❥❦✉t➝③❊♥✺↕❄❤q❿✪t✇♥➄✐❧t➡❶❥❫

Ωi
ε

➾➲➔✡❨❬t➡❸⑥❨✲✐⑤❦✉t➝➓✇➓➒⑨❑➓➝➓✇③✩➔✤✐
H1 r♠❫❪➅❑♦❬➓➡⑨➀r✉t➭❦⑤❤✰➑➛③❑r②❦✉❨❬❫❛✐♠③❑➓✇♦❥❦✉t➝③❊♥➒➪➜➟✶❳✕❨❄♦➄✐s↔❊❦♠❨➄❫❫✓➐❄❦✉❫s♥➄❶❥❫◗❶✮✐❧③❊➓➝♦❥❦✉t➝③❊♥☎t➡✐✡✐♠③❑♦❬➅❊❨❊❦✡t✇♥✣❦♠❨❬❫✰✐♠⑩➄⑨❑❸s❫

V = {v ∈ H1(ΩR)
✐❪➟ ❦

v|∂Ωobs
= 0 }.

❳✕❨❬❫✕♦➄✐♠♦➄⑨➀➓❥♥➄③❑r✉❭ ‖v‖2
V = ‖v‖2

L2(ΩR)+‖∇v‖2
L2(ΩR)

⑨➀♥➄❶✺✐✉❸s⑨➀➓➡⑨➀r✶⑩❬r✉③❥❶❥♦➄❸✓❦
(u, v) =

∫
ΩR

uv+
∫
ΩR

∇u ·∇v ↔❭✘⑨➀➢❊❫
V
⑨q➨✤t✇➓✇↕➒❫❪r❧❦❛✐♠⑩➄⑨❊❸✓❫❑➟P❳✕❨❬❫❷t✇♥❬t➝❦♠t➡⑨➀➓✫▼➏❫✓➐❬⑨❑❸✓❦◆▼❛⑩➄r♠③❊↕❬➓➝❫❪❭✮↔❥❫❪✈❚♦❬t✇➣❼⑨❑➓➝❫❪♥❚❦✡❦♠③✺❦♠❨❬❫✪⑩➄r♠❫❪➣❚t✇③❑♦➒✐✴③❊♥❬❫❑↔➄t✇✐





➠✢t➝♥➒❶
(uε, pε) ∈ H1

0 (ΩR) ×H−1/2(Γε)
✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

∫

ΩR

∇uε · ∇v − k2

∫

ΩR

uεv +

∫

ΓR

vTRu
ε +

∫

Γε

pεv =

∫

ΩR

fv ∀v ∈ H1
0 (ΩR),

∫

Γε

quε = 0 ∀q ∈ H−1/2(Γε).

➎➏♥Õ❦♠❨❬❫❂✐♠❫❪❸✓③❊♥➄❶Õ❫❪✈❚♦➄⑨✩❦✉t➝③❊♥✵↔②➔✯❫✮t➝❭q⑩■③❊✐♠❫✣⑨❑♥Õ❨❬③❊❭q③❑➅❑❫❪♥❬❫s③❊♦➄✐✺➺❝t✇r♠t➡❸⑥❨❬➓✇❫✓❦✘↕■③❑♦❬♥➄❶➄⑨➀r✉❤➫❸✓③❑♥➒❶❥t➭❦✉t➝③❊♥Õ③❊♥
Γε ♦➄✐♠t➝♥➄➅

Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫❝❭☞♦❬➓➭❦✉t➝⑩➄➓➝t✇❫sr⑥✐s➟P➵➥❫✪r✉❫s➔✡r✉t➭❦✉❫❝❦✉❨❬t✇✐✤⑩❬r♠③❊↕❬➓✇❫s❭✧t✇♥✣❦♠❨❬❫✪❭q③❑r✉❫✪❸✓③❊❭✺⑩➒⑨❑❸➜❦✡➔✕⑨❼❤




➠✌t✇♥➄❶
(uε, pε) ∈ V ×Qex

✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦❝✈❚♦❬❫

a(uε, v) + bε(v, pε) = 〈f, v〉V,V ′ ∀v ∈ V

bε(uε, q) = 0 ∀q ∈ Qex

➾❯❾❬➟➝ü❼➪

❖◗P✌✭❘❖❚❙
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❦✉⑨❑➢❄t➝♥❬➅
Qex = H−1/2(Γε),

a(u, v) =

∫

ΩR

∇u · ∇v − k2

∫

ΩR

uv +

∫

ΓR

vTRu, ∀u, v ∈ V,

bε(v, q) =

∫

Γε

qv, ∀(v, q) ∈ V ×Qex,

〈f, v〉V,V ′ =

∫

ΩR

fv.

⑧✡❫❪❭✺t✇♥➄❶◆❦♠❨➄⑨➀❦❷⑨❊❸s❸✓③❊r✉❶❬t➝♥❬➅✼❦♠③✼❦✉❨❬❫✺r♠❫◗✐❧♦❬➓➝❦✉✐❛③➀➑❴❋➝ü✹❍❍↔❲❦♠❨➄t✇✐➂⑩❬r✉③❑↕❬➓✇❫s❭✂t➡✐➂➔✴❫❪➓➝➓✢⑩➒③❚✐❧❫◗❶➧➟✪❵❝✐♠t➝♥➄➅✪✕➂r✉❫s❫s♥◆➑➛③❑r✉❭✝♦❬➓➡⑨❬↔❲t➝❦
❸s⑨❑♥☎↕■❫✰✐♠❨❬③✩➔✡♥✲❦✉❨➄⑨✩❦

pε t➡✐✯❦♠❨➄❫✕④⑤♦❬❭q⑩❂③➀➑❆❦✉❨❬❫✪♥❬③❊r♠❭✘⑨➀➓✵❶❬❫sr✉t➝➣✩⑨✩❦✉t➝➣❊❫❛③❑➑ uε ↔❥➔✡❨❬t➡❸⑥❨✮r♠❫◗⑨❑❶❬✐

pε = [
∂uε

∂n
]|Γε =

∂uε

∂n
|Γε

➔✡t➝❦♠❨
n
❦♠❨❬❫✪③❊♦❥❦♠➅❊③❑t✇♥❬➅☞♥➄③❑r✉❭q⑨❑➓➧➣❑❫◗❸➜❦♠③❊r✯❦♠③

Ωi
ε.

⑦❛♥❬❫✪③❑➑✢❦✉❨❬❫☞⑨❊❶❥➣✩⑨➀♥❚❦✉⑨❑➅❑❫◗✐✴③❑➑✶❦♠❨❬t➡✐✡➦➒❸✓❦♠t➝❦♠t✇③❑♦➄✐❛❶❥③❑❭✘⑨❑t➝♥✮➑➛③❊r♠❭☞♦❬➓✇⑨➀❦♠t✇③❑♥✮t➡✐✕❦♠③✼⑩➄r♠③✩➣❄t➡❶❥❫✰❶❥t✇r♠❫◗❸➜❦♠➓✇❤✼❦✉❨❬❫✪➑➛♦❬♥➒❸➜❦♠t✇③❑♥
pε❦♠❨➒⑨✩❦❛⑩➄➓✇⑨❼❤❥✐✡❦✉❨❬❫☞✐✉⑨➀❭q❫✰r✉③❑➓✇❫❷➑➛③❑r❛❦♠❨➄❫☞➨✤❫❪➓➝❭q❨❬③❊➓➭❦✉➽✝❫◗✈❊♦➒⑨✩❦♠t✇③❑♥◆⑨❊✐✡❦✉❨❬❫☞❸s♦❬r♠r✉❫s♥❚❦❝⑨➀❦❝❦♠❨➄❫☞✐♠♦❬r❧➑➲⑨❊❸✓❫✰③❑➑✶❦♠❨❬❫☞➔✡t➝r✉❫✰➑➛③❊r

❜◆⑨➀➐❄➔✯❫s➓✇➓❈Ï ✐✯❫❪✈❚♦➄⑨➀❦♠t✇③❑♥➄✐❪➟②❢❄t✇♥➄❸✓❫➂❦♠❨➄❫➂③❊↕➄✐❧❦✉⑨❑❸s➓➝❫
Ωi

ε

t➡✐✡✐♠❭q⑨❑➓➝➓❈↔❥➔✯❫➂❫❪♥➄❸✓③❊♦❬♥❚❦♠❫❪r✴❦✉❨❬❫✪✈❚♦❬❫❪✐❧❦♠t✇③❑♥☎③➀➑❆❦✉❨❬❫✪↕■❫s❨➄⑨❼➣❄t✇③❑r✯③➀➑
❦♠❨➄❫✰❸✓③❑♦➄⑩❬➓➝❫

(uε, pε)
⑨❊✐
ε→ 0

➟②❳✕❨❬❫❷♥❬❫s➐❄❦❝✐❧❫◗❸➜❦♠t✇③❑♥✮⑨❑❶➄❶❥r♠❫◗✐♠✐♠❫❪✐✴❦✉❨❬t✇✐❝✈❊♦➄❫❪✐❧❦♠t✇③❑♥✵➟

❵❜❛✷❝ ❞❢❡❤❣✮✐✷❥❧❦♠❥❧♥♣♦q❡✓rs❡✴❣✮t✈✉✇✐◆①✴t③②❯④⑤♦⑥t✣r♣❦♠⑦♣①✓②⑥①✴❥✷⑧✎♦⑥♥♣♦⑥✐◆r⑨t✈❥❧t
➎➏♥➞③❊r✉❶❬❫sr❛❦♠③✣③❑↕❥❦⑥⑨➀t✇♥➞⑨✲❭q③❊r♠❫☞❫✓➐❥⑩❬➓✇t✇❸st➭❦✪❶❥❫❪✐✉❸✓r✉t✇⑩❥❦♠t✇③❑♥➻③➀➑②❦✉❨❬❫✺✐♠③❑➓✇♦❥❦✉t➝③❊♥

uε ↔➧➔✯❫✺➔✡t➝➓✇➓P⑨➀♥➄⑨❑➓➝❤❄➽s❫☞t➭❦⑥✐➂↕➒❫❪❨➄⑨❼➣❄t➝③❊r➂⑨❊✐
ε
↕■❫❪❸s③❑❭q❫❪✐❷➣❊❫sr✉❤➞✐❧❭✘⑨❑➓➝➓❈➟✘Ñ✵❫✓❦✪♦➄✐✝✐⑤❦⑥⑨➀r♠❦❷➔✡t➝❦♠❨➤✐♠③❑❭q❫qt➝♥❚❦♠♦➄t➭❦✉t➝➣❊❫✘t✇❶❥❫◗⑨❑✐❪➟q➵➱❨❬❫s♥

ε
↕■❫❪❸✓③❊❭q❫❪✐❷➣❑❫❪r♠❤◆✐♠❭✘⑨➀➓✇➓❯↔❆❦♠❨❬❫

③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫
Ωi

ε

❶❥t➡✐♠⑨❑⑩❬⑩➒❫◗⑨➀r⑥✐✕✐❧③☞t➭❦✤✐♠❫s❫s❭✘✐✯r✉❫❪⑨❑✐♠③❑♥➒⑨➀↕❬➓✇❫✡❦♠③✘✐♠♦❬⑩❬⑩■③❊✐♠❫❝❦✉❨➄⑨✩❦
uε ➅❑❫s❦✉✐✕❸✓➓✇③❊✐♠❫sr✴❦♠③☞❦♠❨➄❫➂➓✇t✇❭✺t➝❦❑▲⑤t✇♥➄❸st✇❶❥❫❪♥❚❦➦➄❫❪➓✇❶⑩▼

u0
↔✤✐♠③❑➓✇♦❥❦♠t✇③❑♥✱❦✉③➳❦♠❨❬❫➥❶❥t➝➯■r⑥⑨❑❸✓❦♠t✇③❑♥ ⑩❬r✉③❑↕❬➓✇❫s❭ ➔✡t➭❦✉❨❬③❑♦❬❦☎⑨➀♥❄❤✱③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫➫➾➛➔✯❫◆➔✡t➝➓✇➓❛❶❬❫✓➦➄♥❬❫➻t➭❦☎⑩❬r♠❫◗❸✓t➡✐❧❫❪➓➝❤

↕■❫s➓✇③✩➔❝➪➜↔❄t❯➟ ❫❑➟
uε ≃ u0

➟ ✬ ❸➜❦✉♦➄⑨➀➓✇➓➝❤✘t➝❦✕t✇✐✯⑩■③❊✐✉✐❧t✇↕❬➓✇❫✤❦♠③✺⑩❬r✉③✩➣❑❫✡❦✉❨➄⑨✩❦✯❦♠❨➄❫sr✉❫❛❫s➐❄t➡✐❧❦✉✐
κ > 0

t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦✕③❑➑
ε
✐❧♦➒❸⑥❨

❦♠❨➒⑨✩❦
‖uε − u0‖H1(ΩR) 6

κ√
ln 1/ε

❳✕❨❄♦➄✐❪↔❆❦✉❨❬❫✲t✇♥➄❸✓t➡❶❥❫❪♥❊❦✝➦➄❫s➓➡❶➳⑩❬r✉③✩➣❄t✇❶❥❫◗✐✪⑨✮➦➄r⑥✐⑤❦✺⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠t✇③❑♥➥③➀➑
uε ↔✶↕❬♦❬❦☞♥❬③❑❦✝➣❑❫❪r♠❤➻⑩❬r♠❫◗❸✓t➡✐❧❫❊➟☎➎➏♥➩③❑r⑥❶❥❫sr❷❦✉③

③❑↕❬❦✉⑨➀t✇♥➞❭q③❊r♠❫☞⑩❬r♠❫◗❸✓t➡✐❧t✇③❑♥❆↔➧➔✴❫q❸s⑨❑♥➞♦➄✐♠❫✝❦✉❨❬❫q⑨❑✐♠❤❚❭q⑩❥❦✉③➀❦✉t✇❸✺⑨➀♥➄⑨❑➓➝❤❥✐♠t✇✐❝❦♠❨➒⑨✩❦✪➔✯⑨❊✐❝⑩➄r♠③❊⑩➒③❚✐❧❫◗❶❂t➝♥❶❋ í ❍❈➟✝➎❍❦✪❸s③❑♥❚❦✉⑨❑t➝♥➒✐
❦♠❨➄❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✺r♠❫◗✐❧♦❬➓➝❦❪➟
✦✧✟ ➹❄➬ ➊ ➹ ❮ ô❘❷➲ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
é➜Û➄ì ❹ à ❹ ã✩à✞❽✓ê✩å

ε
é➜Ýqã➀ä➚ä✢Þsß■ê✩Û❑Ü ❹

‖uε − ũε‖H1(ΩR) 6 κ ε1/2.

❾ ç➚à ❹

ũε(x) = (1 − χε
1/2(x))

(
u0(x) +

−π
2 u0(0)

ln ε− λ0
v0(x)

)
+ χε

1/2(x)
−2π u0(0)

ln ε− λ0
V ε

0 (x)1ΩR\Ω̄i
ε
(x)

➾❯❾❬➟ ❾❊➪

➵➥❫❛t✇❭q❭✺❫◗❶❥t➡⑨✩❦♠❫❪➓➝❤✲r♠❫❪❭✺t✇♥➄❶✼❦♠❨❬❫❷❶❥❫✓➦➒♥❬t➭❦✉t➝③❊♥➄✐✯♥❬❫❪❸s❫❪✐✉✐♠⑨❑r♠❤☞➑➛③❑r✡⑨☞➅❑③❄③❥❶✼❸✓③❊❭q⑩❬r♠❫❪❨❬❫s♥➒✐❧t✇③❑♥✼③❑➑✵❦♠❨➄❫➂⑨❑↕➒③✩➣❊❫✤➑➛③❑r✉❭✝♦➄➓✇⑨➄➟

• ✦✧✟ ➹ ➌❑❒✌➉ ➴✉➬✛❿➀✝ ❒ ñ ➌❑➉❪ò ➬ ñ
χ➎➏♥➻❦✉❨❬❫✘r✉❫❪✐❧❦❷③❑➑✴❦✉❨❬t➡✐✰❶❥③❥❸✓♦❬❭q❫❪♥❊❦

χ : R → R+
r✉❫✓➑➛❫sr⑥✐➂❦♠③❂⑨

C∞ ➑➛♦❬♥➄❸✓❦♠t✇③❑♥➳✐❧♦➒❸⑥❨➻❦✉❨➄⑨✩❦
χ(r) = 1

➑➛③❑r
r 6 1/2

↔
χ(r) = 0

➑➛③❑r
r > 1

⑨➀♥➄❶
χ
t➡✐❝❶❬❫❪❸✓r✉❫❪⑨❊✐❧t✇♥❬➅➒➟→➵➥❫✝➔✡t✇➓➝➓✌➔✡r♠t➝❦♠❫

χε
δ(x) = χ(|x|/εδ)

↔❲⑨➀♥➄❶❂⑨❑➓✇✐♠③
χ0

t➝♥➒✐⑤❦✉❫❪⑨❑❶✣③❑➑
χε

0

➟

• ✦✧✟ ➹ ò ñ ➌❑ò➲➮ ➹ ñ ➉☞ú ➹ Ù➲➮
u0

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



✔ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

u0
r✉❫✓➑➛❫sr⑥✐✯❦♠③✺❦✉❨❬❫✪t➝♥➒❸✓t➡❶❥❫s♥❚❦✡➦➄❫❪➓✇❶✮❶❥❫s➦➄♥❬❫❪❶✮⑨❊✐→❦✉❨❬❫✪♦❬♥❬t➡✈❚♦❬❫❷➑➛♦❬♥➄❸✓❦♠t✇③❑♥❂✐✉⑨✩❦♠t➡✐❧➑➛❤❚t✇♥❬➅






u0 ∈ H1(ΩR)

∆u0 + k2u0 = f
t✇♥

ΩR \ {0}

u0 = 0
③❑♥

∂ΩR \ ΓR

∂u0
∂n + TRu0 = 0

③❊♥
ΓR

• ✦✧✟ ➹❢✝ ➋❬➊✼ú ➹ Ù❯➮
v0➵➻❫✰❶❥❫s➦➄♥❬❫➂❦♠❨➄❫❷➑➲⑨➀r✕➦➄❫❪➓✇❶✮⑨❑✐✯❦✉❨❬❫✪♦❬♥❬t➡✈❚♦❬❫✰✐♠③❑➓✇♦❥❦♠t✇③❑♥✣③➀➑✌❦♠❨❬❫✪⑩❬r✉③❑↕➄➓➝❫❪❭✧↕➒❫❪➓➝③✩➔✪➟

➁→➹ ❮➫❮➫➋ ô❘❷➲ï ❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à➲é✰ã✲Û❥ß➄ç✆➂sÛ➄Þ
v0 ∈ H1

loc(ΩR \ {0}) ésã✩à❈ç➡é◗❽✻❃✩ç➚ß❚Ü⑩➃





∆v0 + k2v0 = 0
ç➚ß

ΩR \ {0}

v0 = 0
ê➀ß

∂ΩR \ ΓR

∂v0
∂n + TRv0 = 0

ê✩ß
ΓR

v0 − Y0(kr) ∈ H1(ΩR).

❉✴❤☎✐❧❫❪⑩➄⑨➀r⑥⑨✩❦✉t➝③❊♥✲③➀➑✢➣✩⑨➀r✉t✇⑨❑↕❬➓➝❫◗✐s↔❥t➝❦✤t➡✐✕⑩➒③❚✐♠✐♠t➝↕➄➓➝❫➂❦♠③✘⑩➄r♠③✩➣❊❫✤❦♠❨➒⑨✩❦
v0

⑨❑❶❬❭✺t➝❦✉✐✡❦♠❨❬❫✪♦❬♥➄t✇✈❚♦❬❫✰❶❥❫◗❸✓③❊❭✺⑩■③❊✐♠t➝❦♠t✇③❑♥

v0 = Y0(k|x|) + L1
0(v0)J0(k|x|) +

∑

|p|>1

L1
p(v0)J|p|(k|x|)eipθ +

∑

|p|>1

L0
p(v0)Y|p|(k|x|)eipθ

➎➏♥➞③❑r⑥❶❥❫❪r❝❦✉③☎➢❊❫s❫s⑩➻♥❬③➀❦⑥⑨✩❦✉t➝③❊♥➄✐❷❸✓③❑♥➒✐❧t➡✐⑤❦✉❫s♥❚❦❛➔✡t➝❦♠❨❶❋ í ❍❍↔➧➵➻❫q♥❬③❑❦♠❫
J0,0 = 1

⑨➀♥➄❶
Y0,0 = 2

πγ + 2
π ln(k

2 )
↔

➔✡❨❬❫sr✉❫
γ = 0, 57721 . . .

t➡✐✕❦♠❨➄❫ ✘ ♦❬➓✇❫sr✤❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦◗➟

✃✲➹ ❮➫➋❥➊☛✏P➍ ➎➏♥☎❦✉❨❬❫✰❸s⑨❊✐❧❫➂➔✡❨❬❫❪r♠❫
ΩR

t✇✐✯❦✉❨❬❫✰❶❥t➡✐❧➢✼③❑➑✶❸s❫s♥❚❦♠❫❪r
0
⑨➀♥➄❶☎r✉⑨❊❶❥t✇♦➄✐

R
↔❥➔✯❫✪❨➄⑨❼➣❊❫

v0(x) = −iH(1)
0 (k|x|) = −iJ0(k|x|) + Y0(k|x|)

L1
0(v0) = 1/i

⑨❑♥➄❶ L0
p(v0) = L1

p(v0) = 0 |p| > 0

• ✦✧✟ ➹ ñ ➹ ➋❥➊✼ú ➹ Ù➲➮
V ε

0➵➻❫➫❶❥❫s➦➄♥❬❫➥❦♠❨➄t✇✐✮➑➛♦➄♥➄❸➜❦✉t➝③❊♥ ➣❄t➡⑨ ⑨ ➓➝❫❪❭✺❭✘⑨✱③➀➑q❫✓➐❥t➡✐⑤❦✉❫s♥➄❸s❫➳⑨➀♥➄❶þ♦❬♥❬t➡✈❚♦❬❫s♥❬❫◗✐♠✐❪➟➼⑧✡❫❪❭✺t✇♥➄❶þ❦♠❨➒⑨✩❦
Γε =

{x(r, θ) ∈ R2 | r = εγ(θ) } ➟

➁→➹ ❮➫❮➫➋ ô❘❷➡ô
➄ Þ➆➅②ß❲Þ

ΩN = {x(r, θ) ∈ R2 | r > γ(θ) } è ❸✫❹ Þ✓å♠Þ❂Þ➇❺❊ç➡é➜à➲é✲ã➞Û❥ß➄ç✆➂sÛ➄Þ V0 ∈ H1
loc(ΩN )

ã✩ß❲á➤ã
Û❥ß➄ç✆➂sÛ➄Þ

l10(V0) ∈ C
é➜Û➄ì ❹ à ❹ ã✩à➈➃





∆V0 = 0
ç➚ß

ΩN

V0 = 0
ê✩ß

∂ΩN

lim
r→+∞

sup
θ∈[0,2π]

∣∣∣V0(r; θ) − (Y0,0 +
2

π
J0,0 ln r) − l10(V0)

∣∣∣ = 0.

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ✗

➵➻❫✰❸❪⑨➀➓✇➓➧♥❬❫❪⑨❑r✴➦➒❫s➓➡❶✲❦✉❨❬❫❷➑➛♦❬♥➄❸✓❦♠t✇③❑♥
V ε

0 (x) = 1
4 V0(

x

ε )
➟P➎❍❦✤t➡✐✡⑩❬r✉③✩➣❑❫◗❶✼t✇♥➉❋➝ü❼❾✑❍➧❦♠❨➄⑨➀❦

∫

Γε

∂V ε
0

∂n
= 1.

❳✕❨❬t✇✐✰➓✇⑨❊✐⑤❦✪⑩❬r✉③❑⑩■❫sr♠❦⑤❤◆t➡✐✪t➝♥❚❦✉❫sr✉❫❪✐❧❦♠t✇♥❬➅❂⑨➀♥➄❶➥➔✯❫✘❨➄⑨❼➣❑❫✘❸⑥❨❬③❚✐❧❫❪♥➞❦✉❨❬❫✼❭✝♦➄➓➭❦✉t➝⑩❬➓✇t➡❸s⑨✩❦✉t➝➣❊❫✺➑➲⑨❑❸➜❦✉③❑r✰↕■❫✓❦⑤➔✯❫s❫❪♥
V ε

0⑨➀♥➄❶ V0
✐❧③➻❦♠❨➄⑨➀❦✘t➭❦✘t➡✐✘✐♠⑨➀❦♠t➡✐⑤➦➄❫◗❶➧➟➩➎❍❦✘➔✡t✇➓➝➓✡↕■❫✮t➝❭q⑩■③❑r♠❦✉⑨❑♥❊❦✘t✇♥➩❦✉❨❬❫✣➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅➞❦♠③➤➢❑❫❪❫s⑩➩t✇♥✱❭✺t✇♥➄❶Õ❦♠❨➄❫

❫✓➐❥⑩➄⑨➀♥➒✐❧t✇③❑♥☎③➀➑ V0
➾➲⑨➀♥➒❶☎③❑➑

V ε
0

➪✯t➝♥✣❦✉❨❬❫✪♥❬❫st✇➅❑❨❄↕■③❑r✉❨❬③❄③❥❶✼③➀➑✶t✇♥❥➦➄♥❬t➝❦⑤❤❑➟P➎❍❦✤t➡✐✕➅❑t✇➣❑❫❪♥☎↕❄❤

V0(r, θ) = (Y0,0 +
2

π
J0,0 ln r) + l10(V0) +

∑

|p|>1

V0,p

r|p|
eipθ , V0,p ∈ C

➔✡❨➄❫s♥
r → +∞.

➾❯❾❬➟ í ➪

❳✕❨❬❫✪✐❧♦❬❭ ❸✓③❊♥❚➣❊❫sr✉➅❑❫◗✐→t✇♥
H1 ♥❬③❑r✉❭✧③❑♥✮⑨➀♥❄❤✲❸s③❑❭q⑩➄⑨❊❸➜❦✤✐❧❫s❦❝✐❧♦❬Ö✘❸st➝❫❪♥❚❦♠➓✇❤✘➑➲⑨➀r✤⑨❼➔✕⑨❼❤q➑➛r♠③❊❭✾❦♠❨➄❫✪③❑r✉t➝➅❊t➝♥✵➟

✃✲➹ ❮➫➋❥➊☛✏P➍ ➎➏♥☎❦✉❨❬❫✰❸s⑨❊✐❧❫➂➔✡❨❬❫❪r♠❫
Ωi

ε

t✇✐✯❦✉❨❬❫✰❶❥t➡✐❧➢✲③➀➑P❸✓❫s♥❚❦✉❫sr
0
⑨➀♥➄❶☎r⑥⑨❑❶❥t✇♦➄✐

ε
↔❬➔✴❫❷❨➄⑨❼➣❊❫

V ε
0 (x) =

1

2π
ln

|x|
ε

1ΩR\Ωi
ε
.

• ✦✧✟ ➹ ➌ ➬ ñ ➈❪➉❪➋ ñ ➉
λ0➵➻❫✪♥❬③✩➔þ❶❥❫✓➦➄♥➄❫❷❦♠❨❬❫✰❸s③❑♥➄✐❧❦✉⑨❑♥❊❦✡t✇♥❄➣❑③❑➓✇➣❑❫◗❶✼t✇♥✣❦♠❨❬❫✪❭✘⑨✩❦⑥❸⑥❨❬❫❪❶☎❫✓➐❥⑩➄⑨❑♥➄✐♠t➝③❊♥❘❊

λ0 =
π

2

(
l10(V0) − L1

0(v0)
)
.

✃✲➹ ❮➫➋❥➊☛✏P➍ ➎➏♥☎❦✉❨❬❫✰❸s⑨❊✐❧❫➂➔✡❨❬❫❪r♠❫
Ωi

ε

t✇✐✯❦✉❨❬❫✰❶❥t➡✐❧➢✲③➀➑P❸✓❫s♥❚❦✉❫sr
0
⑨➀♥➄❶☎r⑥⑨❑❶❥t✇♦➄✐

ε
↔❬➔✴❫❷❨➄⑨❼➣❊❫

λ0 = γ + i
π

2
− ln

k

2

➵➥❫✝t✇♥❚➣❄t➝❦♠❫✝❦♠❨❬❫☞r♠❫◗⑨❑❶❥❫❪r✡❦♠③☎♦❬♥➄❶❥❫❪r✉✐❧❦✉⑨❑♥➄❶✣➑➛③❑r✉❭✝♦❬➓➡⑨◆➾❈❾❥➟ÿ❾➀➪✡➔✡t➝❦♠❨❂❦✉❨❬❫✰➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅✼⑩■③❑t✇♥❊❦➂③➀➑P➣❄t➝❫❪➔✪➟❝➠➄⑨❑r✤➑➛r✉③❑❭ ❦♠❨➄❫
✐♠❭q⑨❑➓➝➓➧③❊↕➄✐❧❦✉⑨❑❸s➓➝❫❊↔❥❭q③❑r✉❫➂⑩➄r♠❫◗❸✓t➡✐❧❫❪➓➝❤q➑➛③❊r |x| > √

ε
↔❥❦♠❨❬❫✰✐♠③❑➓✇♦❥❦✉t➝③❊♥☎③❑➑✌❦✉❨❬❫✪❫✓➐❬⑨❑❸✓❦✡⑩❬r♠③❊↕❬➓✇❫s❭✫✐✉⑨✩❦✉t✇✐❧➦➄❫❪✐

uε(x) ≃ u0(x) +
−π

2 u0(0)

ln ε− λ0
v0(x).

×✴➓✇③❊✐♠❫❛❦✉③✺❦♠❨❬❫✰✐♠❭✘⑨➀➓✇➓➧③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑↔❄➑➛③❑r |x| < √
ε/2

↔❄❦♠❨➄❫✰✐❧③❊➓➝♦❥❦✉t➝③❊♥☎③❑➑❆❦✉❨❬❫✪❫✓➐❬⑨❑❸✓❦✡⑩❬r♠③❊↕❬➓✇❫s❭✫✐✉⑨✩❦✉t✇✐❧➦➄❫❪✐

uε(x) ≃ −2π u0(0)

ln ε− λ0
V ε

0 (x)

➎➏♥➳⑩➄⑨❑r❧❦✉t✇❸s♦❬➓✇⑨❑r❪↔✌➔✴❫✘③❊↕❥❦✉⑨❑t➝♥➫⑨❑♥➤❫✓➐❥⑩❬➓✇t✇❸st➭❦✝❫s➐❥⑩❬r♠❫◗✐♠✐♠t✇③❑♥➥③➀➑✕❦♠❨❬❫✲↕➒❫❪❨➄⑨❼➣❄t➝③❊r✪③➀➑✕❦♠❨❬❫☎✐❧③❊➓➝♦❥❦✉t➝③❊♥➤③❑♥➤❦♠❨➄❫✼↕➒③❊♦❬♥➄❶❬⑨❑r♠❤
③➀➑✡❦✉❨❬❫✮✐❧❭✘⑨➀➓✇➓✯③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟➞➵➥❫✣➔✡t➝➓✇➓✴♦➒✐❧❫✣➓✇⑨➀❦♠❫❪r✰❦♠❨➄t✇✐✺t✇♥❥➑➛③❑r✉❭✘⑨✩❦♠t✇③❑♥➳t✇♥➩③❊r✉❶❬❫sr✰❦✉③➻❸⑥❨❬③❄③❚✐❧❫✲⑨➻✐❧❭✘⑨❑➓➝➓✇❫srq✐❧⑩➒⑨❑❸✓❫✲③➀➑
Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫❝❭☞♦❬➓➭❦✉t➝⑩➄➓➝t✇❫sr⑥✐✯➑➛③❑r✕❦✉❨❬❫✰➺❝t✇r✉t✇❸⑥❨❬➓✇❫✓❦❝❸s③❑♥➄❶❬t➭❦✉t➝③❊♥☎③❊♥

Γε ➟➵➥❫✤➦➄♥➄⑨❑➓➝➓✇❤qr♠❫◗❸s⑨❑➓➝➓■⑨➀♥❬③❑❦♠❨❬❫❪r✴⑨❑✐♠❤❄❭q⑩❥❦♠③❑❦♠t➡❸✡❫❪✐❧❦♠t✇❭✘⑨✩❦♠❫❊➟P❳✕❨❬❫❝r✉❫❪✐♠♦❬➓➝❦✴③➀➑❆❳✕❨➄❫s③❑r✉❫s❭✾❾❥➟✇ü❝t➡✐✯⑨➀♥✘❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫❝t✇♥✼❦♠❨➄❫
➔✡❨❬③❊➓➝❫✰❶❥③❊❭✘⑨➀t✇♥

ΩR
➟②➎❍❦✤t➡✐✡⑩■③❊✐✉✐❧t✇↕❬➓✇❫❷❦♠③✘③❊↕❥❦✉⑨❑t➝♥✮⑨✘✐❧❨➒⑨➀r✉⑩➒❫❪r✡❫❪✐❧❦♠t✇❭q⑨➀❦♠❫✰⑨❼➔✕⑨❼❤✺➑➛r♠③❊❭✧❦♠❨➄❫✪③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫

Ωi
ε

➟→❳✕❨❬t➡✐✡t✇✐
❦♠❨➄❫✰✐❧♦❬↕❬④⑤❫❪❸➜❦✤③❑➑❆❦✉❨❬❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✺❦♠❨➄❫s③❑r✉❫s❭✮➟
✦✧✟ ➹❄➬ ➊ ➹ ❮ ô❘❷➡ô
❸ ã❪æ❊Þ✘ã✩ß➳ê➇❻➄Þ✓ß➻ésÞ✓à

Ω0 ⊂ ΩR
é⑥Û➄ì ❹ à ❹ ã✩à❏❽✓ê✩åqã✺Ü❑ç❚➊✩Þ✓ß

ε
à ❹ Þ✓å✉Þ ❹ ê✩ä➝á✩é

Ω0 ∩ Ωi
ε = ∅ è ❸✫❹ Þsß✴➋✯à ❹ Þ✓å✉Þ✘Þ❧❺❊ç➡é➜à➲é

κá❑Þ➈❻➄Þ✓ß❲á✩ç➚ß❚Ü✮ê➀ß
Ω0

ësÛ❥à→ç➚ß❲á❑Þ➈❻❬Þsß■á❊Þ✓ß➒à✕ê✷❽
ε
é⑥Û➄ì ❹ à ❹ ã➀à

‖uε − ũε‖H1(Ω0) 6 κ ε.

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



ü❪❿ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

❵❜❛➆❵ ➌❜❥❧❦♠⑦❴✐✷❥◆➍❴❣✮➎➏⑦✇❡✴②❑➐❴✐◆❣➑❦
➎❍❦✤t➡✐✕♥❬③✩➔ ⑩■③❊✐✉✐❧t✇↕❬➓✇❫➂❦♠③✘❭✘⑨➀➢❊❫❷⑨q✐♠t➝❭q⑩❬➓✇❫✪r✉❫s❭✘⑨➀r✉➢✘↕➄⑨❑✐♠❫❪❶☎③❑♥☎❦♠❨➄❫✪r♠❫◗✐❧♦❬➓➝❦✉✐✕③❑➑❆❦✉❨❬❫✪⑩❬r✉❫s➣❄t➝③❊♦➄✐✡✐♠❫❪❸➜❦✉t➝③❊♥✵↔

pε = [
∂uε

∂n
]|Γε ≃ [

∂ũε

∂n
]|Γε =

−2πu0(0)

ln ε− λ0

∂V ε
0

∂n
|Γε ,

➾❯❾❬➟ ➃❄➪

✐♠t➝♥➄❸s❫
χε

1/2 = 1
③❑♥

Γε ➟✮❳✕❨❚♦➒✐✪➔✴❫✼❶❬❫❪❸✓t➡❶❥❫✘❦✉③❂r♠❫❪⑩❬➓➡⑨❑❸✓❫q❦✉❨❬❫✲✐♠⑩➄⑨❑❸s❫✘③➀➑✡Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫☞❭☞♦❬➓➭❦✉t➝⑩➄➓➝t✇❫sr⑥✐ Qex
↕❚❤➻❦♠❨➄❫

✐♠❭q⑨❑➓➝➓✇❫sr✤✐♠⑩➄⑨❊❸✓❫
Qap

❶❥❫s➦➄♥❬❫◗❶✲↕❄❤

Qap = { q = q̆
∂V ε

0

∂n

✐❧♦➒❸⑥❨✲❦✉❨➄⑨✩❦
q̆ ∈ C } ⊂ Qex = H−1/2(Γε).

❳✕❨❬t➡✐P♥❬❫❪➔✱✐♠⑩➄⑨❑❸s❫✕❨➄⑨❑✐P❶❥t✇❭q❫s♥➄✐♠t✇③❑♥q③❑♥❬❫❊↔❊✐♠③➂❦♠❨➄⑨➀❦②t➭❦②t➡✐P⑩■③❊✐✉✐❧t✇↕❬➓✇❫✕❦♠③✪t➡❶❥❫s♥❚❦♠t➝➑➛❤
q = q̆

∂V ε
0

∂n

➔✡t➭❦✉❨
q̆
➟✶❢❄③✪➔✯❫✡❶❥❫s♥➄③➀❦♠❫

|q| ❦♠❨➄❫✝♥❬③❊r♠❭ ③➀➑②⑨➀♥❂❫❪➓➝❫❪❭q❫s♥❚❦❝③➀➑
Qap

↔❲⑨➀♥➄❶✣❦✉❨❬t➡✐✤♥❬③❊r♠❭ ➔✡t➝➓✇➓❆↕■❫☞❶❬❫✓➦➄♥❬❫◗❶✮↕❄❤ |q| = |q̆| t❈➟ ❫❑➟✕❦♠❨➄❫✝❭q③❥❶❥♦❬➓✇♦➄✐✤③❑➑
q̆
⑨❊✐❛⑨✣❸✓③❊❭✺⑩➄➓➝❫s➐◆♥❚♦➄❭✝↕■❫sr◗➟☞❳✕❨❬❫✺⑩❬r✉③❑↕❬➓✇❫s❭ ➔✯❫✺⑨❑r♠❫✺t✇♥❊❦✉❫sr✉❫❪✐❧❦♠❫◗❶◆t✇♥➞t➡✐➂❦♠❨❬❫❪♥➻r✉❫✓➑➛③❊r♠❭☞♦❬➓✇⑨➀❦♠❫◗❶❂t➝♥➞❦♠❨❬❫✺➑➛③❊➓➝➓✇③✩➔✡t➝♥➄➅

❭✘⑨➀♥❬♥➄❫sr




➠✢t➝♥➒❶
(uε, pε) ∈ V ×Qap

✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

a(uε, v) + bε(v, pε) = 〈f, v〉V,V ′ ∀v ∈ V,

bε(uε, q) = 0 ∀q ∈ Qap.

➾❯❾❬➟ ✡❊➪

❳✕❨❬t➡✐❝⑩➄r♠③❊↕❬➓➝❫❪❭ ➦❬❦✉✐❛t➝♥➞❦♠❨❬❫✺✐❧❫s❦❧❦✉t➝♥❬➅✣③➀➑P❦✉❨❬❫☞⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐✤③❑➑→➠✯➟ ❉✯r✉❫s➽s➽❪t✢⑨❑♥➄❶◆❜➳➟ ➠❬③❊r❧❦✉t➝♥➞t➝♥➒❋➝ü✹❍❍➟➂➵➻❫✺➔✡t➝➓✇➓✶❸s⑨➀➓✇➓✢t➭❦✪⑨
✐♠t➝❭q⑩❬➓✇t➭➦➒❫❪❶✣⑩❬r✉③❑↕❬➓✇❫s❭✮➟✶➎➏♥❂⑨❑❶❬❶❥t➝❦♠t✇③❑♥✣➔✯❫✰❸✓③❑♥➒✐❧t➡❶❥❫sr✯❦✉❨❬❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✺♥❬③➀❦⑥⑨✩❦✉t➝③❊♥➄✐

Zε = {v ∈ V | bε(v, q) = 0 , ∀q ∈ Qap}
❫s❦

b̆ε(v) = bε(v,
∂V ε

0

∂n
) ∀v ∈ V.

❴✤③❑❦♠❫✰t✇♥◆⑩➄⑨❑r❧❦✉t✇❸s♦❬➓➡⑨➀r✡❦✉❨➄⑨✩❦
bε(v, q) = b̆ε(v) q̆

➟✤❳✕❨❬❫☞➓➝t✇♥❬❫◗⑨➀r✡➑➛③❊r♠❭
b̆ε
t➡✐❝✐♠③❑❭q❫✰➢❄t✇♥➄❶✮③➀➑→⑨❼➣❊❫sr⑥⑨➀➅❊t➝♥❬➅✺③❑⑩■❫sr⑥⑨✩❦✉③❑r◗➟

➎➏♥➄❶❥❫❪❫❪❶➻➔✡❨❬❫s♥➻❦♠❨➄❫✺③❊↕➄✐❧❦✉⑨❑❸s➓➝❫☞t✇✐✪⑨✣❶❥t➡✐❧➢❲↔
Γε t➡✐❷⑨✣❸st➝r⑥❸✓➓✇❫✺③➀➑✴❸s❫s♥❚❦♠❫❪r❷❿✮⑨❑♥➄❶◆r⑥⑨❑❶❥t✇♦➄✐ ε ↔✵⑨➀♥➄❶➻➔✯❫☞❨➄⑨❼➣❊❫ b̆ε(v) =

1
2π

∫ 2π

0 v(ε, θ)dθ
➟

➵➥❫✡➔✡t➝➓✇➓➄⑩❬r✉③✩➣❑❫✯❦✉❨❬❫✤❫✓➐❥t➡✐⑤❦✉❫s♥➄❸s❫✤⑨➀♥➄❶q♦➄♥❬t✇✈❚♦❬❫❪♥❬❫❪✐✉✐P③❑➑■❦✉❨❬❫❝✐♠③❑➓✇♦❥❦♠t✇③❑♥q③❑➑➒❦✉❨❬❫❝✐♠t➝❭q⑩❬➓✇t➭➦➒❫❪❶q⑩❬r✉③❑↕❬➓✇❫s❭ ➾❯❾❬➟ ✡➀➪✓➟✶➎❍❦→t✇✐
➦➄r⑥✐⑤❦✕♥❬❫◗❸✓❫❪✐✉✐✉⑨➀r✉❤☞❦✉③✺✐♠❨❬③✩➔➱❦✉❨➄⑨✩❦✤⑨❑♥✲t✇♥❥➑➚❰❍✐♠♦❬⑩✮❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥✲t➡✐✕✐♠⑨➀❦♠t➡✐⑤➦➒❫❪❶✼↕❄❤

a
➟P❜❂③❑r✉❫s③✩➣❊❫sr→❦♠❨❬t➡✐✕t➝♥❬➑➚❰❍✐♠♦❬⑩☎❸s③❑♥➄❶❬t➭❦✉t➝③❊♥

❨➄⑨❊✐✯❦♠③q↕➒❫✪♦➄♥❬t➭➑➛③❊r♠❭ ➔✡t➭❦✉❨✮r♠❫◗✐❧⑩■❫❪❸✓❦✯❦✉③
ε
➑➛③❑r✕❦✉❨❬❫✪⑩❬r✉③❑↕❬➓✇❫s❭✧❦♠③✘↕■❫✰✐⑤❦⑥⑨➀↕❬➓✇❫❑➟

➁→➹ ❮➫❮➩➋ ô❏❷➓✁
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

α0 > 0
ç➚ß❲á❑Þ➈❻❬Þsß■á❊Þ✓ß➒à✕ê✷❽

ε
é⑥Û➄ì ❹ à ❹ ã➀à

inf
u∈Zε

sup
v∈Zε

|a(u, v)|
‖u‖V ‖v‖V

> α0.

➔ ➊ ➬✵➬✞✝ ➍ ①→r♠③❥❸✓❫❪❫❪❶➥↕❄❤➻❸s③❑♥❚❦♠r⑥⑨❑❶❥t➡❸➜❦✉t➝③❊♥✵↔❆✐♠♦❬⑩❬⑩■③❊✐♠❫q❦♠❨❬❫❪r♠❫✲❫✓➐❥t✇✐❧❦✉✐✝⑨❂✐❧❫◗✈❊♦➄❫s♥➄❸s❫
εn →

n→+∞
0
↔✌⑨➀♥➒❶➥⑨❑♥❬③➀❦✉❨❬❫sr

(un)✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦✡➑➛③❊r✤⑨➀♥❄❤
n
↔

un ∈ Zεn , ‖un‖V = 1,
❫✓❦

sup
v∈Zεn

a(un, v)

‖v‖V
→

n→+∞
0

❢❄t✇♥➄❸✓❫
(un)

t➡✐❝↕■③❑♦❬♥➒❶❥❫❪❶✮t✇♥
H1(ΩR)

↔■➔✯❫✝❸s⑨❑♥❂❫✓➐❄❦♠r⑥⑨❑❸✓❦✡➑➛r♠③❊❭
(un)

⑨✼✐❧♦➄↕➄✐❧❫◗✈❚♦❬❫s♥➄❸s❫✰➔✯❫❪⑨➀➢❄➓✇❤☎❸s③❑♥❄➣❑❫❪r♠➅❊t➝♥❬➅qt✇♥
H1(ΩR)

⑨➀♥➄❶Õ✐⑤❦✉r♠③❊♥❬➅❑➓✇❤➳❸✓③❑♥❄➣❊❫sr✉➅❑t✇♥❬➅❂t➝♥
L2(ΩR)

❦♠③✩➔✕⑨➀r⑥❶➧↔P✐♠⑨❼❤❊↔
u
➟➳❳✢⑨➀➢❊❫

v ∈ H1
00(ΩR \ {0}) = {w ∈

H1(ΩR)
✐❪➟ ❦

w = 0
③❊♥✣⑨✺♥❬❫❪t➝➅❊❨❚↕■③❑r✉❨❬③❄③❥❶✲③❑➑

0 } ➟✮❳✕❨❬❫s♥❆↔❆➑➛③❊r n ✐♠♦❥Ö✼❸✓t✇❫s♥❚❦✉➓➝❤➥➓✇⑨❑r♠➅❊❫❑↔
v ∈ Zεn

➟✣➠➄r♠③❊❭➼❦♠❨➄❫
➔✯❫❪⑨➀➢✮❸✓③❊♥❄➣❑❫sr✉➅❑❫❪♥➄❸✓❫❊↔❥➔✴❫☞③❑↕❥❦⑥⑨➀t✇♥

a(u, v) = 0
➟❛❢❄t✇♥➄❸✓❫

v
t➡✐❝❸⑥❨❬③❚✐❧❫❪♥◆⑨➀r✉↕❬t➭❦✉r✉⑨❑r♠t✇➓✇❤✲t✇♥

H1
00(ΩR \ {0}) ↔➄♦➒✐❧❫✝❦♠❨❬❫➑➲⑨❑❸✓❦q❦♠❨➄⑨➀❦✺❦✉❨❬t➡✐✼✐❧⑩➒⑨❑❸✓❫✣t➡✐✘❶❥❫s♥➄✐♠❫✮t➝♥

H1(ΩR)
➾➲✐♠t➝❭q⑩❬➓✇❫✮r♠❫◗✐❧♦➄➓➭❦q❦♠❨➒⑨✩❦✘t✇✐✘⑨❼➣✩⑨❑t➝➓➡⑨➀↕❬➓✇❫✣t➝♥→❋ í ❍➚➪✝❦✉③➤✐♠❫s❫☎❦♠❨➒⑨✩❦✘❦♠❨➄❫

⑩❬r✉❫s➣❄t✇③❑♦➄✐☞❫❪✈❚♦➄⑨❑➓➝t➝❦⑤❤➤❨❬③❑➓➡❶❬✐✝➑➛③❑rq⑨➀♥❄❤
v ∈ H1(ΩR)

↔→➔✡❨❬t✇❸⑥❨Õt➝❭q⑩❬➓✇t✇❫❪✐q⑨❑❸❪❸✓③❑r⑥❶❥t✇♥❬➅❂❦✉③◆❦♠❨➄❫✣➔✯❫s➓✇➓✯⑩➒③❚✐❧❫◗❶❥♥❬❫❪✐✉✐☞③➀➑
➨✤❫❪➓➝❭q❨❬③❊➓➭❦✉➽✪❫❪✈❚♦➄⑨➀❦♠t✇③❑♥☎❦♠❨➄⑨➀❦

u = 0
➟ ✬ ✐✤⑨q❸✓③❑♥➒✐❧❫◗✈❊♦➄❫s♥➄❸s❫❑↔ ‖un‖L2(ΩR) →

n→+∞
0
➟②➠✢t✇♥➄⑨➀➓✇➓➝❤❊↔

‖∇un‖2
L2(ΩR) 6 ‖∇un‖2

L2(ΩR) + ℜe{
∫

ΓR

unTRun} = a(un, un) + k2‖un‖2
L2(ΩR).

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ü❊ü

❢❄t✇♥➄❸✓❫
a(un, un) →

n→+∞
0
↔❥❦✉❨❬t✇✐✤➓➝❫◗⑨❑❶❬✐✕❦✉③ ‖un‖H1(ΩR) →

n→+∞
0
➟✯❳✕❨❬t➡✐✤❸✓③❊♥❊❦✉r✉⑨❊❶❥t➡❸➜❦✉✐✕③❊♦❬r✡t✇♥❬t➭❦✉t✇⑨❑➓✌⑨❊✐♠✐♠♦❬❭q⑩❥❦♠t✇③❑♥❆↔

✐♠③☞❦✉❨❬❫✪r✉❫❪✐♠♦❬➓➭❦✡③❑➑✌❦✉❨❬❫✪➓➝❫❪❭q❭q⑨✺t➡✐✕⑩❬r✉③✩➣❑❫❪❶✵➟

➎➏♥➫⑨❑❶➄❶❥t➭❦✉t➝③❊♥➳➔✴❫✼⑨❑➓✇✐♠③❂❨➄⑨❼➣❊❫q❦♠③◆⑩❬r✉③✩➣❑❫✺❦✉❨➄⑨✩❦☞⑨❑♥➳➎➏♥❥➑➚❰⑤❢❄♦❬⑩➩❸s③❑♥➄❶❥t➝❦♠t✇③❑♥➤t➡✐✝✐✉⑨✩❦✉t✇✐❧➦➄❫❪❶➤↕❄❤
bε
➟❂➠❬③❊r✝✐⑤❦⑥⑨➀↕❬t✇➓✇t➭❦⑤❤

✐✉⑨➀➢❑❫❊↔❚❦♠❨❬t➡✐✤❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥✣❨➄⑨❑✐❝⑨➀➓➡✐❧③☞❦♠③q↕■❫✪♦❬♥❬t➝➑➛③❑r✉❭✺➓✇❤☎✐✉⑨✩❦✉t✇✐❧➦➄❫◗❶✲➔✡t➝❦♠❨✮r✉❫❪✐♠⑩➒❫◗❸➜❦✕❦♠③
ε
➟

➁→➹ ❮➫❮➩➋ ô❏❷✇ó
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

β0 > 0
ç➚ß❲á❑Þ➈❻❬Þsß■á❊Þ✓ß➒à✕ê✷❽

ε
é➜Û➄ì ❹ à ❹ ã➀à

sup
v∈V

|bε(v, q)|
‖v‖V

> β0 |q| ∀q ∈ Q.

➔ ➊ ➬✵➬✞✝ ➍
➎❍❦✤t➡✐✤✐❧♦❬Ö✘❸st➝❫❪♥❚❦✡❦♠③✘❸✓③❊♥➄✐❧t➡❶❥❫❪r✤⑨✺➦❬➐❥❫❪❶☎➑➛♦❬♥➄❸✓❦♠t✇③❑♥

u ∈ C∞(ΩR)
❦⑥⑨➀➢❄t✇♥❬➅✺❦♠❨❬❫✰➣✩⑨❑➓➝♦❬❫

1
③❑♥❂⑨✺♥❬❫❪t➝➅❊❨❚↕■③❑r✉❨❬③❄③❥❶

③➀➑✢❦♠❨➄❫➂③❊r♠t✇➅❑t✇♥✵➟P❳✕❨❄♦➄✐❪↔❄❦♠❨❬❫❪r♠❫✪❨❬③❊➓✇❶➄✐

sup
v∈V

|bε(v, q)|
‖v‖V

>
|q|

‖u‖V❢❄t✇♥➄❸✓❫
u
t➡✐✯➦❬➐❥❫❪❶✮⑨❑♥✣❶❥③❄❫◗✐✕♥❬③➀❦❝❶❥❫❪⑩➒❫❪♥➄❶✣③❑♥

ε
↔❄❦♠❨❬t➡✐✡⑩❬r✉③✩➣❄t✇❶❬❫❪✐✴❦♠❨❬❫✰❶❬❫❪✐♠t➝r✉❫❪❶☎r♠❫◗✐❧♦➄➓➭❦◗➟

➠✢t➝♥➒⑨➀➓✇➓➝❤❊↔✵➔✴❫q♥❬❫❪❫❪❶➞❦♠③✮⑩❬r✉③✩➣❑❫✺❸✓③❑♥❚❦✉t➝♥❄♦❬t➝❦⑤❤❂⑩❬r✉③❑⑩■❫sr♠❦♠t✇❫❪✐❪↔➧♦❬♥❬t➝➑➛③❑r✉❭➼➔✡t➭❦✉❨➤r♠❫◗✐❧⑩■❫❪❸✓❦❛❦✉③
ε
➟☞❦♠❨❬t➡✐❷➔✡t✇➓➝➓②⑨❑➓➝➓✇③✩➔❹♦➄✐➂❦✉③

⑨➀⑩➄⑩❬➓➝❤☎❸✓➓➡⑨❑✐✉✐❧t➡❸s⑨❑➓■r✉❫❪✐♠♦❬➓➝❦✉✐✕③❑➑✢❫s➐❄t➡✐❧❦♠❫s♥➒❸✓❫✪⑨➀♥➄❶☎♦❬♥❬t➡✈❚♦❬❫s♥➄❫❪✐✉✐✕➑➛③❑r✤✐✉⑨❑❶❬❶❬➓➝❫s❰❈⑩■③❑t✇♥❚❦✕⑩➄r♠③❊↕❬➓➝❫❪❭✘✐s➟
➁→➹ ❮➫❮➩➋ ô❏❷❚✙
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
é➜Û➄ì ❹ à ❹ ã✩à

(i) |a(u, v)| 6 κ‖u‖V ‖v‖V ∀u, v ∈ V,

(ii) |bε(v, q)| 6 κ
√

ln 1/ε ‖v‖V |q| ∀(v, q) ∈ V ×Qap.

➔ ➊ ➬✵➬✞✝ ➍
➎➏♥❬❫◗✈❊♦➒⑨➀➓✇t➭❦⑤❤

(i)
⑨❑↕➒③❊♦❥❦

a
t➡✐✺❦♠r✉t➝➣❄t➡⑨➀➓❈➟ Ñ❆❫✓❦✘♦➄✐✼❸s③❑♥➄❸s❫s♥❚❦♠r⑥⑨✩❦✉❫☎③❊♥

(ii)
➟ ❵❛✐❧t✇♥❬➅➳❸✓♦❬❦❧❰❍③➀➯ø❦✉❫❪❸⑥❨❬♥❬t➡✈❚♦❬❫❑↔✴t➭❦✼t➡✐

✐♠♦❥Ö✼❸✓t✇❫s♥❚❦✴❦✉③☞⑩➄r♠③✩➣❊❫✡❦♠❨❬t➡✐✯⑩❬r✉③❑⑩■❫sr♠❦⑤❤✝➑➛③❊r
v ∈ D(ΩR)

➟②❵❛✐❧t✇♥❬➅qÑ✵❫s❭q❭✘⑨ ✬ ➟➝ü➂t✇♥✼❦♠❨➄❫➂⑨❑⑩❬⑩➒❫❪♥➄❶❥t➝➐➧↔❚➔✯❫➂➢❚♥➄③✩➔ ❦♠❨➄⑨➀❦
❦♠❨➄❫sr✉❫➂❫s➐❥t✇✐❧❦✉✐

κ > 0
t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦❝③➀➑

ε
✐❧♦➒❸⑥❨☎❦✉❨➄⑨✩❦

∣∣∣
∫

Γε

∂V ε
0

∂n
v
∣∣∣ 6 κ

∫ 2π

θ=0

|v(εγ(θ), θ)| dθ.
❜❂③❊r♠❫❪③✩➣❑❫sr◗↔

|v(εγ(θ), θ)| =
∣∣∣
∫ εγ(θ)

R

∂v

∂r
(r, θ) dr

∣∣∣ 6

(∫ R

εγ(θ)

dr

r

)1/2( ∫ R

εγ(θ)

|∂v
∂r

|2 rdr
)1/2

;

❨❬❫❪♥➄❸✓❫
∫ 2π

0

|v(εγ(θ), θ)|dθ 6

(∫ 2π

0

∫ R

εγ(θ)

1

r
drdθ

)1/2(∫ 2π

0

∫ R

εγ(θ)

|∂v
∂r

|2 rdrdθ
)1/2

6 κ
√

ln 1/ε ‖v‖H1(ΩR),

➔✡❨❬t➡❸⑥❨☎❤❄t✇❫s➓➡❶❬✐
(ii)

➟

➵➱t➝❦♠❨➳Ñ✵❫❪❭✺❭✘⑨❊✐❷❾❬➟ í ↔✌❾❥➟ ➃✣⑨❑♥➄❶➤❾❥➟➣✡❄↔✵➔✯❫✺❸❪⑨➀♥➤⑨➀⑩❬⑩❬➓✇❤◆❳✕❨❬❫❪③❑r✉❫s❭➸ü❑➟✇ü↕↔♠➎❧➎➜➟✇üq③➀➑➙❋➝ü✹❍②➔✡❨➄t✇❸⑥❨➥⑩❬r✉③✩➣❚t➡❶❥❫◗✐❝❫s➐❄t➡✐❧❦♠❫s♥➒❸✓❫❑↔
♦❬♥❬t➡✈❚♦❬❫s♥➄❫❪✐✉✐✝⑨➀♥➒❶➳✐⑤❦⑥⑨➀↕❬t✇➓➝t➝❦⑤❤➥③➀➑✕❦♠❨❬❫✣✐❧③❊➓➝♦❬❦♠t✇③❑♥➳③➀➑✡⑩❬r✉③❑↕➄➓➝❫❪❭ ➾❈❾❥➟➣✡➀➪➜➟➞❳✕❨➄t✇✐☞❸s⑨➀♥➳↕■❫✼➔✡r✉t➭❦♠❦♠❫❪♥➫t➝♥➫❦♠❨❬❫✘➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅
❭✘⑨➀♥❬♥➄❫sr◗↔

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



ü◗❾ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➠➄③❑r✤⑨❑♥❚❤
f ∈ V ′ ↔❥❦♠❨➄❫sr✉❫➂❫s➐❥t✇✐❧❦✉✐✡⑨q♦❬♥➄t✇✈❚♦❬❫✪❸✓③❊♦❬⑩❬➓✇❫ (uε, pε) ∈ V ×Qap

✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦❪↔

a(uε, v) + bε(v, pε) = 〈f, v〉V,V ′ ∀v ∈ V,

bε(uε, q) = 0 ∀q ∈ Qap.

❜❂③❊r♠❫❪③✩➣❑❫sr✴❦♠❨➄❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✺❫❪✐❧❦♠t✇❭q⑨➀❦♠❫◗✐✪➾➛♦❬♥❬t➝➑➛③❑r✉❭✫➔✡t➝❦♠❨✮r✉❫❪✐♠⑩➒❫◗❸➜❦✕❦♠③
ε
➪✴❨❬③❊➓✇❶

‖uε‖V 6
1

α0
‖f‖V ′

❫✓❦ |pε| 6
1
β0

(1 + ‖a‖
α0

)‖f‖V ′ .

➎❍❦✲t➡✐✲⑩■③❊✐✉✐♠t➝↕❬➓✇❫✮❦♠③➩⑩❬r♠③✩➣❄t➡❶❥❫◆⑨➀♥ø⑨❊✐❧❤❄❭q⑩❥❦✉③➀❦♠t➡❸◆⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐✺➑➛③❑r
uε ↔❝✐♠t✇❭✺t✇➓➡⑨➀r✘❦✉③➳❦♠❨❬❫➞③❑♥❬❫❂➑➛③❊r uε ↔✡t➝♥➱③❊r✉❶❬❫sr✘❦✉③

❶❥❫s❦♠❫sr✉❭qt➝♥➄❫✪t➭❦⑥✐✕↕➒❫❪❨➄⑨❼➣❄t➝③❊r✯➔✡❨➄❫s♥
ε
➅❊❫✓❦✉✐✕➣❊❫sr✉❤✼✐❧❭✘⑨❑➓➝➓❈➟

✦✧✟ ➹❄➬ ➊ ➹ ❮ ô❘❷➛✁
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
é➜Û➄ì ❹ à ❹ ã✩à✞❽✓ê✩å

ε
é➜Ýqã➀ä➚ä✢Þsß■ê✩Û❑Ü ❹

‖ũε − u
ε‖H1(ΩR) 6 κ ε1/2.

❳✕❨❬t➡✐✲r✉❫❪✐♠♦❬➓➝❦✲t➡✐☎✐♠t➝❭qt✇➓✇⑨❑r✼❦✉③Õ❳✕❨❬❫❪③❑r✉❫s❭ ❾❬➟➝ü➻⑨➀♥➄❶➱t➝❦✉✐☎⑩❬r✉③❄③➀➑❷➑➛③❑➓✇➓➝③✩➔✤✐✼❦♠❨❬❫➥✐♠⑨❑❭q❫◆➓➝t✇♥❬❫◗✐s➟ ➨✤③✩➔✯❫s➣❑❫❪r❪↔✴➑➛③❑r☎❦♠❨➄❫
❸✓③❊♥➄✐❧❦♠r✉♦➄❸➜❦✉t➝③❊♥✘③➀➑➧❦♠❨➄❫❛❭✘⑨✩❦⑥❸⑥❨❬❫❪❶✼❫✓➐❥⑩➄⑨➀♥➒✐❧t✇③❑♥✘③❑➑

uε ↔❚❦♠❨➄❫❛♥❬❫◗⑨➀r→➦➄❫s➓➡❶✘❨➄⑨❊✐②❦✉③✝↕■❫➂❸⑥❨➄⑨❑r✉⑨❊❸➜❦✉❫sr✉t➝➽❪❫❪❶q⑨❑✐②❦♠❨❬❫❷✐❧③❊➓➝♦❬❦♠t✇③❑♥③➀➑✯⑨✲✐♠t➝❭q⑩❬➓✇t➭➦➒❫❪❶◆⑩➄r♠③❊↕❬➓➝❫❪❭✮➟✰❳✕❨❬❫s③❊r♠❫❪❭✂❾❬➟ í ❤❚t✇❫s➓➡❶❬✐❛❦♠❨➒⑨✩❦➂❦♠❨❬❫☞➦➄r⑥✐⑤❦➂❦♠❫❪r♠❭✘✐❛③➀➑②❦✉❨❬❫☞❭✘⑨➀❦✉❸⑥❨❬❫◗❶◆❫✓➐❥⑩➄⑨❑♥➄✐♠t➝③❊♥◆③➀➑
uε❸✓③❊t➝♥➒❸✓t➡❶❥❫❷➔✡t➭❦✉❨✲❦✉❨❬❫❷➦➄r⑥✐⑤❦✕❦♠❫❪r♠❭✘✐✯③➀➑✌❦♠❨❬❫✪❫s➐❥⑩➄⑨➀♥➄✐♠t✇③❑♥✲③❑➑

uε ➾➲↕❬♦❥❦✡❦♠❨➄❫❪✐♠❫❛❦⑤➔✯③✺❫✓➐❥⑩➄⑨➀♥➒✐❧t✇③❑♥➄✐✕❶❥③q♥❬③❑❦✤❸✓③❑t✇♥➄❸st✇❶❥❫➂➑➛③❊r❨❬t✇➅❑❨❬❫❪r❝❦✉❫sr✉❭✘✐✉➪✓➟ ✬ ♥❬❫s➔✪↔➧❳✕❨❬❫❪③❑r✉❫s❭➼❾❥➟ í ⑩➄r♠③✩➣❄t➡❶❥❫❪✐❛⑨✼➅❑➓✇③❑↕➒⑨➀➓❆❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫✮➾➛③❑♥
ΩR

➪✤↕❬♦❬❦➂t➝❦➂t➡✐❛⑩➒③❚✐♠✐♠t➝↕➄➓➝❫✝❦♠③✣➓➝③❄③❑➢
➑➛③❑r✤✐♠③❑❭q❫❷➓✇③❄❸❪⑨➀➓➧❫◗✐⑤❦✉t➝❭✘⑨✩❦✉❫✪⑨❼➔✯⑨❼❤q➑➛r✉③❑❭✾❦✉❨❬❫✪③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫❑➟P➨❝❫sr✉❫➂t➡✐✤⑨✺r✉❫❪✐♠♦❬➓➭❦✤✐♠t➝❭qt✇➓✇⑨❑r✕❦♠③✘❳✕❨❬❫❪③❑r✉❫s❭ ❾❬➟ ❾❄➟
✦✧✟ ➹❄➬ ➊ ➹ ❮ ô❘❷➝ó
❸ ã❪æ❊Þ✘ã✩ß➳ê➇❻➄Þ✓ß➻ésÞ✓à

Ω0 ⊂ ΩR
é⑥Û➄ì ❹ à ❹ ã✩à❏❽✓ê✩åqã✺Ü❑ç❚➊✩Þ✓ß

ε
à ❹ Þ✓å✉Þ ❹ ê✩ä➝á✩é

Ω0 ∩ Ωi
ε = ∅ è ❸✫❹ Þsß✴➋✯à ❹ Þ✓å✉Þ✘Þ❧❺❊ç➡é➜à➲é

κá❑Þ➈❻➄Þ✓ß❲á✩ç➚ß❚Ü✮ê➀ß
Ω0

ësÛ❥à→ç➚ß❲á❑Þ➈❻❬Þsß■á❊Þ✓ß➒à✕ê✷❽
ε
é⑥Û➄ì ❹ à ❹ ã➀à✆➋

‖uε − ũε‖H1(Ω0) 6 κ ε.

➜ ➝ ✗✓✥❆✛✴✔✢✞✯☛✢✗✽➞✴✑✪☛✌✗✓★✰✠ ★✰✦Õ☛✌✜✣✞ ✥❆✗s✆❬❩✮✒✓✗✹❭✮✞✡✍❪❩✣✔✢★✰✷✣✒✓✞✤✆

➵➥❫❛➔✡t✇➓➝➓❲⑨➀⑩➄⑩❬➓➝❤✘✐❧❦✉⑨❑♥➄❶❬⑨➀r⑥❶q➦➄♥➄t➭❦✉❫❛❫❪➓➝❫❪❭✺❫❪♥❚❦✯⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠t✇③❑♥q❦✉③✝①②r✉③❑↕➄➓➝❫❪❭✂➾❈❾❥➟➣✡➀➪➜➟P➎➏♥✲❦♠❨❬❫❛r♠❫◗✐⑤❦✯③➀➑✵❦✉❨❬t➡✐→⑩➄⑨❑⑩➒❫❪r
h➔✡t✇➓➝➓■r♠❫s➑➛❫sr✴❦♠③✪❦✉❨❬❫❷✐⑤❦✉❫s⑩✼③❑➑➧❦♠❨❬❫❛❭✺❫◗✐❧❨❆↔❄⑨❑♥➄❶✘➔✡t✇➓➝➓➒❦♠❫❪♥➄❶q❦✉③☞❿❬➟→×✴③❊♥➄✐❧t➡❶❥❫❪r

(Th)h>0
↔❄✐❧③❊❭q❫✤❦♠r✉t➡⑨➀♥❬➅❊♦❬➓✇⑨➀❦♠t✇③❑♥✘③❑➑

ΩR
➟

❳✕❨❬t➡✐✶❦♠r✉t➡⑨➀♥❬➅❊♦❬➓✇⑨➀❦♠t✇③❑♥q❸s⑨❑♥☞↕■❫❝❸✓③❊❭q⑩➒③❚✐❧❫◗❶✝③❑➑➒❦✉r♠t➡⑨➀♥❬➅❊➓➝❫◗✐✶③❑r②✈❚♦➄⑨❊❶❥r✉⑨❑♥❬➅❑➓✇❫❪✐❪➟✌➠➄③❑r②⑨❑♥❚❤
h
↔❑❦✉⑨➀➢❊❫

(K,ΣK , PK)K∈Th⑨➥❸✓③❑➓✇➓✇❫❪❸➜❦✉t➝③❊♥➩③❑➑✤➦➄♥❬t➝❦♠❫✮❫s➓✇❫s❭q❫❪♥❊❦⑥✐q③➀➑❝③❊r✉❶❬❫sr
q
⑨❑✐✉✐♠③❄❸st✇⑨➀❦♠❫◗❶➳➔✡t➭❦✉❨ Th

➟ÕÑ❆❫✓❦
V h = {u ∈ C0(ΩR) | u|K ∈

PK} ➟✝➵➥❫✺❶❬❫s♥❬③❑❦♠❫ Ih ❦♠❨➄❫✺♥❄♦❬❭☞↕➒❫❪r❷③➀➑✯❶❬❫s➅❑r✉❫s❫◗✐❝③❑➑②➑➛r✉❫s❫❪❶❬③❑❭✮↔
(ah

i )i=1...I
❦✉❨❬❫❪✐♠❫✘❶❥❫s➅❊r♠❫❪❫❪✐❛③➀➑②➑➛r✉❫s❫◗❶❥③❑❭✮↔✵⑨❑♥➄❶

(ϕh
i )i=1...Ih

❦✉❨❬❫✕⑨❑✐✉✐❧③❥❸✓t➡⑨✩❦✉❫❪❶❷↕➄⑨❊✐❧t➡✐✢③➀➑➄✐♠❨➄⑨➀⑩■❫✴➑➛♦❬♥➄❸➜❦✉t➝③❊♥➄✐✕➾
ϕh

i

t➡✐✢⑨❊✐♠✐♠③❥❸✓t➡⑨✩❦✉❫❪❶➂❦♠③
ai
➪✓➟✢➠➄③❑rP⑨➀♥❄❤

K ∈ Th
↔➀❶❥❫❪♥❬③➀❦✉❫

ρK
↔➄❦♠❨❬❫✝❭q⑨➀➐❥t➝❭✘⑨➀➓❆r✉⑨❊❶❥t➝♦➒✐✕③➀➑②❸✓t✇r✉❸s➓➝❫◗✐✡❸✓③❊♥❊❦⑥⑨➀t✇♥❬❫❪❶✣t✇♥

K
↔➄⑨❑♥➄❶✮❶❥❫s♥➄③➀❦♠❫

hK =
❶❥t✇⑨❑❭

(K)
➟✯➵➥❫✝❶❥❫✓➦➒♥❬❫

ρ(h) =
minK∈Th

ρK
⑨➀♥➄❶

h = maxK∈Th
hK

➟✡➵➥❫✝➔✡t✇➓✇➓✌❭✘⑨➀➢❊❫❷❦♠❨❬❫✝➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✲⑨❊✐♠✐♠♦❬❭q⑩❥❦✉t➝③❊♥✣③❊♥❂❦♠❨➄❫✪❦♠r✉t✇⑨❑♥❬➅❑♦➄➓✇⑨➀❦♠t✇③❑♥
Th
➟

★ ï ➍ ❳✕❨❬❫sr✉❫❷❫✓➐❥t➡✐⑤❦⑥✐
σ+, σ− > 0

✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦✡➑➛③❊r✤⑨➀♥❄❤
h > 0, σ− <

ρ(h)

h
< σ+

➟
➵➥❫➥✐✉⑨❼❤➩❦✉❨➄⑨✩❦☎❦♠❨❬❫➻❦♠r✉t➡⑨➀♥❬➅❊♦❬➓✇⑨➀❦♠t✇③❑♥ Th

t✇✐✣r✉❫s➅❊♦❬➓✇⑨❑r❪➟ ❳✕❨❬t✇✐☎❭q❫❪⑨❑♥➄✐✼❦✉❨➄⑨✩❦✣t➭❦❂❶❥③❄❫❪✐☎♥❬③❑❦✣❸✓③❊♥❚❦✉⑨➀t✇♥ ⑨❑♥❚❤✱❭q❫❪✐♠❨
r✉❫✓➦➄♥❬❫❪❭q❫s♥❚❦❪↔❲t✇♥◆⑩➄⑨➀r♠❦♠t➡❸✓♦➄➓✇⑨❑r❝♥❬③❑❦➂t✇♥❂❦♠❨➄❫☞♥❬❫❪t➝➅❊❨❄↕➒③❊r♠❨❬③❄③❥❶✮③➀➑P❦✉❨❬❫✺③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟❛❳✕❨➄t✇✐➂⑨❑✐✉✐❧♦➄❭✺⑩❬❦♠t✇③❑♥◆t➡✐❝➣❊❫sr✉t➭➦➒❫❪❶❂t✇♥
❦♠❨➄❫✕⑨❑⑩❬⑩❬➓✇t✇❸❪⑨✩❦✉t➝③❊♥➄✐❆➔✯❫✕⑨➀r✉❫✴t✇♥❚❦♠❫sr✉❫❪✐❧❦♠❫◗❶✰t✇♥✵➟✢➎➏♥✰❦♠❨➄❫✕❶❬t✇✐✉❸✓r✉❫✓❦✉t➝➽❪❫❪❶✰⑩➄r♠③❊↕❬➓➝❫❪❭➙❦♠❨➄⑨➀❦✢➔✯❫✯➔✯⑨❑♥❊❦✢❦♠③❷✐♠③❑➓✇➣❑❫❑↔❼❦✉❨❬❫✡✐❧③❊➓➝♦❬❦♠t✇③❑♥
❶❥❫❪♥❬③➀❦✉❫❪❶

uε,h ❶❥❫s⑩■❫s♥➄❶➄✐✰③❑♥➻❦⑤➔✯③✮✐♠❭✘⑨➀➓✇➓②⑩➄⑨❑r✉⑨❑❭✺❫s❦♠❫❪r✉✐✠❊
ε
⑨➀♥➄❶

h
➟ ✬ ♥➄⑨✩❦✉♦❬r⑥⑨➀➓②✈❚♦❬❫❪✐❧❦♠t✇③❑♥➤t➡✐❷➔✡❨❬❫✓❦✉❨❬❫sr✝③❑r✪♥❬③❑❦

uε,h t➡✐✤⑨q➅❑③❄③❥❶✮⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠t✇③❑♥✣③➀➑ uε ➔✡❨❬❫s♥ ε2 + h2 → 0
➟✴➨✤③✩➔✯❫s➣❊❫sr◗↔❄➑➛③❑r✡❦✉❫❪❸⑥❨❬♥➄t✇❸❪⑨➀➓✵r✉❫❪⑨❊✐❧③❊♥➄✐s↔❥➔✯❫✰❸s⑨❑♥❬♥❬③❑❦

✐♠♦❬⑩❬⑩■③❊✐♠❫✪❦♠❨➄⑨➀❦
ε
⑨➀♥➄❶

h
➅❑③✘❦✉③✲❿✼❸s③❑❭q⑩❬➓✇❫✓❦♠❫❪➓➝❤✣t✇♥➄❶❥❫s⑩■❫s♥➒❶❥❫s♥❚❦♠➓✇❤❑➟ ✬ ✐➂⑨✼❸✓③❊♥➄✐❧❫◗✈❚♦❬❫s♥➄❸s❫✪➔✴❫✰➔✡t✇➓✇➓✌➓✇③❄③❑➢☎⑨➀❦

ε
⑨❑✐✤⑨

➑➛♦❬♥➄❸✓❦♠t✇③❑♥✣③➀➑
h
↔
ε = ε(h)

➟✢➵➥❫❷➔✡t➝➓✇➓✵✐♠♦❬⑩❬⑩■③❊✐♠❫✤❦♠❨➒⑨✩❦✕❦♠❨❬❫❷❭q❫❪✐♠❨✲t➡✐✕❸✓③❚⑨➀r⑥✐❧❫✤t✇♥✮❸✓③❑❭q⑩➄⑨❑r♠t➡✐♠③❑♥✘➔✡t➝❦♠❨☎❦♠❨❬❫✪❶❥t➡⑨➀❭q❫✓❦✉❫sr
③➀➑✢❦♠❨➄❫➂③❊↕➄✐❧❦✉⑨❑❸s➓➝❫❊↔❬⑨➀♥➄❶☎❦✉❨❬❫s♥✮❭✘⑨➀➢❊❫❝❦✉❨❬❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✘⑨❑✐✉✐♠♦❬❭q⑩❥❦♠t✇③❑♥

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ü í

★ ô ➍ ❳✕❨❬❫sr✉❫❷❫✓➐❥t➡✐⑤❦⑥✐
κ > 0

t✇♥➄❶❥❫s⑩■❫s♥➒❶❥❫s♥❚❦✤③➀➑
h
↔þ✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦

ε(h) 6 κh
➟

❳✕❨❬t➡✐❝❸s③❑r✉r♠❫◗✐❧⑩■③❑♥➄❶➄✐✯❦♠③✲⑨✘➽❪③❑♥❬❫✝t➝♥✮❦✉❨❬❫✰⑩❬➓➡⑨➀♥❬❫
(h, ε)

✐❧t✇❭qt➝➓➡⑨➀r❝❦♠③✘❦✉❨❬❫✰r✉❫s➅❊t➝③❊♥☎❦✉❨➄⑨✩❦❛t✇✐❝♥❬③➀❦❷❸✓③❑➓✇③❑r✉❫❪❶☎t✇♥◆➅❑r⑥⑨❼❤✼t✇♥
➠✢t➝➅❊♦❬r✉❫✪❾❥➟

ε
ε = κh

h
0

➠✢t✇➅❑♦❬r✉❫✰❾✓❊✴×✴③❚⑨➀r⑥✐❧❫➂❭q❫❪✐♠❨✣⑨❊✐♠✐♠♦❬❭q⑩❥❦♠t✇③❑♥

➵➥❫✕❶❬❫s♥❬③❑❦♠❫
V h ❦✉❨❬❫✤✐❧❦✉⑨➀♥➒❶❬⑨➀r⑥❶➟✕❷⑨❑➓➝❫❪r♠➢❄t✇♥✺⑨❑⑩❬⑩❬r✉③❼➐❄t✇❭✘⑨✩❦✉t➝③❊♥✝✐❧⑩➒⑨❑❸✓❫✡❸s③❑r✉r♠❫◗✐❧⑩■③❑♥➄❶❬t➝♥❬➅❝❦♠③➂❦♠❨➄t✇✐②❶❬t✇✐✉❸✓r✉❫✓❦✉t➝➽◗⑨✩❦♠t✇③❑♥❆➟

⑧✡❫❪❭✺t✇♥➄❶☎❦♠❨➒⑨✩❦
q
t✇✐✯❦✉❨❬❫✪③❑r⑥❶❥❫sr✕③❑➑✌❦✉❨❬❫✪❫s➓✇❫s❭q❫s♥❚❦⑥✐s➟

V h = { v ∈ C0(ΩR)
✐❪➟ ❦ ∀K ∈ Th , v|K ∈ Pq

➾➲③❑r
Qq
➪ }

V h =
✐♠⑩➄⑨❑♥

(ϕh
i )i=1...Ih

➟❴✕➂t✇➣❑❫s♥◆⑨✼➑➛♦❬♥➄❸✓❦♠t✇③❑♥
v ∈ C0(ΩR)

↔■➔✯❫✝❶❥❫❪♥❬③➀❦✉❫
Πhv

t➭❦⑥✐❝t✇♥❚❦♠❫sr✉⑩■③❑➓➡⑨➀♥❚❦❛❸✓③❊♥➄✐❧❦♠r✉♦➄❸➜❦✉❫❪❶
➔✡t➝❦♠❨✮♦➄✐♠♦➄⑨➀➓✵✐♠❨➄⑨➀⑩■❫❷➑➛♦❬♥➄❸✓❦♠t✇③❑♥➄✐❪↔❥❭q③❑r✉❫❷⑩❬r♠❫◗❸✓t➡✐❧❫❪➓➝❤

Πhv =

I∑

i=1

v(ai)ϕ
h
i .

➠❬③❊r✤✐❧t✇❭q⑩❬➓✇t✇❸st➭❦⑤❤✣✐♠⑨❑➢❑❫❑↔❄➔✯❫❷➔✡t➝➓✇➓❆✐♠③❑❭q❫✓❦✉t➝❭q❫❪✐✕➔✡r✉t➝❦♠❫
ϕi
↔
I
⑨➀♥➄❶

ai
t➝♥➄✐❧❦♠❫◗⑨❑❶✣③➀➑

ϕh
i

↔
Ih

⑨➀♥➄❶
ah

i

➟

➠❜❛✷❝ ➌➡②➢✐✷✉⑨①✴❥✷②❑♥➏②❑④➤①✴➥♣❣➦t✈❥✷❦♠⑦❴✐❧❥➈➍❴❣➑➎➧⑦✇❡❤②❯➐❴✐✷❣✮❦ ✉✇t✈❥❧♥♣➨st✥①✓♦⑥♥✇➎✇♦q❡❤➎➩➎✇❥❧t⑩⑧✫❡❤❣❏①✴❥◆➫❏♦✌①✴❥◆②❑♥
✁✮❷➲ï✞❷➲ï ➭ ➬ ➊✩❮➥❒✌Ù❯➋❥➉❪ò ➬ ñ
➵➥❫✝➔✕⑨➀♥❚❦✤❦♠③✣✐❧③❊➓➝➣❊❫✪❦♠❨➄❫☞✐♠t➝❭q⑩❬➓✇t➭➦➒❫❪❶❂⑩❬r✉③❑↕➄➓➝❫❪❭✭➾❈❾❥➟➣✡❑➪➜➟❛➎❍➑②➔✴❫☞⑨➀⑩❬⑩❬➓✇❤❂⑨✼❶❥t➡✐♠❸sr♠❫s❦♠t✇➽❪⑨➀❦♠t✇③❑♥◆❸✓③❊r♠r✉❫❪✐♠⑩■③❑♥➄❶❥t✇♥❬➅q❦✉③✼❦♠❨➄❫
⑨❑✐✉✐♠♦❬❭q⑩❥❦♠t✇③❑♥➄✐✕➔✯❫➂➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉❫❪❶☎⑩❬r✉❫s➣❄t➝③❊♦➄✐♠➓➝❤❊↔❚➔✯❫✪⑨➀r✉❫❷➓➝❫◗❶✲❦✉③✺❦♠❨❬❫❷➑➛③❊➓➝➓✇③✩➔✡t➝♥➄➅q❶❬t✇✐✉❸✓r✉❫✓❦✉❫❛➑➛③❊r♠❭☞♦❬➓➡⑨✩❦♠t✇③❑♥➯❊





➠✢t✇♥➄❶
(uε,h, pε,h) ∈ V h ×Qh

✐❧♦➄❸⑥❨✣❦✉❨➄⑨✩❦◗↔

a(uε,h, wh) + bε(wh, p
ε,h) = 〈f, wh〉V,V ′ ∀wh ∈ V h,

bε(uε,h, qh) = 0. ∀qh ∈ Qh

➾ í ➟➝ü❼➪

✬ ➅❚⑨➀t✇♥✵↔P➑➛③❊r☞❦✉❨❬t➡✐q⑩❬r♠③❊↕❬➓✇❫s❭✭❦♠③➤↕■❫☎➔✯❫s➓✇➓✡⑩➒③❚✐❧❫◗❶➩⑨❑♥➄❶➳➑➛③❊r
uε,h ❦♠③➥↕■❫✮⑨➻➅❑③❄③❥❶➩⑨❑⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨✩❦✉t➝③❊♥➳③➀➑

uε ↔②t➝❦✘t✇✐♥❬❫◗❸✓❫❪✐✉✐✉⑨➀r✉❤✝❦✉❨➄⑨✩❦
a
⑨➀♥➒❶

bε
r♠❫◗✐⑤❦✉r♠t➡❸➜❦✉❫❪❶✘❦✉③

V h ×Qh ➣❑❫sr✉t➝➑➛❤✺t✇♥❥➑➚❰➏✐❧♦➄⑩✣❸s③❑♥➄❶❥t➝❦♠t✇③❑♥➒✐✯⑨❑♥➄❶✲❸s③❑♥❚❦♠t✇♥❄♦❬t➝❦⑤❤✼❸✓③❑♥➒❶❥t➭❦✉t➝③❊♥➄✐❪↔
♦❬♥❬t➝➑➛③❑r✉❭ ➔✡t➭❦✉❨✲r✉❫❪✐♠⑩➒❫◗❸➜❦✴❦♠③

ε
⑨❑♥➄❶

h
➟P❳✕❨❬❫➂❸s③❑♥❚❦♠t✇♥❄♦❬t➝❦⑤❤q❸s③❑♥➄❶❬t➭❦✉t➝③❊♥➄✐✴⑨❑r♠❫❝➣❑❫sr✉t➝➦➄❫❪❶✘t✇♥✘❦♠❨➄❫➂✐✉⑨➀❭q❫❝❭✘⑨❑♥❬♥❬❫sr✕⑨❑✐→➑➛③❑r

❦♠❨➄❫✰❸✓③❑♥❚❦✉t➝♥❄♦❬③❊♦➄✐✯⑩❬r♠③❊↕❬➓✇❫s❭✘✐s➟✶➵➥❫✪➔✡t➝➓✇➓❆❶❥❫◗⑨➀➓➧➔✡t➝❦♠❨✮t✇♥❥➑➚❰❍✐♠♦❬⑩❂❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥➄✐✕➔✡t➝❦♠❨✣❦✉❨❬❫❷❦⑤➔✴③q♥❬❫s➐❄❦✤➓➝❫❪❭✺❭✘⑨❊✐s➟

✁✮❷➲ï✞❷➡ô ✚ ➉❪➋❬➇✢ò❯Ù➲ò➛➉ ➘ ➈❪➉❪❒✢➮ ➘
➵➥❫☎❶❥❫s➦➄♥❬❫

Zε,h = {wh ∈ V h | bε(wh, qh) = 0 ∀ qh ∈ Qh} = {wh ∈ V h |
∫
Γε

∂V ε
0

∂n wh = 0 } ➟➞➎❍❦✺t✇✐⑨➀♥➥t✇♥❊❦✉❫sr✉❭q❫❪❶❥t➡⑨✩❦✉❫q✐♠⑩➄⑨❊❸✓❫✺❦♠❨➄⑨➀❦✪➔✴❫q♥❬❫❪❫❪❶➻❦♠③✮t✇♥❊❦✉r♠③❥❶❥♦➒❸✓❫qt➝♥➥③❑r⑥❶❥❫❪r❛❦✉③✮➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉❫✝❦✉❨❬❫✘♥❬❫s➐❚❦✪➓✇❫s❭q❭✘⑨❂⑨➀♥➄❶➞❦♠❨➄❫
⑨❑✐✉✐♠③❄❸st✇⑨➀❦♠❫◗❶✼t✇♥❥➑➚❰❍✐♠♦❬⑩❂❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥✵➟

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



üs➃ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➁→➹ ❮➫❮➩➋ ✁❘❷❯ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à

inf
uh∈Zε,h

sup
vh∈Zε,h

|a(uh, vh)|
‖uh‖V ‖vh‖V

> κ.

➔ ➊ ➬✵➬✞✝ ➍
①②r✉③❥❸✓❫s❫◗❶✘↕❄❤✘❸✓③❑♥❚❦✉r✉⑨❊❶❥t✇❸✓❦♠t✇③❑♥✼⑨❑♥➄❶✲✐♠♦❬⑩❬⑩■③❊✐♠❫✤❦✉❨➄⑨✩❦✯❦♠❨❬❫❪r♠❫❛❫✓➐❥t➡✐⑤❦⑥✐②❦⑤➔✯③☞✐♠❫❪✈❚♦❬❫❪♥➄❸✓❫◗✐

(εn)
⑨➀♥➒❶

(hn)
✐❧♦➄❸⑥❨✼❦♠❨➄⑨➀❦

εn + hn →
n→+∞

0
↔❬⑨➀♥➒❶☎⑨✘✐♠❫❪✈❚♦❬❫❪♥➄❸✓❫

(un)
✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦✡➑➛③❊r✤⑨➀♥❄❤

n
↔

un ∈ Zεn,hn , ‖un‖V = 1
⑨➀♥➒❶

sup
vh∈Zεn

hn

|a(un, vh)|
‖vh‖V

→
n→+∞

0.

❢❄t✇♥➄❸✓❫
(un)

t➡✐✰↕■③❑♦❬♥➄❶❬❫❪❶➳t✇♥
H1(ΩR)

↔Pt➝❦☞t➡✐✰⑩■③❊✐✉✐❧t✇↕❬➓✇❫✘❦♠③➞❫✓➐❄❦♠r⑥⑨❑❸✓❦✝⑨◆✐❧♦➄↕➄✐❧❫◗✈❚♦❬❫s♥➄❸s❫✼➔✯❫❪⑨➀➢❄➓✇❤➻❸s③❑♥❄➣❑❫❪r♠➅❊t➝♥❬➅✮t✇♥
H1(ΩR)

⑨➀♥➒❶Õ✐❧❦♠r✉③❑♥❬➅❊➓➝❤➫❸s③❑♥❄➣❑❫❪r♠➅❊t➝♥➄➅➞t✇♥
L2(ΩR)

❦✉③✩➔✯⑨❑r✉❶
u ∈ H1(ΩR)

➟ø❳✢⑨➀➢❊❫
v ∈ H1

00(ΩR \ {0}) ∩
C∞(ΩR) ➲ ❦♠❨➄❫s♥✵↔❥➑➛③❊r n ➓➡⑨➀r✉➅❑❫➂❫s♥➄③❑♦❬➅❊❨✵↔ Πhnv ∈ Zεn,hn

➟

a(un, v) = a(un,Πhnv) + a(un, v − Πhnv) →
n→+∞

0
⑨➀♥➄❶

a(un, v) →
n→+∞

a(u, v).

❢❄t✇♥➄❸✓❫
v
t➡✐✝❸⑥❨➄③❊✐♠❫s♥➫⑨➀r✉↕❬t➝❦♠r⑥⑨➀r✉t➝➓✇❤◆t✇♥

H1
00(ΩR \ {0}) ↔✌❦♠❨❬t➡✐☞✐♠⑩➄⑨❊❸✓❫✼↕■❫st✇♥❬➅➻❶❬❫s♥➄✐♠❫✼t✇♥ H1(ΩR)

↔P➔✯❫✲❸s③❑♥➄❸s➓➝♦➄❶❬❫
❦♠❨➒⑨✩❦

a(u, v) = 0 , ∀v ∈ H1(ΩR)
➟➙➎❍❦✲t➡✐✲❸✓➓➡⑨❑✐✉✐♠t✇❸❪⑨➀➓✕❦♠❨➒⑨✩❦✼❦✉❨❬t✇✐✲➓✇⑨❊✐⑤❦☎⑩❬r♠③❊⑩➒❫❪r❧❦⑤❤Õt➝❭q⑩❬➓✇t✇❫❪✐

u = 0
➟ ❳✕❨❄♦➄✐

‖un‖L2(ΩR) →
n→+∞

0
➟②➠✢t➝♥➒⑨➀➓✇➓➝❤❊↔

‖∇un‖2
L2(ΩR) 6 ‖∇un‖2

L2(ΩR) + ℜe{
∫

ΓR

unTRun} = a(un, un) + k2‖un‖2
L2(ΩR).

❢❄t✇♥➄❸✓❫
a(un, un) →

n→+∞
0
↔❆➔✯❫✘③❑↕❬❦✉⑨➀t✇♥➻❦♠❨➄⑨➀❦ ‖un‖H1(ΩR) →

n→+∞
0
➟✲❳✕❨❬t➡✐✪➓➝❫◗⑨❑❶❬✐✪❦♠③◆⑨✮❸✓③❊♥❊❦✉r✉⑨❊❶❥t➡❸➜❦♠t✇③❑♥➥➔✡❨❬t➡❸⑥❨

❤❄t➝❫❪➓✇❶➄✐✯❦♠❨❬❫✰❶❥❫◗✐❧t✇r✉❫❪❶☎r♠❫◗✐❧♦❬➓➝❦❪➟

❴✤③✩➔þ➔✴❫✪⑨❑➓✇✐♠③☞❨➒⑨❼➣❑❫➂❦♠③q⑩❬r✉③✩➣❑❫❷⑨➀♥✣t➝♥❬➑➚❰❍✐♠♦❬⑩❂❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥✣③❑♥
bε
♦➄♥❬t➭➑➛③❊r♠❭ ➔✡t➭❦✉❨✮r♠❫◗✐❧⑩■❫❪❸✓❦✯❦✉③

ε
⑨➀♥➒❶

h
➟

➁→➹ ❮➫❮➩➋ ✁❘❷➚ô
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

h
ã✩ß❲á

ε
é➜Û➄ì ❹ à ❹ ã✩à

∀qh ∈ Qh, sup
wh∈V h

|bε(wh, qh)|
‖wh‖V

> κ|qh|,

➔ ➊ ➬✵➬✞✝ ➍
×✴③❑♥➒✐❧t➡❶❥❫sr✣⑨➫➦➄➐❄❫◗❶➱➑➛♦❬♥➒❸➜❦♠t✇③❑♥

v ∈ C∞ ➔✡t➝❦♠❨ ❸✓③❑❭q⑩➄⑨❊❸➜❦❂✐❧♦➄⑩❬⑩➒③❊r❧❦✣t➝♥➒❸✓➓✇♦➄❶❥❫❪❶þt✇♥
ΩR

⑨❑♥➄❶ ❦✉⑨❑➢❄t➝♥❬➅Õ❦♠❨➄❫
➣✩⑨➀➓✇♦❬❫

1
③❊♥➱⑨➳♥❬❫st✇➅❑❨❄↕■③❑r✉❨❬③❄③❥❶Õ③❑➑❷❦♠❨❬❫➻③❑r✉t➝➅❊t➝♥

0
➟ ❳✢⑨➀➢❑❫❂t➝❦✉✐☎Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫✣t✇♥❚❦♠❫❪r♠⑩■③❑➓➡⑨➀♥❚❦

Πhv
➟❹❳✕❨❬❫sr✉❫❂❨❬③❊➓✇❶❬✐

‖Πhv − v‖H1(ΩR) 6 κh ‖v‖H2(ΩR)

↔❆➔✡❨➄❫sr✉❫
κ
t✇✐✝❸✓③❑♥➒✐⑤❦⑥⑨➀♥❚❦❪↔❆❶❬❫s⑩■❫s♥➄❶❥t✇♥❬➅❂③❊♥❬➓➝❤➻③❑♥➥❦♠❨➄❫✘➅❑❫s③❊❭q❫✓❦♠r✉❤◆③❑➑

ΩR➾➲⑨❑♥➄❶➩✐♠③➥t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦q③❑➑
ε
➪➜➟Õ❳✕❨❬❫s♥➩❦♠❨❬❫❪r♠❫✮❫✓➐❥t➡✐⑤❦⑥✐

h0 > 0
t✇♥➄❶❥❫s⑩■❫s♥➒❶❥❫s♥❚❦✘③➀➑

ε
✐♠♦➄❸⑥❨➩❦♠❨➄⑨➀❦✺➑➛③❊r✘⑨➀♥❄❤

h ∈
]0, h0[, ‖Πhv‖H1(ΩR) 6 2‖v‖H1(ΩR)

↔❊⑨❑♥➄❶
Πhv = v = 1

③❑♥✘⑨➂♥❬❫st✇➅❑❨❄↕■③❑r✉❨❬③❄③❥❶✝③❑➑➒❦✉❨❬❫✤③❑r✉t✇➅❑t✇♥
0
➟✶❜❂③❊r♠❫❪③✩➣❑❫sr

➑➛③❑r
ε > 0

✐❧❭✘⑨➀➓✇➓❑❫❪♥❬③❑♦➄➅❑❨✵↔ ∫
Γε

∂V ε
0

∂n = 1
↔✩✐♠③✡❦♠❨➒⑨✩❦❆➑➛③❊r❆⑨➀♥❄❤

qh ∈ C
↔❼t➝➑❬➔✴❫→❸⑥❨➄③❚③❚✐❧❫

wh = Πhv exp(−i ⑨➀r✉➅ (qh))
↔

sup
wh∈V h

qh
∫
Γε

∂V ε
0

∂n wh

‖wh‖H1(ΩR)
>

|qh|
∫
Γε

∂V ε
0

∂n Πhv

‖Πhv‖H1(ΩR)
=

|qh|
‖Πhv‖H1(ΩR)

>
|qh|

2‖v‖H1(ΩR)
,

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ü☛✡

❢❄t✇♥➄❸✓❫
v
t✇✐✯➦❬➐❥❫◗❶✣⑨❑♥➄❶✲❦♠❨❄♦➄✐✡t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫s♥❚❦✤③❑➑

h
⑨❑♥➄❶

ε
↔❥❦✉❨❬t✇✐✤⑩❬r♠③✩➣❊❫❪✐→❦♠❨❬❫✰❶❬❫❪✐♠t➝r✉❫❪❶☎r♠❫◗✐❧♦➄➓➭❦◗➟

❴✤③✩➔✪↔➧⑨❊❸s❸✓③❊r✉❶❬t➝♥❬➅✲❦♠③✮Ñ✵❫❪❭✺❭✘⑨❊✐ í ➟➝ü❑↔ í ➟ÿ❾✼⑨➀♥➒❶➥❾❬➟ ✡❄↔➧➔✯❫q❸s⑨➀♥➥⑨➀⑩❬⑩➄➓➝❤❂⑩❬r✉③❑⑩■③❊✐♠t➝❦♠t✇③❑♥➄✐❷❾❥➟ ➃✲❫s❦✰❾❬➟ ✡✩↔♠➎♠➎➜➟ ❾✲③➀➑✇❋✇ü✽❍
❦♠❨➒⑨✩❦✤➅❑t✇➣❑❫➂♦➄✐✡❫s➐❥t✇✐❧❦♠❫❪♥➄❸✓❫❊↔❥♦❬♥❬t➡✈❊♦➄❫s♥❬❫◗✐♠✐✡⑨❑♥➄❶✮✐⑤❦⑥⑨➀↕❬t✇➓➝t➝❦⑤❤✼③❑➑✌❦✉❨❬❫✰✐❧③❊➓➝♦❬❦♠t✇③❑♥✣③➀➑✌⑩➄r♠③❊↕❬➓➝❫❪❭❡➾ í ➟➝ü❼➪➜➟P➵➥❫✪③❑↕❥❦⑥⑨➀t✇♥

➠➄③❑r✤⑨❑♥❚❤
f ∈ V ′ ↔❥❦♠❨➄❫sr✉❫➂❫s➐❥t✇✐❧❦✉✐✤⑨✺♦❬♥➄t✇✈❚♦❬❫✰❸s③❑♦❬⑩❬➓✇❫ (uε,h, pε,h) ∈ V h ×Qh

✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

a(uε,h, wh) + bε(wh, p
ε,h) = 〈f, wh〉V,V ′ ∀wh ∈ V h

bε(uε,h, qh) = 0 ∀qh ∈ Qh.

❜◆③❑r✉❫s③✩➣❑❫❪r→❦✉❨❬❫❷➑➛③❑➓✇➓✇③✩➔✡t➝♥❬➅q❫◗✐⑤❦✉t➝❭✘⑨✩❦✉❫❪✐✪➾➲♦❬♥❬t➝➑➛③❑r✉❭✫➔✡t➝❦♠❨✮r♠❫◗✐❧⑩■❫❪❸✓❦✕❦♠③
ε
➪✯❨❬③❑➓➡❶

‖uε,h − u
ε‖V 6 (1 +

‖a‖
α0

)(1 +
‖bε‖
β0

) inf
wh∈V h

‖uε − wh‖V 6 κ
√

ln 1/ε inf
wh∈V h

‖uε − wh‖V .

‖pε,h − p
ε‖V 6

‖a‖
β0

‖uε,h − u
ε‖V 6 κ

√
ln 1/ε inf

wh∈V h
‖uε − wh‖V .

✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅✘❦♠③☎❦♠❨➄t✇✐➂➓➡⑨❑✐❧❦➂r✉❫❪✐♠♦❬➓➝❦❪↔■❦♠❨❬❫q♥❄♦❬❭q❫sr✉t➡❸s⑨➀➓✶✐✉❸⑥❨❬❫s❭q❫☎➾ í ➟✇ü❪➪❝❨➄⑨❑✐➂➅❑③❄③❥❶◆✐❧❦✉⑨❑↕❬t➝➓✇t➝❦⑤❤✣⑩➄r♠③❊⑩➒❫❪r❧❦✉t➝❫◗✐❛✐♠③✲❦✉❨➄⑨✩❦❷t➝❦
t➡✐✪✐❧♦❥Ö✼❸st➝❫❪♥❊❦✪❦✉❨➄⑨✩❦

infwh∈V h ‖uε − wh‖H1(ΩR)
↕➒❫✼✐♠❭✘⑨➀➓✇➓✶➑➛③❑r

uε,h ❦♠③✮↕■❫✼⑨✣➅❑③❄③❥❶➻⑨❑⑩❬⑩❬r✉③❼➐❄t✇❭✘⑨✩❦✉t➝③❊♥◆③➀➑
uε ➟❳✕❨❬❫✼⑩➄r♠③❊↕❬➓➝❫❪❭ t➡✐✪❦✉❨➄⑨✩❦☞❦♠❨❬t➡✐✝✈❚♦➄⑨❑♥❚❦♠t➝❦⑤❤➻t➡✐✰♥❬③❑❦☞✐♠❭q⑨❑➓➝➓➵➳❂➎❍❦✝t➡✐✝⑩■③❊✐✉✐♠t➝↕❬➓✇❫q❦♠③➻♦❬♥➄❶❥❫❪r✉✐❧❦✉⑨❑♥➄❶➥t➭❦✺t➝♥➫❦♠❨❬❫✘➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅

❭✘⑨➀♥❬♥➄❫sr◗➟✢➵➱❨➄❫s♥
ε
➅❊③❚❫◗✐✴❦♠③

0
↔
uε ↕➒❫◗❸✓③❑❭q❫◗✐✕➓➝③❊➅❊⑨➀r✉t➝❦♠❨❬❭qt➡❸s⑨➀➓✇➓✇❤✼✐❧t✇♥❬➅❑♦➄➓✇⑨❑r✯t✇♥✣❦♠❨❬❫✪♥➄❫st✇➅❑❨❄↕➒③❊r♠❨➄③❚③❥❶✲③➀➑✢❦♠❨❬❫✪✐♠❭q⑨❑➓➝➓③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫

Ωi
ε

↔➄⑨❑♥➄❶✮✐❧t✇♥➄❸✓❫
x 7→ ln |x| ❶❥③❄❫❪✐✕♥➄③➀❦✤↕■❫s➓✇③❑♥❬➅q❦✉③ H1(ΩR)

↔❥❦✉❨❬❫✝✐♠⑩➄⑨❑❸s❫
V h ❨➄⑨❊✐✕↕❬t✇➅✼❶❥t➭Ö✼❸s♦❬➓➭❦✉t➝❫◗✐✤t✇♥

⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠t✇♥❬➅
uε ➟✶➎❍❦②t➡✐②⑨➀➓➡✐♠③➂⑩■③❊✐✉✐♠t➝↕❬➓✇❫✕❦♠③✪♦➄♥➄❶❥❫sr⑥✐❧❦✉⑨➀♥➒❶✰❦✉❨❬t✇✐→✐❧t➝❦♠♦➄⑨➀❦♠t✇③❑♥qt✇♥☞❦✉❨❬❫✡➑➛③❊➓➝➓✇③✩➔✡t➝♥➄➅➂❭✘⑨❑♥❬♥❬❫sr◗➟✌❵❛✐❧♦➒⑨➀➓✇➓➝❤➔✯❫➂♦➒✐❧❫✰❸s➓✇⑨❊✐♠✐♠t✇❸❪⑨➀➓➧❸✓③❊♥➄✐♠t✇✐❧❦✉⑨❑♥➄❸✓❤✘❫◗✐⑤❦✉t➝❭✘⑨✩❦✉❫❪✐✕t✇♥✮③❑r⑥❶❥❫sr✯❦♠③✘③❊↕❥❦✉⑨❑t➝♥❆↔

inf
wh∈V h

‖uε − wh‖H1(ΩR) 6 κ ‖uε‖Hs(ΩR) h
s−1,

↕❬♦❥❦✯➔✴❫❛❸s⑨➀♥✘⑩➄r♠③✩➣❊❫✕➑➛③❑r→⑩➒⑨➀r♠❦♠t➡❸✓♦❬➓➡⑨➀r→❸❪⑨❑✐♠❫❪✐✶❦✉❨➄⑨✩❦ ‖uε‖Hs(ΩR) ∼ κ/εs−1 ➔✡❨❬❫❪♥ ε→ 0
➟✢➨❝❫s♥➄❸s❫❑↔❊➑➛③❑r✴⑨✰➅❑t✇➣❑❫s♥

s
↔

➔✯❫✰❸s⑨➀♥✮③❊♥❬➓➝❤✣❨❬③❊⑩➒❫❷➑➛③❊r✤↕➒③❊♦❬♥➄❶❥t✇♥❬➅ ‖uε − uε,h‖H1(ΩR)
➔✡t➭❦✉❨➞⑨✘✈❚♦➄⑨➀♥❚❦♠t➝❦⑤❤✲⑩➄r♠③❊⑩➒③❊r❧❦✉t➝③❊♥➄⑨➀➓❲❦✉③

hs/εs > κ > 0⑨❑❸❪❸✓③❊r✉❶❥t✇♥❬➅✝❦♠③✘⑨❑✐✉✐❧♦➄❭✺⑩❬❦♠t✇③❑♥➸★ ô ➟✶➎➏♥✮⑨✺✐♠❫s♥➒✐❧❫❊↔❊❦✉❨❬❫sr✉❫❷t✇✐✕♥➄③q❸s③❑♥➄✐♠t➡✐⑤❦✉❫s♥➄❸s❤✞➳✶➵➥❫❷➔✡t➝➓✇➓➧♥❬③✩➔ t✇➓✇➓➝♦➄✐❧❦♠r⑥⑨✩❦✉❫❝❦✉❨❬t➡✐✡➔✡t➭❦✉❨
⑨✺♥❄♦❬❭q❫sr✉t✇❸❪⑨➀➓➧❫✓➐❥⑩■❫sr✉t➝❭q❫❪♥❊❦◗➟

➠❜❛➆❵ ➺→✉✇❦♠❣❘❡❤❥❧⑧✫♦q✐➻❣❏➼⑨⑦❫❣❘❡❤❥❧❦➽❣➑♥❑①✴t③④✻②❯❡➒①✴➥♣❣➦t✈❥✷❦♠⑦❴✐❧❥➈➍❴❣➑➎➾t✈⑧❤➥✇❣✮❦♠❣
➠❬③❊r❝❦✉❨❬❫❪✐♠❫✝❫s➐❥⑩➒❫❪r♠t✇❭q❫s♥❚❦✉✐❪↔❲➔✴❫☞❨➄⑨❼➣❑❫✝⑨❊✐♠✐♠♦❬❭q❫❪❶✣❦✉❨➄⑨✩❦

ΩR
t➡✐❛⑨☎❶❥t✇✐♠➢✮③➀➑→❸s❫s♥❚❦♠❫❪r

0
⑨➀♥➄❶❂r⑥⑨❑❶❬t➝♦➄✐

R
➾➚❦♠❨➄❫sr✉❫✝t➡✐❝♥❬③

③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫✝↕➄♦❥❦✰⑨✲✐♠❭q⑨❑➓➝➓✶③❊♥❬❫
Ωi

ε

➪✓➟✝➠❬③❊r❝❦✉❨❬❫✘✐❧❭✘⑨❑➓➝➓✢③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑↔❲➔✯❫☞❨➄⑨❼➣❊❫☞❸s③❑♥➄✐♠t✇❶❬❫sr✉❫❪❶◆⑨☎❶❥t✇✐♠➢❂③➀➑✯❸✓❫s♥❚❦✉❫sr
0
⑨❑♥➄❶

r⑥⑨❑❶❥t✇♦➄✐
ε
↔

(Γε) : r = ε.
➵➥❫✰❨➄⑨❼➣❑❫✪❸s③❑♥➄✐♠t✇❶❬❫sr✉❫❪❶✣⑨➀♥✮t➝♥➒❸✓t➡❶❥❫s♥❚❦✤⑩❬➓➡⑨➀♥❬❫✪➔✕⑨❼➣❑❫

uinc(x) = −eik ex·x ➔✡❨❬❫❪r♠❫
ex

r✉❫✓➑➛❫sr⑥✐✯❦♠③q❦✉❨❬❫
x
❶❬t➝r✉❫❪❸✓❦♠t✇③❑♥

③➀➑P❦✉❨❬❫q×✯⑨❑r❧❦✉❫❪✐♠t✇⑨❑♥❂❸✓③❄③❑r⑥❶❥t✇♥➄⑨✩❦✉❫❪✐✤t✇♥
R2 ➟❝❳✕❨❬❫☞Ò❚⑨❑❸s③❑↕❬t➝❰ ✬ ♥❬➅❊❫sr✡➑➛③❊r♠❭☞♦❬➓✇⑨q❤❄t✇❫s➓➡❶❬✐➂⑨✼➠❬③❊♦❬r♠t✇❫sr➂❶❥❫❪❸s③❑❭q⑩■③❊✐♠t➭❦✉t➝③❊♥❂③➀➑

uinc
⑨➀♥➄❶☎t✇♥✣⑩➒⑨➀r♠❦♠t➡❸✓♦❬➓➡⑨➀r✕t➝❦✉✐✕❦✉r✉⑨❊❸✓❫➂③❑♥✣❦♠❨❬❫✪➔✡t✇r✉❫

Γε

uinc|Γε(x) = −J0(kε) −
∑

|p|>1

i|p|J|p|(kε) e
ipθ.

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



ü✠✤ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➎➏♥✣❦♠❨❬t➡✐✤✐♠t➭❦✉♦➄⑨✩❦✉t➝③❊♥☎➔✯❫❷❨➄⑨❼➣❑❫❷⑨➀♥❂⑨❑♥➄⑨➀➓✇❤❚❦♠t➡❸s⑨➀➓❲❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥✼➑➛③❊r
uε ⑨➀♥➄❶ uε ↔

uε(x) − uinc(x) =





J0(kε)

H
(1)
0 (kε)

H
(1)
0 (k|x|) +

∑

|p|>1

i|p|
J|p|(kε)

H
(1)
|p| (kε)

H
(1)
|p| (k|x|) eipθ t➝➑ |x| > ε

J0(k|x|) +
∑

|p|>1

i|p|J|p|(k|x|) eipθ t➝➑ |x| 6 ε.

uε(x) =





J0(kε)

H
(1)
0 (kε)

H
(1)
0 (k|x|) t➭➑ |x| > ε

J0(k|x|)
t➭➑ |x| 6 ε.

➺❛❫s♥❬③❑❦♠❫
pε ↔❬❦♠❨❬❫✯④⑤♦❬❭q⑩❂③➀➑✌❦♠❨❬❫✪♥➄③❑r✉❭q⑨❑➓✵❶❥❫sr✉t✇➣❼⑨➀❦♠t✇➣❑❫❷③➀➑ uε ➟✶❳✕❨➄❫s♥✵↔ (uε, pε)

t➡✐✯❦♠❨➄❫✪♦❬♥❬t➡✈❊♦➄❫✰❸✓③❑♦➄⑩❬➓➝❫✪✐✉⑨✩❦✉t✇✐❧➑➛❤❄t➝♥❬➅





(uε, pε) ∈ H1(ΩR) × C
✐❧♦➒❸⑥❨✲❦✉❨➄⑨✩❦◗↔

∫

ΩR

∇u
ε · ∇v − k2

∫

ΩR

u
εv + λR

∫

ΓR

vuε +

∫

Γε

p
εv =

∫

ΩR

fv ∀v ∈ H1(ΩR),

∫

Γε

quε = 0 ∀q ∈ C.

➾ í ➟ ❾❊➪

➎➏♥➳❦✉❨❬t✇✐✝➑➛③❑r✉❭✝♦➄➓✇⑨➀❦♠t✇③❑♥✵↔✢❦♠❨➄❫✼❦♠❫❪r♠❭ ③❊♥➳❦♠❨❬❫☎❫✓➐❄❦♠❫❪r♠t✇③❑r✝↕➒③❊♦❬♥➄❶❬⑨❑r♠❤➳✐❧❦✉⑨➀♥➒❶❬✐✪➑➛③❊r☞⑨➀♥➩③❑r⑥❶❥❫sr✰③❊♥❬❫☎❸s③❑♥➄❶❬t➭❦✉t➝③❊♥➫➔✡t➭❦✉❨
t✇❭✺⑩■❫❪❶➄⑨➀♥➄❸s❫✪➅❑t✇➣❑❫s♥☎↕❄❤

λR = − H
(1) ′

0 (kR)

H
(1)
0 (kR)

.

➵➥❫✴♥❄♦❬❭q❫sr✉t➡❸s⑨➀➓✇➓✇❤➂✐♠③❑➓✇➣❑❫◗❶❷⑩❬r♠③❊↕❬➓✇❫s❭✾➾ í ➟ ❾➀➪✓➟✌♦➒✐❧t✇♥❬➅✤❦✉❨❬❫✕❸✓③❥❶❥❫❑➚❤➪✥➶✈➹❤➘⑩➪❤➴☛➷❝❶❥❫❪➣❑❫❪➓➝③❊⑩➒❫◗❶✪↕❄❤❛➑➲⑨❑❭q③❑♦➄✐✌❜◆⑨➀r⑥❸→➺❛♦❬r✉♦✓➬➄❫❑➟
➎❍❦☞t➡✐✺❶❥❫✓❦⑥⑨➀t✇➓➝❫◗❶➳t➝♥Õ❨❬t➡✐✝①②❨➒➺✫❦✉❨❬❫❪✐♠t➡✐⑤❋ ✤■❍❍↔②⑨➀♥➄❶➩⑨◆❸✓③❊❭✺⑩➄➓➝❫s❦♠❫☎❶❬③❄❸s♦❬❭q❫s♥❚❦✉⑨➀❦♠t✇③❑♥➫t➡✐✺⑨❼➣❼⑨❑t➝➓➡⑨➀↕➄➓➝❫✼③❊♥❶❹ à❈à➮❻❏➃ ➱✥➱ ❾⑥❾⑥❾⑥✃å♠ê◗ì✻➂❪è✇ç➚ß➒å➜ç➲ã❑è ❽⑥å❼➱ ∼ á➀Û❥å➜Û✽❐✡Þ➈➱■Ýqê➀ß➄à ❒sê✩ç➲Þ◗è ❹ à❈Ý☞ä ➟✣➵➥❫✲❸❪⑨➀r✉r♠t✇❫❪❶➥③❑♦❬❦✪❦♠❨❬❫◗✐❧❫✼❫s➐❄⑩■❫sr✉t✇❭✺❫❪♥❚❦✉✐✰➔✡t➝❦♠❨➫✐♠❫s➣❊❫sr⑥⑨➀➓P③❊r✉❶❥❫❪r✉✐❷③❑➑➦➄♥❬t➝❦♠❫☎❫s➓✇❫s❭q❫s♥❚❦⑥✐s➟✜❉✯❫s➓✇③✩➔ t✇✐✝r♠❫❪⑩❬r♠❫◗✐❧❫❪♥❚❦♠❫❪❶➻❦✉❨❬❫✲r✉❫❪✐♠♦❬➓➝❦✉✐❷➑➛③❊r✝③❑r⑥❶❥❫❪r í ✈❚♦➄⑨❑❶❬r✉⑨❑♥❬➅❑♦❬➓➡⑨➀r➂➦➄♥➄t➭❦✉❫✲❫s➓✇❫s❭q❫❪♥❊❦⑥✐s➟◆❳✕❨➄❫
➔✕⑨❼➣❑❫s➓✇❫s♥➄➅➀❦♠❨☎t✇✐

λ = 1
↔➄⑨❑♥➄❶✮✐❧③

k = 2π/λ = 2π
➟→➵➱❨➄⑨✩❦❝t➡✐✕r✉❫s⑩❬r✉❫❪✐♠❫s♥❚❦♠❫◗❶✲t✇♥◆➠✢t➝➅❊♦❬r✉❫ í t➡✐✕❦♠❨➄❫✪r♠❫❪➓✇⑨➀❦♠t✇➣❑❫❷❫sr✉r♠③❊r

t✇♥
H1 ♥➄③❑r✉❭✧t➝♥✣❦✉❨❬❫✪➽s③❊♥❬❫

ΩR \D(0, R′) = {x ∈ ΩR
❦❪➟ ✈

1 < |x| < 3 } ↔❬⑨❼➔✯⑨❼❤q➑➛r✉③❑❭✾❦✉❨❬❫✰✐♠❭q⑨❑➓➝➓➧③❊↕➄✐❧❦✉⑨❑❸s➓➝❫

✘ r✉r♠③❊r
=

‖uε − uε,h‖H1(ΩR\ΩR′ )

‖uε‖H1(ΩR\ΩR′ )

.

⑦❝➑✪❸✓③❑♦➄r✉✐♠❫❑↔✴❦♠❨❬t➡✐✘❫❪r♠r✉③❑r✘❶❥③❄❫❪✐✼♥❬③➀❦✘❦⑥⑨➀➢❑❫❂t✇♥❚❦♠③➫⑨❊❸s❸✓③❊♦❬♥❚❦q❦♠❨❬❫❂❫❪r♠r✉③❑r✘③❑➑❛❦✉❨❬❫❂❭q③❄❶❬❫s➓ ➲ ❦♠❨➒⑨✩❦✼t➡✐q❦♠③➫✐✉⑨❼❤ ‖uε −
uε‖H1(ΩR\ΩR′ )

➟

❖◗P✌✭❘❖❚❙
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10
−1

10
0

10
−6

10
−5
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−4

10
−3

10
−2

10
−1

10
0

10
1

 

 

eps = 1e−2	

eps = 1e−3

eps = 1e−4

eps = 1e−5

➠✌t✇➅❑♦➄r♠❫ í ❊P⑧✡❫❪➓✇⑨➀❦♠t✇➣❑❫❷❫sr✉r✉③❑r✕➣❑❫❪r✉✐♠♦➄✐✕✐⑤❦✉❫s⑩✮③➀➑✌❦♠❨❬❫✪❭q❫◗✐❧❨

❳✕❨❬❫❷r✉❫❪✐♠♦❬➓➭❦⑥✐✯③➀➑❆➦➒➅❑♦❬r✉❫ í ⑨❑r♠❫➂♥❬③➀❦✡➣❊❫sr✉❤✺➅❊③❄③❄❶✣✐♠t➝♥➄❸s❫❝➑➛③❊r
ε/λ = 0.01

⑨➀♥➒❶
h/λ

➔✡t➝❦♠❨❂⑨➀↕■③❑♦❥❦✕❦✉❨❬❫✪✐♠⑨❑❭✺❫➂➣✩⑨➀➓✇♦❬❫
➾⑤ü◗❿❑❿❷⑩■③❑t✇♥❚❦✉✐P⑩■❫sr✴➔✯⑨❼➣❊❫s➓✇❫s♥❬➅❑❦♠❨➒➪✓↔➀➔✴❫❝③❑↕❥❦⑥⑨➀t✇♥q⑨✰r♠❫❪➓✇⑨➀❦♠t✇➣❑❫✕❫sr✉r♠③❊rP➅❑r✉❫❪⑨➀❦♠❫sr✶❦✉❨➄⑨➀♥

10−2 ↔❊➔✡❨➄t✇❸⑥❨✘t➡✐②♥❬③❑❦②➣❑❫❪r♠❤✺✐❧❨➄⑨❑r♠⑩❆➟❜❂③❊r♠❫❪③✩➣❑❫sr✴➑➛③❑r
ε/λ

⑨✺➓✇③➀❦❝✐♠❭✘⑨➀➓✇➓➝❫❪r❪↔❄➑➛③❊r✡❫✓➐❥❫s❭q⑩❬➓✇❫
ε/λ = 10−5 ↔❥❦✉❨❬❫❷r♠❫❪➓✇⑨➀❦♠t✇➣❑❫❷❫sr✉r✉③❑r✯t✇✐✤⑨❑⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨✩❦✉❫s➓✇❤✘❫❪✈❚♦➄⑨❑➓❦♠③qü❷➾

100%
➳ÿ➪✪❫❪➣❑❫❪♥✰➑➛③❑r

h/λ = 10−2 ➟✢❳✕❨➄❫✴❦⑥⑨➀↕❬➓✇❫✕↕➒❫❪➓➝③✩➔➩❤❚t✇❫s➓➡❶❬✐✢❦✉❨❬❫✕r✉⑨➀❦♠❫❪✐✢③❑➑■❸✓③❊♥❄➣❑❫sr✉➅❑❫❪♥➄❸✓❫→➑➛③❑r✢❦♠❨➄t✇✐✶➅❊r✉⑨❑⑩❬❨➄✐❪➟
➵➥❫✼❸s⑨➀♥➥✐❧❫❪❫✺❦♠❨➄⑨➀❦➂❦✉❨❬❫❪✐♠❫✘r⑥⑨✩❦♠❫◗✐❷⑨➀r✉❫☞♥❬③❑❦✪↕➒❫s❦❧❦♠❫❪r❷❦♠❨➄⑨❑♥ ü☞➔✡❨❬❫❪r♠❫◗⑨❑✐➂➔✯❫✺♦➒✐❧❫◗❶➞③❊r✉❶❥❫❪r í ➦➄♥➄t➭❦✉❫✘❫s➓✇❫s❭q❫s♥❚❦✉✐❪↔❆⑨❑♥➄❶
❦♠❨➄❫✰✐❧t➝❦♠♦➄⑨➀❦♠t✇③❑♥✣↕➒❫◗❸✓③❊❭✺❫◗✐✕➔✴③❊r✉✐♠❫➂➔✡❨❬❫s♥

ε→ 0
➟

ε/λ
r⑥⑨✩❦✉❫

10−2 ❿❬➟ ✗❑❿✣✡❬ü
10−3 ❿❬➟ ✔✥✤✥✗❄➁
10−4 ❿❬➟ ✤❬ü✠✤ í
10−5 ❿❬➟➣✡➀❿❚➁✩➃

➎➏♥✮❦♠❨➄❫✰⑩➄⑨➀r♠❦♠t➡❸✓♦➄➓✇⑨❑r❝❸s⑨❊✐❧❫✪➔✯❫✝❸✓③❊♥➄✐♠t✇❶❥❫❪r♠❫◗❶✲❨➄❫sr✉❫❑↔➄➔✯❫✝❸❪⑨➀♥❂⑨➀➓➡✐❧③✼⑨❑♥➄⑨➀➓✇❤❚❦♠t➡❸s⑨❑➓➝➓✇❤☎❸s③❑❭q⑩❬♦❥❦✉❫
pε ➟✕➎➏♥➄❶❥❫❪❫❪❶✮♦➄✐♠t✇♥❬➅✘❦♠❨➄❫⑨➀♥➒⑨➀➓✇❤❊❦✉t✇❸❪⑨➀➓➧❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥☎③❑➑

uε ⑨➀♥➄❶☎❦♠❨➄❫✰➵➻r✉③❑♥➒✐❧➢❄t➡⑨➀♥☎➑➛③❑r✉❭✝♦❬➓➡⑨☞➑➛③❑r✇❉✯❫❪✐✉✐♠❫s➓❲➑➛♦❬♥➄❸✓❦♠t✇③❑♥➄✐✝➾➚❦♠❨➒⑨✩❦❛❸❪⑨➀♥✮↕➒❫❷➑➛③❊♦❬♥➄❶✮t✇♥
❋✇ü❪❿☛❍✵➑➛③❊r✡❫✓➐❥❫s❭q⑩❬➓✇❫◗➪✓↔❬➔✯❫➂③❊↕❥❦✉⑨❑t➝♥

p
ε = [

∂uε

∂n
]Γε = k

J0(kε)H
(1) ′

0 (kε) − J ′
0(kε)H

(1)
0 (kε)

H
(1)
0 (kε)

= ik
J0(kε)Y

′
0(kε) − J ′

0(kε)Y0(kε)

H
(1)
0 (kε)

= k
2i

πkε

1

H
(1)
0 (kε)

=
2i

πεH
(1)
0 (kε)

.

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



ü✠✔ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➨✤❫❪♥➄❸✓❫❊↔
p̆ε = 2πεpε = 4i

H
(1)
0 (kε)

➟②❳✕❨❄♦➄✐❪↔❥➔✯❫❷❸❪⑨➀♥✣❦✉⑨❑➢❑❫❷⑨❑✐✡⑨✺r✉❫s➓➡⑨✩❦♠t✇➣❑❫❷❫❪r♠r✉③❑r✴❦♠❨❬❫✰✈❚♦➄⑨❑♥❚❦♠t➝❦⑤❤

✘ r✉r♠③❊r
=

|p̆ε − p̆ε,h|
|p̆ε| .

➵➥❫✪③❑↕❥❦⑥⑨➀t✇♥❬❫❪❶✲❦♠❨❬❫✰✐✉⑨➀❭q❫❷➅❑r⑥⑨➀⑩➄❨➄✐✕⑨❑✐✕⑩❬r✉❫s➣❄t✇③❑♦➄✐♠➓➝❤✘↕➄♦❥❦✤➑➛③❑r
p̆ε ➟②❳✕❨❬❫❷r♠❫◗✐❧♦➄➓➭❦⑥✐✡⑨➀r✉❫➂r✉❫s⑩➄r♠❫◗✐❧❫❪♥❊❦✉❫❪❶✲t➝♥❂➠✢t➝➅❊♦❬r✉❫➂➃➄➟

10
−2

10
−1

10
0

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
eps = 1e−2

eps = 1e−3

eps = 1e−4

eps = 1e−5

➠✢t✇➅❑♦❬r✉❫❷➃❤❊P⑧✡❫❪➓✇⑨➀❦♠t✇➣❑❫❷❫sr✉r♠③❊r✯➑➛③❑r✕❦♠❨➄❫✰Ñ❆⑨➀➅❊r✉⑨❑♥❬➅❑❫❛❭✝♦❬➓➝❦♠t✇⑩❬➓✇t➝❫❪r✉✐✕➣❊❫sr⑥✐❧♦➒✐✯✐❧❦♠❫❪⑩✮③➀➑✢❦♠❨❬❫✪❭q❫❪✐♠❨

❳✕❨❬❫➂➅❑r⑥⑨➀⑩❬❨➒✐→③❑➑✵➦➄➅❑♦➄r♠❫❛➃✺⑨❑r♠❫➂✈❊♦➒⑨➀➓✇t➭❦⑥⑨✩❦♠t✇➣❑❫❪➓➝❤✘⑨❑♥➄❶✼♥❬❫◗⑨➀r✉➓➝❤✘✈❚♦➄⑨❑♥❊❦✉t➭❦⑥⑨✩❦✉t➝➣❊❫s➓✇❤✺t➡❶❥❫❪♥❊❦✉t✇❸❪⑨➀➓■❦♠③☞❦♠❨➄❫❛③❊♥❬❫❛③❑➑✌➠✢t➝➅❊♦❬r✉❫ í ➟
➎➏♥✣❦♠❨❬❫❷➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅✝❦⑥⑨➀↕❬➓✇❫✪➔✯❫➂⑩➄r♠❫◗✐❧❫❪♥❊❦✕❦✉❨❬❫✪r✉⑨➀❦♠❫◗✐✴③❑➑✶❸s③❑♥❄➣❑❫❪r♠➅❊❫s♥➄❸s❫✤❦✉❨➄⑨✩❦✤➔✯❫❷③❑↕❥❦⑥⑨➀t✇♥❬❫❪❶

ε/λ
r⑥⑨✩❦✉❫

10−2 ❿❬➟ ➁ í ➁ í
10−3 ❿❬➟ ➁ í ✡❊❾
10−4 ❿❬➟➣✡❥ü í ✗
10−5 ❿❬➟ ➃❊❿✥✤❄➁

❮ �✂✁✣✄✝✆✟✞✡✠☞☛✌✞✡✍ý✎ ✑✰✒✓✞✕✔✢✖✘✗✓✠✳✥❆✛✶✜☎✞✤✆✟✞

❰♣❛✷❝ ❞❢❡❤❣✮t⑩❣✮♥➢①✈♦✌①✴❥◆②➢♥➾♦⑥♥❴➎✰➍❴❡❤t✣①Ï♦⑥♥♣♦⑥✐◆r⑨t✈❥❧t③②❯④➤①✴➥✇❣→❦♠❣❏①✴➥♣②⑨➎
➵➥❫✘➔✡t➝➓✇➓→r✉❫s❭q❫❪❶❬❤❂❦♠❨❬❫✲➓✇⑨❊❸⑥➢◆③➀➑✡❸✓③❊♥➄✐❧t➡✐❧❦♠❫s♥➒❸✓❤❂❦✉❨➄⑨✩❦✝➔✯❫q⑩❬♦❥❦✝t✇♥➳❫s➣❄t➡❶❥❫s♥➒❸✓❫qt➝♥➤❦✉❨❬❫✘⑩❬r✉❫s➣❄t✇③❑♦➄✐✪✐♠❫❪❸✓❦♠t✇③❑♥✵➟ ✬ ✐✪➔✯❫
⑩■③❑t✇♥❊❦✉❫❪❶Õ③❑♦❥❦✘↕■❫✓➑➛③❊r♠❫❊↔→t➝❦✘❸s③❑❭q❫❪✐☞➑➛r✉③❑❭➸❦✉❨❬❫✮➓➝③❊➅❊⑨❑r♠t➝❦♠❨❬❭qt➡❸✲↕■❫s❨➒⑨❼➣❚t✇③❑r✺③➀➑❛❦♠❨❬❫❂❫s➐❬⑨❑❸➜❦✘✐♠③❑➓✇♦❥❦♠t✇③❑♥Õ➔✡❨❬❫s♥

ε → 0❦♠❨➒⑨✩❦✝❦✉❨❬❫✮✐⑤❦⑥⑨➀♥➄❶❬⑨❑r✉❶➤⑨❑⑩❬⑩❬r✉③❼➐❄t✇❭✘⑨✩❦✉t➝③❊♥➤✐♠⑩➄⑨❊❸✓❫☎❸❪⑨➀♥❬♥➄③➀❦☞❸s③❑r✉r♠❫◗❸➜❦♠➓✇❤➞r✉❫s⑩➄r♠③❥❶❥♦➄❸s❫❑➟◆➵➥❫✣➔✡t➝➓✇➓→❦✉❨❬❫s♥Õ⑨➀♦❬➅❊❭✺❫❪♥❚❦✝❦♠❨➄❫
⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠t✇③❑♥ø✐♠⑩➄⑨❊❸✓❫➞➔✡t➝❦♠❨ ⑨➀♥ ⑨❊❶❬❶❥t➝❦♠t✇③❑♥❬♥➒⑨➀➓❷✐❧❨➄⑨❑⑩➒❫➻➑➛♦❬♥➄❸✓❦♠t✇③❑♥þ➔✡❨❬③❊✐♠❫➞r✉③❑➓✇❫➞➔✡t✇➓➝➓➂↕■❫➻❦✉③➩r✉❫s⑩❬r✉③❥❶❥♦➄❸s❫◆❦♠❨➄❫
✐♠t➝♥❬➅❊♦❬➓➡⑨➀r✝↕■❫s❨➒⑨❼➣❚t✇③❑r☞⑨➀⑩❬⑩■❫❪⑨❑r♠t✇♥❬➅◆t✇♥➳❦♠❨➄❫✣⑨❊✐❧❤❄❭q⑩❥❦♠③❑❦♠t➡❸✘❫✓➐❥⑩➄⑨❑♥➄✐♠t➝③❊♥✵➟➻❳✕❨❬❫✣⑨❑❶❬❶❬t➭❦✉t➝③❊♥➄⑨➀➓✯✐❧❨➄⑨❑⑩➒❫✲➑➛♦❬♥➄❸✓❦♠t✇③❑♥

ψε ∈
H1(ΩR)

➔✡t✇➓✇➓➄↕■❫❝♥❬③☞③➀❦♠❨➄❫srP❦✉❨➄⑨➀♥✘❦✉❨❬❫❝♥➄❫❪⑨➀r→➦➄❫s➓➡❶❂➾➲✐♠❫s❫➂✐❧❫◗❸➜❦✉t➝③❊♥✲❾❥➟✇ü❪➪✶❦✉r♠♦❬♥➒❸s⑨✩❦✉❫❪❶q↕❄❤q⑨❷➦❬➐❥❫❪❶✼❸s♦❥❦❧❰❍③➀➯✣➑➛♦❬♥➄❸✓❦♠t✇③❑♥✵➟

ψε(x) = 2π χ0(x)V ε
0 (x)1

ΩR\Ωi
ε

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ü✑✗

➵➥❫✰❶❥❫✓➦➄♥➄❫❷❦♠❨❬❫✰⑨❑♦❬➅❑❭q❫s♥❚❦✉❫❪❶✣⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠t✇③❑♥✲✐♠⑩➄⑨❑❸s❫❷↕❚❤

V h
e

= {u ∈ C0(ΩR) | ∃(v, α) ∈ V h × C
✐s➟ ❦

u = v + αψε, }
⑨➀♥➒❶☎⑨❑➓✇✐♠③✘❶❥❫✓➦➄♥➄❫

Zε,h
e

= {wh ∈ V h
e
| bε(wh, qh) = 0 ∀ qh ∈ Qh} = {wh ∈ V h

e
|
∫
Γε

∂V ε
0

∂n wh = 0. } ➟

✃✲➹ ❮➫➋❬➊✑✏P➍ ➎➏♥q❦♠❨➄❫✤❸s⑨❑✐♠❫✕➔✡❨❬❫sr✉❫
Ωi

ε

t✇✐②⑨❷❶❥t➡✐♠➢✝③➀➑➧❸✓❫❪♥❚❦♠❫sr
0
⑨❑♥➄❶✺r✉⑨❊❶❥t➝♦➒✐

ε
↔❑❦♠❨❬❫✡❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥☞③❑➑➄❦✉❨❬❫❝⑨❑❶➄❶❥t➭❦✉t➝③❊♥➄⑨➀➓

✐♠❨➄⑨➀⑩■❫➂➑➛♦❬♥➄❸➜❦✉t➝③❊♥✮t✇✐✡➅❊r♠❫◗⑨✩❦✉➓➝❤✼✐♠t➝❭q⑩❬➓✇t➝➦➄❫❪❶➧➟P➎➏♥➒❶❥❫s❫◗❶✲❦✉❨❬❫sr✉❫❷❨❬③❑➓➡❶❬✐

ψε(x) = χ0(x)1
ΩR\Ωi

ε
(x)

1

2π
ln

|x|
ε
.

❴✤③✩➔ ➔✯❫➤⑨➀r✉❫➞➓✇③❚③❊➢❄t➝♥❬➅➩➑➛③❑r
uε,h ✐♠③❑➓✇♦❥❦✉t➝③❊♥➱❦♠③Õ❦♠❨❬❫➳❶❥t➡✐✉❸✓r✉❫✓❦♠❫➥✐❧t✇❭q⑩❬➓✇t➭➦➄❫◗❶ø⑩❬r✉③❑↕➄➓➝❫❪❭ ⑩➒③❚✐❧❫◗❶➱➔✡t➭❦✉❨ ❦✉❨❬t➡✐☎♥➄❫s➔

⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠t✇③❑♥✣✐❧⑩➒⑨❑❸✓❫❊➟P❳✕❨❬❫➂➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉t➝③❊♥☎③❑➑❆❦♠❨➄❫✰❶❥t✇✐✉❸✓r✉❫✓❦✉❫❷⑩❬r♠③❊↕❬➓✇❫s❭✧t➡✐✡♥❬③✩➔




➠✢t➝♥➄❶
(uε,h, pε,h) ∈ V h

e ×Qh
✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦

a(uε,h, wh) + bε(wh, p
ε,h) = 〈f, wh〉V,V ′ ∀wh ∈ V h

e

bε(uε,h, qh) = 0 ∀qh ∈ Qh.

➾➛➃➒➟➝ü❼➪

❳✕❨❬❫✘✐❧❦✉⑨➀↕➄t➝➓✇t➭❦⑤❤➻✐⑤❦✉♦➄❶❥❤◆③❑➑→❦♠❨➄❫✘⑩❬r♠❫❪➣❄t➝③❊♦➄✐❷✐❧❫◗❸➜❦♠t✇③❑♥➻t✇✐✪✐❧❦♠t✇➓✇➓②➣✩⑨➀➓✇t✇❶➻t➝♥➻❦♠❨➄t✇✐✪❸❪⑨❑✐♠❫❑➟q❴✤③➀❦✉❫✺❦♠❨➄⑨➀❦✪✐♠t✇♥➄❸✓❫
ψε = 0

③❊♥
Γε ↔❄❦✉❨❬❫❷r♠❫◗✐❧♦➄➓➭❦⑥✐→③❑➑✌Ñ✵❫❪❭✺❭✘⑨❊✐ í ➟➝ü➂⑨➀♥➄❶ í ➟ÿ❾✝✐❧❦♠t✇➓✇➓■❨➄③❑➓➡❶✼r✉❫s⑩❬➓➡⑨❑❸st➝♥❬➅ V h ↕❄❤ V h

e

➟✶➵➻❫✪❸s⑨❑♥✼❦✉❨❚♦➒✐✴⑩➄r♠③✩➣❊❫✤❫✓➐❥t➡✐⑤❦✉❫s♥➄❸s❫
⑨➀♥➒❶✲♦❬♥➄t✇✈❚♦❬❫❪♥❬❫❪✐✉✐✕➑➛③❑r✕❦✉❨❬❫✰✐♠③❑➓✇♦❥❦♠t✇③❑♥✣③➀➑✢⑩❬r♠③❊↕❬➓✇❫s❭❡➾➲➃➄➟✇ü◗➪➜↔➒⑨➀♥➄❶✣⑨➀➓➡✐❧③✺③❑↕❬❦✉⑨➀t✇♥✣❦♠❨❬❫✪❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫

‖uε − uε,h‖H1(ΩR) 6 κ
√

ln 1/ε inf
wh∈V h

e

‖uε − wh‖H1(ΩR),
➾➛➃➒➟ ❾❊➪

➑➛③❑r➂⑨✼✐♠♦❬t➭❦⑥⑨➀↕❬➓✇❫
κ > 0

t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫s♥❚❦➂③➀➑
ε
➟✤❳✕❨❬t✇✐✤❦♠t✇❭q❫❑↔■❦♠❨❬❫☞r♠t✇➅❑❨❚❦♠❰❈❨➄⑨❑♥➄❶✮✐❧t➡❶❥❫✰③❑➑✶❦♠❨❬t➡✐❝t✇♥❬❫◗✈❊♦➒⑨➀➓✇t➭❦⑤❤✣❨➄⑨❑✐❛✐❧③❊❭q❫

❸⑥❨➄⑨❑♥➄❸✓❫➂❦♠③q↕■❫✰✐❧❭✘⑨❑➓➝➓✵✐♠t➝♥➒❸✓❫❷❦♠❨➄❫✰⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠t✇③❑♥✲✐♠⑩➄⑨❑❸s❫
V h
e

❸s③❑♥❚❦✉⑨❑t➝♥➄✐
ψε ➟

❰♣❛➆❵ ÐÑ✐◆②❯➐❴♦q✐●⑧✫②❑♥❴t✈❥✷t✣①✓❣✮♥✇⑧✞r
❴✤③✩➔✪↔➄➔✴❫❷⑩❬r✉❫❪✐♠❫s♥❚❦✤⑨✺➦➄r⑥✐⑤❦✤r✉❫❪✐♠♦❬➓➝❦✕③❑➑✢➅❊➓➝③❊↕➄⑨➀➓✵❸s③❑♥➄✐♠t➡✐⑤❦✉❫s♥➄❸s❤✘❦♠❨➄⑨➀❦✤➅❑t✇➣❑❫◗✐✡⑨q↕➒③❊♦❬♥➄❶☎➑➛③❑r✕❦✉❨❬❫✰❫sr✉r✉③❑r✕③❑♥☎❦♠❨❬❫✪➔✡❨➄③❑➓✇❫
❶❥③❊❭q⑨❑t➝♥

ΩR
➟✶❳✕❨➄❫❛⑩❬r✉③❄③➀➑❆❶❥t✇r✉❫❪❸➜❦✉➓➝❤✘♦➒✐❧❫◗✐②❦✉❨❬❫➂⑨❊✐❧❤❄❭q⑩❥❦✉③➀❦♠t➡❸➂⑨➀♥➄⑨❑➓➝❤❥✐♠t✇✐②➑➛③❑r✯➔✡❨❬t✇❸⑥❨☎➔✴❫➂r✉❫❪❸s⑨❑➓➝➓✇❫❪❶✘✐♠③❑❭q❫➂r♠❫◗✐❧♦➄➓➭❦⑥✐→t✇♥

①P⑨➀r⑥⑨➀➅❊r✉⑨❑⑩❬❨☎❾❥➟✇ü➀➟
✦✧✟ ➹❄➬ ➊ ➹ ❮ ó➑❷➲ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à

inf
wh∈V h

e

‖uε − wh‖H1(ΩR) 6 κ(ε1/2 + h).

➔ ➊ ➬✵➬✞✝ ➍
➎➏♥ ③❑r⑥❶❥❫srq❦✉③➳❫❪✐❧❦♠t✇❭✘⑨✩❦♠❫✮❦✉❨❬❫◆➓✇❫✓➑➚❦♠❰❈❨➄⑨❑♥➄❶➱✐♠t✇❶❥❫❂③❑➑❛❦✉❨❬❫➞⑨❑↕➒③✩➣❊❫✣t✇♥❬❫◗✈❊♦➒⑨➀➓✇t➭❦⑤❤➫➔✯❫❂➔✡t✇➓➝➓❛♦➄✐❧❫✮❦✉❨❬❫➞⑨❊✐❧❤❄❭q⑩❥❦♠③❑❦♠t➡❸

❫✓➐❥⑩➄⑨❑♥➄✐♠t➝③❊♥✼❦♠❨➒⑨✩❦✤➔✯❫✪⑩❬r♠❫❪➣❄t➝③❊♦➄✐❧➓✇❤✘t✇♥❊❦✉r♠③❥❶❥♦➒❸✓❫❪❶✵➟✶Ñ❆❫✓❦✤♦➄✐❝⑨➀⑩❬⑩❬➓✇❤✲❳✕❨❬❫❪③❑r✉❫s❭✫❾❬➟ í ➟

‖uε − ũε‖H1(ΩR) 6 κ ε1/2.

❳✕❨❄♦➄✐❪↔❥➔✴❫✪❨➄⑨❼➣❊❫❝❦✉❨❬❫✪❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫

infwh∈V h
e
‖uε − wh‖H1(ΩR) 6 κ ε1/2 + infwh∈V h

e
‖ũε − wh‖H1(ΩR),

6 κ ε1/2 + infwh∈V h ‖ũε − − u0(0)
ln ε−λ0

ψε − wh‖H1(ΩR).

➎➏♥Õ❦♠❨❬❫❂➓➡⑨❑✐❧❦☞❦✉❫sr✉❭ ③➀➑❛❦♠❨❬t➡✐✘t✇♥❬❫❪✈❚♦➄⑨❑➓➝t➝❦⑤❤❑↔✴➔✴❫✣⑩❬♦❥❦✘❦✉❨❬❫◆⑨❑❶➄❶❥t➭❦✉t➝③❊♥➄⑨➀➓✡✐♠❨➄⑨➀⑩■❫✣➑➛♦❬♥➄❸✓❦♠t✇③❑♥✱t➝♥ ③❑r⑥❶❥❫❪r✝❦✉③✩▲❧➢❄t➝➓✇➓➮▼☎❦♠❨➄❫
✐♠t➝♥❬➅❊♦❬➓➡⑨➀r✉t➭❦⑤❤✪③❑➑

ũε ➟✶➨❝③✩➔✴❫❪➣❑❫❪r❪↔ ψε ❶❥③❄❫❪✐✶♥➄③➀❦②r✉❫s⑩❬r✉③❥❶❥♦➄❸✓❫✯❫✓➐❬⑨❊❸➜❦♠➓✇❤✪❦✉❨❬t✇✐P✐♠t✇♥❬➅❑♦❬➓➡⑨➀r✉t➝❦⑤❤❑↔➀✐♠③➂➔✯❫✕t➝♥❚❦✉r♠③❥❶❥♦➄❸s❫✡⑨➀♥❬③❑❦♠❨❬❫❪r

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



❾➀❿ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➑➛♦❬♥➄❸✓❦♠t✇③❑♥
ψ̃ε ❸✓➓✇③❊✐♠❫➂❦♠③ ψε ➟P➵➻❫✰❶❥❫s➦➄♥❬❫✪t➝❦✤↕❄❤

ψ̃ε(x) = χ0(x)(1 − χε
1/2(x))

2

π
(J0(k|x|) − 1) ln |x|

+ χ0(x)1
ΩR\Ωi

ε
(x)

( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
)

+ χε
1/2(x)1

ΩR\Ωi
ε
(x)

(
4V ε

0 (x) −
( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
))

.

❳✕❨❬❫✪❫❪r♠r✉③❑r✕❸s⑨❑♥☎↕■❫✰❶❥❫❪❸s③❑❭q⑩■③❊✐♠❫❪❶☎t➝♥❚❦♠③q❦⑤➔✯③☞❦♠❫sr✉❭✘✐✤⑨❑✐✴➑➛③❊➓➝➓✇③✩➔✤✐

inf
wh∈V h

e

‖ũε − − u0(0)

ln ε− λ0
ψε − wh‖H1(ΩR) 6 inf

wh∈V h
‖ũε − −π

2 u0(0)

ln ε− λ0
ψ̃ε − wh‖H1(ΩR)

+
κ

ln 1/ε
inf

wh∈V h
‖ 2

π
ψε − ψ̃ε − wh‖H1(ΩR).

❳✕❨❬❫✝➦➄r✉✐❧❦➂❦♠❫sr✉❭✂③➀➑P❦✉❨❬❫☞r✉t✇➅❑❨❚❦❛❨➄⑨❑♥➄❶◆✐♠t✇❶❬❫☞③❑➑P❦♠❨❬t➡✐➂t➝♥❬❫◗✈❚♦➄⑨➀➓✇t➭❦⑤❤❂❸❪⑨➀♥◆↕■❫☞♦➄⑩❬⑩➒❫❪r❛↕■③❑♦➄♥➄❶❥❫❪❶➞♦➄✐♠t➝♥❬➅✣Ñ✵❫❪❭✺❭✘⑨ ✬ ➟ í
➾➛➔✡t➝❦♠❨❂⑨✘✐♠♦❬t➝❦✉⑨➀↕➄➓➝❫✪❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦➜➪➜↔

inf
wh∈V h

‖ũε − −π
2 u0(0)

ln ε− λ0
ψ̃ε − wh‖H1(ΩR) 6 κ (ε1/2 + h).

❦♠❨➄❫✰✐❧❫◗❸✓③❑♥➒❶✼❦✉❫sr✉❭✧t➭❦⑥✐❧❫❪➓➭➑P❸s⑨❑♥✮↕➒❫✰✐♠⑩❬➓✇t➭❦✡t✇♥❊❦✉③q❦⑤➔✴③q⑩➄⑨❑r❧❦⑥✐s↔

2
π ψ

ε − ψ̃ε = −χ0(x)(1 − χε
1/2(x)) 2

π

(
J0(k|x|) − 1

)
ln |x|

+χ0(x)(1 − χε
1/2(x))

(
4V ε

0 (x) −
(

2
πJ0,0 ln |x|

ε + Y0,0 + l10(V0)
))

.

❳✕❨❬❫❷➦➄r⑥✐❧❦✕⑩➒⑨➀r♠❦✡❸❪⑨➀♥✣↕➒❫✪↕■③❑♦➄♥➄❶❥❫❪❶✣♦➄✐♠t✇♥❬➅✘❸✓➓➡⑨❑✐✉✐❧t➡❸s⑨❑➓❲❸s③❑♥➄✐♠t➡✐⑤❦⑥⑨➀♥➄❸s❤✼❫❪✐❧❦♠t✇❭✘⑨✩❦♠❫◗✐✡⑨➀♥➄❶

‖(1 − χε
1/2(x))

(
J0(k|x|) − 1

)
ln |x|‖H2(ΩR) 6 κ ln 1/ε,

➔✡❨❬t✇➓➝❫❛❦♠❨➄❫➂✐♠❫❪❸s③❑♥➄❶✘⑩➒⑨➀r♠❦✯❸s⑨❑♥✼↕■❫❛♦❬⑩➄⑩➒❫❪r✯↕■③❑♦➄♥➄❶❥❫❪❶✲♦➄✐♠t➝♥❬➅✝❦♠❨❬❫❛❦♠❫◗❸⑥❨❬♥❬t➡❸s⑨❑➓■Ñ❆❫s❭q❭✘⑨ ✬ ➟ÿ❾✝t➝♥✘❦✉❨❬❫❷⑨➀⑩❬⑩■❫s♥➄❶❬t➭➐➧➟P➵➥❫
➦➄♥➄❶

1

ln 1/ε
inf

wh∈V h
e

‖ 2

π
ψε − ψ̃ε − wh‖H1(ΩR) 6 κ (ε1/2 + h).

➎❍❦✴t➡✐✴♥❬③✩➔➱✐❧♦❥Ö✼❸st➝❫❪♥❊❦✴❦♠③☞➅❊⑨✩❦✉❨❬❫sr✯⑨➀➓✇➓❬❦✉❨❬❫❪✐♠❫❝⑩❬r✉❫s➣❄t✇③❑♦➄✐→❫❪✐❧❦♠t✇❭✘⑨✩❦♠❫◗✐②❦✉③✰③❑↕❬❦✉⑨➀t✇♥✘❦✉❨❬❫❝❫s➐❄t➡✐❧❦♠❫s♥➒❸✓❫❝③❑➑
κ > 0

t➝♥➄❶❬❫s⑩■❫s♥❥❰
❶❥❫❪♥❊❦✤③❑➑

ε
✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦

inf
wh∈V h

e

‖uε − wh‖H1(ΩR) 6 κ ε1/2 + inf
wh∈V h

e

‖ũε − − u0(0)

ln ε− λ0
ψε − wh‖H1(ΩR)

6 κ ( ε1/2 + h ).

❵❝✐♠t✇♥❬➅✘❳✕❨❬❫s③❊r♠❫❪❭q✐✤❾❬➟➝ü❑↔■❾❥➟ í ↔❬➎➏♥➄❫❪✈❚♦➄⑨➀➓✇t➝❦⑤❤➞➾➛➃➒➟ ❾❊➪✕⑨➀♥➄❶✮❳✕❨❬❫❪③❑r✉❫s❭✧➃➒➟➝ü➀↔➒➔✴❫➂➦➄♥➒⑨➀➓✇➓➝❤☎➅❑❫✓❦✡❦✉❨❬❫✪➅❑➓✇③❑↕➒⑨➀➓➧❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫
r✉❫❪✐♠♦❬➓➭❦❛➑➛③❑r❛❦♠❨❬❫q❶❥t➝➯■❫❪r♠❫❪♥➄❸✓❫✺↕■❫✓❦⑤➔✯❫s❫s♥◆❦♠❨❬❫q✐❧③❊➓➝♦❬❦♠t✇③❑♥◆③❑➑②❦♠❨❬❫✺t✇♥❬t➭❦✉t✇⑨❑➓✌⑩➄r♠③❊↕❬➓➝❫❪❭➸➾❯❾❥➟✇ü◗➪❛⑨➀♥➒❶✮❦♠❨❬❫q✐♠③❑➓✇♦❥❦♠t✇③❑♥◆③❑➑②❦♠❨➄❫
❶❥t➡✐♠❸sr♠❫s❦♠❫❷⑩❬r✉③❑↕❬➓✇❫s❭ ➾➛➃➄➟✇ü❪➪✓➟
Ò ➬ ➊ ➬ Ù➲Ù❯➋❥➊ ➘ ó➑❷➲ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é✪ã☎ì✉ê➀ß❬é➜à➏ã✩ß➄à

κ > 0
ç➚ß■á❑Þ➈❻➄Þ✓ß❲á❑Þsß➄à✡ê◆❽

h
ã✩ß■á

ε
é⑥Û➄ì ❹ à ❹ ã➀à

‖uε − uε,h‖H1(ΩR) 6 κ
√

ln 1/ε ( ε1/2 + h ).

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ❾❬ü

❢❄t✇❭qt➝➓➡⑨➀r✉➓➝❤❊↔❑♦➄✐♠t✇♥❬➅✪①②r✉③❑⑩■③❊✐♠t➭❦✉t➝③❊♥✘❾❬➟ÿ➁❛③❑➑✌❋✇ü✽❍■⑨➀♥➄❶✘Ñ❆❫s❭q❭✘⑨ í ➟✇ü✤⑨➀↕■③✩➣❑❫❑↔❑➔✴❫✤❸❪⑨➀♥✺➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉❫✤⑨✪❸✓③❊♥➄✐❧t➡✐❧❦♠❫s♥➒❸✓❤✰r✉❫❪✐♠♦❬➓➝❦
➑➛③❑r✤Ñ✌⑨➀➅❊r✉⑨❑♥❬➅❑❫❛❭✝♦❬➓➝❦♠t✇⑩❬➓✇t➝❫❪r✉✐❪➟
Ò ➬ ➊ ➬ Ù➲Ù❯➋❥➊ ➘ ó➑❷➡ô
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é✪ã☎ì✉ê➀ß❬é➜à➏ã✩ß➄à

κ > 0
ç➚ß■á❑Þ➈❻➄Þ✓ß❲á❑Þsß➄à✡ê◆❽

h
ã✩ß■á

ε
é⑥Û➄ì ❹ à ❹ ã➀à

|pε − pε,h| 6 κ
√

ln 1/ε ( ε1/2 + h ).

➎➏♥✼⑩➄⑨❑r❧❦✉t✇❸s♦❬➓➡⑨➀r◗↔❑➔✯❫✤③❑↕❥❦⑥⑨➀t✇♥✘➑➛r✉③❑❭✧×✴③❑r✉③❑➓✇➓✇⑨❑r♠❤✰➃➒➟ ❾✰⑨➀♥✼❫◗✐⑤❦✉t➝❭✘⑨✩❦✉❫✡➑➛③❑r✴❦♠❨➄❫❝➣✩⑨➀➓✇♦❬❫✤③❑➑
pε,h ➟✶➎➏♥➄❶❥❫s❫◗❶➧↔❄✐❧♦❬⑩➄⑩➒③❚✐❧❫❝❦♠❨➄⑨➀❦❦♠❨➄❫✰❸✓③❑♦➄⑩❬➓➝❫

(h, ε)
➅❑③❄❫◗✐✯❦♠③

0
✐❧③✺❦♠❨➒⑨✩❦ √

ln 1/ε ( ε1/2 + h )
⑨❑➓✇✐♠③☞➅❊③❄❫❪✐✴❦♠③

0
➟✶➠➄③❑r✡❫s➐❥⑨❑❭q⑩❬➓➝❫➂❦✉❨❬t✇✐✤t✇✐✕➣❊❫sr✉t➭➦➄❫◗❶

➔✡❨❬❫❪♥
ε = h1+ν ➑➛③❑r✺⑨❂➅❑t✇➣❑❫❪♥

ν > 0
⑨➀♥➄❶➩❸✓③❑r✉r✉❫❪✐♠⑩➒③❊♥➄❶❬✐❷❦✉③◆⑩❬r⑥⑨❑❸➜❦✉t✇❸❪⑨➀➓✯✐❧t➝❦♠♦➄⑨➀❦♠t✇③❑♥➄✐❪➟◆❳✕❨❬❫❪♥➳❦♠❨❬t➡✐✺❸✓③❑r✉③❑➓✇➓➡⑨➀r✉❤

④⑤③❑t✇♥❬❫◗❶☎➔✡t➝❦♠❨ ✘ ✈❚♦➄⑨❑➓➝t➝❦⑤❤➞➾❈❾❥➟ ➃❚➪✕✐♠❨❬③✩➔✤✐✴❦♠❨➄⑨➀❦
pε,h ∼ pε ∼ κ/ ln 1/ε

➟
❳✕❨❬❫➂❦⑤➔✯③✺➓➡⑨❑✐❧❦✤r✉❫❪✐♠♦❬➓➭❦⑥✐✡✐❧♦➄➅❑➅❑❫◗✐⑤❦✯❦♠❨➒⑨✩❦✡❦♠❨➄❫✝❸✓③❊♥❚➣❊❫sr✉➅❑❫❪♥➄❸✓❫❛t✇✐✡✈❚♦❬t➝❦♠❫✰✐♠➓➝③✩➔þ➔✡t➭❦✉❨

h
↔➄✐♠t✇♥➄❸✓❫❷❦✉❨❬❫✪♦❬⑩❬⑩■❫sr✤↕■③❑♦➄♥➄❶

⑨➀⑩➄⑩➒❫◗⑨➀r✉t➝♥❬➅❝t➝♥✝❦♠❨❬❫◗✐❧❫✴r♠❫◗✐❧♦❬➓➝❦✉✐✌t➡✐❆⑩❬r✉③❑⑩■③❑r♠❦♠t✇③❑♥➒⑨➀➓➀❦✉③
h
√

ln 1/ε
↔✩r✉❫s➅❊⑨❑r✉❶❬➓➝❫◗✐♠✐➧③❑➑❥❦♠❨❬❫✯③❑r⑥❶❥❫❪r❆③➀➑❥❦✉❨❬❫✴➦➄♥❬t➝❦♠❫✯❫s➓✇❫s❭q❫s♥❚❦✉✐❪↔

➔✡t➝❦♠❨✣t➝♥❂⑨❑❶➄❶❥t➭❦✉t➝③❊♥☎⑨✺➓➡⑨❑❸⑥➢✘③➀➑✶❸✓③❊♥➄✐❧t➡✐❧❦♠❫s♥➒❸✓❤✘③➀➑
ε1/2 ➟✴×✴③❊♥➄❸✓❫❪r♠♥➄t➝♥❬➅✝❦♠❨❬❫❷➓➡⑨❑❸⑥➢✘③❑➑✢❸✓③❊♥➄✐♠t✇✐❧❦♠❫❪♥➄❸✓❤❊↔❥t➭❦✤✐♠❫s❫s❭✘✐✴❦♠❨➒⑨✩❦✤t➝❦t➡✐✴♥➄③➀❦✴⑩■③❊✐✉✐♠t➝↕❬➓✇❫✤❦✉③☞❨➄③❑⑩■❫❝➑➛③❊r✯⑨✝↕➒❫s❦❧❦♠❫❪r✕r♠❫◗✐❧♦❬➓➝❦❪➟⑥❉✯♦❥❦✕❭✘⑨❼❤❚↕■❫✤❦✉❨❬❫➂↕➒③❊♦❬♥➄❶

h
√

ln 1/ε
t➡✐✯♥❬③➀❦✕③❑⑩❥❦✉t➝❭✘⑨❑➓❯➟P❳✕❨❬t➡✐→t➡✐

❦♠❨➄❫✰✐❧♦❬↕❬④⑤❫❪❸➜❦✤③❑➑❆❦✉❨❬❫✪♥❬❫✓➐❄❦✤⑩➄⑨❑r✉⑨❑➅❑r⑥⑨➀⑩❬❨❆➟

❰♣❛➆➠ Ó➸❡✴❡✴②❯❡➒❣✮t✣①✴❥✷❦♠♦✌①✈❣➀♦❏Ô➉♦❏r➾④✻❡✴②❑❦ ①✓➥✇❣➀②❑➐❴t✣①✓♦q⑧❏✐✷❣
❳✕❨❬❫✕r✉❫❪✐♠♦❬➓➭❦✶③➀➑✵×✴③❑r✉③❑➓✇➓✇⑨❑r♠❤➂➃➄➟✇ü✯t✇✐✶t✇♥❚❦♠❫sr✉❫❪✐❧❦♠t✇♥❬➅➂↕➒❫◗❸s⑨❑♦➄✐❧❫✯t➝❦✶❤❄t✇❫s➓➡❶❬✐✶❸✓③❊♥➄✐❧t➡✐❧❦♠❫s♥➒❸✓❤❷➑➛③❑r✢❦✉❨❬❫✕➦➄♥❬t➝❦♠❫✕❫s➓✇❫s❭q❫❪♥❊❦P❭q❫✓❦✉❨❬③❥❶
⑨➀♦➄➅❑❭q❫s♥❚❦♠❫◗❶✮➔✡t➭❦✉❨➻⑨❑♥◆⑨❑❶❬❶❥t➝❦♠t✇③❑♥➒⑨➀➓✶✐❧❨➄⑨❑⑩➒❫✝➑➛♦❬♥➄❸✓❦♠t✇③❑♥✵➟❛➎➏♥◆③➀❦✉❨❬❫sr➂➔✴③❊r✉❶➄✐s↔➄❦♠❨❬❫☞❭✺❫s❦♠❨❬③❥❶➞t✇✐❛➓➝③❥❸⑥➢❄t✇♥❬➅➀❰❈➑➛r♠❫❪❫❑➟✤➨❝③✩➔✕❰
❫s➣❊❫sr❷❫sr✉r✉③❑r❷❫❪✐❧❦♠t✇❭✘⑨✩❦♠❫✘❶❥③❄❫◗✐❷♥❬③➀❦✰❭✘⑨✩❦⑥❸⑥❨➞❦✉❨❬❫✘③❑r⑥❶❥❫❪r

q
③➀➑✴❦♠❨❬❫q➦➒♥❬t➭❦✉❫✘❫s➓✇❫s❭q❫s♥❚❦✪❭q❫✓❦✉❨❬③❥❶➥✐♠t✇♥➄❸✓❫q❦✉❨❬❫q↕➒③❊♦❬♥➄❶➥t✇✐

⑩❬r✉③❑⑩■③❑r♠❦♠t✇③❑♥➄⑨❑➓➧❦♠③
h
√

ln 1/ε
➟❝❳✕❨➄❫✰♥❬❫✓➐❄❦❛❦♠❨❬❫❪③❑r✉❫s❭✂✐❧❨❬③✩➔✤✐✡❦♠❨➄⑨➀❦❝❦♠❨➄❫✝❫sr✉r✉③❑r✡t➡✐✤r✉❫❪⑨➀➓✇➓✇❤✣✐♠❭✘⑨➀➓✇➓➝❫❪r✤t➝♥➻⑨➀♥❄❤✲r✉❫s➅❊t➝③❊♥

❦♠❨➒⑨✩❦✤❫✓➐❬❸s➓➝♦➄❶❬❫❪✐✡⑨☞➦❬➐❥❫❪❶✣♥❬❫❪t➝➅❊❨❚↕■③❑r✉❨❬③❄③❥❶✼③❑➑✌❦✉❨❬❫✪③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟
✦✧✟ ➹❄➬ ➊ ➹ ❮ ó➑❷➡ô
❂ ê✩ß➄é⑥ç➲á❊Þ✓å✘ã✩ß➫ê✻❻❬Þsß➥é✓Þsà

Ω0 ⊂ ΩR
é➜Û➄ì ❹ à ❹ ã✩à

Ω0 ∩
é⑥Û✑❻✣❻

ψε = ∅ è☞à ❹ Þsß➻à ❹ Þså♠Þ✘Þ➇❺❑ç➡é➜à❯é κ á❑Þ➈❻❬Þsß■á➀ç➚ß❚Ü◆ê➀ß
Ω0ësÛ❥à→ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à

‖uε − uε,h‖H1(Ω0) 6 κ (ε+ hq + ‖uε − uε,h‖H−p(Ω1)).

➔ ➊ ➬✵➬✞✝ ➍
❳✢⑨➀➢❑❫❛❦⑤➔✯③✺③❊⑩➒❫❪♥❂✐❧❫s❦✉✐

Ω1,Ω
′
1

✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦
Ω0 ⊂⊂ Ω1 ⊂⊂ Ω′

1 ⊂ ΩR
⑨➀♥➄❶

Ω′
1 ∩

✐♠♦❬⑩❬⑩
ψε = ∅ ➟②➠✢t✇r✉✐❧❦❪↔❥↕❄❤❦♠r✉t➡⑨➀♥❬➅❊♦❬➓✇⑨❑r✕t➝♥❬❫◗✈❚♦➄⑨➀➓✇t➭❦⑤❤☎⑨➀♥✮❳✕❨❬❫s③❊r♠❫❪❭q✐✤❾❬➟ ❾☞⑨➀♥➒❶✮❾❬➟ ➃➄↔❥➔✴❫✰❸❪⑨➀♥☎➦➄♥➄❶

κ
t➝♥➒❶❥❫s⑩■❫s♥➄❶❬❫s♥❚❦❝③➀➑

ε
⑨❑♥➄❶

h
✐♠♦➄❸⑥❨✣❦♠❨➄⑨➀❦

‖uε − uε,h‖H1(Ω0) 6 ‖uε − u
ε‖H1(Ω0) + ‖uε − uε,h‖H1(Ω0) 6 κ ε+ ‖uε − uε,h‖H1(Ω0).

❜❂③❊r♠❫❪③✩➣❑❫sr◗↔❄⑨✝❦✉❨❬❫s③❊r♠❫❪❭✾➑➛r✉③❑❭✫❴❝t➭❦⑥✐♠❸⑥❨❬❫✰⑨❑♥➄❶✮❢❥❸⑥❨➄⑨✩❦✉➽ ✬ ➟✇ü❷❦♠❨➄⑨➀❦✤➔✴❫❷r✉❫❪❸s⑨❑➓➝➓❲t✇♥❂⑨➀⑩❬⑩■❫s♥➄❶❬t➭➐➧↔❬❤❄t✇❫s➓➡❶❬✐

‖uε − uε,h‖H1(Ω0) 6 κ(ε+ hq ‖uε‖Hq+1(Ω1) + ‖uε − uε,h‖H−p(Ω1)).

❳✕❨❬❫✪③❊♥❬➓➝❤✲r♠❫❪❭q⑨❑t➝♥➄t➝♥❬➅✺⑩❬r✉③❑↕❬➓✇❫s❭ ❸✓③❑♥➒✐❧t➡✐⑤❦⑥✐✕t➝♥✮↕■③❑♦❬♥➒❶❥t➝♥➄➅ ‖uε‖Hq+1(Ω1)

➟②❳✕❨❬t✇✐✡❸❪⑨➀♥✣↕➒❫✰❶❬③❑♥❬❫✪♦➄✐♠t✇♥❬➅✘⑨✺❸s♦❥❦❧❰❍③➀➯
➑➛♦❬♥➄❸✓❦♠t✇③❑♥✮t✇♥☎❦✉❨❬❫✪❫❪✈❚♦➄⑨➀❦♠t✇③❑♥➄✐✡❶❬❫✓➦➄♥❬t✇♥❬➅

uε ⑨❑♥➄❶✣♦➄✐❧t✇♥❬➅q❫s➓✇➓✇t➝⑩❥❦✉t✇❸❷r✉❫s➅❊♦❬➓➡⑨➀r✉t➭❦⑤❤qr✉❫❪✐♠♦❬➓➭❦⑥✐s➟

❰♣❛◗❰ ➺→✉✇❦♠❣❘❡❤❥❧⑧✫♦q✐➻❣❏➼⑨⑦❫❣❘❡❤❥❧❦➽❣➑♥❑①✴t③②➢♥➏①✴➥✇❣→♦⑥✉✇➨❑❦♠❣✮♥➢①✈❣➑➎➾④✻②❯❡✛❦Õ✉✇✐✷♦➑①✴❥✷②❑♥
➵➥❫✝♥❬③✩➔ ❸✓③❊❭q❫✰↕➄⑨❑❸⑥➢✲❦♠③✲❦♠❨❬❫✰♥❄♦❬❭q❫❪r♠t➡❸s⑨❑➓❆❫✓➐❥⑩■❫sr✉t➝❭q❫❪♥❊❦❛⑩❬r♠❫◗✐❧❫❪♥❚❦♠❫❪❶✮t✇♥◆⑩➄⑨❑r✉⑨❑➅❑r⑥⑨➀⑩❬❨ í ➟ÿ❾❄➟✡➵➥❫☞❸❪⑨➀r✉r♠t✇❫❪❶✣③❑♦❬❦❝❦♠❨➄❫
✐✉⑨➀❭q❫✪❫✓➐❥⑩■❫sr✉t➝❭q❫s♥❚❦✤r✉❫s⑩❬➓➡⑨❑❸st➝♥➄➅☞❦✉❨❬❫✝✐❧❦✉⑨❑♥➄❶❬⑨➀r⑥❶✲➦➄♥❬t➝❦♠❫✰❫❪➓➝❫❪❭✺❫❪♥❚❦❝✐❧⑩➄⑨❊❸✓❫✪↕❄❤✼❦✉❨❬❫✝⑨❑♦❬➅❑❭q❫s♥❚❦✉❫❪❶✣③❑♥❬❫❊↔❥❦♠❨❄♦➄✐❝✐❧③❊➓➝➣❄t✇♥❬➅
➾➛➃➒➟➝ü◗➪➜➟ ✘ ➐❬❸✓❫s⑩❬❦✵❦♠❨❬t➡✐❆❶❬t➭➯❲❫sr✉❫s♥➄❸s❫❑↔❪❦♠❨❬❫✴✐❧t➝❦♠♦➄⑨➀❦♠t✇③❑♥❷t➡✐➧❦♠❨➄❫→✐♠⑨❑❭q❫✥❊

ΩR = D(0, 3)
↔❪❭q③❥❶❥t➝➦➄❫❪❶✪⑨❑↕➄✐♠③❑r✉↕❬t➝♥➄➅✯↕■③❑♦➄♥➄❶❬⑨➀r✉❤

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



❾❑❾ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥✵↔❄✐✉⑨➀❭q❫❝t✇♥➄❸✓t➡❶❥❫❪♥❊❦✴➦➄❫s➓➡❶➧↔❥✈❚♦➄⑨❑❶❬r✉⑨❑♥❬➅❑♦❬➓➡⑨➀r②➦➄♥❬t➝❦♠❫❝❫❪➓➝❫❪❭q❫s♥❚❦✉✐✴③➀➑✵③❊r✉❶❥❫❪r í ↔❊➔✕⑨❼➣❑❫❪➓➝❫❪♥❬➅➀❦✉❨
λ = 1

↔❊❫s❦✉❸➀➟❪➟s➟♠➎➏♥
❦♠❨➄t✇✐✤❸❪⑨❑✐♠❫➂❦♠❨❬❫✪⑨❑❶➄❶❥t➭❦✉t➝③❊♥➄⑨➀➓✵✐♠❨➄⑨❑⑩➒❫❷➑➛♦❬♥➒❸➜❦♠t✇③❑♥✣❦⑥⑨➀➢❑❫◗✐✴❦♠❨❬❫❷➑➛③❊r♠❭

ψε(x) = χ0(x) ln(
|x|
ε

)1|x|>ε

➔✡t➝❦♠❨
χ0(x) =






1
t➭➑ |x| 6 r0/3

P (|x|) t➝➑
r0/3 6 |x| 6 2r0/3

0
t➭➑ |x| > 2r0/3.

❴✤♦➄❭✝↕■❫sr
r0
t➡✐→⑨❷⑩➄⑨❑r✉⑨❑❭q❫✓❦♠❫❪r②③➀➑■❦♠❨➄❫❝❭q❫✓❦✉❨❬③❥❶ ➲ t✇♥✼⑩❬r⑥⑨❑❸✓❦♠t➡❸✓❫❊↔❑➔✯❫✕❦♠③❄③❑➢ r0 = 1

➟
P
t➡✐→⑨❷⑩■③❑➓✇❤❄♥❬③❑❭qt➡⑨➀➓➒⑩❬r♠③✩➣❄t➡❶❥t✇♥❬➅

r✉❫s➅❑♦➄➓✇⑨❑r♠t➝❦⑤❤✘③➀➑✢❦♠❨❬❫✰✐♠❨➄⑨❑⑩➒❫➂➑➛♦❬♥➄❸✓❦♠t✇③❑♥❂↕■❫✓❦⑤➔✯❫s❫❪♥✲❦✉❨❬❫✰r✉❫s➅❑t✇③❑♥➒✐ |x| 6 r0/3
⑨➀♥➄❶ |x| > 2r0/3

➟②❳✕❨❬❫✪③❑r⑥❶❥❫❪r✯③❑➑✢r✉❫✓❰
➅❑♦➄➓✇⑨❑r♠t➝❦⑤❤

C0 ↔ C1 ↔❚❫✓❦⑥❸❷➟s➟❪➟❧t➡✐②⑨➀➓➡✐❧③✰⑨❷⑩➒⑨➀r⑥⑨➀❭q❫✓❦✉❫sr✶③➀➑❲❦♠❨➄❫✤❭q❫✓❦♠❨➄③❄❶✵➟✶➠➄③❑rP❫s➐❥⑨❑❭q⑩❬➓➝❫✡➔✡t➝❦♠❨✼⑨ C1 ❸✓♦❥❦♠❰❈③❑➯✲➑➛♦❬♥➄❸✓❦♠t✇③❑♥✵↔
P
➔✡t✇➓➝➓P↕■❫✺❦♠❨❬❫q♦❬♥➄t✇✈❚♦❬❫✺⑩➒③❊➓➝❤❄♥❬③❊❭qt✇⑨❑➓✢③❑➑→③❑r⑥❶❥❫❪r í ✐♠⑨➀❦♠t➡✐⑤➑➛❤❄t✇♥❬➅

P (r0/3) = 1
↔
P ′(r0/3) = 0

↔
P (2r0/3) = 0⑨➀♥➒❶

P ′(2r0/3) = 0
➟✺❳✕❨❬❫✘⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓✶✐♠❨➄⑨❑⑩➒❫✺➑➛♦❬♥➄❸✓❦♠t✇③❑♥➤⑨➀♥➄❶➞❦♠❨➄❫q❸s♦❥❦❧❰❍③➀➯➳➑➛♦➄♥➄❸➜❦✉t➝③❊♥➤⑨❑r♠❫✺r⑥⑨❑❶❥t➡⑨➀➓❈➟✰➎➏♥➥③❑r⑥❶❥❫sr

➔✯❫s➓✇➓➄❦✉③✝➣❄t✇✐♠♦➄⑨❑➓➝t✇➽s❫✡❦✉❨❬❫st✇r✕✐❧❨➄⑨❑⑩➒❫❊↔❊➔✯❫❝❨➒⑨❼➣❑❫✤r✉❫s⑩❬r✉❫❪✐♠❫s♥❚❦✉❫❪❶☞❦♠❨❬❫❪t➝r✴❦♠r⑥⑨➀♥➒✐❧➣❊❫sr⑥✐♠⑨❑➓➄✐❧❫◗❸➜❦✉t➝③❊♥✘t➝♥✣➠✌t✇➅❑♦➄r♠❫❴✡✪➑➛③❑r
ε = 0.06⑨➀♥➒❶

r0 = 0.6
➟
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ψε(x)

χ0(x)

|x|

➠✢t➝➅❊♦❬r♠❫✧✡✴❊⑥✕➂r⑥⑨➀⑩➄❨☎③❑➑✌❦✉❨❬❫✰⑨❑❶❬❶❬t➭❦✉t➝③❊♥➄⑨➀➓❲➑➛♦❬♥➒❸➜❦♠t✇③❑♥
ψε

➎➏♥❂➠✢t➝➅❊♦❬r♠❫❫✤❥↔➄➔✴❫❷❨➄⑨❼➣❊❫❛r✉❫s⑩❬r✉❫❪✐♠❫s♥❚❦✉❫❪❶✲❦♠❨❬❫✪r✉❫s➓➡⑨✩❦✉t➝➣❊❫❛❫❪r♠r✉③❑r⑥✐→③❊↕❥❦✉⑨❑t➝♥➄❫❪❶✣➔✡t➭❦✉❨✣❦♠❨❬t➡✐✡❫✓➐❥⑩■❫sr✉t➝❭q❫❪♥❊❦◗➟

❖◗P✌✭❘❖❚❙
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eps = 1e−2

eps = 1e−3

eps = 1e−4

eps = 1e−5

➠✢t➝➅❊♦❬r♠❫❫✤❤❊✶⑧✤❫s➓➡⑨✩❦♠t✇➣❑❫❷❫❪r♠r✉③❑r✕➣❑❫❪r✉✐♠♦➄✐✕✐❧❦♠❫s⑩✮③❑➑❆❦♠❨➄❫✪❭✺❫◗✐❧❨

❳✕❨❬❫☎r♠❫◗✐❧♦❬➓➝❦✉✐✝⑨➀r✉❫✘➑➲⑨➀r☞↕➒❫s❦❧❦♠❫❪r✝❦✉❨➄⑨➀♥➳t✇♥Õ❢❄❫◗❸➜❦✉t➝③❊♥ í ➟ÿ❾☎➑➛③❑r✺⑨✩❦☞➓✇❫❪⑨❊✐⑤❦✝❦♠❨❬r✉❫s❫✼r✉❫❪⑨❊✐❧③❊♥➄✐❪➟✮➠✢t✇r✉✐❧❦❪↔✢❦✉❨❬❫✲⑩❬r✉❫❪❸st✇✐♠t✇③❑♥➤t✇✐
❭✝♦➒❸⑥❨◆✐❧❨➄⑨❑r♠⑩■❫sr❛✐❧t✇♥➄❸✓❫✝➔✴❫✰③❊↕❥❦✉⑨❑t➝♥◆⑨✼r♠❫❪➓✇⑨➀❦♠t✇➣❑❫✰❫❪r♠r✉③❑r✡③❑➑

10−5 ➑➛③❑r➂⑨➀↕■③❑♦❥❦✝ü◗❿❑❿q⑩■③❑t✇♥❚❦✉✐✤⑩■❫sr❛➔✯⑨❼➣❊❫s➓✇❫s♥❬➅❑❦♠❨➄✐❪↔➄⑨❑♥➄❶❦♠❨➄t✇✐✝❨❬③❑➓➡❶❬✐❷r✉❫s➅❊⑨❑r✉❶❬➓➝❫◗✐♠✐➂③➀➑✯❦♠❨➄❫✼➣✩⑨➀➓✇♦❬❫✘③➀➑
ε
➔✯❫✼❸⑥❨❬③❄③❊✐♠❫❑➟✲❜◆③❑r✉❫s③✩➣❑❫❪r❝❦✉❨❬❫✼➅❊r✉⑨❑⑩❬❨➻➅❊③❄❫❪✐❷♦❬⑩➳➣❊❫sr✉❤➞✐❧➓✇③✩➔✡➓✇❤➞⑨❑✐

ε➅❑③❄❫◗✐✶❦♠③✰❿➄➟✶➠✢t✇♥➄⑨➀➓✇➓✇❤❑↔➀❦✉❨❬❫✤r⑥⑨✩❦✉❫❪✐P③❑➑➧❸s③❑♥❄➣❑❫❪r♠➅❊❫s♥➄❸s❫✯⑨❑r♠❫✕t✇♥✼⑨❑❸❪❸✓③❑r⑥❶❬⑨❑♥➄❸✓❫✕➔✡t➝❦♠❨q❦♠❨➄❫✤③❑r⑥❶❥❫sr í ③➀➑❲❦♠❨❬❫✤➦➄♥❬t➝❦♠❫✤❫❪➓➝❫❪❭✺❫❪♥❚❦
❭q❫✓❦✉❨❬③❥❶➧➟

ε/λ
✐♠➓➝③❊⑩➒❫

10−2
í ➟ ✔✥✔✥✔ í

10−3 ➃➄➟✇ü❑ü í ✤
10−4 ➃➄➟ÿ❾ í ✗❚❾
10−5 ➃➄➟ í ü❪❿ í

➵➥❫❛❨➄⑨❼➣❊❫❝⑨➀➓➡✐♠③✰r♠❫❪⑩❬r✉❫❪✐♠❫s♥❚❦♠❫◗❶✺❦♠❨❬❫❛r♠❫❪➓✇⑨➀❦♠t✇➣❑❫✤❫❪r♠r✉③❑r⑥✐✶➑➛③❑r✴❦♠❨➄❫❛Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫✡❭✝♦❬➓➝❦♠t✇⑩❬➓✇t➝❫❪r✉✐❪➟P❳✕❨❬❫s❤✘⑨❑r♠❫✤r✉❫s⑩➄r♠❫◗✐❧❫❪♥❊❦✉❫❪❶qt✇♥
➠✢t➝➅❊♦❬r✉❫✰➁❄➟

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



❾✩➃ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê
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eps = 1e−2

eps = 1e−3

eps = 1e−4

eps = 1e−5

➠✌t✇➅❑♦➄r♠❫✝➁✈❊P⑧✡❫❪➓✇⑨➀❦♠t✇➣❑❫❷❫sr✉r✉③❑r✕③❑♥✮Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫❝❭✝♦➄➓➭❦✉t➝⑩❬➓✇t✇❫sr⑥✐✡➣❑❫❪r✉✐♠♦➄✐✕✐⑤❦✉❫s⑩✮③➀➑✌❦♠❨❬❫✪❭q❫◗✐❧❨

❳✕❨❬❫✪r⑥⑨✩❦✉❫❪✐✯③➀➑P❸✓③❊♥❚➣❊❫sr✉➅❑❫❪♥➄❸✓❫❝➑➛③❑r✕❦♠❨➄t✇✐✕➦➒➅❑♦❬r✉❫➂⑨❑r♠❫❷➅❊t➝➣❊❫s♥✣t➝♥✣❦♠❨➄❫❷❦✉⑨➀↕➄➓➝❫❷↕■❫s➓✇③✩➔✪➟

ε/λ
✐♠➓➝③❊⑩➒❫

10−2 ➃➄➟ÿ❾✲✗ í ✗
10−3 ➃➄➟➣✡➀❿✥✗❚❾
10−4 ➃➄➟➣✡❊➁✲✡❊❾
10−5 ➃➄➟ ✤❬ü✠✤➄ü

Ö ✙✺☛✌✁✣✍✲✹ ★✰✦➩☛✌✜✣✞ ✑✰✍☎✍✣✗⑥☛✌✗s★✰✠☎✑✝✒➫✥❆✜✣✑❫❩➻✞✭✦✩✁✣✠☎✛→☛✌✗✓★✰✠

➎➏♥✺③❑r⑥❶❥❫sr✶➔✯❫s➓✇➓❄❦♠③❷♦❬♥➄❶❥❫❪r✉✐❧❦✉⑨❑♥➄❶✝❦♠❨❬❫✡❫s➯■❫◗❸➜❦P③➀➑■❦♠❨❬❫✡⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓❬✐❧❨➄⑨❑⑩➒❫✯➑➛♦❬♥➒❸➜❦♠t✇③❑♥
ψε ③➀➑➒❦♠❨❬❫✤⑨❑♦❬➅❑❭q❫❪♥❊❦✉❫❪❶✺✐♠❸⑥❨➄❫s❭q❫➾➛➃➒➟➝ü◗➪➜↔❥➔✯❫❛➔✡t✇➓➝➓➧✐❧❦♠♦➄❶❬❤✘t➭❦✡t✇♥☎❶❥❫s❦✉⑨➀t✇➓❈➟✶➠➄③❑r✯❦♠❨➄❫❛r✉❫❪✐❧❦✴③❑➑✵❦♠❨❬t➡✐✡❶❥③❥❸✓♦➄❭✺❫❪♥❚❦✯➔✯❫❛➔✡t✇➓✇➓❲✐♠♦❬⑩❬⑩■③❊✐♠❫✤❦✉❨➄⑨✩❦✕❦✉❨❬❫❛③❊↕➄✐❧❦✉⑨❑❸s➓➝❫❛t✇✐

⑨q✐❧❭✘⑨❑➓➝➓✵❶❥t➡✐♠➢✲③➀➑✢r✉⑨❊❶❥t✇♦➄✐
ε
↔❬✐❧③✺❦♠❨➒⑨✩❦✡❦♠❨➄❫✰⑨❑❶❬❶❥t➝❦♠t✇③❑♥➒⑨➀➓✵✐♠❨➄⑨➀⑩■❫➂➑➛♦❬♥➄❸➜❦✉t➝③❊♥❂⑨❑❶❥❭qt➝❦✉✐✤⑨✺➣❑❫❪r♠❤☎✐❧t✇❭q⑩❬➓➝❫❷❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥✵↔

ψε(x) = χ0(x) ln
( |x|
ε

)
1|x|>ε.

❳✕❨❬❫✘➑➛♦➄♥➄❸➜❦✉t➝③❊♥
ψε t➡✐✰③❊♥❬➓➝❤➻⑩➄⑨➀r♠❦♠t➡⑨➀➓✇➓✇❤➻⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠❫◗❶➥↕❚❤➻❦♠❨➄❫✘➑➛♦❬♥➄❸✓❦♠t✇③❑♥➄✐☞③➀➑✕❦♠❨➄❫✲✐⑤❦⑥⑨➀♥➄❶➄⑨➀r⑥❶➞➦➒♥❬t➭❦✉❫✲❫❪➓➝❫❪❭✺❫❪♥❚❦

⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠t✇③❑♥✰✐♠⑩➄⑨❊❸✓❫❑↔➀⑨❑♥➄❶✝❦♠❨❬t➡✐✶t✇✐✌❦✉❨❬❫✕r♠❫◗⑨❑✐♠③❑♥✰➔✡❨❄❤❷❦♠❨➄❫✕✐✉❸⑥❨❬❫❪❭✺❫❷➾➛➃➒➟➝ü◗➪❆t➡✐✢❭q③❑r✉❫✴⑩❬r✉❫❪❸st✇✐♠❫②❦✉❨➄⑨➀♥✮➾ í ➟➝ü◗➪➜➟PÑ✵❫s❦✢♦➄✐
t✇♥❊❦✉r♠③❥❶❥♦➒❸✓❫❷❦⑤➔✯③q⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓➧♥❬③➀❦⑥⑨✩❦✉t➝③❊♥➄✐s➟➡✕➂t➝➣❊❫s♥

v ∈ H1(ΩR)
↔➒➔✴❫✪➔✡t✇➓➝➓✌❶❥❫s♥❬③❑❦♠❫ Ph(v)

❦✉❨❬❫✰♦❬♥❬t➡✈❚♦❬❫✪❫s➓✇❫s❭q❫❪♥❊❦
③➀➑✢❦♠❨➄❫❷✐♠⑩➄⑨❊❸✓❫

V h ✐✉⑨✩❦✉t✇✐❧➑➛❤❄t➝♥➄➅

a(Ph(v), wh) = a(v, wh) , ∀wh ∈ V h

❜❂③❊r♠❫❪③✩➣❑❫sr✯➔✯❫❷❶❬❫✓➦➄♥❬❫
δh(v) = v −Ph(v).

⑧✡❫❪❭✺t✇♥➄❶❷❦✉❨➄⑨✩❦◗↔➀⑨❑❸❪❸✓③❑r⑥❶❥t✇♥❬➅✕❦♠③➂⑨✤❸✓➓➡⑨❑✐✉✐♠t✇❸❪⑨➀➓➀r✉❫❪✐♠♦❬➓➝❦✌③➀➑➄❸s③❑♥➄✐♠t➡✐⑤❦✉❫s♥➄❸s❤❝➑➛③❊r✵➦➄♥❬t➝❦♠❫✴❫s➓✇❫s❭q❫s♥❚❦⑥✐s↔✩t➝➑
v ∈ H1+ν(ΩR)

➔✡t➭❦✉❨
ν > 0

❦✉❨❬❫s♥ Ph(v)
t➡✐❛⑨✼➅❑③❄③❥❶❂⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠t✇③❑♥✮③➀➑

v
t✇♥❂❦♠❨❬❫✺✐❧❫❪♥➄✐♠❫✰❦♠❨➒⑨✩❦❝❦✉❨❬❫sr✉❫✝❫s➐❥t✇✐❧❦✉✐

κ > 0
t✇♥➄❶❥❫s⑩■❫s♥➒❶❥❫s♥❚❦

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ❾✣✡

③➀➑
h
✐❧♦➒❸⑥❨➞❦✉❨➄⑨✩❦ ‖δh(v)‖H1(ΩR) 6 κ ‖v‖H1+ν(ΩR) h

ν ➟q➵➥❫q❸❪⑨➀♥➤✐❧❨➄③✩➔❹❭q③❑r✉❫s③✩➣❑❫❪r✤❦✉❨➄⑨✩❦
ψε ∈ H1+ν(ΩR)➑➛③❑r✰⑨❑♥❄❤

ν < 1
2

➟✘➵➥❫✼❸s⑨❑♥➻❫s➐❄⑩■❫❪❸✓❦✪❦♠❨➄⑨➀❦✪❦♠❨❬❫✘❭q③❊r♠❫
h
t➡✐✰❸✓➓✇③❊✐♠❫✺❦♠③

0
↔✵❦✉❨❬❫✘↕■❫✓❦❧❦✉❫sr

ψε t✇✐✪⑨❑⑩❬⑩❬r✉③❼➐❄t✇❭✘⑨✩❦✉❫❪❶◆↕❄❤❫s➓✇❫s❭q❫❪♥❊❦⑥✐→③❑➑
V h ➟✶➵➻❫➂✐❧❫❪❫✡❦♠❨➄⑨➀❦✯t✇♥✼③❊r✉❶❥❫❪rP❦♠③☞➅❊⑨❑t➝♥✘♦❬♥➒❶❥❫sr⑥✐⑤❦⑥⑨➀♥➄❶❬t➝♥❬➅☞③➀➑➧↕■③➀❦♠❨✲❦♠❨❬❫➂✐❧t➝❦♠♦➒⑨✩❦♠t✇③❑♥☎⑨➀♥➄❶✺❦✉❨❬❫❛❫s➯■❫◗❸➜❦✯③➀➑❦♠❨➄❫☞⑨❑❶➄❶❥t➭❦✉t➝③❊♥➄⑨➀➓✌✐❧❨➄⑨❑⑩➒❫✰➑➛♦❬♥➄❸➜❦✉t➝③❊♥✵↔❲t➭❦➂t✇✐❝♥❬❫❪❸s❫❪✐✉✐♠⑨❑r♠❤✼❦♠③✼➢❄♥❬③✩➔ ❦♠❨➄❫✝↕■❫s❨➄⑨❼➣❄t✇③❑r✡③➀➑ ‖δh(ψε)‖H1(ΩR)

➟❝❳✕❨❬❫✰♥❬❫s➐❄❦
✐♠❫❪❸➜❦✉t➝③❊♥☎t➡✐✤❶❥❫◗❶❥t➡❸s⑨✩❦✉❫❪❶✲❦♠③q❦✉❨❬t✇✐❝✈❊♦➄❫❪✐❧❦♠t✇③❑♥✵➟✶➵➥❫✪⑩❬r♠③❥❸s❫s❫❪❶☎t✇♥☎❦⑤➔✯③✘✐⑤❦✉❫s⑩➄✐❪➟②➠✢t➝r⑥✐❧❦❪↔❥➔✯❫✪➔✡t➝➓✇➓➧⑩❬r✉③✩➣❚t➡❶❥❫✪⑨➀♥✣❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫
➑➛③❑r ‖δh(ψε)‖H1(ΩR)

↔❥➔✡❨➄t✇❸⑥❨☎t✇✐✕⑨☞➅❑➓✇③❑↕➄⑨❑➓➒❫◗✐⑤❦✉t➝❭✘⑨✩❦✉❫❑➟→❢❄❫◗❸✓③❊♥➄❶❥➓✇❤❑↔❄➔✴❫➂⑩❬r✉③✩➣❄t✇❶❥❫➂⑨➀♥☎❫❪✐❧❦♠t✇❭q⑨➀❦♠❫➂t➝♥
H1 ③❑♥❬➓✇❤✘③❑♥☎⑨r✉❫s➅❑t✇③❑♥ O ❦♠❨➄⑨➀❦❝❫✓➐❬❸✓➓✇♦➄❶❥❫◗✐❝⑨✺➦❬➐❥❫◗❶✣♥➄❫st✇➅❑❨❄↕➒③❊r♠❨➄③❚③❥❶✣③➀➑✢❦♠❨➄❫☞✐♠❭q⑨❑➓➝➓❆③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫✥❊②❦✉❨❬t➡✐✤t➡✐❝⑨q➓✇③❄❸❪⑨➀➓✵❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫❑➟✤❢❄♦➒❸⑥❨

❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫❪✐✕➔✡t✇➓➝➓❆⑨❑➓✇✐♠③✺↕➒❫✪⑩❬r✉③✩➣❄t✇❶❬❫❪❶✲➑➛③❑r✕❦♠❨➄❫
L2 ♥❬③❑r✉❭

×❜❛✷❝ ÐÑ✐◆②❯➐❴♦q✐❆❣✮t✣①✴❥✷❦♠♦✌①✓❣
➵➥❫➂➔✡t✇➓✇➓➧➦➄r⑥✐⑤❦✡✐❧❫❪❫➂❦♠❨➄⑨➀❦

ψε t➡✐✕♥❬③❑❦✕➔✯❫s➓✇➓✵⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠❫◗❶✘t✇♥ H1 ♥❬③❊r♠❭✫③❑♥✼❦✉❨❬❫✪➔✡❨❬③❊➓➝❫❷❶❥③❑❭✘⑨❑t➝♥✵➟P➵➥❫✪✐⑤❦⑥⑨➀r♠❦✯↕❄❤
➑➛③❑r✉❭✝♦➄➓✇⑨➀❦♠t✇♥❬➅❂⑨✲❦✉❫❪❸⑥❨❬♥➄t✇❸❪⑨➀➓P➓✇❫s❭q❭✘⑨❬➟✘➎➏♥➤③❑r⑥❶❥❫sr➂❦✉③✣❭✘⑨❑➢❑❫✺❦♠❨❬❫✘⑩➄r♠❫◗✐❧❫❪♥❊❦⑥⑨✩❦✉t➝③❊♥➻❭q③❑r✉❫q❸✓➓✇❫❪⑨➀r◗↔➧❦✉❨❬❫✘⑩❬r✉③❚③❑➑✴③❑➑✴❦✉❨❬t✇✐
r✉❫❪✐♠♦❬➓➭❦❷t➡✐✪❶❥❫s➓➡⑨❼❤❑❫◗❶✮❦♠③✣❦♠❨➄❫✺♥➄❫✓➐❄❦❷✐♠❫❪❸✓❦♠t✇③❑♥✵➟✺➨✤❫❪r♠❫✺t✇✐❷➔✡❨➒⑨✩❦❷➔✴❫✺③❑↕❥❦⑥⑨➀t✇♥➻➔✡❨➄❫s♥➥➔✴❫q⑨➀⑩❬⑩➄➓➝❤◆❸s➓✇⑨❊✐♠✐♠t✇❸❪⑨➀➓✌❦♠❫◗❸⑥❨❬♥❬t➡✈❊♦➄❫
➑➛③❑r✕❦✉❨❬❫✰❸✓③❊♥➄✐♠t✇✐❧❦♠❫❪♥➄❸✓❤✼③❑➑❆➦➄♥➄t➭❦✉❫✪❫s➓✇❫s❭q❫s♥❚❦✉✐❪➟
➁→➹ ❮➫❮➩➋ ✙❏❷❯ï
❸✫❹ Þså♠Þ✪Þ➇❺❑ç➡é➜à❯é❛ã☞ì⑥ê➀ß❬é➜à❍ã➀ß➄à

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à→ê✷❽

h
ã✩ß❲á

ε
➋✌é⑥Û➄ì ❹ à ❹ ã✩à ‖δh(ψε)‖H1(ΩR) 6 κ (1+hq ln h

ε )
è

❳✕❨❬t➡✐✼➓✇❫s❭q❭✘⑨➳✐❧♦➄➅❑➅❑❫◗✐⑤❦⑥✐✘♦➄✐✼❦♠❨➄⑨➀❦✼❦♠❨❬❫➥⑨➀⑩❬⑩➄r♠③❼➐❥t✇❭q⑨➀❦♠t✇③❑♥✱③➀➑❷❦♠❨➄❫➞⑨❑❶❬❶❬t➭❦✉t➝③❊♥➄⑨➀➓❝✐♠❨➄⑨❑⑩➒❫❂➑➛♦➄♥➄❸➜❦✉t➝③❊♥ø↕❄❤➩➦➄♥➄t➭❦✉❫
❫s➓✇❫s❭q❫❪♥❊❦⑥✐✲t➡✐☎♥❬③➀❦✣➣❑❫sr✉❤✱➅❑③❄③❥❶➧➟ ➎➏♥➄❶❬❫s❫❪❶➱❦♠❨❬❫➥♥❬❫✓➐❄❦✣➓➝❫❪❭✺❭✘⑨➩➔✡t➝➓✇➓➂✐♠❨❬③✩➔ ❦♠❨➒⑨✩❦✮t➭❦✣t✇✐☎♦➄✐♠❫s➓✇❫❪✐✉✐✼❦✉③➩❨❬③❊⑩➒❫➞❦♠❨➄⑨➀❦
‖δh(ψε)‖H1(ΩR)

➅❑③❄❫❪✐✯❦✉③✘❿❬➟
➁→➹ ❮➫❮➩➋ ✙❏❷➚ô
Ø ß❲á❑Þså✝ã❼é⑥é➜Û❥Ý♣❻❲à❯ç➲ê➀ß❬éÚÙ➉Û➞ã✩ß■áÜÙ✜Ý❤➋②à ❹ Þså♠Þ✺Þ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✤ê✷❽

h
ã➀ß■á

ε
é➜Û➄ì ❹ à ❹ ã✩à

‖δh(ψε)‖H1(ΩR) > κ
è

➔ ➊ ➬✵➬✞✝ ➍
❳✢⑨➀➢❑❫✴❦⑤➔✯③❛➦➄➐❄❫◗❶q❸✓③❑♥➒✐⑤❦⑥⑨➀♥❚❦✉✐

κ−, κ+ > 0
✐❧♦➄❸⑥❨☞❦♠❨➒⑨✩❦

κ < κ− < κ−+3 < κ+
➟✢➵➻❫✡➢❄♥❬③✩➔➩❦♠❨➄⑨➀❦P➑➛③❑r②⑨➀♥❄❤

h✐♠❭q⑨❑➓➝➓➒❫s♥❬③❊♦❬➅❑❨❆↔❑❦✉❨❬❫sr✉❫✤❫✓➐❥t➡✐⑤❦⑥✐→⑨❑♥✘❫s➓✇❫s❭q❫s♥❚❦
K
③❑➑➧❦♠❨❬❫❛❭q❫❪✐♠❨✼❸✓③❑♥❚❦⑥⑨➀t✇♥❬❫❪❶qt✇♥✘❦♠❨➄❫❝⑨➀♥❬♥❄♦❬➓✇♦➄✐ {x ∈ ΩR

❦❪➟ ✈
κ−h <

|x| < κ+h}
➟✴➵➥❫✝❶❥❫❪♥❬③➀❦✉❫❷❦♠❨❬t➡✐✤❫❪➓➝❫❪❭✺❫❪♥❚❦

K(h)
➟✴➎➏♥❂③❊r✉❶❥❫❪r✕❦♠③✼⑩➄r♠③✩➣❊❫❛❦✉❨❬t➡✐✤➓✇❫s❭q❭✘⑨❬↔➄t➝❦❝t➡✐✤✐♠♦❥Ö✼❸✓t✇❫s♥❚❦✤❦♠③✲⑩❬r♠③✩➣❊❫

❦♠❨➒⑨✩❦
∃κ2 > 0

✐❪➟ ❦ ∀h,
∫

K(h)

|∇δh(ψε)|2dx > κ2.

➠❬③❊rP⑨➀♥❄❤
h
↔❑➔✴❫✡❶❥❫❪♥❬③➀❦✉❫✯↕❄❤

Fh : K̂ → K
❦✉❨❬❫✯❦♠r⑥⑨➀♥➄✐❧➑➛③❑r✉❭✘⑨✩❦✉t➝③❊♥✪❦♠❨➄⑨➀❦✶❦✉⑨➀➢❊❫❪✐✌❦♠❨➄❫✯r✉❫✓➑➛❫❪r♠❫❪♥➄❸✓❫✯❫s➓✇❫s❭q❫❪♥❊❦✶❦✉③

K(h)
➟

❳✕❨❬❫❪♥
Fh = (F h

1 , F
h
2 )

➔✡t➝❦♠❨
Fh

i (x̂) ∈ P1
➾➛➔✡❨❬❫❪r♠❫

Q1
➪
, i = 1, 2

➟✡❵✤♥➄❶❬❫sr❛❦♠❨❬❫✝⑨❊✐♠✐♠♦❬❭q⑩❥❦✉t➝③❊♥➄✐✡➑➛③❊r♠❭☞♦❬➓✇⑨➀❦♠❫◗❶
⑩❬r✉❫s➣❄t✇③❑♦➄✐♠➓➝❤❊↔➧❦♠❨➄❫sr✉❫q⑨❑➓➝➔✕⑨❼❤❥✐➂❨❬③❑➓➡❶❬✐ ∀x̂ ∈ K̂ ∀h > 0, κ− < | 1h Fh(x̂)| < κ+

➟✲❳✕❨❬❫s♥➤t➝❦✰t✇✐✪✐♠♦❥Ö✼❸✓t✇❫s♥❚❦✪❦✉③
⑩❬r✉③✩➣❑❫❛❦♠❨➄⑨➀❦

∃κ2 > 0
✐s➟ ❦ ∀h, inf

P∈Pq

∫

bK

∣∣∣
Fh

1 (x̂)

|Fh(x̂)|2 − P (x̂)
∣∣∣
2

| Ò❊⑨❊❸ (Fh)| dx̂ > κ2.

①②r✉③❥❸✓❫s❫◗❶✮↕❄❤✣❸s③❑♥❚❦♠r⑥⑨❑❶❥t➡❸➜❦✉t➝③❊♥✣⑨❑♥➄❶❂✐♠♦❬⑩❬⑩■③❊✐♠❫✪❦♠❨❬❫❪r♠❫✝❫✓➐❥t✇✐❧❦✉✐❛⑨✘✐❧❫◗✈❚♦❬❫s♥➄❸s❫
hn → 0

⑨❑♥➄❶❂⑨✘✐♠❫❪✈❚♦❬❫s♥➒❸✓❫✰③❑➑✶⑩■③❑➓✇❤❄♥❬③➀❰
❭qt✇⑨❑➓✇✐✕③❑➑✢↕■③❑♦➄♥➄❶❥❫❪❶✮❶❥❫❪➅❑r✉❫s❫

Pn ∈ Pq
✐❧♦➒❸⑥❨✲❦✉❨➄⑨✩❦

∫

bK

∣∣∣
Fhn

1 (x̂)

|Fhn(x̂)|2 − 1

hn
Pn(x̂)

∣∣∣
2

| Ò❊⑨❊❸ (Fhn)| dx̂ → 0
➔✡❨➄❫s♥

n→ +∞.

❳✕❨❬❫❪♥➩➔✯❫✲➢❄♥❬③✩➔➼➾➲❸❑➟ ➑⑤➟➤➑➛③❊r☞t✇♥➄✐❧❦✉⑨❑♥➄❸✓❫Þ❋ÿ➁✑❍➚➪✰❦♠❨➄⑨➀❦☞❦✉❨❬❫sr✉❫✣❫✓➐❥t✇✐❧❦✉✐✺⑨➞❸s③❑♥➄✐❧❦✉⑨❑♥❚❦
κ3 > 0

✐♠♦➄❸⑥❨➳❦♠❨➒⑨✩❦✺➑➛③❑rq⑨➀♥❄❤
h
↔

| Ò❚⑨❑❸ (Fh)| > κ3 h
2 ➔✡❨❬t➡❸⑥❨✣t➝❭q⑩❬➓✇t➝❫◗✐

∫

bK

∣∣∣
Fhn

1 (x̂)

|Fhn(x̂)|2 − 1

hn
Pn(x̂)

∣∣∣
2

| Ò❊⑨❊❸ (Fhn)| dx̂ >

∫

bK

∣∣∣
1

hn
Fhn

1 (x̂)

| 1
hn
Fhn(x̂)|2 − Pn(x̂)

∣∣∣
2

dx̂

❢❄t✇♥➄❸✓❫ ∀n ↔ ‖ 1
hn
Fhn‖ bK < κ+

↔❆➔✯❫✼❸✓③❊♥➄❸✓➓✇♦➄❶❥❫✺❦♠❨➒⑨✩❦✪❦♠❨➄❫✼✐❧❫◗✈❊♦➄❫s♥➄❸s❫
( 1

hn
Fhn)n

t➡✐✪↕■③❑♦❬♥➒❶❥❫❪❶➥t✇♥
P 2

1

➾➲③❑r✪t✇♥
Q2

1

➪➜➟ ✬ ✐✢❦♠❨➄t✇✐P✐♠⑩➄⑨❑❸s❫✴t➡✐✢③➀➑➒➦➄♥❬t➝❦♠❫✡❶❥t✇❭✺❫❪♥➄✐♠t➝③❊♥✵↔➀❫✓➐❄❦✉r✉⑨❊❸➜❦♠t✇♥❬➅❷⑨❛✐♠♦❬↕➄✐♠❫❪✈❚♦❬❫❪♥➄❸✓❫✯t➝➑➒♥❬❫◗❸✓❫❪✐✉✐✉⑨➀r✉❤❑↔❼➔✴❫✡❸❪⑨➀♥☞⑨❊✐♠✐♠♦❬❭q❫✴❦♠❨➄⑨➀❦

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



❾✲✤ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

( 1
hn
Fhn)n

❸✓③❑♥❄➣❊❫sr✉➅❑❫❪✐❪↔➒✐✉⑨❼❤✣❦♠③✩➔✕⑨➀r⑥❶
F = (F1, F2) ∈ P 2

1

➾➛③❊r ∈ Q2
1

➪➜➟✝❳✕❨➄❫s♥✵↔ ∀x̂ ∈ K̂, κ− < |F (x̂)| <
κ+

↔❥➔✡❨❬t✇❸⑥❨☎t➝❭q⑩❬➓✇t✇❫❪✐✯❦♠❨➒⑨✩❦ F1

|F |2
t✇✐✯➔✯❫s➓✇➓➧❶❥❫✓➦➄♥➄❫❪❶➧↔➄❶❬t➭➯❲❫sr✉❫s♥❚❦✯➑➛r♠③❊❭✧➽s❫❪r♠③✺⑨➀♥➄❶

C∞ ③❊♥
K̂
➟P❜❂③❊r♠❫❪③✩➣❑❫❪r

hn
F hn

1

|F hn |2♦❬♥❬t➝➑➛③❑r✉❭q➓➝❤✺❸✓③❊♥❚➣❊❫sr✉➅❑❫◗✐✵❦✉③✩➔✯⑨❑r✉❶ F1

|F |2
③❑♥

K̂
➟P❢❄t✇❭✺t✇➓➡⑨➀r✉➓➝❤✰➔✯❫✤❸s⑨❑♥✺✐♠❨❬③✩➔➩❦♠❨➄⑨➀❦

Pn
♦❬♥❬t➝➑➛③❑r✉❭q➓➝❤✺❸✓③❊♥❚➣❊❫sr✉➅❑❫◗✐✵❦✉③✩➔✯⑨❑r✉❶

⑨✺⑩➒③❊➓➝❤❄♥❬③❊❭qt✇⑨❑➓➧➔✡t➭❦✉❨☎❦✉❨❬❫✰✐✉⑨➀❭q❫✪❶❥❫s➅❊r♠❫❪❫❑➟❯✕➂③❑t✇♥❬➅✺❦♠③✺❦♠❨➄❫✪➓➝t✇❭qt➭❦◗↔❬➔✴❫❷➦➒♥➄⑨➀➓✇➓➝❤✲③❑↕❥❦⑥⑨➀t✇♥
∫

bK

∣∣∣
F1(x̂)

|F (x̂)|2 − P (x̂)
∣∣∣
2

dx̂ = 0 ⇒ F1(x̂)

|F (x̂)|2 = P (x̂)

❢❄♦❬⑩➄⑩➒③❚✐❧❫❷➦➄r⑥✐❧❦✯❦✉❨➄⑨✩❦
P
t✇✐✤♥❬③➀❦✤❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦◗➟✶❳✕❨➄t✇✐✡➓✇❫❪⑨❊❶❬✐✯❦♠③✘⑨q❸✓③❊♥❚❦♠r⑥⑨❑❶❥t➡❸➜❦✉t➝③❊♥✣✐♠t➝♥➒❸✓❫

|F1(x̂)|
|F (x̂)|2 →

|bx|→+∞
0

➔✡❨❬❫❪r♠❫◗⑨❑✐ |P (x̂)| →
|bx|→+∞

+∞.

➎❍➑❝➔✯❫☎✐♠♦❬⑩❬⑩■③❊✐♠❫✼❦✉❨➄⑨✩❦
P
t✇✐✺❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦◗↔✶❦♠❨❬t➡✐✝t✇❭q⑩❬➓✇t➝❫◗✐✝❦✉❨➄⑨✩❦

F
t➡✐☞⑨❑➓✇✐♠③➞❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦◗↔②⑨➀♥➄❶➤❦✉❨❬t➡✐☞❤❄t✇❫s➓➡❶❬✐✺⑨➀♥❬③❑❦♠❨❬❫❪r

❸✓③❊♥❚❦♠r⑥⑨❑❶❥t➡❸➜❦✉t➝③❊♥➫✐❧t✇♥➄❸✓❫✣↕❄❤➳❸✓③❑♥❚❦✉t➝♥❄♦❬t➝❦⑤❤ | Ò❚⑨❑❸ (F )| > κ3 > 0
➟➳❳✌③➥❸s③❑♥➄❸s➓➝♦➒❶❥❫❑↔②❸s③❑♥❚❦♠r⑥⑨❑❶❥t➡❸➜❦✉t➝③❊♥➄✐✰➅❊t➝➣❊❫❪✐☞♦➄✐☞❦♠❨❬❫

r✉❫❪✐♠♦❬➓➭❦◗➟

➵➥❫❝✐❧❫❪❫✡❦♠❨➒⑨✩❦②❦✉❨❬❫sr✉❫✡t✇✐→♥❬③✰➅❊➓➝③❊↕➄⑨➀➓❬❸s③❑♥❄➣❑❫❪r♠➅❊❫s♥➄❸s❫✯t✇♥
H1 ♥➄③❑r✉❭✣➟✢➨✤③✩➔✯❫s➣❊❫srPt✇♥ L2 ❦✉❨❬❫sr✉❫✤t➡✐②⑨✰✐♠➓➝③✩➔ ❸✓③❊♥❚➣❊❫sr✉➅❑❫❪♥➄❸✓❫

⑨❑✐✕➔✯❫✪❸s⑨❑♥✣✐♠❫s❫❷➔✡t➝❦♠❨✮❦♠❨➄❫❛➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅q➓➝❫❪❭✺❭✘⑨➄➟
➁→➹ ❮➫❮➩➋ ✙❏❷➓✁ ❸✫❹ Þ✓å♠Þ✲Þ❧❺❊ç➡é➜à➲é☞ã❂ì⑥ê➀ß❬é➜à❍ã➀ß➄à

κ > 0
ç➚ß■á❊Þ❼❻➄Þ✓ß❲á❑Þsß➄à❝ê✷❽

h
ã➀ß■á

ε
➋✴é➜Û➄ì ❹ à ❹ ã➀à ‖δh(ψε)‖L2(ΩR) 6

κh (1 + hq ln h
ε )
è

➔ ➊ ➬✵➬✞✝ ➍
➵➥❫✺③❊↕❥❦✉⑨❑t➝♥➻❦♠❨➄t✇✐✪r✉❫❪✐♠♦❬➓➝❦✪↕❚❤➻⑨✣❸s➓✇⑨❊✐♠✐♠t➡❸s⑨➀➓✶❶❥♦➄⑨❑➓➝t➝❦⑤❤◆❭q❫✓❦✉❨❬③❥❶➧➟⑤✕➂t✇➣❑❫s♥

v ∈ L2(ΩR)
➔✯❫q❶❬❫✓➦➄♥❬❫

wv
⑨❑✐➂❦♠❨➄❫

♦❬♥❬t➡✈❚♦❬❫✮❫s➓✇❫s❭q❫s♥❚❦✘③➀➑
H1(ΩR)

✐♠⑨➀❦♠t➡✐⑤➑➛❤❄t✇♥❬➅
a(wv, w) =

∫
ΩR

v w , ∀w ∈ H1(ΩR)
➟ ❳✕❨❬❫s♥Õ❦♠❨➄❫☎➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅

♦➄✐♠♦➄⑨➀➓✵❸❪⑨➀➓➡❸✓♦❬➓✇♦➄✐✕❨❬③❊➓✇❶➄✐

‖δh(ψε)‖L2(ΩR) = sup
v∈L2(ΩR)

∫
ΩR

δh(ψε)v

‖v‖L2(ΩR)
= sup

v∈L2(ΩR)

a(δh(ψε), wv)

‖v‖L2(ΩR)

= sup
v∈L2(ΩR)

a(δh(ψε), wv −Ph(wv))

‖v‖L2(ΩR)

6 κh ‖δh(ψε)‖H1(ΩR),

➔✡❨❬❫❪♥➄❸✓❫❷❦✉❨❬❫❷r♠❫◗✐❧♦❬➓➝❦✤↕❄❤✲Ñ✵❫❪❭q❭q⑨Ü✡❬➟➝ü➀➟

×❜❛➆❵ ß✧②⑨⑧✫♦⑥✐❆❣✮t✣①✴❥✷❦♠♦✌①✈❣
➵➥❫✺⑨❑r♠❫✰♥➄③✩➔ t➝♥❚❦♠❫❪r♠❫◗✐⑤❦✉❫❪❶✮t✇♥◆❦✉❨❬❫✺❸s③❑♥❄➣❑❫❪r♠➅❊❫s♥➄❸s❫❷③➀➑ Ph(ψε)

❦♠③✩➔✕⑨➀r⑥❶
ψε t✇♥➻⑨✲r♠❫❪➅❑t✇③❑♥✮❦♠❨➒⑨✩❦❛❫s➐❬❸✓➓✇♦➄❶❥❫❪✐➂⑨✘➦➄➐❄❫◗❶♥❬❫❪t➝➅❊❨❚↕■③❑r✉❨❬③❄③❥❶➥③➀➑✕❦♠❨❬❫✲③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟ ✬ ✐

ψε t➡✐✰➣❑❫❪r♠❤➥✐❧❭q③❄③➀❦✉❨➳t➝♥➫✐♠♦➄❸⑥❨➫⑨❂r✉❫s➅❊t➝③❊♥✵↔✵❦✉❨❬❫sr✉❫✲✐♠❨❬③❑♦➄➓✇❶➤❨➄⑨❼➣❊❫q➑➲⑨❑✐❧❦♠❫❪r
❸✓③❊♥❄➣❑❫sr✉➅❑❫❪♥➄❸✓❫❊➟❆➎➏♥➄❶❬❫s❫❪❶☎❦⑥⑨➀➢❑❫➂❦⑤➔✯③q③❑⑩■❫s♥✮✐❧❫s❦✉✐

Ω0 ⊂⊂ Ω1 ⊂⊂ ΩR \ Ωi
ε

➟

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ❾❚➁

Ω1

Ω0

➠✢t➝➅❊♦❬r♠❫Ú✔✴❊→❢❥♦❬↕❥❰➏❶❥③❑❭✘⑨➀t✇♥➄✐✯➑➛③❊r✕❦♠❨❬❫✪➓✇③❥❸s⑨➀➓➧❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫

➵➥❫✰➔✡t✇✐♠❨✣❦♠③✼↕■③❑♦➄♥➄❶ ‖ψε − Ph(ψε)‖H1(Ω0)
⑨❑♥➄❶ ‖ψε − Ph(ψε)‖L2(Ω0)

❶❥❫s⑩■❫s♥➄❶❬t➝♥❬➅✲③❑♥✣❦♠❨❬❫☞↕➒❫❪❨➄⑨❼➣❄t➝③❊r
③➀➑
ψε t➝♥

Ω1
➟✝➠➄③❑r➂❦♠❨➄t✇✐✪⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐s↔❲➔✯❫☞➔✡t✇➓✇➓P♦➄✐❧❫q⑨✲❦♠❨❬❫❪③❑r✉❫s❭ ③➀➑✕❴✤t➝❦✉✐✉❸⑥❨❬❫q⑨➀♥➄❶➤❢❥❸⑥❨➄⑨➀❦♠➽✪❋➝ü❊ü✹❍❈➟✝➵➻❫qr✉❫❪❸s⑨❑➓➝➓✢❦✉❨❬t✇✐

r✉❫❪✐♠♦❬➓➭❦✡t✇♥❂⑨➀⑩❬⑩■❫s♥➄❶❬t➭➐➧➟
➁→➹ ❮➫❮➩➋ ✙❏❷✇ó
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à ‖δh(ψε)‖H1(Ω0) 6 κhq (1 + ln h

ε )
è

➔ ➊ ➬✵➬✞✝ ➍
✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅➂❦♠③✰❴✤t➝❦✉✐✉❸⑥❨❬❫✤⑨❑♥➄❶✼❢❥❸⑥❨➄⑨➀❦♠➽❑Ï➀❦♠❨❬❫❪③❑r✉❫s❭✮↔✩❦♠❨➄❫sr✉❫✤❫✓➐❥t➡✐⑤❦⑥✐

κ > 0
t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫s♥❚❦→③❑➑

ε
⑨➀♥➒❶

h
✐❧♦➒❸⑥❨☞❦✉❨➄⑨✩❦

‖δh(ψε)‖H1(Ω0) 6 κ (hq ‖ψε‖Hq+1(Ω1) + ‖δh(ψε)‖H−q+1(Ω1)).

❳✢⑨➀➢❑❫
v ∈ Hq−1(ΩR)

⑨➀♥➄❶✮❸s③❑♥➄✐♠t✇❶❬❫sr✯❦♠❨❬❫✪♦➄♥❬t✇✈❚♦❬❫❷➑➛♦➄♥➄❸➜❦✉t➝③❊♥➄✐
wv ∈ H1(ΩR)

⑨➀♥➒❶
wh

v ∈ V h ✐✉⑨✩❦♠t➡✐❧➑➛❤❚t✇♥❬➅

a(wv, w) =

∫

ΩR

w v ∀w ∈ H1(ΩR)
❫✓❦

a(wh
v , wh) =

∫

ΩR

wh v ∀wh ∈ V h.

❳✕❨❬❫❪♥
∫
ΩR

δh(ψε)v = a(δh(ψε), wv) = a(δh(ψε), wv − wh
v )

6 κ‖δh(ψε)‖H1(ΩR) ‖wv − wh
v ‖H1(ΩR)

6 κ‖δh(ψε)‖H1(ΩR) ‖wv‖Hq+1(ΩR) h
q 6 κ‖δh(ψε)‖H1(ΩR) ‖v‖Hq−1(ΩR) h

q,

➔✡❨❬t➡❸⑥❨☎t✇❭q⑩❬➓✇t➝❫◗✐

‖δh(ψε)‖H−q+1(Ω1) = sup
v∈Hq−1

0 (Ω1)

∫
ΩR

δh(ψε)v

‖v‖Hq−1(ΩR)

6 sup
v∈Hq−1(ΩR)

∫
ΩR

δh(ψε)v

‖v‖Hq−1(ΩR)

6 κ‖δh(ψε)‖H1(ΩR) h
q.

➠✢t➝♥➒⑨➀➓✇➓➝❤❊↔❬➔✴❫❷➢❄♥❬③✩➔➱❦✉❨➄⑨✩❦

‖ψε‖Hq+1(Ω1) 6 κ(1 + ln
h

ε
)

⑨❑♥➄❶ ‖δh(ψε)‖H1(ΩR) 6 κ(1 + ln
h

ε
)

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



❾✲✔ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➔✡❨❬t➡❸⑥❨☎➅❊t➝➣❊❫❪✐✕♦➄✐✯❦✉❨❬❫❷➦➄♥➄⑨❑➓✵r✉❫❪✐♠♦❬➓➭❦◗➟

➵➥❫✼❸s⑨➀♥➤⑨➀⑩➄⑩❬➓➝❤➞❦♠❨❬❫✼✐✉⑨➀❭q❫✺❦♠❫◗❸⑥❨❬♥❬t➡✈❚♦❬❫❪✐✪♦➒✐❧t✇♥❬➅✮❦♠❨➄❫✼✐❧❫◗❸✓③❑♥➒❶➞⑩➄⑨❑r❧❦✪③❑➑✕❴❝t➭❦⑥✐♠❸⑥❨❬❫✼⑨❑♥➄❶➳❢❥❸⑥❨➄⑨➀❦♠➽❑Ï❲❦✉❨❬❫s③❊r♠❫❪❭❡t✇♥
③❑r⑥❶❥❫❪r✴❦✉③✘③❑↕❥❦⑥⑨➀t✇♥☎➓✇③❥❸s⑨❑➓➧❫❪✐❧❦♠t✇❭q⑨➀❦♠❫❷t✇♥

L2 ♥❬③❑r✉❭✮➟
Ò ➬ ➊ ➬ Ù➲Ù❯➋❥➊ ➘ ✙❘❷➲ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à ‖δh(ψε)‖L2(Ω0) 6 κhq+1 (1 + ln h

ε )
è

Ñ✵❫❪❭q❭q⑨❆✡❥➟ ➃☞⑨❑♥➄❶✼❸✓③❊r♠③❊➓➝➓➡⑨➀r✉❤❆✡❬➟➝ü❛❤❄t➝❫❪➓✇❶✘❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫❪✐✯③❊♥✲⑨➀♥✼t✇♥❚❦♠❫❪r♠t✇③❑r✯❶❥③❑❭✘⑨➀t✇♥
Ω0

✐❧♦➒❸⑥❨✘❦♠❨➄⑨➀❦
Ω0 ⊂⊂ ΩR

➟P❳✕❨❬t✇✐
t✇❭✺⑩➄➓➝t✇❫❪✐✡t✇♥✣⑩➄⑨➀r♠❦♠t➡❸✓♦❬➓➡⑨➀r✕❦✉❨➄⑨✩❦

Ω0 ∩ ΓR = ∅ ➟②❢❄③q➔✴❫✰✐❧❦♠t✇➓➝➓✵❶❬③✘♥❬③➀❦✡❨➄⑨❼➣❊❫❷⑨❑♥❄❤✘❫❪✐❧❦♠t✇❭q⑨➀❦♠❫✪t✇♥✲❦✉❨❬❫✪♥❬❫❪t➝➅❊❨❚↕■③❑r✉❨❬③❄③❥❶③➀➑✶❦✉❨❬❫✝❫s➐❚❦✉❫sr✉t➝③❊r✤↕■③❑♦❬♥➄❶➄⑨➀r✉❤
ΓR

➟✤❳✕❨➄t✇✐❛t✇✐✤❦♠❨❬❫✺✐❧♦➄↕❥④⑤❫❪❸✓❦❝③➀➑P❦✉❨❬❫✝♥❬❫s➐❄❦❝➓➝❫❪❭q❭q⑨➄➟✡➵➻❫☞➔✡t➝➓✇➓✢↕➒③❊♦❬♥➄❶✮❦✉❨❬❫✰❫sr✉r✉③❑r✤t✇♥
ΩR \ ΩR′

➑➛③❑r
2 ε < R′ < R

➟✘➵➻❫q➔✡t✇➓➝➓→✐♠♦❬⑩❬⑩■③❊✐♠❫✺❦♠❨➄⑨➀❦
R − R′ t➡✐✪✐❧❭✘⑨❑➓➝➓P❫❪♥❬③❑♦❬➅❊❨➞➑➛③❊r✪➅❑♦➄⑨❑r✉⑨❑♥❚❦⑤❤❚t✇♥❬➅✲❦♠❨➄⑨➀❦

ψε = 0
③❊♥

ΩR \ ΩR′

➟

à✆á❄â❄â χ

ΩR′

ΩR
Γε

➠✢t➝➅❊♦❬r✉❫Ú✗❤❊②❢❄♦❬↕❥❰➏❶❥③❑❭✘⑨❑t➝♥
ΩR \ ΩR′

➑➛③❊r✕❦♠❨❬❫✪➓✇③❥❸s⑨❑➓➧❫❪✐❧❦♠t✇❭q⑨➀❦♠❫✪❸✓➓✇③❊✐♠❫➂❦♠③✺❦♠❨➄❫✪↕➒③❊♦❬♥➄❶❬⑨❑r♠❤❊➟

➁→➹ ❮➫❮➩➋ ✙❏❷❚✙
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à

‖δh(ψε)‖H1(ΩR\ΩR′ ) = ‖Ph(ψε)‖H1(ΩR\ΩR′ ) 6 κhq (1 + ln
h

ε
).

➔ ➊ ➬✵➬✞✝ ➍
❳✢⑨➀➢❑❫

χ̃ ∈ C∞(R+)
✐❧♦➄❸⑥❨➻❦♠❨➒⑨✩❦

χ̃(r) = 0
t➝➑

0 6 r 6 R′/2
↔❆⑨❑♥➄❶

χ̃(r) = 1
t➭➑
r > R′ ↔✢⑨➀♥➄❶ χ̃ t➡✐✪⑨

➅❑r✉③✩➔✡t✇♥❬➅q➑➛♦❬♥➄❸✓❦♠t✇③❑♥✵➟➂➠❬③❑r
h
✐♠❭✘⑨➀➓✇➓❆❫❪♥❬③❑♦❬➅❊❨✵↔➒❦♠❨❬❫❪r♠❫✰❫s➐❥t✇✐❧❦✉✐➂⑨➀♥❂③❊⑩➒❫❪♥➞✐❧❫s❦ O ⊂⊂ ΩR \ Ωi

ε

t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦❛③➀➑
h✐♠♦➄❸⑥❨✰❦✉❨➄⑨✩❦P✐❧♦➄⑩❬⑩ ∇χ̃ ⊂ O ⑨➀♥➒❶ ∀vh ∈ V h,

✐♠♦❬⑩❬⑩ (
χ̃vh−Πh(χ̃vh)

)
⊂ O ↔❑⑨❑♥➄❶✝✐♠♦➄❸⑥❨✝❦♠❨➄⑨➀❦ O∩ ✐♠♦❬⑩❬⑩ χ = ∅ ➟❳✕❨❬❫❪♥✣↕❄❤✣×✴❫◗⑨❬Ï ✐✕➓➝❫❪❭q❭q⑨➄↔❄❦♠❨❬❫❪r♠❫✪❫s➐❥t✇✐❧❦✉✐

κ > 0
t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦✤③➀➑

ε
⑨➀♥➄❶

h
✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

‖χ̃Ph(ψε) −Ph(χ̃Ph(ψε))‖H1(ΩR) 6 κ ‖χ̃Ph(ψε) − Πh(χ̃Ph(ψε))‖H1(ΩR)

6 κ ‖χ̃Ph(ψε) − Πh(χ̃Ph(ψε))‖H1(O)

6 κ ‖χ̃Ph(ψε)‖H1(O) 6 κ ‖Ph(ψε)‖H1(O)

‖χ̃Ph(ψε) −Ph(χ̃Ph(ψε))‖H1(ΩR) 6 κhq(1 + ln h
ε ).

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ❾✥✗

➎➏♥✘❦✉❨❬❫❝➓➡⑨❑✐❧❦✴t✇♥❬❫❪✈❚♦➄⑨❑➓➝t➝❦⑤❤✺➔✴❫❛♦➄✐❧❫◗❶✘➓✇❫s❭q❭✘⑨➻✡❥➟ ➃❬➟P❜❂③❑r✉❫s③✩➣❊❫sr◗↔➀↕❄❤✘❶❥❫✓➦➄♥➄t➭❦✉t➝③❊♥✼③➀➑ Ph
↔❊➑➛③❑r✯⑨➀♥❄❤

vh ∈ V h ↔❚➔✯❫✤❨➄⑨❼➣❊❫

a(Ph(χ̃Ph(ψε)), vh) = a(χ̃Ph(ψε), vh)

=
∫
ΩR

(
Ph(ψε)∇χ̃ · ∇vh − vh∇χ̃ · ∇Ph(ψε)

)
+ a(Ph(ψε), χ̃vh).

➠❬③❊r
h
✐♠❭✘⑨➀➓✇➓➄❫❪♥❬③❑♦❬➅❊❨✵↔➀♥❬③❑❦♠❫✡❦✉❨➄⑨✩❦✯✐❧♦❬⑩➄⑩

(Πhχ̃vh) ⊂ ΩR \ ✐♠♦❬⑩❬⑩ ψε
➟ ✬ ✐→⑨✝❸✓③❑♥➒✐❧❫◗✈❊♦➄❫s♥➄❸s❫❑↔

a(Ph(ψε),Πhχ̃vh)
= a(ψε,Πhχ̃vh) = 0

➔✡❨➄⑨➀❦✕t✇❭q⑩❬➓✇t➝❫◗✐

a(Ph(ψε), χ̃vh) = a(Ph(ψε), χ̃vh − Πhχ̃vh).

✬ ✐❝✐❧♦❬⑩➄⑩ ∇χ̃ ⊂ O ⑨➀♥➄❶✮✐♠♦❬⑩❬⑩ (
χ̃vh − Πh(χ̃vh)

)
⊂ O ↔➄➔✴❫✪❸s⑨❑♥☎③❊↕❥❦✉⑨❑t➝♥ κ > 0

✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦
∣∣∣
∫
ΩR

(
Ph(ψε)∇χ̃ · ∇vh − vh∇χ̃ · ∇Ph(ψε)

)∣∣∣ 6 κ ‖Ph(ψε)‖H1(O) ‖vh‖H1(ΩR),

|a(Ph(ψε), χ̃vh − Πhχ̃vh)| 6 κ ‖Ph(ψε)‖H1(O) ‖vh‖H1(ΩR).
❵❝✐♠t✇♥❬➅

inf − sup
❸✓③❑♥➒❶❥t➭❦✉t➝③❊♥✮③❑♥

a
↔❥➔✯❫✪③❑↕❬❦✉⑨➀t✇♥

‖Ph(χ̃Ph(ψε))‖H1(ΩR) 6 κ ‖Ph(ψε)‖H1(O) 6 κhq(1 + ln
h

ε
).

➠✢t➝♥➒⑨➀➓✇➓➝❤✼♥➄③➀❦♠❫❷❦✉❨➄⑨✩❦

‖Ph(ψε)‖H1(ΩR\ΩR′ ) 6 ‖χ̃Ph(ψε)‖H1(ΩR)

6 ‖χ̃Ph(ψε) −Phχ̃Ph(ψε)‖H1(ΩR) + ‖Phχ̃Ph(ψε)‖H1(ΩR),
⑨➀♥➒❶✼❦✉❨❬t✇✐❝⑨➀➓✇③❑♥❬➅q➔✡t➝❦♠❨✣❦♠❨❬❫✪⑩➄r♠❫❪➣❚t✇③❑♦➒✐✴t✇♥❬❫◗✈❊♦➒⑨➀➓✇t➭❦✉t➝❫◗✐✕⑩❬r♠③✩➣❄t➡❶❥❫❪✐✴❦✉❨❬❫✰❸✓③❊♥➄❸✓➓✇♦➄✐♠t➝③❊♥☎③❑➑❆❦♠❨➄❫✪⑩❬r♠③❄③❑➑⑤➟

❳✕❨❬❫✪⑩❬r✉❫s➣❄t✇③❑♦➄✐✤r♠❫◗✐❧♦❬➓➝❦✤➓✇❫❪⑨❑❶✣♦➄✐✡❦♠③✘❦✉❨❬❫✪➑➛③❑➓✇➓✇③✩➔✡t➝♥❬➅✘❸s③❑♥➄❸s➓➝♦➄✐♠t✇③❑♥➄✐❪➟
(ϕi)i=1...I ∪ (δh(ψε))

➑➛③❊r♠❭ ⑨q↕➄⑨❑✐♠t✇✐✤③➀➑
V h
e

➟✴×✴③❑❭qt✇♥❬➅q↕➄⑨❑❸⑥➢q❦✉③q❦♠❨❬❫✰✐♠③❑➓✇♦❥❦✉t➝③❊♥
uε,h ∈ V h

e

③❑➑✌⑩❬r✉③❑↕➄➓➝❫❪❭❡➾➛➃➒➟➝ü❪➪✓↔❬➔✯❫✰❸s⑨➀♥✮❶❥❫◗❸✓③❑❭q⑩■③❊✐♠❫❷t➭❦✤③❊♥✲❦✉❨❬t✇✐✤↕➄⑨❑✐♠t✇✐✠❊

uε,h = uε,h
r

+ pε,h
s
δh(ψε),

➾➆✡❬➟➝ü❼➪
➔✡❨❬❫❪r♠❫

uε,h
r

∈ V h ➟→❢❥♦❬⑩❬⑩■③❊✐♠❫ pε,h
s

t✇✐✕↕■③❑♦➄♥➄❶❥❫❪❶➥➾➛➔✡t➝❦♠❨✮r✉❫❪✐♠⑩➒❫◗❸➜❦✯❦♠③
ε
⑨➀♥➒❶

h
➪➜↔❄❦✉❨❬❫s♥✮Ñ✵❫❪❭✺❭✘⑨Ü✡❥➟➣✡☞✐⑤❦⑥⑨✩❦♠❫◗✐✴❦♠❨➄⑨➀❦

uε,h ≃ uε,h
r

⑨❼➔✕⑨❼❤✺➑➛r♠③❊❭✾❦♠❨➄❫✰✐❧❭✘⑨➀➓✇➓➧③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫
Ωi

ε

➟

×❜❛➆➠ ã✣✐❧✐✷✉❴t✥①✓❡✴♦✌①✴❥◆②➢♥
➵➥❫✡♥❚♦➄❭✺❫❪r♠t➡❸s⑨❑➓➝➓✇❤✪③❑↕➒✐❧❫❪r♠➣❊❫❪❶❷❦✉❨❬❫✡❫✓➯❲❫❪❸✓❦②③➀➑➄❦✉❨❬❫✡③❑⑩■❫sr⑥⑨✩❦✉③❑r

δh
③❊♥

ψε ➟✢❳✕❨➄❫✡r♠❫◗✐❧♦❬➓➝❦Pt✇✐✶r✉❫s⑩➄r♠❫◗✐❧❫❪♥❊❦✉❫❪❶✝t➝♥☞❦♠❨❬❫✕➦➒➅❑♦❬r✉❫↕■❫s➓✇③✩➔✪➟

ℜe{ψε} ℜe{δh(ψε)}

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



í ❿ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➵➥❫✲✐❧❫❪❫✘t➝♥➤❦✉❨❬❫✼r✉t➝➅❊❨❚❦❧❰❍❨➄⑨➀♥➄❶➤✐♠t✇❶❬❫✘③➀➑✕❦♠❨❬❫✼➦➄➅❑♦❬r✉❫q❦♠❨➒⑨✩❦✰❦✉❨❬❫✼❫✓➯❲❫❪❸✓❦☞③❑➑
δh

t➡✐✪❦♠③➞➓➝③❥❸s⑨❑➓➝t✇➽s❫q❦✉❨❬❫✲⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓
✐♠❨➄⑨➀⑩■❫❷➑➛♦❬♥➄❸✓❦♠t✇③❑♥

ψε ⑨❑r♠③❊♦❬♥➄❶✲❦♠❨❬❫✰✐♠❭✘⑨➀➓✇➓✵③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑➟②➎➏♥➒❶❥❫s❫◗❶☎➓✇❫s❭q❭✘⑨➤✡❥➟ ➃✘t✇♥➄❶❥t➡❸s⑨✩❦✉❫❪✐✕❦✉❨➄⑨✩❦✡➑➲⑨❑r❝⑨❼➔✕⑨❼❤q➑➛r♠③❊❭✧❦♠❨➄❫
③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫q❦♠❨➄❫✲⑨❑❶❬❶❬t➭❦✉t➝③❊♥➄⑨➀➓→✐♠❨➄⑨❑⑩➒❫✘➑➛♦➄♥➄❸➜❦✉t➝③❊♥➳t✇✐✝➔✴❫❪➓➝➓→⑨❑⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨✩❦✉❫❪❶➻↕❄❤➥✐❧❦✉⑨❑♥➄❶❬⑨➀r⑥❶➥✐❧❨➄⑨❑⑩➒❫✼➑➛♦❬♥➄❸➜❦✉t➝③❊♥➄✐✲➾❯✐❧t✇♥➄❸s❫
ψε t➡✐✡➣❑❫❪r♠❤✼✐♠❭q③❄③➀❦♠❨✮t✇♥✣❦♠❨❬t➡✐✡r✉❫s➅❑t✇③❑♥■➪➜↔ δh(ψε)

t➡✐✤❸✓➓✇③❊✐♠❫➂❦♠③
0
t➝♥✣❦✉❨❬t✇✐❛⑨➀r✉❫❪⑨➄➟✢➎➏♥❂✐♠③❑❭q❫✰✐♠❫s♥➄✐♠❫❑↔❄❦✉❨❬❫✝⑨➀♦➄➅❑❭q❫s♥❚❦♠❫◗❶

♥❄♦❬❭q❫sr✉t✇❸❪⑨➀➓✡✐✉❸⑥❨❬❫s❭q❫➤➾➛➃➄➟✇ü◗➪✺❶❥t➝➯❲❫sr⑥✐✝➑➛r✉③❑❭ ❦♠❨❬❫❂✐❧❦✉⑨➀♥➒❶❬⑨➀r⑥❶➫③❊♥❬❫➥➾ í ➟✇ü◗➪☞③❑♥➄➓➝❤➳t✇♥➱⑨➞r✉❫s➅❊t➝③❊♥Õ❸✓➓✇③❊✐♠❫☎❦♠③➻❦♠❨❬❫❂✐♠❭q⑨❑➓➝➓
③❑↕➒✐⑤❦⑥⑨❑❸✓➓✇❫❑➟

×❜❛◗❰ ä❨❣✮⑧✫②➢❦➽⑦❫②➢t⑩❥◆①✴❥◆②❑♥➏②❯④➤①✴➥♣❣→♦⑥➎✇➎❴❥➈①✴❥◆②❑♥✇♦⑥✐➟t✈➥♣♦q⑦❫❣å④✹✉✇♥❴⑧✞①✴❥◆②❑♥
➎➏♥☎❦♠❨❬❫✪♥❬❫s➐❄❦✡✐♠❫❪❸✓❦♠t✇③❑♥✣➔✴❫❷➔✡t✇➓➝➓➧❨➒⑨❼➣❑❫❛❦♠③q➢❄♥❬③✩➔ø⑩❬r✉❫❪❸st✇✐♠❫s➓✇❤✘❦♠❨➄❫➂➓✇t✇♥❬➢✼↕■❫✓❦⑤➔✯❫s❫s♥✣❦✉❨❬❫✪⑨❑❶❬❶❥t➝❦♠t✇③❑♥➒⑨➀➓✵✐♠❨➄⑨➀⑩■❫➂➑➛♦❬♥➄❸➜❦✉t➝③❊♥
⑨➀♥➒❶✮❦♠❨❬❫q✐❧❦✉⑨➀♥➒❶❬⑨➀r⑥❶❂❶❥t➡❸✓r✉❫✓❦♠t✇➽❪⑨➀❦♠t✇③❑♥➩➾➛❦♠❨❬❫✺❭q❫❪✐♠❨➞⑨➀♥➒❶❂❦♠❨➄❫✝♦➄✐♠♦➄⑨➀➓✶✐♠❨➄⑨➀⑩■❫✝➑➛♦➄♥➄❸➜❦✉t➝③❊♥➄✐✉➪✓➟➂❴❝③➀❦✉❫✝❦✉❨➄⑨✩❦❛❦♠❨❬❫q❸⑥❨➄⑨➀r⑥⑨❑❸✓❰
❦♠❫❪r♠t➡✐❧❦♠t➡❸❛➓✇❫s♥➄➅➀❦♠❨✣③➀➑❆❦♠❨❬❫✰⑨❊❶❬❶❥t➝❦♠t✇③❑♥➄⑨❑➓❲✐♠❨➄⑨❑⑩➒❫➂➑➛♦❬♥➄❸✓❦♠t✇③❑♥✣t✇✐

ε
↔❥➔✡❨❬❫❪r♠❫◗⑨❑✐→❦♠❨❬❫✪❸⑥❨➄⑨❑r✉⑨❊❸➜❦✉❫sr✉t✇✐❧❦♠t➡❸✤➓✇❫s♥❬➅❑❦♠❨✣③➀➑✌❦♠❨❬❫❷❭q❫❪✐♠❨

t➡✐
h
➟ ✬ ♥➞t✇♥❚❦♠❫sr✉❫❪✐❧❦♠t✇♥❬➅✣✈❊♦➄❫❪✐❧❦♠t✇③❑♥➞❸s③❑♥➄✐♠t✇✐❧❦✉✐❝t➝♥➞➦➄♥➄❶❥t✇♥❬➅✣❨❬③✩➔

ψε t➡✐⑨▲❧✐♠❫s❫❪♥✈▼✰↕❄❤☎❦✉❨❬❫q✐⑤❦⑥⑨➀♥➄❶❬⑨❑r✉❶❂❶❬t✇✐✉❸✓r✉❫✓❦✉t➝➽◗⑨✩❦♠t✇③❑♥❆➟❳✕❨❬❫✺❶❥❫❪❸s③❑❭q⑩➒③❚✐❧t➝❦♠t✇③❑♥➳➾➵✡❥➟ÿ❾❑➪➜↔➒❦♠❨➒⑨✩❦❛➔✯❫✝⑨❑r♠❫✰➅❊③❑t✇♥❬➅q❦♠③☎❫❪✐❧❦✉⑨❑↕❬➓➝t➡✐♠❨✵↔➄⑩➄⑨❑r❧❦✉➓➝❤✮⑨➀♥➒✐❧➔✯❫sr⑥✐✕❦♠❨➄t✇✐➂✈❚♦❬❫❪✐❧❦♠t✇③❑♥✵➟✡➎❍❦➂⑩❬♦❥❦⑥✐❝t✇♥
❫s➣❄t➡❶❥❫s♥➒❸✓❫✰❦✉❨❬❫☞❶❬❫s⑩■❫s♥➄❶❥❫❪♥➄❸✓❤❂③❑➑ Ph(ψε)

➔✡t➝❦♠❨➻r♠❫◗✐❧⑩■❫❪❸✓❦❝❦✉③
ε
⑨➀♥➄❶

h
➟❛❳✕❨➄t✇✐❛➔✡t➝➓✇➓✶↕➒❫☞♦➄✐♠❫✓➑➛♦❬➓✶t✇♥❂❦♠❨❬❫✺⑩❬r✉③❄③➀➑➲✐✤③❑➑

Ñ✵❫❪❭q❭q⑨❊✐⑨✤❬➟ í ⑨➀♥➄❶✪✤❬➟ ➃❬➟
❳✕❨❬❫❂♥❬❫s➐❄❦☎✐⑤❦✉♦➄❶❥❤✱t✇✐✼↕➄⑨❑✐♠❫❪❶✱③❑♥ ❦✉❨❬❫❂➑➛③❊➓➝➓✇③✩➔✡t➝♥➄➅➥t➡❶❥❫◗⑨✴❊➞t✇♥ ❦♠❨➄❫◆♥❬❫st✇➅❑❨❄↕■③❑r✉❨❬③❄③❥❶➩③❑➑➂❦✉❨❬❫➞✐♠❭✘⑨➀➓✇➓✤③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫

ψε(x) ≃ ln( |x|ε )1|x|>ε
⑨➀♥➄❶✵↔✵❭q③❄❶❬♦❬➓➝③◆✐♠③❑❭q❫☞❦♠❫❪r♠❭✘✐✪r✉❫s➓➡⑨✩❦✉❫❪❶❂❦✉③✮❦♠❨❬❫✺❦✉r♠♦❬♥➒❸s⑨✩❦✉t➝③❊♥✵↔

∆ψε = δΓε ⇔ ψε =

log ∗δΓε +C
↔◗❦♠❨❬❫✕❸✓③❊♥➄✐⑤❦⑥⑨➀♥❚❦✵❦✉❫sr✉❭

C
➾➵æ

ln 1
ε

➪❆➅❑♦➒⑨➀r⑥⑨➀♥❚❦⑤❤❄t➝♥❬➅✯❦✉❨➄⑨✩❦ 〈ψε; δΓε〉 =
∫
Γε ψ

ε = 0
➟❆➵➱❨➄⑨➀❦✢✐❧❦✉⑨➀♥➒❶❬⑨➀r⑥❶

❶❥t➡✐♠❸sr♠❫s❦♠t✇➽❪⑨➀❦♠t✇③❑♥✲❸❪⑨➀♥❬♥❬③❑❦✴r✉❫❪⑨❑➓➝➓✇❤☞r✉❫s⑩➄r♠③❥❶❥♦➄❸s❫❝❨❬❫❪r♠❫❛t✇✐
δΓε ➲ ➑➛③❑r✴❦⑤➔✴③☞r♠❫◗⑨❑✐♠③❑♥➄✐✠❊✵❦✉❨❬t➡✐✴t➡✐✯⑨✝✐♠t➝♥❬➅❊♦❬➓➡⑨➀r→③❊↕❥④⑤❫❪❸✓❦❪↔❥⑨➀♥➒❶✼t➝❦t➡✐✯❸s③❑♥➄❸s❫s♥❚❦♠r⑥⑨✩❦✉❫❪❶✘③❊♥☎⑨☞r♠❫❪➅❑t✇③❑♥✼➔✡t➝❦♠❨✮⑨✺❶❥t✇⑨❑❭q❫✓❦♠❫❪r✡✐❧❭✘⑨➀➓✇➓✇❫sr✯❦♠❨➄⑨❑♥

h
↔❄❦♠❨❬❫❷❸⑥❨➄⑨❑r✉⑨❊❸➜❦♠❫❪r♠t➡✐❧❦♠t➡❸✤➓✇❫s♥❬➅❑❦♠❨✲③❑➑✵❦♠❨➄❫➂❭q❫◗✐❧❨✵➟

⑦❛♦❬r→⑨❑⑩❬⑩❬r✉③❊⑨❊❸⑥❨q❸s③❑♥➄✐♠t➡✐⑤❦⑥✐②t✇♥✘t➝♥❚❦♠r✉③❥❶❥♦➄❸st➝♥❬➅☞⑨✰❶❥t➡✐♠❸sr♠❫s❦♠❫✤➣❊❫sr⑥✐❧t✇③❑♥q③➀➑
δΓε

➟P➠❬r✉③❑❭ ❦♠❨➄t✇✐q▲⑤♥❄♦❬❭q❫❪r♠t➡❸s⑨❑➓➄➺❝t✇r⑥⑨❑❸✻▼✡➔✯❫
➔✡t✇➓➝➓❆❶❬❫❪❶❥♦➄❸s❫✪⑨✘❶❥t✇✐✉❸✓r✉❫✓❦✉❫❷➣❑❫sr⑥✐♠t➝③❊♥✲③➀➑

ψε ❦♠❨➄⑨➀❦✤➔✴❫❷➔✡t✇➓➝➓✌❸s⑨➀➓✇➓➧r✉❫s➅❑♦➄➓✇⑨❑r♠t✇➽s❫◗❶✼⑩■③➀❦♠❫❪♥❚❦♠t➡⑨➀➓❈➟

✙❘❷➝ó➑❷➲ï ç ❒✢❮ ➹ ➊✩ò➲➌❊➋❬Ù ✂ ò➛➊✩➋❬➌ ➭ ❒ ñ ➌➀➉❪ò ➬ ñ
➵➥❫✰✐⑤❦⑥⑨➀r♠❦✯➑➛r✉③❑❭✧❦♠❨❬❫✪❫◗✈❊♦➒⑨✩❦♠t✇③❑♥✮❶❥❫s➦➄♥❬t✇♥❬➅

δΓε

➟②❜❂③❑r✉❫❛⑩➄r♠❫◗❸✓t➡✐❧❫❪➓➝❤❊↔

δΓε ∈ D′(R2)
⑨➀♥➒❶ 〈δΓε ; v〉 =

∫

Γε

v , ∀v ∈ D(R2).

➵➥❫✪⑩❬r♠③❊⑩➒③❚✐❧❫❷❶❥t➡✐♠❸sr♠❫s❦♠❫❷➣❑❫❪r✉✐♠t✇③❑♥➄✐✯③➀➑✢❦♠❨➄❫❪✐♠❫➂❫◗✈❚♦➄⑨✩❦✉t➝③❊♥➄✐s↔

g ∈ L2(R2)
⑨➀♥➄❶ 〈

g; vh
〉

=

∫

Γε

vh , ∀vh ∈ V h.

➎➏♥✼⑨❑❶➄❶❥t➭❦✉t➝③❊♥✘➔✴❫❝t➝❭q⑩■③❊✐♠❫✡❦♠❨➄⑨➀❦✴✐♠♦❬⑩❬⑩
g
❨➄⑨❼➣❊❫✤⑨✰✐♠♦❬⑩❬⑩■③❑r♠❦✴❸✓③❊♥❊❦⑥⑨➀t✇♥❬❫❪❶✺t✇♥✼⑨❷➦➄♥❬t➝❦♠❫❝♥❚♦➄❭✝↕■❫sr→③❑➑✵❸✓❫s➓✇➓➡✐②③➀➑❲❦✉❨❬❫✤❭q❫❪✐♠❨

⑨➀r✉③❑♦➄♥➄❶✮❦♠❨➄❫✺✐♠❭✘⑨➀➓✇➓✢③❊↕➄✐❧❦✉⑨❑❸s➓➝❫❊➟✝×✴③❑♥➄✐♠t✇❶❬❫sr✤❦✉❨❬❫✘✐❧❫s❦✉✐ T ε,h
0 = {K ∈ Th

✐s➟ ❦
K
❨➄⑨❑✐✡⑨✺➣❑❫❪r❧❦✉❫✓➐

ai ∈ Ωi
ε}

⑨❑♥➄❶
Iε,h

0 = {i ∈ I ✐s➟ ❦
ai ∈ K

➑➛③❊r✤✐❧③❊❭q❫
K ∈ T ε,h

0 } ➟✰➺❝❫s➦➄♥❬❫ Oε,h =
⋃

K∈T ε,h
0

K
➟✪➵➻❫✘⑨❑➓✇✐♠③✲t✇♥❚❦♠r✉③❄❶❬♦➄❸✓❫✺⑨

➑➛♦❬♥➄❸✓❦♠t✇③❑♥
g ∈ L2(ΩR)

✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦

g(x) =
∑

i∈I0

gi ϕ
h
i (x)

t➝➑
x ∈ Oε,h

⑨❑♥➄❶
g(x) = 0

⑨➀♥➄❶
x ∈ ΩR \ Oε,h.

❴✤③❑❦♠❫☞❦♠❨➄⑨➀❦
Iε,h
0 =

❸s⑨❑r✉❶
(Iε,h

0 )
r♠❫❪❭q⑨❑t➝♥➒✐❝↕■③❑♦❬♥➒❶❥❫❪❶➻➔✡❨❬❫s♥➻↕➒③❑❦♠❨

ε
⑨➀♥➄❶

h
➅❑③☎❦♠③✮❿❬↔✵⑨➀♥➒❶❂❦♠❨➄t✇✐❷t✇❭q⑩❬➓➝t✇❫❪✐➂❦✉❨➄⑨✩❦

❦♠❨➄❫✝✐❧♦➄❭ ⑨❑↕➒③✩➣❊❫✪t✇✐❛⑨➀➓✇➔✯⑨❼❤❥✐✕➔✯❫s➓✇➓✌❶❥❫s➦➄♥❬❫❪❶✵➟✯➎➏♥➒❶❥❫s❫◗❶✮t➭➑②➔✯❫✰❶❥❫s♥➄③➀❦♠❫ A(Oε,h)
❦♠❨❬❫✺⑨➀r✉❫❪⑨✺③➀➑ Oε,h

↔■t➭❦❝t➡✐✤❫◗⑨❑✐♠❤✼❦✉③
⑩❬r✉③✩➣❑❫✡❦✉❨➄⑨✩❦✕❦✉❨❬❫sr✉❫❛❫s➐❥t✇✐❧❦✉✐✯⑨✝♥➄③❑♥✲➽❪❫sr✉③✝t✇♥❚❦♠❫s➅❊❫sr

ν ∈ N
✐♠♦➄❸⑥❨✲❦♠❨➄⑨➀❦✕❸❪⑨➀r⑥❶

(Iε,h
0 ) 6 ν

❸s⑨❑r✉❶
(T ε,h

0 )
➾
ν =

♥❄♦❬❭✝↕■❫sr
③➀➑P❶❥❫❪➅❑r✉❫s❫❪✐✯③❑➑❆➑➛r✉❫s❫❪❶❬③❑❭✧⑩■❫sr✤❫❪➓➝❫❪❭q❫s♥❚❦⑥➪✓➟②❵❝✐♠t➝♥❬➅✘⑨❊✐♠✐♠♦❬❭q⑩❥❦♠t✇③❑♥➒✐

H1
⑨➀♥➄❶

H2
↔❬➔✯❫❷➅❑❫s❦

❸s⑨➀r⑥❶
(T ε,h

0 )πρ(h)2 6 A(Oε,h) 6 π(ε+ h)2 ⇒ ❸s⑨➀r⑥❶
(Iε,h

0 )
h2σ2

−
ν

6 (1 + κ)2h2

⇒ ❸s⑨➀r⑥❶
(Iε,h

0 ) 6
ν

σ2
−

(1 + κ)2.

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é í ü

Γ
ε

▲✑èqéqé
gε,h

➠✢t✇➅❑♦❬r✉❫qü❪❿❤❊P❢❥♦❬⑩❬⑩■③❑r♠❦✤③➀➑❆❦✉❨❬❫❷➑➛♦❬♥➄❸✓❦♠t✇③❑♥
g

❴✤③❑❦♠❫✼⑨❑➓✇✐♠③✣❦♠❨➄⑨➀❦✪➑➛③❑r✝⑨❑♥❚❤
i ∈ I \ Iε,h

0 , suppϕh
i ∩ supp g = ∅ ➟✲➵➥❫✼❸⑥❨❬③❄③❊✐♠❫✘❸✓③❄❫✓Ö✼❸✓t✇❫s♥❚❦⑥✐ gi

➑➛③❊r✪❦♠❨➄❫
r✉❫s➓➡⑨✩❦♠t✇③❑♥➒✐

j = 1 · · · I,
∫
ΩR

gϕj =
∫ 2π

0
ϕj(ε, θ)dθ

❦✉③➳↕➒❫◆✐✉⑨✩❦✉t✇✐❧➦➄❫◗❶➧➟ ❢❥⑨✩❦✉t✇✐❧➑➛❤❄t➝♥➄➅➻❦✉❨❬❫❪✐♠❫◆❸✓③❊♥➄❶❥t➝❦♠t✇③❑♥➄✐qt➡✐
❫❪✈❚♦❬t✇➣✩⑨➀➓✇❫s♥❚❦✕❦♠③✼✐♠③❑➓✇➣❄t➝♥❬➅q⑨✺➓➝t✇♥❬❫◗⑨➀r✤✐♠❤❄✐❧❦♠❫❪❭✧➔✡t➝❦♠❨✣❦♠❨❬❫

gi
Ï ✐✡⑨❑✐✕♦❬♥❬➢❄♥❬③✩➔✡♥➒✐s↔

M
ε,h
0




g1➟➟➟

gIε,h
0


 =




∫ 2π

0 ϕ1(ε, θ)dθ➟➟➟
∫ 2π

0
ϕIε,h

0
(ε, θ)dθ




➔✡❨❬❫sr✉❫
(Mε,h

0 )i,j =

∫

Oε,h

ϕiϕj i, j = 1 . . . Iε,h
0

✬ r✉➅❑♦➄❭✺❫❪♥❚❦✉✐✪↕➄⑨❊✐❧❫◗❶➤③❑♥➳❫❪➓➝❫❪❭✺❫❪♥❚❦✉⑨➀r✉❤➞➅❊❫s③❊❭✺❫s❦♠r✉❤➻✐♠❨❬③✩➔ ❦♠❨➄⑨➀❦ | ∫ 2π

0 ϕIε,h
0

(ε, θ)dθ| 6 2πσ̃+
➟✮❜◆③❑r✉❫s③✩➣❑❫❪r❷♦➄✐⑤❰

t✇♥❬➅➫❦✉❨❬❫➻⑩➄r♠❫❪➣❚t✇③❑♦➒✐✲➓✇t➝♥➄❫❪⑨➀r✣✐❧❤❥✐❧❦♠❫❪❭✟❶❬❫✓➦➄♥❬t✇♥❬➅
g
↔❝t➭❦✮t✇✐✣⑩■③❊✐✉✐❧t✇↕❬➓✇❫◆❦✉③➩⑩❬r✉③✩➣❄t✇❶❥❫➥⑨➫↕■③❑♦❬♥➒❶➱➑➛③❑r✣t➝❦✉✐

L2 ♥❬③❑r✉❭✮➟
➎➏♥➄❶❥❫❪❫❪❶➧↔ ‖g‖2

L2(ΩR) =
∑

i∈Iε,h
0

∫ 2π

0
ϕIε,h

0
(ε, θ)dθ gi

➟❹❜❂③❊r♠❫❪③✩➣❑❫sr◗↔✯♦➄✐❧t✇♥❬➅➩⑨❑♥➱❨❬③❑❭q③❑❦♠❨❬❫s❦⑤❤Õ➔✡t➝❦♠❨ør⑥⑨✩❦✉t➝③
h⑨➀♥➒❶ ❸✓❫❪♥❚❦♠❫sr

0
t➝♥ ③❑r⑥❶❥❫sr☎❦♠③✱♥❬③❊r♠❭✘⑨➀➓✇t✇➽s❫◆❦✉❨❬❫➤✐❧♦❬⑩➄⑩➒③❊r❧❦✮③➀➑

g
↔❛t➝❦✮t✇✐✣⑩■③❊✐✉✐❧t✇↕❬➓✇❫➞❦✉③Õ⑩❬r✉③✩➣❑❫➞❦♠❨❬❫➥❫✓➐❥t➡✐⑤❦✉❫s♥➄❸s❫➻③❑➑

✐♠③❑❭q❫➻❸s③❑♥➄✐❧❦✉⑨❑♥❊❦
κ > 0

✐♠♦➄❸⑥❨➱❦♠❨➒⑨✩❦ ‖g‖L2(ΩR) > κh (
∑

i |gi|2)1/2 ➟ ➵➻❫➻❦♠❨➄❫s♥ø③❊↕❥❦✉⑨❑t➝♥ ‖g‖2
L2(ΩR) 6

2πσ̃+(Iε,h
0 )1/2 (

∑
i |gi|2)1/2 6 κ 2πσ̃+(Iε,h

0 )1/2 ‖g‖L2(ΩR)/h
➟❷➠✢t✇♥➄⑨➀➓✇➓✇❤❑↔■❦♠❨❬t➡✐➂➓➝❫◗⑨❑❶❬✐❝❦♠③☎❦♠❨➄❫☞❫s➐❄t➡✐❧❦♠❫s♥➒❸✓❫✝③❑➑

⑨q❸✓③❊♥➄✐⑤❦⑥⑨➀♥❚❦
κ > 0

t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫s♥❚❦✤③❑➑
h
✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

‖g‖L2(ΩR) 6 κ/h.

✃✲➹ ❮➫➋❬➊✑✏P➍ ❴❝③➀❦♠❫➻❦♠❨➒⑨✩❦❂r♠t✇➅❑③❊r♠③❊♦➄✐♠➓➝❤
g
❶❬③❚❫◗✐✮❶❥❫s⑩■❫s♥➄❶ ③❑♥

ε
⑨❑♥➄❶

h
➟✧➨✤③✩➔✯❫s➣❊❫sr◗↔❝⑨❑❸❪❸✓③❊r✉❶❥t✇♥❬➅➳❦✉③Õt✇♥❚❦♠♦❬t➝❦♠t✇➣❑❫

⑨➀r✉➅❑♦➄❭✺❫❪♥❚❦✉✐❪↔❊t➝❦✉✐✕❶❥❫❪⑩➒❫❪♥➄❶❬⑨➀♥➒❸✓❤✘➔✡t➝❦♠❨✣r♠❫◗✐❧⑩■❫❪❸✓❦→❦♠③
ε
t➡✐✴➣❊❫sr✉❤q➔✴❫◗⑨➀➢❲➟✢➠➄③❑r✡✐♠t➝❭q⑩❬➓✇t✇❸st➭❦⑤❤✼✐✉⑨➀➢❊❫❑↔❚➔✴❫➂③❑❭qt➝❦✴❦✉③☞➔✡r✉t➝❦♠❫

g➔✡t➝❦♠❨
ε, h

⑨❑✐✕t✇♥➄❶❥❫s➐➧➟

✙❘❷➝ó➑❷➡ô ✃☎➹ ☞➒❒✢Ù➲➋❥➊✩ò➆☎ ➹ ➮ ➔❝➬ ➉ ➹ ñ ➉❪ò❯➋❬Ù
×✴③❑♥➒✐❧t➡❶❥❫sr

G(x − y) = 1
2π ln |x − y| ➟→❴✤③❑❦♠❫❷❦✉❨➄⑨✩❦

ψε = (G ∗ δΓε − 1

2π
< δΓε ;G ∗ δΓε >

)
χ0.

➵➥❫✪t➝♥❚❦♠r✉③❥❶❥♦➄❸s❫❷⑨☞➑➛♦❬♥➒❸➜❦♠t✇③❑♥❂✐♠t➝❭qt✇➓✇⑨❑r✕❦♠③
ψε ↔

ψh =
(
G ∗ g − 1

2π

∫

ΩR

g G ∗ g
)
χ0.

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁
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❴✤③❑❦♠❫❷❦✉❨➄⑨✩❦
G ∗ g t✇✐✤✐♠③❑➓✇♦❥❦✉t➝③❊♥✲❦✉③☞❦✉❨❬❫✪⑩❬r✉③❑↕❬➓✇❫s❭

G ∗ g ∈ H1(ΩR)
⑨➀♥➒❶ ∫

ΩR

∇(G ∗ g) · ∇v = −
∫

ΩR

gv , ∀v ∈ H1
0 (ΩR).

➎➏♥✮⑩➄⑨➀r♠❦♠t➡❸✓♦➄➓✇⑨❑r❪↔❥⑨❑❸❪❸✓③❊r✉❶❥t✇♥❬➅☞❦♠③✺❦♠❨➄❫✰❸✓③❑♥➒✐⑤❦✉r♠♦➄❸✓❦♠t✇③❑♥✣③➀➑
g
↔

∫

ΩR

∇(G ∗ g) · ∇vh = −
∫

ΩR

gvh = −
∫ 2π

0

vh(ε, θ)dθ , ∀v ∈ V h

Ñ✵❫s❦✤♦➄✐✡❸✓③❊❭q⑩➄⑨➀r✉❫
ψε ⑨➀♥➄❶ ψh ➟→❢❚❦♠r⑥⑨➀t✇➅❑❨❚❦♠➑➛③❑r✉➔✯⑨❑r✉❶✼❸❪⑨➀➓➡❸✓♦❬➓✇♦➄✐✕⑩❬r✉③✩➣❄t✇❶❬❫❪✐

a(ψε, vh) =
∫
ΩR

∇ψε · ∇vh − k2ψεvh

= −
∫ 2π

0
vh(ε, θ)dθ −

∫
ΩR\Ωi

ε
∆ψεvh − k2

∫
ΩR

ψεvh

= −
∫ 2π

0
vh(ε, θ)dθ − 2

∫
ΩR

∇(ln |x|) · ∇χ0 vh −
∫
ΩR\Ωi

ε
ln |x|

ε (∆χ0 + k2χ0)vh

a(ψh, vh) =
∫
ΩR

∇ψh · ∇vh − k2ψhvh

= −
∫
ΩR\Ωi

ε
∆ψhvh − k2

∫
ΩR

ψhvh

= −
∫
ΩR

gvh − 2
∫
ΩR

∇(G ∗ g) · ∇χ0 vh

−
∫
ΩR

(G ∗ g − 1
2π

∫
ΩR

gG ∗ g)(∆χ0 + k2χ0)vh.

❳✢⑨➀➢❄t➝♥➄➅☞❦✉❨❬❫✰❶❥t➝➯■❫❪r♠❫❪♥➄❸✓❫❷③❑➑✌❦✉❨❬❫❪✐♠❫➂❦⑤➔✴③q❫❪✈❚♦➄⑨❑➓➝t➝❦♠t✇❫❪✐❪↔❥➔✯❫❷⑨❑r♠❫❷➓✇❫❪❶☎❦♠③

a(ψε − ψh, vh) = −2
∫
ΩR

∇(ln |x| −G ∗ g) · ∇χ0 vh

−(ln 1
ε + 1

2π

∫
ΩR

gG ∗ g)
∫
ΩR

(∆χ0 + k2χ0)vh

−
∫
ΩR

(ln |x| −G ∗ g)(∆χ0 + k2χ0)vh.

➺❛❫✓➦➄♥❬❫✰⑨❑➓✇✐♠③
u1, u2 ∈ H1(ΩR)

⑨➀♥➒❶
t(h) ∈ C

↕❄❤

a(u1, v) = −
∫

ΩR

(ln |x| −G ∗ g)(∆χ0 + k2χ0)v , ∀v ∈ H1(ΩR)

a(u2, v) = −
∫

ΩR

2∇(ln |x| −G ∗ g) · ∇χ0 v , ∀v ∈ H1(ΩR)

t(h) = − lnh+
1

2π

∫

ΩR

g G ∗ g =
1

4π2

∫

ΩR

∫

ΩR

g(x)g(y) ln
|x − y|
h

dx dy.

❴✤③❑❦♠❫❝❦♠❨➄⑨➀❦ ‖ui‖H2(ΩR) → 0, i = 1, 2
➔✡❨❬❫❪♥

h
➅❑③❄❫❪✐→❦♠③

0
➾➲✐♠t➝♥➒❸✓❫ ‖ ln |x| −G ∗ g‖L2(ΩR) → 0

➪✓➟✶❜◆③❑r✉❫s③✩➣❑❫❪r
❦♠❨➄❫✕➑➛♦❬♥➄❸➜❦✉t➝③❊♥

t(h)
t➡✐✶↕➒③❊♦❬♥➄❶❥❫◗❶✺➔✡❨❬❫s♥

h
➅❑③❄❫❪✐✢❦✉③

0
⑨❊✐✶➔✴❫✡❸s⑨❑♥✺✐♠❫s❫✯♦➄✐♠t➝♥➄➅❛❦✉❨❬❫✡❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫✯③❊♥✝❦✉❨❬❫

L2 ♥➄③❑r✉❭ ③➀➑
g❦♠❨➒⑨✩❦✌➔✯❫→⑩➄r♠③✩➣❄t➡❶❥❫❪❶❷↕■❫✓➑➛③❊r♠❫❊➟ ✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅✕❦♠③❷❢❄③❑↕■③❑➓✇❫s➣❷t✇♥✩④⑤❫❪❸✓❦♠t✇③❑♥✪❦✉❨❬❫s③❊r♠❫❪❭q✐❪↔❼➔✴❫✴❸✓③❑♥➒❸✓➓✇♦➄❶❥❫②❦✉❨➄⑨✩❦ ‖ui‖L∞(ΩR) →

0
➟②❢❄t✇♥➄❸s❫❷❦♠❨❬❫✪➣✩⑨➀r✉t➡⑨✩❦♠t✇③❑♥➒⑨➀➓❲⑩❬r✉③❑↕❬➓✇❫s❭✫⑨❊✐♠✐♠③❥❸✓t➡⑨✩❦✉❫❪❶✼➔✡t➝❦♠❨

a
t➡✐✕➔✯❫s➓✇➓✵⑩➒③❚✐❧❫◗❶➧↔❥➔✯❫➂③❊↕❥❦✉⑨❑t➝♥

ψε = ψh +
(

ln
h

ε
+ t(h)

)
χ0 + u1 + u2.

✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅✝❦✉③q❦♠❨❬❫✪➓✇t✇♥❬❫❪⑨❑r♠t➝❦⑤❤✘③➀➑ Ph
↔❥❦♠❨➄❫sr✉❫✰⑨➀➓➡✐❧③✺❨❬③❑➓➡❶❬✐

Ph(ψε) = Ph(ψh) +
(

ln
h

ε
+ t(h)

)
Ph(χ0) + Ph(u1) + Ph(u2).

➾➆✡❬➟ ❾❊➪

❖◗P✌✭❘❖❚❙
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⑦❛♥✣❦♠❨❬❫✪↕➒⑨❑✐♠t✇✐✡③❑➑✶➺❛❫❪❸s③❑❭q⑩■③❊✐♠t➭❦✉t➝③❊♥➤➾➵✡❥➟ÿ❾➀➪➜↔➒➔✴❫✰⑨❑r♠❫❷♥❬③✩➔ ⑨➀↕❬➓✇❫❷❦♠③✘⑩➄r♠③✩➣❊❫❷Ñ❆❫s❭q❭✘⑨➤✡❥➟✇ü➂❦♠❨➄⑨➀❦❝➔✡t➝➓✇➓✵↕■❫✰♦➄✐♠❫✓➑➛♦❬➓
t✇♥❂❢❥❫❪❸➜❦✉t➝③❊♥➸✡❬➟

➁→➹ ❮➫❮➩➋ ✙❏❷❯ï ❸✞❹ Þ✓å✉Þ☞Þ➇❺❊ç➡é⑥à❯é✝ã✲ì⑥ê✩ß➄é➜à❍ã➀ß➄à
κ > 0

ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✤ê✷❽
h
ã➀ß■á

ε,
é➜Û➄ì ❹ à ❹ ã✩à

‖δh(ψε)‖H1(ΩR) 6 κ (1 + hq ln
h

ε
).

➔ ➊ ➬✵➬✞✝ ➍
❉✯❤➤➓➝t✇♥❬❫❪⑨❑r♠t➝❦⑤❤➤③➀➑

δh
↔
δh(ψε) = δh(ψh) +

(
ln h

ε + t(h)
)
δh(χ0) + δh(u1) + δh(u2)

➟➳➵➥❫✣❨➒⑨❼➣❑❫✘❦✉③
⑩❬r✉③✩➣❄t✇❶❥❫✺⑨✲↕■③❑♦➄♥➄❶◆t✇♥

H1 ♥❬③❊r♠❭✂➑➛③❊r❛❫◗⑨❑❸⑥❨◆❦✉❫sr✉❭ ③➀➑②❦✉❨❬❫✺⑩❬r♠❫❪➣❄t➝③❊♦➄✐❝❫s➐❥⑩❬r♠❫◗✐♠✐♠t✇③❑♥➞❵❛✐❧t✇♥❬➅☎✐❧❦✉⑨❑♥➄❶❬⑨❑r✉❶❂❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫❪✐
➑➛③❑r✕➦➒♥❬t➭❦✉❫✪❫s➓✇❫s❭q❫s♥❚❦⑥✐✤⑨➀♥➄❶☎❫s➓✇➓✇t➝⑩❥❦✉t✇❸❷r✉❫s➅❊♦❬➓➡⑨➀r✉t➭❦⑤❤❊↔❚➔✯❫❷③❑↕❥❦⑥⑨➀t✇♥

‖δh(u1)‖H1(ΩR) 6 κh ‖u1‖H2(ΩR) 6 κh ‖(ln |x| −G ∗ g)(∆χ0 + k2χ0)‖L2(ΩR) 6 κ

‖δh(u2)‖H1(ΩR) 6 κh ‖u2‖H2(ΩR) 6 κh ‖2∇(ln |x| −G ∗ g) · ∇χ0‖L2(ΩR) 6 κ.

❜❂③❊r♠❫❪③✩➣❑❫sr❷⑨❑✐✪❦♠❨❬❫✲❸s♦❥❦❧❰❍③➀➯➩➑➛♦❬♥➄❸➜❦✉t➝③❊♥➤t✇✐✝➣❑❫sr✉❤➞✐♠❭q③❚③❑❦♠❨✵↔❆❦♠❨❬❫☎❸✓③❑r✉r✉❫❪✐♠⑩➒③❊♥➄❶❥t✇♥❬➅☎❫◗✐⑤❦✉t➝❭✘⑨➀❦♠❫✼❶❥③❄❫❪✐✰♥❬③➀❦✰r⑥⑨➀t➡✐❧❫✘⑨❑♥❚❤
⑩❬r✉③❑↕❬➓✇❫s❭✮↔

‖δh(χ0)‖H1(ΩR) 6 κ ‖χ0‖Hq+1(ΩR) h
q.

➠✢t➝♥➒⑨➀➓✇➓➝❤❊↔➄❸✓③❊♥➄❸✓❫❪r♠♥❬t✇♥❬➅☞❦♠❨❬❫✪r✉❫s➅❊♦❬➓➡⑨➀r✉t➝➽❪❫❪❶✘⑩■③➀❦✉❫s♥❚❦♠t➡⑨➀➓❈↔❬➔✯❫❷❸❪⑨➀♥✣➔✡r♠t➝❦♠❫

‖δh(ψh)‖H1(ΩR) 6 κh ‖ψh‖H2(ΩR) 6 κh ‖G ∗ g‖H2(ΩR) 6 κh ‖g‖L2(ΩR) 6 κ

❴✤③❑❦♠❫✪❨❬③✩➔✯❫s➣❊❫sr✴❦♠❨➄⑨➀❦
h ‖g‖L2(ΩR)

❶❬③❚❫◗✐✕♥❬③➀❦✡➅❊③q⑨✺⑩❬r✉t✇③❑r✉t❲❦♠③✘❿❬➟❯✕❷⑨✩❦✉❨❬❫sr✉t✇♥❬➅✘⑨➀➓✇➓❲❦♠❨❬❫✪t✇♥❬❫❪✈❚♦➄⑨❑➓➝t➝❦♠t✇❫❪✐✡⑨❑↕➒③✩➣❊❫❑↔❄➔✯❫
③❑↕❬❦✉⑨➀t✇♥☎❦♠❨❬❫✰❶❥❫◗✐❧t✇r✉❫❪❶☎r♠❫◗✐❧♦❬➓➝❦❪➟

ê ë ✜☎✞íì✭★✰✒✓✒✓✑✰✠✣✍✻✆✟★✘✍✣✞✡✒

î❜❛✷❝ ❞❢❡❤❣✮t⑩❣✮♥➢①✈♦✌①✴❥◆②➢♥➾②❑④Ü①✴➥♣❣➦ïð②❑✐❧✐◆♦⑥♥✇➎òñó②⑨➎✇❣✮✐
❴✤③✩➔ ➔✯❫✝➔✡t✇➓✇➓✶❸s③❑❭q❫✰❦✉③✣⑨✲❭q③❄❶❬❫s➓✢③➀➑➚❦♠❫❪♥➞♦➄✐♠❫❪❶➞t➝♥➞⑩❬r✉⑨❊❸➜❦✉t✇❸s❫✥❊✤➨✤③❊➓➝➓➡⑨➀♥➒❶❂❦⑤❤❄⑩➒❫✺✐♠❸⑥❨➄❫s❭q❫❪✐❪↔q❋ ✔✲❍❈➟✪Ñ✵❫s❦❛♦➄✐❷❶❥❫s➦➄♥❬❫✺⑨
↕❬t✇➓➝t✇♥❬❫◗⑨➀r✕➑➛③❑r✉❭

c : Qap ×Qap → C
↕❚❤

c(p, q) = p̆ q̆ .
❳✕❨❬t➡✐❝t✇♥❚❦♠r✉③❥❶❥♦➄❸✓❫◗✐❝⑨✼❸s③❑♦❬⑩➄➓➝t✇♥❬➅✼↕■❫✓❦⑤➔✯❫s❫❪♥➞Ñ❆⑨❑➅❑r⑥⑨➀♥❬➅❊❫➂❭☞♦❬➓➝❦♠t✇⑩❬➓➝t✇❫sr⑥✐❪➟➂⑦❛♥✮❦♠❨❬❫☞↕➄⑨❑✐♠t➡✐✤③➀➑P❦✉❨❬❫✝t➡❶❥❫◗⑨❑✐✤⑩➄r♠❫◗✐❧❫❪♥❊❦✉❫❪❶✮t✇♥
❋ ➃✲❍❍↔❥➔✴❫✪➔✡t✇➓➝➓✵❸❪⑨➀➓✇➓✵✐♠❸❪⑨➀➓➡⑨➀r✡➨✤③❊➓➝➓➡⑨➀♥➒❶✣✐✉❸⑥❨❬❫❪❭✺❫✪⑨q❶❥t➡✐♠❸sr♠❫s❦♠❫➂➑➛③❑r✉❭✝♦➄➓✇⑨➀❦♠t✇③❑♥✲③❑➑✌❦✉❨❬❫❷➑➛③❑r✉❭






➠✢t➝♥➄❶
(uε,h

h
, pε,h

h
) ∈ V h ×Qh

ap

✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦

a(uε,h
h
, v) + bε(v, pε,h

h
) = 〈f, v〉V h,V h′ ∀v ∈ V h

bε(uε,h
h
, q) − Lε,h

h
c(pε,h

h
, q) = 0 ∀q ∈ Qh

ap.

➾✆✤➄➟➝ü❼➪

➨✤❫❪r♠❫✯❦✉❨❬❫✤❸✓③❊♥➄✐⑤❦⑥⑨➀♥❚❦
Lε,h

h

↔❊✐♠③❑❭q❫s❦♠t✇❭✺❫◗✐P❸s⑨❑➓➝➓✇❫❪❶✺➓✇t➝♥❬❫❪t✇❸✕t✇♥➄❶❥♦➒❸➜❦✉⑨❑♥➄❸✓❫❊↔➀t➡✐P♥❬③➀❦→⑨➂⑩❬r✉t✇③❑r✉t❥➢❚♥➄③✩➔✡♥✵➟✌➎➏♥q⑩❬r⑥⑨❑❸✓❦♠t➡❸✓❫✕t➝❦
t➡✐P❸⑥❨❬③❊✐♠❫s♥✺③❑♥☞❦♠❨❬❫✡↕➒⑨❑✐♠t✇✐✶③❑➑➒❫s❭q⑩❬t✇r✉t✇❸❪⑨➀➓❬❸✓③❊♥➄✐♠t✇❶❥❫❪r✉⑨➀❦♠t✇③❑♥➄✐❪➟✌❳✕❨➄t✇✐✢❦⑤❤❄⑩■❫✡③➀➑■✐✉❸⑥❨❬❫❪❭✺❫✕➔✕⑨❑✐✶⑩❬r✉③❑⑩■③❊✐♠❫❪❶✝↕❄❤☞➨✤③❊➓➝➓➡⑨➀♥➒❶✝t✇♥
③❑r⑥❶❥❫❪rP❦♠③✝✐♠③❑➓✇➣❑❫✤❜➞⑨✩➐❥➔✴❫❪➓➝➓➒❫❪✈❚♦➄⑨➀❦♠t✇③❑♥➄✐Pt✇♥q❦♠❨➄❫❝❫✓➐❄❦✉❫sr✉t➝③❊r②③➀➑➧⑩■❫sr♠➑➛❫❪❸➜❦✉➓➝❤✘❸s③❑♥➄❶❥♦➒❸➜❦♠t✇♥❬➅✪❦✉❨❬t✇♥✼➔✡t➝r✉❫❪✐②t➝♥✜❋ ✔☛❍❍➟P➨✤③✩➔✯❫s➣❑❫❪r
❦♠❨➄t✇✐✺⑨➀r♠❦♠t➡❸✓➓✇❫✼⑩❬r✉③❑⑩■③❊✐♠❫❪✐✰⑨◆❭✺③❥❶❥t➝➦➒❸❪⑨✩❦♠t✇③❑♥➩③➀➑✤⑨✮➦➄♥❬t➝❦♠❫✮❶❥t➝➯■❫❪r♠❫❪♥➄❸✓❫☎✐♠❸⑥❨❬❫❪❭q❫✼t➝♥Õ⑨➥×✯⑨➀r♠❦♠❫◗✐❧t➡⑨➀♥➤➅❊r♠t➡❶➤➔✡t➭❦✉❨➫➔✡t✇r♠❫◗✐
⑨➀➓✇t✇➅❑♥❬❫◗❶➻➔✡t➝❦♠❨➤❦✉❨❬❫✼⑨✩➐❥t➡✐✪③➀➑✯❦♠❨➄❫✼➅❑r✉t✇❶✵➟✣×✴③❑➓✇➓➝t✇♥❬③◆⑨❑♥➄❶➤❜❂t➝➓✇➓✇③➀❦✝t✇♥✎❋ ➃✥❍✴⑩❬r✉③❑⑩■③❊✐♠❫❪❶➥⑨❂❸✓③❊♥❊❦✉t➝♥❄♦❬③❊♦➄✐✪✐♠❫✓❦❧❦✉t➝♥➄➅➄↔✌❦♠❨➄⑨➀❦
❫s♥➒⑨➀↕❬➓✇❫❪✐✝❦♠③➻r♠❫◗❸✓③✩➣❑❫❪r✪❦♠❨➄❫✣➨❝③❑➓✇➓✇⑨❑♥➄❶➫✐✉❸⑥❨❬❫s❭q❫✲t✇♥➫❦✉❨❬❫✮❸s⑨❑✐♠❫✲③❑➑❝⑨❂➦➄♥➄t➭❦✉❫✣❶❥t➝➯❲❫sr✉❫s♥➄❸s❫✣❶❥t➡✐✉❸✓r✉❫✓❦♠t✇➽❪⑨➀❦♠t✇③❑♥✵↔✶↕❬♦❬❦q⑨❑➓✇✐♠③

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



í ➃ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

➓✇❫❪⑨❑❶➄✐❝❦✉③✣⑨☎➅❑❫❪♥❬❫sr⑥⑨➀➓✇t✇➽❪⑨✩❦✉t➝③❊♥✮➑➛③❑r➂➦➄♥❬t➝❦♠❫q❫❪➓➝❫❪❭✺❫❪♥❚❦✉✐❪➟✝❳✕❨❬❫s❤◆⑨❑➓✇✐♠③✲③❊↕❥❦✉⑨❑t➝♥➥⑨☎✐♠t✇❭✺⑩➄➓➝❫✺❦♠❨➄❫s③❑r✉❫✓❦✉t✇❸❪⑨➀➓✢❫✓➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥➞③➀➑
❦♠❨➄❫❛➓✇t➝♥➄❫st➡❸❛t✇♥➄❶❥♦➒❸➜❦✉⑨❑♥➄❸✓❫➂t✇♥✼❦♠❨➄❫➂❸❪⑨❑✐♠❫❝③➀➑✢⑨✝➔✡t✇r♠❫➂⑨➀➓✇t➝➅❊♥❬❫❪❶✲➔✡t➭❦✉❨✼❦✉❨❬❫✪⑨✩➐❥t✇✐✴③➀➑✢⑨✺×✯⑨➀r♠❦♠❫◗✐❧t➡⑨➀♥✲➅❑r✉t✇❶➧➟✢➎➏♥☎❦♠❨❬❫❷❸s⑨❊✐❧❫❛③➀➑
⑨➀♥✮⑨➀r✉↕❬t➝❦♠r⑥⑨➀r✉❤✘❭q❫❪✐♠❨✵↔➄⑨➀♥➒❶✼➑➛③❊r❝⑨✺➔✡t➝r✉❫✪⑨➀r✉↕❬t➭❦✉r✉⑨❑r♠t✇➓✇❤✘③❑r✉t➝❫❪♥❊❦✉❫❪❶➧↔❄❦✉❨❬❫✪❫✓➐❥⑩❬r✉❫❪✐✉✐♠t➝③❊♥✲③➀➑✢❦♠❨➄❫✪➓➝t✇♥❬❫st➡❸❷t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫✪❨➄⑨❊✐
r✉❫s❭✘⑨➀t✇♥❬❫❪❶✮⑨❑♥✣③❊⑩➒❫❪♥◆✈❚♦❬❫❪✐❧❦♠t✇③❑♥✣❦♠❨➄③❑♦❬➅❊❨✮✐♠③❑❭q❫✪❫❪❭✺⑩➄t➝r✉t✇❸❪⑨➀➓➧➑➛③❊r♠❭☞♦❬➓➡⑨❑✐✕❨➄⑨❼➣❊❫➂↕■❫s❫❪♥❂⑩❬r✉③❑⑩■③❊✐♠❫❪❶➧➟ ✘ ➐❥⑩➒❫❪r♠t✇❫s♥➄❸s❫✰❨➄⑨❊✐
✐♠❨❬③✩➔✡♥✲❦✉❨➄⑨✩❦✡❦✉❨❬❫✰➨✤③❊➓➝➓➡⑨➀♥➒❶☎✐✉❸⑥❨❬❫s❭q❫❷⑩■③❊✐✉✐❧❫◗✐♠✐♠❫❪✐✕✐♠❫s➣❑❫❪r✉⑨❑➓❲t➝♥❚❦♠❫❪r♠❫◗✐⑤❦✉t➝♥➄➅✺❸⑥❨➄⑨❑r✉⑨❊❸➜❦✉❫sr✉t✇✐❧❦♠t➡❸s✐✠❊

• ❳✕❨❬❫❂❶❥t➭➯❲❫sr✉❫s♥➒❸✓❫❪✐q↕■❫✓❦⑤➔✯❫s❫❪♥➱➨✤③❑➓✇➓➡⑨➀♥➄❶✱✐♠❸⑥❨➄❫s❭q❫❂⑨➀♥➄❶✱⑨➤❸✓➓➡⑨❑✐✉✐❧t➡❸s⑨❑➓✕✐✉❸⑥❨❬❫❪❭✺❫❂⑨❑r♠❫✣➓➝③❥❸❪⑨➀➓✇t➝➽❪❫❪❶✱⑨➀r✉③❑♦❬♥➄❶➩❦♠❨➄❫
➔✡t➝r✉❫❪✐❪➟

• ➎❍❦✕t➡✐✡♥❬③❑❦✤❶❥t➭Ö✼❸s♦❬➓➭❦❝❦♠③qt➝❭q⑩❬➓✇❫s❭q❫❪♥❊❦✤t➝❦❪➟

• ➎❍➑➒❦✉❨❬❫✡➓➝t✇♥❬❫❪t✇❸✯t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫✡t➡✐P➔✴❫❪➓➝➓❬❸⑥❨➄③❊✐♠❫s♥✵↔✩❦✉❨❬❫✤➨✤③❊➓➝➓➡⑨➀♥➒❶✝❭q③❥❶❥❫s➓➄⑩❬r♠③✩➣❄t➡❶❥❫❪✐✢⑩❬r✉❫❪❸st✇✐♠❫✕r♠❫◗✐❧♦➄➓➭❦⑥✐✢➑➛③❑r✶❦♠❨➄❫✕➦➄❫s➓➡❶
⑨❼➔✯⑨❼❤✺➑➛r✉③❑❭✾❦✉❨❬❫✪➔✡t➝r✉❫❪✐✡⑨❑♥➄❶✲➑➛③❑r✕❦♠❨➄❫✰❸✓♦❬r✉r♠❫❪♥❚❦➡➬➒③✩➔✡t➝♥❬➅✘⑨❊❸✓r✉③❊✐✉✐②❦✉❨❬❫✪➔✡t➝r✉❫❑➟

➨✤③✩➔✯❫s➣❊❫sr✴❦♠❨❬❫❪r♠❫✪⑨❑➓✇✐♠③✘⑨➀r✉t✇✐♠❫➂✐♠❫s➣❊❫sr⑥⑨➀➓➧❶❥r⑥⑨❼➔✡↕➄⑨❑❸⑥➢❥✐✠❊

• ❴✤③q⑨☞⑩➄r♠t✇③❑r✉t■➑➛③❑r✉❭✝♦❬➓➡⑨✝t➡✐✕⑨❼➣✩⑨➀t✇➓✇⑨❑↕❬➓➝❫❛➑➛③❑r✕❦✉❨❬❫❷➓➝t✇♥❬❫❪t✇❸➂t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫❑↔❥③❊♥❬❫❷❨➄⑨❑✐✴❦✉③q❸⑥❨➄③❚③❚✐❧❫➂t➝❦✕t✇♥✮⑨❑❸s❸s③❑r⑥❶❬⑨➀♥➒❸✓❫
➔✡t➭❦✉❨✣❭✘⑨❑♥❚❤✲❫✓➐❥⑩➒❫❪r♠t✇❭q❫s♥❚❦✉✐❪➟

• ❳❆③☞❦♠❨❬❫✪↕■❫❪✐❧❦✤③➀➑✢③❑♦❬r✕➢❄♥❬③✩➔✡➓✇❫❪❶❥➅❊❫❑↔❚❦♠❨➄❫sr✉❫➂❫s➐❥t✇✐❧❦✉✐✕♥❬③✺❦✉❨❬❫s③❊r♠❫s❦♠t➡❸s⑨➀➓❚④⑤♦➄✐❧❦♠t➝➦➒❸❪⑨✩❦♠t✇③❑♥✣③➀➑✌❦♠❨❬❫✰➨❝③❑➓✇➓✇⑨❑♥➄❶☎❭✺③❥❶❥❫❪➓➆❊
t➝♥✣⑩➄⑨➀r♠❦♠t➡❸✓♦➄➓✇⑨❑r✕❦♠❨❬❫❪r♠❫❷❫✓➐❥t➡✐⑤❦⑥✐✕♥❬③✘❸✓③❊♥➄✐❧t➡✐❧❦♠❫s♥➒❸✓❤✼r✉❫❪✐♠♦❬➓➝❦❪➟

✬ ♥➞t➝♥❚❦♠❫❪r♠❫◗✐⑤❦✉t➝♥➄➅✼r♠❫◗✐❧♦➄➓➭❦❛❦♠❨❬③❊♦❬➅❑❨❂❨➄⑨❊✐❝↕■❫s❫❪♥◆⑩❬r✉③❑⑩■③❊✐♠❫❪❶✣t✇♥ô❋ ➃✥❍✶❸s③❑♥➄❸s❫sr✉♥❬t✇♥❬➅q❦♠❨❬❫✺➓✇t➝♥❬❫❪t✇❸✝t➝♥➒❶❥♦➄❸➜❦⑥⑨➀♥➄❸s❫❑➟❛❢❥♦❬⑩❬⑩■③❊✐♠❫
❦♠❨➄❫✘❭✺❫◗✐❧❨➤t➡✐☞×✯⑨➀r♠❦♠❫◗✐❧t➡⑨➀♥➥t✇♥➤⑨✣♥❬❫❪t➝➅❊❨❄↕➒③❊r♠❨❬③❄③❥❶➻③➀➑✯❦♠❨❬❫✼✐♠❭✘⑨➀➓✇➓②③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❑↔❆⑨❑♥➄❶➤✐❧♦➄⑩❬⑩➒③❚✐❧❫q❦✉❨❬t➡✐✪③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫✺❦♠③❂↕■❫
⑨✼❶❥t➡✐♠➢✣③❑➑Pr✉⑨❊❶❥t➝♦➒✐

ε
❸✓❫❪♥❊❦✉❫sr✉❫❪❶❂⑨❑r♠③❊♦❬♥➄❶✮⑨✘➣❑❫❪r❧❦✉❫✓➐✮③➀➑P❦✉❨❬❫✝❭q❫❪✐♠❨✵➟❝❳✕❨➄t✇✐❝t✇✐❝❦♠❨❬❫✺✐❧t➝❦♠♦➒⑨✩❦♠t✇③❑♥❂r✉❫s⑩➄r♠❫◗✐❧❫❪♥❊❦✉❫❪❶✮t✇♥❂❦♠❨➄❫

➦➄➅❊♦❬r♠❫❷↕■❫s➓✇③✩➔✪➟

h

2ε

➠✢t➝➅❊♦❬r✉❫✺ü❊ü✥❊→×✯⑨➀r♠❦♠❫◗✐❧t➡⑨➀♥☎❭q❫❪✐♠❨✮⑨❑r♠③❊♦❬♥➄❶✲❦♠❨❬❫✪✐♠❭✘⑨➀➓✇➓✵③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫

➎➏♥✣❦♠❨❬t➡✐✤✐♠t➭❦✉♦➄⑨✩❦✉t➝③❊♥✵↔➒×✴③❑➓✇➓✇t➝♥❬③✘⑨❑♥➄❶☎❜◆t➝➓✇➓➝③❑❦❝❶❥❫sr✉t✇➣❑❫❪❶✣⑨➀♥✮⑨➀⑩➄⑩❬r♠③❼➐❥t✇❭✘⑨✩❦♠❫➂❫✓➐❥⑩❬r✉❫❪✐✉✐♠t➝③❊♥✼➑➛③❑r✕❦✉❨❬❫✪➓✇t➝♥❬❫❪t✇❸➂t✇♥➄❶❥♦➄❸✓❦✉⑨❑♥➄❸✓❫❊↔

Lε,h
h

≃ ln(
h

ε
) + κh

➔✡❨❬❫❪r♠❫
κh

t✇✐→t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦→③➀➑
h
⑨❑♥➄❶

ε
➾❯⑨➀♥➄❶q⑨➀➓➡✐♠③✪t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦→③➀➑❲❦♠❨➄❫✤➔✯⑨❼➣❊❫✴♥❄♦❬❭☞↕➒❫❪r

k
➳ ➪✓➟✶➵➻❫✤⑩➄r♠③❊⑩➒③❚✐❧❫✯❦♠③

r✉❫❪❸✓③✩➣❊❫sr✕❦✉❨❬❫☞➨❝③❑➓✇➓✇⑨❑♥➄❶❂✐♠❸⑥❨➄❫s❭q❫❑↔❲⑨➀♥➄❶➞⑨➀➓➡✐❧③q❦✉③✰④⑤♦➄✐❧❦♠t➝➑➛❤✣❦♠❨❬t➡✐✤➑➛③❊r♠❭☞♦❬➓➡⑨q➑➛③❑r❝❦♠❨❬❫☞➓➝t✇♥❬❫st➡❸✪t✇♥➄❶❥♦➄❸✓❦✉⑨❑♥➄❸✓❫☞t➝♥❂❦✉❨❬❫☞❸❪⑨❑✐♠❫
③➀➑P⑨➀♥✮⑨➀r✉↕❬t➝❦♠r⑥⑨➀r✉❤✼❾❼❰➏➺➙❭✺❫◗✐❧❨❆➟

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é í ✡

î❜❛➆❵ õ✎❣✮✐◆♦✌①✴❥◆②➢♥s➐❫❣❏①✲Ô➉❣❘❣✮♥ö♦⑥✉♣➨➢❦➽❣➑♥❑①✓❣✮➎➩Ð✎♦⑥✐✷❣❘❡✴÷⑨❥✷♥öt✈⑧❤➥✇❣✮❦♠❣❨♦⑥♥✇➎➏ï➀②❑✐❧✐◆♦⑥♥✇➎öt✈⑧❤➥✇❣✮❦♠❣
➎➏♥❷❦♠❨➄t✇✐❆⑩➄⑨➀r⑥⑨➀➅❊r✉⑨❑⑩❬❨❛➔✯❫P❫❪✐❧❦✉⑨❑↕❬➓✇t✇✐♠❨✰⑨✕➓➝t✇♥❬➢➂↕➒❫s❦⑤➔✴❫❪❫s♥❷❦✉❨❬❫→➨✤③❊➓➝➓➡⑨➀♥➒❶✪✐♠❸⑥❨❬❫❪❭q❫✤➾✆✤❬➟✇ü❪➪❆⑨➀♥➄❶❛❦♠❨➄❫✴⑨➀♦➄➅❑❭q❫s♥❚❦♠❫◗❶❫✕❷⑨➀➓✇❫sr✉➢❚t✇♥
✐✉❸⑥❨❬❫s❭q❫❂➾➛➃➒➟➝ü❪➪✓➟✼❳✕❨❬t➡✐❷➔✡t➝➓✇➓②➓✇❫❪⑨❑❶➻♦➄✐➂❦✉③◆⑨✲❦✉❨❬❫s③❊r♠❫s❦♠t➡❸s⑨❑➓✶⑨❑♥➄⑨➀➓✇❤❥✐❧t➡✐➂③➀➑✯❦♠❨❬❫✘➨❝③❑➓✇➓✇⑨❑♥➄❶➞❭q③❥❶❥❫❪➓❯➟✼Ñ❆❫✓❦✪♦➄✐✪➅❊❫✓❦✪↕➄⑨❑❸⑥➢
❦♠③☎❶❥❫❪❸s③❑❭q⑩➒③❚✐❧t➝❦♠t✇③❑♥➳➾➵✡❥➟✇ü❪➪✕t✇♥◆⑨✘r♠❫❪➅❑♦❬➓➡⑨➀r✡⑩➒⑨➀r♠❦❝⑨➀♥➄❶❂⑨✘✐♠t➝♥➄➅❑♦❬➓➡⑨➀r✡⑩➄⑨❑r❧❦❝❦♠❨➄⑨➀❦❝➔✯⑨❊✐✕⑩❬r✉③❑⑩■③❊✐♠❫❪❶✮⑨✩❦✤❦✉❨❬❫✰❫❪♥➄❶✮③➀➑✶❦♠❨➄❫
⑩❬r✉❫s➣❄t✇③❑♦➄✐✕✐♠❫❪❸➜❦✉t➝③❊♥✵➟

uε,h = uε,h
r

+ pε,h
s
δh(ψε).

➠❬③❊r♠❭☞♦❬➓➡⑨✩❦♠t✇③❑♥➥➾➛➃➒➟➝ü❼➪✯t✇✐✡✐❧❦♠r✉t✇❸✓❦♠➓✇❤✼❫❪✈❚♦❬t✇➣✩⑨➀➓✇❫s♥❚❦✡❦♠③





➠✌t✇♥➄❶
(uε,h

r
, pε,h

s
, pε,h) ∈ V h × C ×Qh

✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦

a(uε,h
r , wh) + bε(wh, p

ε,h) = 〈f, wh〉V,V ′ ∀wh ∈ V h

pε,h
s
a(δh(ψε), δh(ψε)) + bε(δh(ψε), pε,h) = 〈f, δh(ψε)〉V,V ′

bε(uε,h
r
, qh) + pε,h

s
bε(δh(ψε), qh) = 0 ∀qh ∈ Qh.

➾✆✤➄➟ ❾❊➪

❵❝✐♠t✇♥❬➅✺❦♠❨❬❫✰✐♠❫❪❸s③❑♥➄❶☎❫❪✈❚♦➄⑨➀❦♠t✇③❑♥✣③➀➑✢❦♠❨❬t➡✐✡✐❧❤❥✐❧❦♠❫❪❭✣↔➄➔✴❫❷③❑↕❬❦✉⑨➀t✇♥

pε,h
s = − p̆ε,h b̆ε(δh(ψε))

a(δh(ψε), δh(ψε))
+

〈f, δh(ψε)〉V,V ′

a(δh(ψε), δh(ψε))

➾✆✤➄➟ í ➪

①②♦❥❦♠❦♠t✇♥❬➅q❦♠❨➄t✇✐✡❫◗✈❚♦➄⑨➀➓✇t➭❦⑤❤✲t➝♥➳➾✆✤➄➟ ❾❑➪✯❤❚t✇❫s➓➡❶❬✐





➠✢t✇♥➄❶
(uε,h

r
, pε,h) ∈ V h ×Qh

✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

a(uε,h
r
, wh) + bε(wh, p

ε,h) = 〈f, wh〉V,V ′ ∀wh ∈ V h

bε(uε,h
r
, qh) − b̆ε

(
δh(ψε)

)2

a(δh(ψε), δh(ψε))
c(pε,h, qh) =

〈
dε,h, qh

〉
Q′,Q

∀qh ∈ Qh.

➾✆✤➄➟ ➃❄➪

❳✕❨❬❫❪r♠❫✪⑨➀⑩➄⑩➒❫◗⑨➀r⑥✐✯⑨q♥➄❫s➔ø❦✉❫sr✉❭✫t✇♥✲❦✉❨❬❫✪r✉t➝➅❊❨❊❦♠❰❈❨➒⑨➀♥➄❶✣✐❧t➡❶❥❫➂❦♠❨➒⑨✩❦✤t➡✐✤❶❥❫✓➦➒♥❬❫❪❶✣⑨❑✐✯➑➛③❊➓➝➓✇③✩➔✤✐

〈
dε,h, qh

〉
Q′,Q

= −q̆h
b̆ε(δh(ψε)) 〈f, δh(ψε)〉V,V ′

a(δh(ψε), δh(ψε))

❴✤③❑❦♠❫❷❦✉❨➄⑨✩❦✤➠❬③❊r♠❭☞♦❬➓➡⑨✩❦♠t✇③❑♥➤➾✆✤➄➟ ➃❚➪✯t✇✐✡➣❊❫sr✉❤✼❸✓➓✇③❊✐♠❫➂❦♠③❂➾✆✤➄➟➝ü❪➪✓➟②➎➏♥➄❶❥❫❪❫❪❶☎t➭➑P➔✯❫✪❸⑥❨❬③❄③❊✐♠❫

Lε,h
h

=
b̆ε

(
δh(ψε)

)2

a
(
δh(ψε), δh(ψε)

) = −b̆ε
(
δh(ψε)

)
×

−b̆ε
(
δh(ψε)

)

a
(
δh(ψε), δh(ψε)

) ➾✆✤➄➟ ✡❊➪

❦♠❨➄❫✣③❊♥❬➓✇❤➩❶❥t➝➯■❫❪r♠❫❪♥➄❸✓❫✮↕■❫✓❦⑤➔✯❫s❫s♥Õ❦♠❨➄❫❪✐♠❫☎❦⑤➔✯③➻➑➛③❑r✉❭✝♦❬➓➡⑨✩❦✉t➝③❊♥➄✐✝t➡✐✺❦♠❨➄❫◆⑨❑❶❬❶❥t➝❦♠t✇③❑♥➒⑨➀➓✡✐❧③❊♦❬r⑥❸✓❫☎❦♠❫sr✉❭
dε,h t✇♥ ➾➆✤❬➟ ➃❚➪➜➟

➨✤③✩➔✯❫s➣❊❫sr✯❦♠❨➄t✇✐✯❦✉❫sr✉❭✫t➡✐✕♥❬❫s➅❊➓➝t✇➅❑t✇↕❬➓✇❫➂t✇♥✣❦♠❨❬❫❷➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅✘✐❧❫❪♥➄✐❧❫✣❊
➁→➹ ❮➫❮➩➋◆û ❷❯ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

h
é➜Û➄ì ❹ à ❹ ã✩à |dε,h| 6 κhq

➔ ➊ ➬✵➬✞✝ ➍
➵➥❫✺r✉❫st✇♥❚❦♠❫❪r♠⑩❬r✉❫✓❦ 〈f, δh(ψε)〉V,V ′ = −

∫
ΩR

fδh(ψε)
➟q❳✕❨➄❫sr✉❫☞❫s➐❄t➡✐❧❦✉✐✪⑨➀♥➻③❑⑩■❫s♥➤✐❧❫s❦ O ⊂ ΩR \ ✐♠♦❬⑩❬⑩ ψε✐♠♦➄❸⑥❨✲❦✉❨➄⑨✩❦❝✐♠♦❬⑩❬⑩

f ⊂ O ➟→❵❛✐❧t✇♥❬➅✘❸✓③❊r♠③❊➓➝➓➡⑨➀r✉❤➤✡❥➟✇ü✪⑨➀♥➄❶☎➓➝❫❪❭q❭q⑨➤✡❬➟ ❾✝➔✯❫✪③❑↕❥❦⑥⑨➀t✇♥

∣∣∣
〈f, δh(ψε)〉V,V ′

a(δh(ψε), δh(ψε))

∣∣∣ 6 κ ‖f‖L2(ΩR) ‖δh(ψε)‖L2(O) 6 κ ‖f‖L2(ΩR) h
q+1(1 + ln

h

ε
).

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



í ✤ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

❜❂③❊r♠❫❪③✩➣❑❫sr✯♥❬③❑❦♠❫➂❦♠❨➄⑨➀❦❪↔➄⑨❊❸s❸s③❑r⑥❶❥t➝♥➄➅✝❦✉③qÑ❆❫s❭q❭✘⑨❑✐♣✡❬➟➝ü✪⑨➀♥➒❶✣❾❬➟ ✡❄↔❬❦♠❨❬❫❪r♠❫✪❨❬③❊➓✇❶➄✐

|b̆ε(δh(ψε))| 6 κ
√

ln 1/ε(1 + ln
h

ε
).

❳✕❨❄♦➄✐✕➔✯❫➂③❊↕❥❦✉⑨❑t➝♥

|dε,h| =
∣∣∣
b̆ε(δh(ψε)) 〈f, δh(ψε)〉V,V ′

a(δh(ψε), δh(ψε))

∣∣∣ 6 κ ‖f‖L2(ΩR) h
q
(
h
√

ln 1/ε(1 + ln
h

ε
)2

)
.

✬ ⑩➄⑩❬➓➝❤❄t✇♥❬➅q⑨❑✐✉✐❧♦❬❭q⑩❥❦✉t➝③❊♥
H3

↔❄➔✯❫❝③❊↕❥❦✉⑨❑t➝♥✲❦♠❨❬❫➂❫✓➐❥t➡✐⑤❦✉❫s♥➄❸s❫❝③➀➑❆⑨✺❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦
κ > 0

t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫❪♥❊❦✡③❑➑
h
✐♠♦➄❸⑥❨✘❦✉❨➄⑨✩❦

|h
√

ln 1/ε(1 + ln h
ε )2| 6 κ

➟②❳✕❨❬t➡✐✕➓✇❫❪⑨❑❶➄✐✕♦➄✐✕❦♠③✺❦✉❨❬❫✰❸✓③❊♥➄❸✓➓✇♦➄✐♠t➝③❊♥✵➟

✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅✪❦♠③✝❦♠❨❬t➡✐✯r♠❫◗✐❧♦➄➓➭❦✯t➭❦✕t✇✐✯✐♠③❑❭q❫s❨❬③✩➔ ⑩■③❊✐✉✐❧t✇↕❬➓✇❫✤❦✉③☞t➡❶❥❫s♥❚❦✉t➭➑➛❤
uε,h
h

⑨➀♥➄❶
uε,h
r

➟P❳✕❨❬t✇✐✯⑨➀➓➡✐♠③✝➓✇❫❪⑨❑❶➄✐P❦♠③☞❦♠❨➄❫
❦♠❨➄❫s③❑r✉❫✓❦✉t✇❸❪⑨➀➓■❫✓➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥➻➾✆✤❬➟➣✡➀➪✴⑩❬r✉③✩➣❄t✇❶❥t✇♥❬➅✝❦♠❨❬❫❷➨✤③❊➓➝➓➡⑨➀♥➄❶✲⑩➄⑨➀r⑥⑨➀❭q❫s❦♠❫sr◗➟✶❳✕❨❬❫❛♥➄❫✓➐❄❦✯➓✇❫s❭q❭✘⑨q❸✓③❊♥❥➦➄r✉❭q✐→❦♠❨➒⑨✩❦

uε,h
ht➡✐✡❸✓➓✇③❊✐♠❫❛❦✉③

uε,h
r

➟
➁→➹ ❮➫❮➩➋◆û ❷➚ô
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é✪ã☎ì✉ê➀ß❬é➜à➏ã✩ß➄à

κ > 0
ç➚ß■á❑Þ➈❻➄Þ✓ß❲á❑Þsß➄à✡ê◆❽

ε
ã✩ß❲á

h
➋Pé⑥Û➄ì ❹ à ❹ ã➀à

‖uε,h
h

− uε,h
r ‖H1(ΩR) + |pε,h − pε,h

h
| 6 κhq

➔ ➊ ➬✵➬✞✝ ➍
❳✕❨❬❫✪❸✓③❊♦❬⑩❬➓✇❫

(uε,h
r

− uε,h
h
, pε,h − pε,h

h
) ∈ V h ×Qh

⑨❑♥➄❶✣✐♠⑨➀❦♠t➡✐⑤➦➄❫◗✐

a(uε,h
r , wh) + bε(wh, p

ε,h) = 0, ∀wh ∈ V h

bε(uε,h
r
, qh) − Lε,h

h
c(pε,h, qh) =

〈
dε,h, qh

〉
Q′,Q

∀qh ∈ Qh.

❳✕❨❄♦➄✐✤t➝❦❛t➡✐❛⑩➒③❚✐♠✐♠t➝↕➄➓➝❫✪❦✉③✲⑨➀⑩➄⑩❬➓➝❤☎❦♠❨➄❫✝r✉❫❪✐♠♦❬➓➭❦❛③➀➑P❦♠❨➄❫s③❑r✉❫s❭✭ü❑➟ÿ❾ §II.1 ③❑➑♣❋➝ü✽❍✶⑨❑♥➄❶✮♦➄✐♠❫✝➓✇❫s❭q❭✘⑨➤✤❬➟✇ü➀↔■t➝♥◆③❊r✉❶❬❫sr✡❦✉③
③❑↕❬❦✉⑨➀t✇♥☎❦♠❨❬❫✪❫s➐❄t➡✐❧❦♠❫s♥➒❸✓❫

κ > 0
t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫s♥❚❦✤③❑➑

ε
⑨❑♥➄❶

h
✐❧♦➒❸⑥❨✲❦✉❨➄⑨✩❦

‖uε,h
h

− uε,h
r ‖H1(ΩR) + |pε,h − pε,h

h
| 6 κ |dε,h| 6 κhq.

î❜❛➆➠ øÞ➥♣❣❘②❯❡✛❥➈①✴❥✷⑧✫♦⑥✐✧Ó✪➼⑨⑦✇❡❤❣✮t✈t⑩❥✷②❑♥✰②❯④➤①✴➥✇❣→ß➟❥✷♥♣❣➑❥✷⑧❨ã⑩♥✇➎✇✉❴⑧✞①✓♦q♥❴⑧✫❣
➵➥❫✪③❑↕❥❦⑥⑨➀t✇♥❬❫❪❶✣⑨➀♥✣❫✓➐❥⑩❬➓✇t✇❸st➭❦✤❫s➐❥⑩❬r♠❫◗✐♠✐♠t✇③❑♥✼➑➛③❊r✕❦♠❨❬❫✪➓✇t✇♥❬❫st➡❸❷t➝♥➒❶❥♦➄❸➜❦⑥⑨➀♥➄❸s❫

Lε,h
h

=
b̆ε

(
δh(ψε)

)2

a
(
δh(ψε), δh(ψε)

) = −b̆ε
(
δh(ψε)

)
×

−b̆ε
(
δh(ψε)

)

a
(
δh(ψε), δh(ψε)

) . ➾✆✤➄➟ ✤❚➪

➵➥❫❝➔✡t✇➓➝➓■♦➄✐♠❫✤❦♠❨➄t✇✐✴❫✓➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥qt✇♥✼③❑r⑥❶❥❫❪r②❦♠③☞⑩❬r✉③✩➣❑❫✤✐♠③❑❭q❫✤⑩❬r✉③❑⑩■❫sr♠❦♠t✇❫❪✐②➑➛③❑r②❦✉❨❬❫❝➓✇t✇♥❬❫st➡❸✤t✇♥➄❶❥♦➄❸✓❦✉⑨❑♥➄❸✓❫❊➟✶❳✕❨➄t✇✐✴t✇✐→❦♠❨➄❫
❭q❫❪⑨❑♥❬t➝♥➄➅✝③➀➑➧❦✉❨❬❫➂♥❬❫✓➐❄❦✕r♠❫◗✐❧♦❬➓➝❦✉✐❪➟P➠❬③❊r②❦♠❨➄t✇✐✕⑨➀♥➒⑨➀➓✇❤❄✐♠t➡✐s↔❚➔✴❫❛➔✡t➝➓✇➓❲t➝♥❚❦✉r♠③❥❶❥♦➄❸s❫❛⑨✰➑➛♦❬r❧❦✉❨❬❫sr✕⑨❑✐✉✐♠♦❬❭q⑩❥❦♠t✇③❑♥✘❦✉❨➄⑨✩❦✕➔✡t✇➓➝➓❲↕■❫
✐♠♦❬⑩❬⑩■③❊✐♠❫❪❶☎➣❑❫sr✉t➝➦➄❫❪❶✲➑➛③❑r✕❦✉❨❬❫✪r♠❫◗✐⑤❦✡③❑➑✌❦✉❨❬t✇✐✡❶❬③❄❸s♦❬❭q❫s♥❚❦❪➟

★ ✁ ➍ ❳✕❨❬❫sr✉❫❷❫✓➐❥t➡✐⑤❦⑥✐
κ > 0

⑨➀♥➒❶
ν > 0

✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦
ε(h) > κh1+ν ➟

❳✕❨❬t➡✐➂t✇✐❷⑨☎r♠❫◗✐⑤❦✉r♠t➡❸➜❦✉t➝➣❊❫☞⑨❑✐✉✐♠♦❬❭q⑩❥❦♠t✇③❑♥✵➟✰❴❝③➀❦✉❫☞❨❬③✩➔✯❫s➣❊❫sr❝❦♠❨➄⑨➀❦❷t➝❦❷t✇✐➂⑩■③❊✐✉✐❧t✇↕❬➓✇❫✝❦✉③✣✐♠♦❬⑩❬⑩■③❊✐♠❫✝❦✉❨➄⑨✩❦
ν
t✇✐➂➓➡⑨➀r✉➅❑❫❑↔■➑➛③❊r

❫✓➐❬⑨❑❭✺⑩➄➓➝❫
ν = 10

➟☎❳✕❨❬t➡✐✪t✇❭q⑩❬➓➝t✇❫❪✐✪❦♠❨❬❫✘➑➛③❊➓➝➓✇③✩➔✡t✇♥❬➅✮↕➒③❊♦❬♥➄❶❏❊✝❦♠❨❬❫❪r♠❫✘❫s➐❄t➡✐❧❦✉✐
κ > 0

t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦✝③➀➑
ε
⑨❑♥➄❶

h

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é í ➁

✐♠♦➄❸⑥❨✣❦♠❨➄⑨➀❦ | ln(h/ε)| < κ ln(1/h)
➟✯×✴③❑♥➄✐♠t➡❶❥❫sr✉t➝♥➄➅qÑ❆❫s❭q❭✘⑨❑✐✇✡❥➟✇ü✪⑨➀♥➄❶✩✡❥➟ í ↔➒➔✴❫✪③❊↕❥❦✉⑨❑t➝♥✣❫✓➐❥t➡✐⑤❦✉❫s♥➄❸s❫✪③➀➑

κ > 0t✇♥➄❶❥❫s⑩■❫s♥➒❶❥❫s♥❚❦✤③➀➑
ε
⑨❑♥➄❶

h
✐❧♦➄❸⑥❨☎❦♠❨➒⑨✩❦

‖ψε‖H1(ΩR) < κ
❫✓❦ ‖ψε‖L2(ΩR) < κh

➾✆✤➄➟ÿ➁❑➪
❳✕❨❬❫q➓✇t➝♥❬❫❪t✇❸✺t✇♥➄❶❥♦➄❸✓❦✉⑨❑♥➄❸✓❫✘❸s⑨❑♥➻↕■❫✘✐❧⑩➄➓➝t➝❦✪t➝♥❚❦♠③✣❦⑤➔✯③☎⑩➒⑨➀r♠❦✉✐❪↔✵⑨❑✐➂❦♠❨➄t✇✐✪⑨❑⑩❬⑩➒❫◗⑨➀r⑥✐➂t➝♥➤➠❬③❊r♠❭☞♦❬➓✇⑨➥➾✆✤➄➟ ✡❑➪➜➟qÑ✵❫s❭q❭✘⑨➸✤❬➟ í
❤❄t➝❫❪➓✇❶➄✐✤✐❧③❊❭q❫✪t➝♥❥➑➛③❊r♠❭✘⑨➀❦♠t✇③❑♥❂⑨➀↕■③❑♦❥❦✡❦✉❨❬❫✪➦➄r⑥✐❧❦❝⑩➄⑨➀r♠❦✤➔✡❨❬t✇➓➝❫✰Ñ❆❫s❭q❭✘⑨➤✤❬➟ ➃✘❶❥❫❪⑨❑➓✇✐✤➔✡t➭❦✉❨✮❦♠❨❬❫✝✐♠❫❪❸s③❑♥➄❶✣③❊♥❬❫❑➟➡❉✴❤☎❦♠❨➄❫
➔✕⑨❼❤❑↔✶➔✴❫✲➔✡t➝➓✇➓→➦➒♥➄⑨➀➓✇➓➝❤➤③❊↕❥❦✉⑨❑t➝♥➫⑨❑♥➫❫✓➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥➤➣❊❫sr✉❤➥❸s➓➝③❚✐❧❫✘❦✉③◆❦✉❨❬❫✲③❊♥❬❫✼⑩■③❑t✇♥❊❦✉❫❪❶➩③❑♦❥❦✝t✇♥ð❋ ➃■❍✯➑➛③❑r✘×✯⑨➀r♠❦♠❫❪✐♠t➡⑨➀♥
➅❑r✉t➡❶❬✐s➟
➁→➹ ❮➫❮➩➋◆û ❷➓✁ ❸✫❹ Þ✓å♠ÞqÞ➇❺❊ç➡é⑥à❯é✰ã♣❽⑥Û❥ß■ìsà❈ç➲ê✩ß

r(ε(h), h)
ë⑥ê✩Û❥ß❲á❑Þ⑥á✲ã✩é

h→ 0
é➜Û➄ì ❹ à ❹ ã✩à

−b̆ε(δh(ψε)) = ln(
h

ε
) + r(ε, h)

➔ ➊ ➬✵➬✞✝ ➍ ➵➥❫✰✐⑤❦⑥⑨➀r♠❦✕♦➒✐❧t✇♥❬➅✺❦♠❨❬❫✰❶❬❫✓➦➄♥❬t➝❦♠t✇③❑♥✮③❑➑
g
⑨❑♥➄❶✼❦✉❨❬❫✰❶❥❫◗❸✓③❑❭q⑩■③❊✐♠t➭❦✉t➝③❊♥☎t✇♥➳➾➆✡❬➟ ❾➀➪✓➟ ✬ ✐

ψε = 0
③❑♥

Γε ↔

−b̆ε(δh(ψε)) =

∫ 2π

0

Ph(ψε)(ε, θ)dθ =

∫

ΩR

Ph(ψε) g

=

∫

ΩR

Ph(ψh) g + (ln
h

ε
+ t(h))

∫

ΩR

Ph(χ0) g

+
∫
ΩR

Ph(u1) g +
∫
ΩR

Ph(u2) g

➵➥❫✺➔✡t✇➓✇➓✶✐❧❦♠♦➒❶❥❤❂❫❪⑨❊❸⑥❨➞③➀➑→❦♠❨❬❫✺❦♠❫❪r♠❭✘✐➂⑨➀⑩❬⑩■❫❪⑨❑r♠t✇♥❬➅☎t➝♥➻❦♠❨❬❫✺r✉t➝➅❊❨❊❦♠❰❈❨➒⑨➀♥➄❶◆✐♠t➡❶❥❫✘⑨➀↕■③✩➣❑❫❑➟✪➠✢t✇r✉✐❧❦❪↔❲❦✉❨❬❫✘✐❧❫◗❸✓③❑♥➒❶✮❦♠❫❪r♠❭
❸s⑨❑♥☎↕■❫✪r✉❫s➔✡r✉t➭❦♠❦♠❫s♥✣t✇♥☎❦✉❨❬❫❷➑➛③❑➓✇➓✇③✩➔✡t➝♥❬➅q❭✘⑨➀♥➄♥❬❫sr

∫

ΩR

Ph(χ0) g =

∫

ΩR

χ0 g +

∫

ΩR

(Ph(χ0) − χ0) g

=

∫

ΩR

g +

∫

ΩR

(Ph(χ0) − χ0) g = 2π +

∫

ΩR

(Ph(χ0) − χ0) g.

❜❂③❊r♠❫❪③✩➣❑❫sr✴❦♠❨➄❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✺❫❪✐❧❦♠t✇❭q⑨➀❦♠❫✪❨❬③❊➓✇❶➄✐

∣∣
∫

ΩR

(Ph(χ0) − χ0) g
∣∣ 6 ‖hg‖L2(ΩR)

‖Ph(χ0) − χ0‖L2(ΩR)

h
6 κ ‖χ0‖H2(ΩR) h.

❵❝✐♠t✇♥❬➅✘⑨❑✐✉✐❧♦❬❭q⑩❥❦✉t➝③❊♥✪★ ✁ ↔❥➔✯❫❷③❑↕❥❦⑥⑨➀t✇♥✣❦♠❨❬❫✪❫s➐❄t➡✐❧❦♠❫s♥➒❸✓❫❷③➀➑✶✐❧③❊❭✺❫
κ
t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫❪♥❊❦✤③❑➑

h
✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

| ln h
ε

1

2π

∫

ΩR

Ph(χ0)g − ln
h

ε
| 6 κ.

❳✕❨❬❫❷❦✉❨❬t➝r⑥❶✣⑨➀♥➄❶☎➑➛③❑♦➄r❧❦✉❨✲❦✉❫sr✉❭ ❸s⑨❑♥☎↕■❫✰❶❥❫◗❸✓③❑❭q⑩■③❊✐♠❫❪❶☎t➝♥✣❦✉❨❬❫❷➑➛③❑➓✇➓➝③✩➔✡t✇♥❬➅✺❭✘⑨➀♥❬♥❬❫❪r✰➾
i = 1, 2

➪
∫

ΩR

Ph(ui) g =

∫

ΩR

ui g +

∫

ΩR

(Ph(ui) − ui) g.

❜❂③❊r♠❫❪③✩➣❑❫sr✯➔✯❫➂❨➒⑨❼➣❑❫❛❦♠❨❬❫✪❫◗✐⑤❦✉t➝❭✘⑨✩❦✉❫
∣∣
∫

ΩR

ui g
∣∣ 6 ‖ui‖L∞(ΩR)‖g‖L1(ΩR) 6 κ ‖ui‖L∞(ΩR)‖hg‖L2(ΩR)

⑨➀♥➒❶
∣∣
∫

ΩR

(Ph(ui) − ui) g
∣∣ 6 ‖hg‖L2(ΩR)

‖Ph(ui) − ui‖L2(ΩR)

h
6 κ ‖ui‖H2(ΩR) h.

➠✢t➝♥➒⑨➀➓✇➓➝❤✘➑➛③❊r✕❦♠❨❬❫❷➦➒r✉✐❧❦✡❦♠❫❪r♠❭✮↔ ∫
ΩR

Ph(ψh)g =
∫
ΩR

δh(ψh)g
✐♠t➝♥➒❸✓❫ ∫

ΩR
ψhg = 0

➟②➨❝❫s♥➄❸s❫❑↔
∣∣∣∣
∫

ΩR

δh(ψh)g

∣∣∣∣ 6 ‖δh(ψh)‖L2(ΩR) ‖g‖L2(ΩR) 6 κh2 ‖ψh‖H2(ΩR)‖g‖L2(ΩR) 6 κ (h‖g‖L2(ΩR))
2

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁



í ✔ ❂ ä➝ã❑Þ❄❃❼é❆❅ ❂ ê➀ä➚ä ç➚ß■ê

❵❝✐♠t✇♥❬➅✘⑨➀➓✇➓➧❦♠❨❬❫✪⑩➄r♠❫◗❸✓❫❪❶❬t➝♥❬➅✺r✉❫❪✐♠♦❬➓➭❦◗↔❬➔✯❫➂③❊↕❥❦✉⑨❑t➝♥☎❦♠❨➄❫✰❸✓③❑♥➒❸✓➓✇♦➄✐❧t✇③❑♥❆➟

➵➥❫➂➔✡t✇➓✇➓➧♥❬③✩➔ ⑨➀♥➒⑨➀➓✇❤❚➽❪❫✤❦✉❨❬❫✪✐❧❫◗❸✓③❑♥➒❶✼⑩➄⑨❑r❧❦✕③➀➑✌❦♠❨❬❫❷➓✇t➝♥❬❫❪t✇❸➂t✇♥➄❶❥♦➄❸✓❦✉⑨❑♥➄❸✓❫❊➟✢➎❍❦✡t➡✐✕t➝♥➄❨❬❫sr✉t➭❦✉❫❪❶✲➑➛r♠③❊❭ ✘ ✈❚♦➄⑨✩❦✉t➝③❊♥➻➾➆✤❬➟ í ➪➜➟
❜❂③❊r♠❫❪③✩➣❑❫sr❝t➭❦❷t✇✐❛⑩■③❊✐✉✐❧t✇↕❬➓✇❫✰❦♠③☎⑩❬r✉③✩➣❚t➡❶❥❫✺⑨✘➑➛③❑r✉❭✘⑨➀➓✌t➝♥❚❦♠❫❪r♠⑩➄r♠❫s❦✉⑨✩❦✉t➝③❊♥◆③➀➑P❦✉❨❬t➡✐❛r✉❫s➓➡⑨✩❦✉t➝③❊♥✵➟❷Ñ✵❫✓❦➂♦➄✐➂♦➄✐♠❫☞✈❚♦➄⑨➀➓✇t➝❦✉⑨✩❦✉t➝➣❊❫
⑨➀r✉➅❑♦➄❭✺❫❪♥❚❦✉✐❪➟P×✴③❊r♠③❊➓➝➓➡⑨➀r✉❤◆➾➛➃➒➟➝ü❪➪✕✐♠♦❬➅❊➅❑❫❪✐❧❦✉✐✴❦✉❨➄⑨✩❦

uε,h ≃ ũε ➟②❜❂③❊r♠❫❪③✩➣❑❫❪r

pε,h ≃ p̃ε = [
∂ũε

∂n
]|Γε ≃ [

∂uε,h

∂n
]|Γε = [

∂uε,h
r

∂n
]|Γε

︸ ︷︷ ︸
≃ 0

+[
∂

∂n
pε,h
s V ε

0 ]|Γε ≃ pε,h
s

∂V ε
0

∂n
.

❳✕❨❬t➡✐➂➦➄♥➄⑨❑➓➝➓✇❤❂❤❄t➝❫❪➓✇❶❬✐
p̆ε,h ≃ pε,h

s

➟✺❴❝③✩➔❹➓➝③❄③❊➢◆⑨✩❦✪r♠❫❪➓✇⑨➀❦♠t✇③❑♥➩➾➆✤❬➟ í ➪✓➟✺⑧✡❫❪❭qt➝♥➄❶➞❦♠❨➒⑨✩❦❷❦♠❨❬❫✘✐♠❫❪❸s③❑♥➄❶◆❦♠❫sr✉❭➼③❑➑→❦♠❨➄❫
r✉t➝➅❊❨❊❦♠❰❈❨➒⑨➀♥➄❶✪✐♠t✇❶❬❫→t➡✐✌✐♠❭✘⑨➀➓✇➓❯➟✌➎➏♥☞⑨❑❶➄❶❥t➭❦✉t➝③❊♥✰➔✯❫✴❸s⑨❑♥✰✐❧❨➄③✩➔➤❦♠❨➄⑨➀❦

1/pε,h t➡✐❆↕■③❑♦❬♥➒❶❥❫❪❶✪↕❄❤✪✐♠③❑❭q❫✓❦✉❨❬t➝♥➄➅❝⑩❬r✉③❑⑩■③❑r♠❦♠t✇③❑♥➄⑨❑➓❦♠③
ln 1/ε

➾➛t❈➟ ❫❊➟
pε,h 6= 0

➪✓➟✢❦♠❨❬❫❪♥✣➔✯❫✪③❑↕❬❦✉⑨➀t✇♥

−b̆ε(δh(ψε))

a(δh(ψε), δh(ψε))
≃ 1.

❳✕❨❬t➡✐✡t✇♥❊❦✉♦❬t➝❦♠t✇③❑♥✮t✇✐✡❸s③❑♥❥➦➒r♠❭q❫❪❶☎↕❄❤✘❦♠❨➄❫✪♥❬❫✓➐❄❦✤➓✇❫s❭q❭✘⑨❬➟P➵➥❫✰⑨➀➓➡✐❧③qt✇➓➝➓✇♦➄✐❧❦♠r⑥⑨✩❦♠❫➂❦✉❨❬t✇✐✤➔✡t➭❦✉❨☎❦✉❨❬❫✪♥❄♦❬❭q❫sr✉t✇❸❪⑨➀➓➧❫s➐❄⑩■❫sr✉t➝❰
❭q❫s♥❚❦✉✐✤⑩❬r♠❫◗✐❧❫❪♥❚❦♠❫❪❶✲t➝♥❂➠✢t✇➅❑♦❬r✉❫qü◗❾❄➟

➁→➹ ❮➫❮➩➋◆û ❷✇ó

−b̆ε(δh(ψε))

a(δh(ψε), δh(ψε))
= 1 +O(h ln 1/h) ❾ ❹ Þsß h→ 0

➔ ➊ ➬✵➬✞✝ ➍
➵➥r♠t➝❦♠❫

a(δh(ψε), δh(ψε)) = a(ψε, δh(ψε)) =
∫ 2π

0 Ph(ψε)(ε, θ)dθ − 2
∫
ΩR

∇(ln |x|) · ∇χ0 δh(ψε)

−
∫
ΩR\Ωi

ε
ln |x|

ε (∆χ0 + k2χ0)δh(ψε)

✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅✣❦♠③◆Ñ✵❫❪❭q❭q⑨✜✡❬➟ ❾❥↔✵❦♠❨➄❫sr✉❫✘❫✓➐❥t✇✐❧❦✉✐
κ > 0

✐❧♦➒❸⑥❨➻❦✉❨➄⑨✩❦
a(δh(ψε), δh(ψε)) > κ

➟☎➺❛t➝➣❄t➡❶❥t✇♥❬➅✮❦♠❨❬t➡✐✪↕❄❤
a(δh(ψε), δh(ψε))

↔❬➔✯❫➂③❊↕❥❦✉⑨❑t➝♥

−b̆ε(δh(ψε))

a(δh(ψε), δh(ψε))
= 1 + 2

∫

ΩR

∇(ln |x|) · ∇χ0 δh(ψε)

a(δh(ψε), δh(ψε))
+

∫

ΩR\Ωi
ε

ln |x|
ε (∆χ0 + k2χ0)δh(ψε)

a(δh(ψε), δh(ψε))
.

⑦❛♥☎❦♠❨❬❫✪③❊♥❬❫❷❨➄⑨➀♥➄❶✵↔❥❦♠❨❬❫❪r♠❫❷❫s➐❄t➡✐❧❦✉✐
κ > 0

t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫❪♥❊❦❛③➀➑
ε
⑨➀♥➄❶

h
✐♠♦➄❸⑥❨✣❦♠❨➄⑨➀❦

‖∇(ln |x|) · ∇χ0‖L2(ΩR) 6 κ
❫✓❦ ‖ ln

|x|
ε

(∆χ0 + k2χ0)‖L2(ΩR\Ωi
ε) 6 κ ln 1/h.

⑦❛♥☎❦♠❨❬❫✰✐♠❫❪❸s③❑♥➄❶☎❨➄⑨➀♥➒❶➧↔❬➎➏♥❬❫◗✈❊♦➒⑨➀➓✇t➭❦✉t➝❫◗✐✪➾✆✤❬➟ ➁✩➪✕⑨❑➓➝③❊♥❬➅q➔✡t➭❦✉❨☎❦✉❨❬❫☞×✯⑨➀♦➒❸⑥❨❚❤❚❰⑤❢❥❸⑥❨❄➔✯⑨❑r❧❦✉➽✤t✇♥❬❫❪✈❚♦➄⑨❑➓➝t➝❦⑤❤✼⑩❬r✉③✩➣❄t✇❶❥❫
∣∣∣
∫

ΩR

∇(ln |x|) · ∇χ0 δh(ψε)
∣∣∣ 6 κh

❫s❦ ∣∣∣
∫

ΩR\Ωi
ε

ln
|x|
ε

(∆χ0 + k2χ0)δh(ψε)
∣∣∣ 6 κh ln 1/h

❳✕❨❬t➡✐✡➓✇❫❪⑨❑❶➄✐→❦✉③q❦♠❨❬❫✰❶❬❫❪✐♠t➝r✉❫❪❶☎r♠❫◗✐❧♦➄➓➭❦◗➟

❉✯❤☎❭q❫◗⑨➀♥➄✐❝③➀➑②Ñ✵❫❪❭✺❭✘⑨❊✐✇✤❬➟ ➃✼⑨➀♥➒❶✩✤❬➟ í ↔➒➔✯❫✰❨➄⑨❼➣❊❫✪♥❬③✩➔ ❶❥❫❪✐✉❸✓r✉t✇↕➒❫◗❶✣❦♠❨❬❫✝❦⑤➔✴③✘⑩➄⑨❑r❧❦⑥✐✤③❑➑✢❦✉❨❬❫✝➓✇t✇♥❬❫st➡❸✪t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫❑➟
➵➥❫✰❸s⑨➀♥✮❶❥❫◗❶❥♦➄❸✓❫✰⑨q✐♠♦❬↕➄✐❧❦✉⑨❑♥❊❦✉t✇⑨❑➓✵✐❧t✇❭q⑩❬➓✇t➭➦➒❸❪⑨✩❦✉t➝③❊♥☎③❑➑✢❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥➻➾➆✤❬➟➣✡➀➪➜➟

❖◗P✌✭❘❖❚❙
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10
−2

10
−1

10
0

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

∣ ∣ ∣
−
b̆ε

(δ
h
(ψ

ε
))

a
(δ

h
(ψ

ε
),
δ h

(ψ
ε
))

−
1
∣ ∣ ∣

❴❝③❑❭✝↕➄r♠❫✪❶❥❫❷⑩■③❑t✇♥❊❦⑥✐✡⑩➄⑨❑r✯➓✇③❑♥➄➅❑♦❬❫❪♦❬r✤❶➧Ï ③❑♥➄❶❥❫
h/λ

❳✕❨❬t➡❸⑥➢❄♥❬❫❪✐✉✐
ε/h = 10−4

➠✢t➝♥➄t➭❦✉❫✰❫s➓✇❫s❭q❫s♥❚❦⑥✐✕③➀➑✶③❑r⑥❶❥❫sr í

➠✌t✇➅❑♦➄r♠❫qü◗❾✴❊→×✴③❑♥❄➣❑❫❪r♠➅❊❫s♥➄❸s❫❝③➀➑✢❦♠❨➄❫✪r✉⑨➀❦♠t✇③✺❶❥❫s➦➄♥❬❫◗❶☎t✇♥❂Ñ✵❫❪❭✺❭✘⑨●✤❬➟ ➃

Ò ➬ ➊ ➬ Ù➲Ù❯➋❥➊ ➘ û ❷➲ï
∣∣∣Lε,h

h
− bε(δh(ψε))

∣∣∣ 6 κh ln2(1/h).

➔ ➊ ➬✵➬✞✝ ➍
❵❝✐♠t✇♥❬➅✰⑨❑✐✉✐❧♦➄❭✺⑩❬❦♠t✇③❑♥Ü★ ✁ ↔❚③❑♥➄❫✡❫❪⑨❑✐♠t✇➓➝❤✺✐❧❫❪❫✕❦♠❨➄⑨➀❦ |bε(δh(ψε))| 6 κ ln 1/h

➟✶❳✕❨❚♦➒✐P♦➄✐♠t➝♥❬➅✝➓➝❫❪❭✺❭✘⑨❊✐❯✤➄➟ ➃✰⑨❑♥➄❶
✡❥➟ÿ❾❄↔❬➔✯❫❷③❑↕❥❦⑥⑨➀t✇♥✲❦✉❨❬❫✰❶❥❫◗✐❧t✇r♠❫◗❶✲r✉❫❪✐♠♦❬➓➝❦❪➟

①②r✉③✩➣❄t✇❶❥❫◗❶❛❦♠❨➄⑨➀❦✢⑨❑✐✉✐♠♦❬❭q⑩❥❦♠t✇③❑♥➄✐➑★ ï ↔✲★ ô ⑨➀♥➄❶❫★ ✁ ⑨➀r✉❫→✐♠⑨➀❦♠t➡✐⑤➦➒❫❪❶➧↔❼➔✯❫→❸s⑨❑♥✪➅❑t✇➣❑❫✶❦♠❨➄❫②➑➛③❑➓✇➓✇③✩➔✡t➝♥❬➅❛⑨➀⑩❬⑩❬r✉③❼➐❥t➝❭✘⑨➀❦♠❫
❫✓➐❥⑩❬r✉❫❪✐✉✐♠t➝③❊♥

Lε,h
h

= ln
h

ε
+ r(ε, h) +O(h ln2 1/h)

❳✌③✲✐❧♦➄❭ ♦❬⑩❆↔❬❦♠❨➄❫☞➨✤③❊➓➝➓➡⑨➀♥➒❶✣❸s③❑♥➄✐❧❦✉⑨❑♥❚❦✡➑➛③❑r❝③❊♦❬r✤❭q③❥❶❥❫s➓✌⑩❬r✉③❑↕❬➓✇❫s❭ ⑨✘⑩❬r✉t➝③❊r♠t❆❶❬❫s⑩■❫s♥➄❶❬✐❝③❑♥◆✐♠❫s➣❊❫sr⑥⑨➀➓➧⑩➄⑨❑r✉⑨❑❭✺❫s❦♠❫❪r✉✐✠❊
❦♠❨➄❫❝❭q❫❪✐♠❨◆➾➛t➝❦✉✐✯✐❧❨➒⑨➀⑩■❫❛⑨➀♥➒❶qt➭❦⑥✐✴✐❧❦♠❫❪⑩

h
➪✓↔❊❦✉❨❬❫✡❦✉❨❬t✇❸⑥➢❄♥❬❫◗✐♠✐→③➀➑➧❦✉❨❬❫❝➔✡t✇r♠❫

ε
↔❊❦♠❨❬❫❛➔✯⑨❼➣❊❫✕♥❚♦➄❭✝↕■❫sr

k
⑨➀♥➄❶✺❦✉❨❬❫❛❸s♦❥❦❧❰❍③➀➯

➑➛♦❬♥➄❸✓❦♠t✇③❑♥
χ
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➟P➨✤③✩➔✕❰

❫s➣❊❫srP♥❄♦❬❭q❫sr✉t➡❸s⑨➀➓❥❫s➐❥⑩➒❫❪r♠t✇❭q❫s♥❚❦②✐❧❨❬③✩➔➩❦♠❨➄⑨➀❦→⑨❑❸✓❦♠♦➄⑨❑➓➝➓✇❤✪❦♠❨➄❫✤➣✩⑨➀➓✇♦❬❫✕③➀➑■❦♠❨❬❫✡❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝③❊♥✣➾➆✤❬➟➣✡➀➪✢t➡✐P♥❬❫❪⑨❑r♠➓✇❤✰t✇♥➄✐♠❫s♥➄✐♠t➭❦✉t➝➣❊❫
❦♠③q➣✩⑨➀r✉t➡⑨✩❦♠t✇③❑♥➒✐✕③➀➑❆❦✉❨❬❫❷➑➛r✉❫❪✈❚♦❬❫s♥➒❸✓❤❑➟P➎➏♥✣➦➄➅❊♦❬r✉❫☞ü í ↔❬➔✯❫➂❨➒⑨❼➣❑❫❷r♠❫❪⑩❬r✉❫❪✐♠❫s♥❚❦♠❫◗❶➞➾✆✤➄➟ ✡❑➪✯➣❑❫sr⑥✐♠♦➄✐✯❦♠❨❬❫❷➑➛r✉❫❪✈❚♦❬❫❪♥➄❸✓❤➻➾➛❭q③❑r✉❫
⑩❬r✉❫❪❸st✇✐♠❫s➓✇❤❂➣❑❫❪r✉✐♠♦➄✐❝❦♠❨❬❫✘♥❄♦❬❭☞↕➒❫❪r➂③❑➑✴⑩■③❑t✇♥❚❦✉✐❷⑩■❫sr✪➔✕⑨❼➣❑❫s➓✇❫s♥➄➅➀❦♠❨➞➔✡t➭❦✉❨➥⑨☎➦❬➐❥❫❪❶➥✐❧❦♠❫s⑩
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λ/H

❳✕❨❬t➡❸⑥➢❄♥❬❫❪✐✉✐
ε/h = 10−4

➠✢t➝♥➄t➭❦✉❫✰❫s➓✇❫s❭q❫s♥❚❦⑥✐✕③➀➑✶③❑r⑥❶❥❫sr✕➃
Lε,h

h
(200) = 0.918
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❳✕❨❬t➡✐q✐❧♦❬➅❊➅❑❫◗✐⑤❦⑥✐✰♦➄✐☞❦♠③➥❸✓③❊❭✺⑩➄♦❥❦♠❫✣❫✓➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥ø➾➆✤❬➟➣✡➀➪✰➑➛③❑r✘⑨➀♥➫❫❪➓➝❫◗❸➜❦✉r♠③❚✐⑤❦⑥⑨✩❦♠t➡❸✘⑩❬r✉③❑↕➄➓➝❫❪❭✣↔→③❑r☞❸s③❑❭q⑩❬♦❥❦✉❫☎t➝❦✺➑➛③❑rq⑨
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r
, pε,h) ∈ C1( [0, T ], V h) × C1( [0, T ], Qh)
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∇uε,h
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(t) · ∇wh +

∫

ΓR
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r

∂t
(t)wh + bε(wh,

∂pε,h

∂t
)

= 〈f, wh〉V,V ′ , ∀wh ∈ V h

bε(uε,h
r , qh) − Lε,h

h
c (
∂pε,h

∂t
, qh) = 0 ∀qh ∈ Qh.
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➵➱❨❬❫sr✉❫❪⑨❊✐❝❦✉❨❬❫q➓➝t✇♥❬❫❪t✇❸✺t✇♥➄❶❥♦➄❸✓❦✉⑨➀♥➒❸✓❫q♥❬❫❪⑨❑r♠➓✇❤◆❶❥③❄❫❪✐➂♥❬③❑❦✰❶❥❫s⑩■❫s♥➄❶➻③❑♥➻➑➛r✉❫❪✈❚♦❬❫s♥➒❸✓❤❑↔➧➔✯❫q➔✡t➝➓✇➓②✐♠❫s❫☞❦♠❨➄⑨➀❦❷t➝❦✪r♠❫◗⑨➀➓✇➓➝❤

❶❥❫❪⑩➒❫❪♥➄❶❬✐✡③❊♥✲❦✉❨❬❫✪➓➝③❥❸❪⑨✩❦♠t✇③❑♥✣③➀➑✢❦♠❨➄❫✪➔✡t➝r✉❫❷t➝♥➄✐♠t➡❶❥❫➂❦♠❨❬❫✪❭q❫❪✐♠❨✵➟P➵➥❫✪t➝➓✇➓✇♦➄✐⑤❦✉r✉⑨➀❦♠❫➂❦♠❨➄t✇✐✡t✇♥❂➠✢t➝➅❊♦❬r♠❫qü❪➃❬➟

❖◗P✌✭❘❖❚❙
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λ/h

Lε,h

λ/h

Lε,h

λ/h

Lε,h

➠✢t➝➅❊♦❬r✉❫✝üs➃✛❊✢➺❛❫s⑩■❫s♥➒❶❥❫s♥➄❸s❤✼③➀➑❆❦♠❨❬❫➂➓➝t✇♥❬❫❪t✇❸❛t➝♥➒❶❥♦➄❸➜❦⑥⑨➀♥➄❸s❫❷➔✡t➭❦✉❨✲r✉❫❪✐♠⑩➒❫◗❸➜❦✯❦♠③☞❦♠❨❬❫➂➓➝③❥❸❪⑨✩❦♠t✇③❑♥✲③➀➑✵❦✉❨❬❫❛③❊↕➄✐❧❦✉⑨❑❸s➓➝❫❛t➝♥☎❦♠❨➄❫
❭q❫❪✐♠❨✵➟

➵➥❫✡♦➄✐❧❫◗❶☞⑨✰×✯⑨❑r❧❦✉❫❪✐♠t✇⑨❑♥✝➅❑r✉t➡❶✰➔✡t➝❦♠❨✘✐⑤❦✉❫s⑩
h/λ = 0.65

⑨❑♥➄❶☞⑨❑♥☞③❊↕➄✐❧❦✉⑨❑❸s➓➝❫✯➔✡t➝❦♠❨✺❦♠❨❬t➡❸⑥➢❄♥❬❫❪✐✉✐
ε/λ = 10−4 ➟②⑦❛♥☞❦♠❨➄❫➓✇③✩➔✴❫❪r✤⑩➄⑨➀r♠❦❝③❑➑P➠✢t✇➅❑♦❬r✉❫✼ü❪➃✼t✇✐❛❶❥❫s⑩➄t✇❸✓❦♠❫❪❶❂❦♠❨❬❫☞➓➝③❥❸s⑨➀❦♠t✇③❑♥❂③❑➑✢❦✉❨❬❫✝③❊↕➄✐❧❦✉⑨❑❸s➓➝❫❊↔ ⑨❑♥➄❶☎❦♠❨❬❫☞➅❑r⑥⑨➀⑩❬❨➒✐✡t➝♥◆❦♠❨❬❫☞♦❬⑩❬⑩■❫sr➂⑩➄⑨➀r♠❦

r✉❫s⑩❬r✉❫❪✐♠❫s♥❚❦✡❦♠❨➄❫☞❸✓③❊r♠r✉❫❪✐♠⑩■③❑♥➄❶❥t✇♥❬➅✘❶❥❫❪⑩➒❫❪♥➄❶❥❫s♥➒❸✓❤✮③➀➑P❦✉❨❬❫✰➓✇t➝♥❬❫❪t✇❸✝t➝♥➒❶❥♦➄❸➜❦⑥⑨➀♥➄❸s❫✝➔✡t➝❦♠❨❂r✉❫❪✐♠⑩➒❫◗❸➜❦❛❦♠③✘❦✉❨❬❫✝➔✕⑨❼➣❑❫❪➓➝❫❪♥❬➅➀❦✉❨✵➟
⑦❛♥❬❫✪❸s⑨❑♥✣✐♠❫s❫❷❦✉❨➄⑨✩❦✕➑➛③❊r✤❶❥t➭➯❲❫sr✉❫s♥❚❦✤⑩■③❊✐♠t➭❦✉t➝③❊♥➄✐✕③➀➑✢❦♠❨➄❫✪③❑↕➄✐❧❦✉⑨❊❸✓➓✇❫❛t✇♥✣❦♠❨❬❫✪❭q❫❪✐♠❨✣❦♠❨❬❫❪r♠❫❷t➡✐✡⑨q➣✩⑨➀r✉t✇⑨➀❦♠t✇③❑♥✲③❑➑

30%
➳

✂ ➹ ù ➹ ñ ➮ ➹ ñ ➌ ➘Õ➷ ò➛➉✠✟✱➊ ➹ ➈sù ➹ ➌❑➉q➉ ➬ ➉✠✟ ➹ ➊✩➋❬➮✢ò➲❒✢➈ ➬✛✝ ➉✑✟ ➹ ➌❊❒❆➉ ➴✉➬✛❿→✝ ❒ ñ ➌❑➉❪ò ➬ ñ
➵➻❫✼➔✡t✇➓✇➓→✐❧❨➄③✩➔ ❦✉❨➄⑨✩❦✰❦✉❨❬❫✼➓✇t➝♥➄❫st➡❸qt➝♥➄❶❬♦➄❸➜❦⑥⑨➀♥➄❸s❫✲⑨❑❸✓❦♠♦➄⑨❑➓➝➓✇❤◆➔✯❫❪⑨➀➢❄➓✇❤➻❶❥❫❪⑩➒❫❪♥➄❶❬✐✪③❊♥➤❦♠❨❬❫✘r⑥⑨❑❶❬t➝♦➄✐✰③➀➑✯❦♠❨❬❫✲❸s♦❥❦❧❰❍③➀➯

➑➛♦❬♥➄❸✓❦♠t✇③❑♥✵➟ ➎➏♥➄❶❥❫s❫◗❶ ❸✓③❑♥➒✐❧t➡❶❥❫sr✺❦⑤➔✯③➥➑➛♦❬♥➄❸➜❦✉t➝③❊♥➄✐
χ1

⑨➀♥➄❶
χ2
↔✯⑨❑♥➄❶✱❶❥❫s♥❬③❑❦♠❫

ϕε
1

⑨➀♥➒❶
ϕε

2

❦✉❨❬❫◆❸✓③❊r♠r✉❫❪✐♠⑩➒③❊♥➄❶❥t✇♥❬➅
⑨❑❶➄❶❥t➭❦✉t➝③❊♥➄⑨➀➓➂✐❧❨➒⑨➀⑩■❫❂➑➛♦❬♥➄❸✓❦♠t✇③❑♥➄✐❪➟❹❳✕❨❬❫➞❶❥t➝➯❲❫sr✉❫s♥➄❸s❫

χ1 − χ2
t✇✐☎➣❑❫❪r♠❤✱✐❧❭q③❄③➀❦✉❨ø⑨➀♥➄❶ ➣✩⑨❑♥❬t✇✐♠❨❬❫◗✐✼③❑♥ø⑨ ➾➚➦❬➐❥❫❪❶➒➪

♥❬❫❪t➝➅❊❨❚↕■③❑r✉❨❬③❄③❥❶➥③➀➑
Γε ➟❂❳✕❨❄♦➄✐❷➑➛③❊r☞⑨➀♥❄❤ q ∈ N

↔✌❦♠❨❬❫❪r♠❫✼❫s➐❥t✇✐❧❦✉✐✰⑨➞❸✓③❑♥➒✐⑤❦⑥⑨➀♥❚❦
κ > 0

t➝♥➄❶❬❫s⑩■❫s♥➄❶❥❫❪♥❚❦☞③➀➑
ε
✐❧♦➄❸⑥❨

❦♠❨➒⑨✩❦ ‖ϕε
1 −ϕε

2‖Hq(ΩR) 6 κ ln 1/ε
➟✢❜◆③❑r✉❫s③✩➣❑❫❪r❪↔❚⑨❑❸❪❸✓③❑r⑥❶❥t✇♥❬➅✰❦✉③✣➾➆✤➄➟➝ü❪➪✓↔❄❦♠❨❬❫❷➓✇t➝♥➄❫st➡❸❛t✇♥➄❶❥♦➒❸➜❦✉⑨❑♥➄❸✓❫➂③❑♥➄➓➝❤✘t✇❭q⑩❬➓➝t✇❫❪✐

❦♠❫❪r♠❭✘✐✴③➀➑✵❦✉❨❬❫❛➑➛③❑r✉❭
δh(ϕε)

↔❄❨❬❫❪♥➄❸✓❫➂➔✴❫➂❸✓③❊♥➄❸✓➓✇♦➄❶❥❫❝❦♠❨➄⑨➀❦✴❦✉❨❬❫❛➓✇t✇♥❬❫st➡❸✤t✇♥➄❶❥♦➄❸✓❦✉⑨❑♥➄❸✓❫❷❸✓③❊❭✺⑩➄♦❥❦♠❫◗❶✼➔✡t➝❦♠❨
ϕε

1

③❑r✯➔✡t➭❦✉❨
ϕε

2

t➡✐❛♥❬❫❪⑨❑r♠➓✇❤✲❦✉❨❬❫q✐♠⑨❑❭✺❫❊➟❛❳✕❨❬❫☞↕❬t✇➅❑➅❑❫❪r✤❦✉❨❬❫☞♥➄❫st✇➅❑❨❄↕➒③❊r♠❨➄③❚③❥❶✮③❊♥◆➔✡❨❬t➡❸⑥❨
χ1 − χ2

➣✩⑨❑♥❬t✇✐♠❨❬❫◗✐s↔■❦♠❨➄❫☞✐♠❭q⑨❑➓➝➓✇❫sr❛❦♠❨➄❫
❶❥t➝➯■❫❪r♠❫❪♥➄❸✓❫✲↕➒❫s❦⑤➔✴❫❪❫s♥➤❦♠❨➄❫☎❸✓③❊r♠r✉❫❪✐♠⑩■③❑♥➄❶❥t✇♥❬➅✮➓✇t➝♥❬❫❪t✇❸✲t➝♥➒❶❥♦➄❸➜❦⑥⑨➀♥➄❸s❫❑➟❂➎➏♥➫➠✢t✇➅❑♦❬r✉❫◆ü✑✡❥↔✢➔✯❫✼r✉❫s⑩❬r✉❫❪✐♠❫s♥❚❦✉❫❪❶➻❦♠❨❬❫✲➣❼⑨❑➓➝♦➄❫
③➀➑➂❦♠❨➄❫◆➨✤③❑➓✇➓➡⑨➀♥➄❶ ❸✓③❊♥➄✐❧❦✉⑨➀♥❚❦q➑➛③❑r☎⑨➻r⑥⑨❑❶❬t➝♦➄✐q③❑➑❛❦✉r♠♦➄♥➄❸s⑨➀❦♠t✇③❑♥ ❫st➝❦♠❨❬❫❪r✘③➀➑

0.9
③❊r

1.2
➔✡❨❬❫sr✉❫❪⑨❊✐✝❦✉❨❬❫➞❶❥③❊❭✘⑨➀t✇♥Õ③❑➑

❸✓③❊❭q⑩❬♦❥❦✉⑨➀❦♠t✇③❑♥✣t✇✐❝⑨✺❶❬t✇✐♠➢✼③➀➑✶r⑥⑨❑❶❥t✇♦➄✐
2
➟

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁
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⑧✤⑨❊❶❥t✇♦➄✐✕③➀➑✢❦♠r✉♦❬♥➄❸❪⑨✩❦♠t✇③❑♥✜æ ❿➄➟ ✗

λ/h

Lε,h

⑧❝⑨❑❶❥t✇♦➄✐✕③➀➑✌❦♠r✉♦❬♥➄❸❪⑨✩❦♠t✇③❑♥✜æ✧ü❑➟ÿ❾

λ/h

Lε,h

➠✌t✇➅❑♦➄r♠❫qü✑✡✴❊P➺❝❫❪⑩➒❫❪♥➄❶❥❫s♥➒❸✓❤✲➔✡t➝❦♠❨✮r✉❫❪✐♠⑩➒❫◗❸➜❦✕❦♠③q❦✉❨❬❫✪r⑥⑨❑❶❥t✇♦➄✐✯③➀➑✢❦♠r✉♦❬♥➄❸❪⑨✩❦♠♦➄r♠❫

î❜❛◗❰ ❞❢❡❤②➡②❑④➤②❯④↕♥❜✉❴❦➽❣✮❡❤❥✷⑧✫♦⑥✐➻✐✷②⑨⑧✴÷⑨❥✷♥✇➨
➵➱t➝❦♠❨➤❦♠❨➄❫✘⑩❬r♠❫❪➣❄t➝③❊♦➄✐❷r♠❫◗✐❧♦➄➓➭❦⑥✐s↔✌➔✴❫✼⑨❑r♠❫q♥❬③✩➔ ⑨➀↕❬➓✇❫✺❦♠③❂➅❊❫✓❦✰↕➄⑨❊❸⑥➢❂❦♠③✮❦✉❨❬❫✘➦➄r⑥✐⑤❦✰♥❄♦❬❭q❫❪r♠t➡❸s⑨❑➓②✐♠❸⑥❨❬❫❪❭q❫✮➾ í ➟✇ü◗➪❷⑨❑♥➄❶
❦♠❨➄❫s♥➞⑩➄r♠③✩➣❊❫✪❦♠❨➄⑨➀❦➂t➝❦✰✐❧♦❬➯■❫❪r✉✐❝➑➛r♠③❊❭✂r♠❫◗⑨➀➓✢♥❚♦➄❭✺❫❪r♠t➡❸s⑨❑➓✌➓✇③❥❸⑥➢❄t➝♥❬➅➒➟✪➠❬③❑r❛❦♠❨➄t✇✐➂⑩❬♦❬r✉⑩■③❊✐♠❫❑↔❲➔✴❫✺✐⑤❦⑥⑨➀r♠❦❛❫s➐❄⑩➄r♠❫◗✐♠✐♠t➝♥➄➅✼❦♠❨➄❫
③❑r⑥❶❥❫❪r✯③❑➑✌❭✘⑨➀➅❊♥❬t➝❦♠♦➄❶❥❫➂③➀➑✌❦♠❨❬❫✰Ñ✌⑨➀➅❊r✉⑨❑♥❬➅❑❫✤❭☞♦❬➓➝❦♠t✇⑩❬➓➝t✇❫sr✕❦✉❨➄⑨✩❦✤t➡✐✕⑩➄⑨❑r❧❦✕③➀➑✌❦♠❨❬❫✪✐♠③❑➓✇♦❥❦♠t✇③❑♥✣③➀➑✌❦♠❨❬❫✪❶❥t➡✐♠❸sr♠❫s❦♠❫❷⑩❬r✉③❑↕❬➓✇❫s❭
➾➛➃➒➟➝ü◗➪➜➟
➁→➹ ❮➫❮➩➋◆û ❷❚✙
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é✪ã☎ì✉ê➀ß❬é➜à➏ã✩ß➄à

κ > 0
ç➚ß■á❑Þ➈❻➄Þ✓ß❲á❑Þsß➄à✡ê◆❽

ε
ã✩ß❲á

h
é⑥Û➄ì ❹ à ❹ ã➀à

|p̆ε,h| >
κ

ln 1/ε

➔ ➊ ➬✵➬✞✝ ➍ ➵➥❫✰✐⑤❦⑥⑨➀r♠❦✯➑➛r✉③❑❭✂×✴③❑r✉③❑➓✇➓✇⑨❑r♠❤q➃➄➟ÿ❾❄➟ ✬ ❸❪❸✓③❑r⑥❶❥t✇♥❬➅✺❦♠③✺❦♠❨➄❫✰⑨❑✐✉✐❧♦❬❭q⑩❥❦✉t➝③❊♥➄✐⑨★ ï ↔✛★ ô ⑨➀♥➄❶✪★ ✁ ↔➄➔✴❫❷❨➄⑨❼➣❊❫

√
ln 1/ε ( ε1/2 + h ) = ◦

( 1

ln 1/ε

) ➔✡❨➄❫s♥
h→ 0.

❜❂③❊r♠❫❪③✩➣❑❫sr◗↔✯③❑♥➱❦✉❨❬❫➞↕➄⑨❊✐❧t➡✐✼③❑➑❷❦♠❨❬❫➥r♠❫◗✐❧♦➄➓➭❦⑥✐✼③➀➑Ü❋ í ❍❍↔✤➔✯❫➞❸s⑨❑♥ø⑩❬r✉③✩➣❑❫✮❦♠❨➒⑨✩❦✲❦✉❨❬❫sr✉❫◆❫s➐❄t➡✐❧❦✉✐
κ > 0

✐♠♦➄❸⑥❨➱❦✉❨➄⑨✩❦
|p̆ε| > κ

ln 1/ε

➟②➠✢t✇♥➄⑨➀➓✇➓✇❤✲❸✓③❊r♠③❊➓➝➓➡⑨➀r✉❤q➃➄➟ÿ❾☞✐♠❨❬③✩➔✤✐✴❦♠❨➒⑨✩❦✡❦♠❨➄❫✰✐♠⑨❑❭✺❫❷r✉❫❪✐♠♦❬➓➝❦✕❨➄③❑➓➡❶❬✐✯➑➛③❑r
p̆ε,h ➟

❴✤③✩➔þ➔✴❫✪✐❧❦✉⑨➀❦♠❫❷❦♠❨➄❫✪r♠❫◗✐❧♦❬➓➝❦✡③➀➑✢♥❚♦➄❭✺❫❪r♠t➡❸s⑨❑➓➧➓➝③❥❸⑥➢❄t✇♥❬➅➄➟
➔ ➊ ➬ ù ➬ ➈◗ò➛➉◗ò ➬ ñ û ❷➲ï
ú Û✑❻✣❻❬ê✩ésÞ

uε,h
l

ç➡é✯à ❹ Þ✕é✓ê➀ä Û❥à❈ç➲ê✩ß☎ê✷❽❘❻❲å♠ê❑ësä➝ÞsÝ➏û➈ü❊è❚ý✽þ ❾ ❹ Þ✓å✉Þ✉ã✩é uε,h
ç➡é✯à ❹ Þ✕ésê✩ä➭Û❥à❯ç➲ê➀ß✲ê◆❽✮❻■å♠ê❊ë✓ä✇Þ✓Ý➾û➓ÿ■è❚ý❄þ➀è✁�✯å♠ê■➊◗ç➲á❑Þ⑥á

à ❹ ã✩à②ã✩é✉é➜Û❥Ý✇❻■à❈ç➲ê✩ß➄é♣Ù➉Û⑩➋✌Ù✜Ý➞ã✩å✉Þ♣Ù✄✂❂ã➀å♠Þ➙➊✩Þ✓å➜ç ➅✯Þ✉á■➋✢à ❹ Þså♠Þ✪Þ➇❺❊ç➡é⑥à❯é
κ > 0

ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à→ê✷❽
ε
ã➀ß■á

h
é➜Û➄ì ❹ à ❹ ã✩à

‖uε − uε,h
l

‖H1(ΩR) >
κ

ln 1/ε

➔ ➊ ➬✵➬✞✝ ➍
❢❚❦✉r✉⑨❑t➝➅❊❨❊❦♠➑➛③❑r✉➔✯⑨❑r✉❶❬➓➝❤❊↔

‖uε − uε,h
l

‖H1(ΩR) > ‖uε − uε,h
l

‖H1(ΩR) − ‖uε − uε,h‖H1(ΩR)

> inf
vh∈V h

‖uε − vh‖H1(ΩR) − ‖uε − uε,h‖H1(ΩR)

> |pε,h
s | inf

vh∈V h
‖ψε − vh‖H1(ΩR) − ‖uε − uε,h‖H1(ΩR).

❖◗P✌✭❘❖❚❙



Ú❛Û❑Ü❑ÝqÞsß➄à➏Þ⑥á✮â✤ã✩ä➝Þså♠æ✩ç➚ß➳è◗è❪è✓é➜Ýqã➀ä➚ä✢ê❑ë✓é➜à❍ã❊ì✓ä✇Þ➜é ➃ í

✬ ❸s❸s③❑r⑥❶❥t✇♥❬➅✪❦♠③qÑ✵❫❪❭q❭q⑨●✡❥➟ÿ❾❄↔❚❦♠❨➄❫sr✉❫❛❫s➐❄t➡✐❧❦✉✐
κ2 > 0

✐♠♦➄❸⑥❨✘❦✉❨➄⑨✩❦
infvh∈V h ‖ψε − vh‖H1(ΩR) > κ2

➟P❜❂③❑r✉❫s③✩➣❊❫sr
⑨❑❸❪❸✓③❊r✉❶❥t✇♥❬➅✲❦♠③✮❸✓③❑r✉③❑➓✇➓➡⑨➀r✉❤☎➃➒➟➝ü➀↔❲❦✉❨❬❫sr✉❫q❫✓➐❥t➡✐⑤❦⑥✐

κ3 > 0
✐♠♦➄❸⑥❨➞❦♠❨➄⑨➀❦ ‖uε − uε,h‖H1(ΩR) 6 κ3

√
ln 1/ε (ε1/2 +

h) ( → 0).
❳✕❨❄♦➄✐✕➔✯❫✰❸s⑨❑♥☎➔✡r✉t➝❦♠❫

‖uε − uε,h
l

‖H1(ΩR) > |pε,h
s

| κ2 − κ3

√
ln 1/ε (ε1/2 + h).

❵❝✐♠t✇♥❬➅✤❦✉❨❬❫→r✉❫❪✐♠♦❬➓➝❦❆③➀➑➄Ñ❆❫s❭q❭✘⑨♣✤❬➟➣✡✡⑨➀↕■③✩➣❑❫②⑨❑♥➄❶❷❦✉❨❬❫②➑➲⑨❊❸➜❦❆❦✉❨➄⑨✩❦ √
ln 1/ε ( ε1/2 + h ) = ◦

(
1

ln 1/ε

) ➔✡❨❬❫❪♥
h→ 0

↔
➔✯❫➂③❊↕❥❦✉⑨❑t➝♥☎❦♠❨➄❫✰❶❥❫❪✐♠t➝r✉❫❪❶☎r✉❫❪✐♠♦❬➓➭❦◗➟

� �✰❩✪❩➻✞✡✠✣✍☎✗ ❳

☎ ❛✷❝ ➺➀❥◆①✴t⑩⑧✛➥♣❣➀♦q♥❴➎ ➌❜⑧✛➥♣♦✌①✓➫✝✆❴①✴➥✇❣❘②❯❡✴❣✮❦
➎➏♥❂❦✉❨❬t✇✐➂⑨➀⑩➄⑩➒❫❪♥➄❶❥t➝➐❲↔❲➔✯❫✰r✉❫❪❸s⑨❑➓➝➓✢⑨✘r✉❫❪✐♠♦❬➓➭❦➂⑩❬r✉③✩➣❑❫❪❶✣↕❄❤✮❴✤t➝❦✉✐✉❸⑥❨❬❫☞⑨❑♥➄❶➞❢❥❸⑥❨➄⑨➀❦♠➽❪❫✪❦♠❨➄⑨➀❦➂⑨❑➓➝➓✇③✩➔✤✐✕❦♠③☎③❑↕❥❦⑥⑨➀t✇♥❂t➝♥❚❦✉❫sr✉t➝③❊r
❫❪✐❧❦♠t✇❭✘⑨✩❦✉❫❪✐✢➑➛③❑r②➦➄♥❬t➝❦♠❫✡❫s➓✇❫s❭q❫❪♥❊❦⑥✐P✐♠❸⑥❨➄❫s❭q❫❪✐❪➟✌➵➥❫✡➔✡t✇➓➝➓➄✐❧❦✉⑨➀❦♠❫✯❦♠❨➄t✇✐Pr✉❫❪✐♠♦❬➓➝❦②t➝♥✘⑨❷✐♠t➝❭q⑩❬➓✇t➭➦➒❫❪❶☞➑➛③❑r✉❭➸❊❆➔✯❫✡③❑♥❬➓✇❤✰➅❑t✇➣❑❫✕t✇♥
❦♠❨➄t✇✐②❦♠❨❬❫❪③❑r✉❫s❭ ➔✡❨➒⑨✩❦✴❸❪⑨➀♥q↕➒❫➂⑨➀⑩❬⑩➄➓➝t✇❫❪❶☞❦♠③☞Ñ❆⑨➀➅❊r✉⑨❑♥❬➅❑❫✴➦➄♥❬t➝❦♠❫❝❫s➓✇❫s❭q❫s♥❚❦✉✐→t➝♥q❦⑤➔✯③✰❶❥t✇❭q❫s♥➄✐♠t➝③❊♥➄✐✶➑➛③❊r②❦♠❨➄❫❝➨✤❫❪➓➝❭q❨❬③❊➓➭❦✉➽
⑩❬r✉③❑↕❬➓✇❫s❭✮➟P❳✕❨❬t➡✐✕❦♠❨➄❫s③❑r✉❫s❭✫t✇✐✡❶❥❫◗✐♠❸sr♠t✇↕■❫❪❶✣➔✡t➭❦✉❨✮❭✺③❊r♠❫❷❶❥❫s❦✉⑨➀t✇➓➡✐✡t➝♥➉❋✇ü❑ü✹❍❍➟
✦✧✟ ➹❄➬ ➊ ➹ ❮✸➆ ❷❯ï û✟✞✡✠☞☛✍✌✏✎✏✑✓✒✕✔✗✖✙✘✛✚✝✎✜✑✓✔✢☛✤✣✠þ
❂ ê✩ß➄é⑥ç➲á❊Þ✓å

Ω0 ⊂⊂ Ω1 ⊂⊂ R2
➋
u ∈ Hq(Ω1)

➋
uh ∈ V h

û ❾ ç➚à ❹ V h = Pq
ê➀å

Qq
þ❑è ú Û✑❻✥❻➄ê❼ésÞ✺ã✩äÿésê✲à ❹ ã✩à

a(u− uh, v
h) = 0

❽✓ê✩å☞ã➀ß❤❃
vh ∈ V h ésè✇à✸é➜Û✑❻✥❻

vh ⊂ Ω1

❸✫❹ Þsß➞à ❹ Þså♠Þ✺Þ❧❺❊ç➡é➜à➲é
0 < h1 < 1

ã✩ß❲á
κ > 0

é➜Û➄ì ❹ à ❹ ã➀à✞❽✓ê➀å☞ã✩ß✛❃
h ∈]0, h1]

➋

‖u− uh‖H1(Ω0) 6 κ
(
hq−1‖u‖Hq(Ω1) + ‖u− uh‖H−p(Ω1)

)

‖u− uh‖L2(Ω0) 6 κ
(
hq‖u‖Hq(Ω1) + ‖u− uh‖H−p(Ω1)

)

☎ ❛➆❵ ø❆❣✮⑧❤➥❴♥✇❥✷⑧✫♦⑥✐➟❡✴❣✮t✈✉✇✐◆①ô②❯④⑤➨❑❣❘②❑❦♠❣❏①✓❡✓r
➁→➹ ❮➫❮➩➋❂➆ ❷➲ï
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
é➜Û➄ì ❹ à ❹ ã✩à ‖∂V

ε
0

∂n
‖L∞(Γε) 6

κ

ε

è

➔ ➊ ➬✵➬✞✝ ➍
❵❝✐♠♦➄⑨❑➓✌❸s⑨❑➓✇❸s♦❬➓✇♦➄✐❝③❑➑②➅❑❫❪③❑❭q❫✓❦✉r♠❤✣❤❄t➝❫❪➓✇❶❬✐❝❦♠❨➄❫✺✐♠♦❬r♠➑➲⑨❑❸✓❫✝❭✺❫◗⑨❑✐♠♦❬r✉❫✰③❑♥

Γε : ε (γ2 + (∂γ
∂θ )2)1/2 = εσ(θ)

↔✵⑨➀♥➄❶
❦♠❨➄❫✪❫✓➐❥⑩❬r✉❫❪✐✉✐❧t✇③❑♥☎③➀➑✌t➝❦✉✐✤♥❬③❑r✉❭✘⑨➀➓➧➣❑❫◗❸➜❦✉③❑r✯➦➄❫s➓➡❶

n = nr
∂

∂r
+ nθ

∂

∂θ

➔✡t➭❦✉❨
nr =

γ

(γ2 + (∂γ
∂θ )2)1/2

❫s❦
nθ =

−∂γ
∂θ

(γ2 + (∂γ
∂θ )2)1/2

.

➠❬r✉③❑❭✧❦♠❨❬t➡✐✡➔✯❫➂t✇❭q❭q❫❪❶❥t➡⑨✩❦✉❫s➓✇❤☎❶❥❫◗❶❥♦➄❸✓❫

∂V ε
0

∂n
(x) =

1

σ

(
γ
∂V ε

0

∂r
(x) − ∂γ

∂θ

∂V ε
0

∂θ
(x)

)
=

1

ε

1

σ

(
γ
∂V0

∂r
(
x

ε
) − ∂γ

∂θ

∂V0

∂θ
(
x

ε
)
)

x ∈ Γε (
t❯➟ ❫ x

ε
∈ Γ)

✬ ✐✡❦♠❨❬❫❪r♠❫❷❫✓➐❥t➡✐⑤❦⑥✐
κ > 0

t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫❪♥❊❦❛③➀➑
θ
✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

κ < σ(θ) < 1/κ
↔❥➔✯❫➂③❊↕❥❦✉⑨❑t➝♥✮⑨

κ > 0
t✇♥➄❶❥❫❪⑩➒❫❪♥➄❶❥❫❪♥❊❦

③➀➑
ε
✐♠♦➄❸⑥❨☎❦♠❨➄⑨➀❦

‖∂V
ε
0

∂n
‖L∞(Γε) 6

κ

ε
‖∂V0

∂n
‖L∞(Γ)

➔✡❨❬t➡❸⑥❨✲➦➒♥❬t✇✐♠❨✣❦♠❨❬❫✪⑩➄r♠③❄③➀➑✶✐❧t✇♥➄❸s❫
V0 ∈ C∞(ΩN )

➟

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁
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☎ ❛➆➠ ø❆❣✮⑧❤➥❴♥✇❥✷⑧✫♦⑥✐➟❣✮t✣①✴❥✷❦♠♦✌①✈❣
➁→➹ ❮➫❮➩➋❂➆ ❷➡ô
❸✫❹ Þså♠ÞqÞ❧❺❊ç➡é➜à❯é

κ > 0
ç➚ß■á❊Þ❼❻➄Þsß■á❑Þsß➄à✡ê◆❽

ε
é➜Û➄ì ❹ à ❹ ã✩à

∥∥∥χ0(x)(1 − χε
1/2(x))

(
4V ε

0 (x) −
( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
))∥∥∥

H1(ΩR)
6 κ ε1/2

➔ ➊ ➬✵➬✞✝ ➍
➠❬③❊r

ε
✐♠❭✘⑨➀➓✇➓❆❫❪♥❬③❑♦❬➅❊❨❂⑨➀♥➄❶☎➑➛③❑r |x| > √

ε/2
↔
V ε

0

⑨❑❶❥❭qt➝❦✉✐❛⑨➀♥❂❫✓➐❥⑩➄⑨❑♥➄✐♠t➝③❊♥☎③❑➑✢❦✉❨❬❫✪➑➛③❊➓➝➓✇③✩➔✡t➝♥➄➅q➑➛③❑r✉❭ ➾
r
⑨❑♥➄❶

θ
↕➒❫❪t➝♥➄➅q❦♠❨❬❫✪⑩■③❑➓➡⑨➀r✡❸✓③❄③❊r✉❶❥t✇♥➄⑨➀❦♠❫❪✐✕⑨❊✐♠✐♠③❥❸✓t➡⑨✩❦♠❫◗❶✼➔✡t➝❦♠❨

x
➪✹❊

4V ε
0 (x) −

( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
)

=
∑

|p|>1

V0,p
ε|p|

r|p|
eipθ.

❳✕❨❬❫❪♥
∥∥∥χ0(x)(1 − χε

1/2(x))(x)

(
4V ε

0 (x) −
(

2
πJ0,0 ln |x|

ε + Y0,0 + l10(V0)
))∥∥∥

2

H1(ΩR)

6 κ
∑

|p|>1

(1 + p2) |V0,p|2 ε2|p|
∥∥∥

1 − χε
1/2

r|p|

∥∥∥
2

H1(ΩR)
.

✬ ✐♠❨❬③❑r♠❦✤❸s⑨➀➓➡❸✓♦➄➓➝♦➄✐✡✐♠❨❬③✩➔✤✐✴❦♠❨➒⑨✩❦

ε2|p|
∥∥∥1−χε

1/2

r|p|

∥∥∥
2

H1(ΩR)
6 κε2|p|

∫ R√
ε/2

dr
r2|p|−1 + κ ε2|p|−1

∫ √
ε√
ε/2

dr
r2|p|−1 + κ p2 ε2|p|

∫ R√
ε/2

dr
r2|p|+1

6 κ ε

✬ ✐✡❦♠❨❬❫✰✐♠❫sr✉t➝❫◗✐ ∑
|p|>1(1 + p2) |V0,p|2

❸✓③❊♥❄➣❑❫sr✉➅❑❫◗✐→⑨❑↕➄✐❧③❊➓➝♦❬❦♠❫s➓✇❤❑↔❥➔✯❫✪➅❑❫s❦✕❦♠❨❬❫✪r✉❫❪✐♠♦❬➓➝❦✕③❑➑✌❦✉❨❬t➡✐✕➓➝❫❪❭✺❭✘⑨➄➟

➁→➹ ❮➫❮➩➋❂➆ ❷➛✁
�✯å♠ê✲➊❪ç➲á❊Þ⑥áqà ❹ ã✩à

V h
ç➡é❷ã✩ß◆ã✻❻✥❻■å✉ê❄❺❊ç➚Ýqã➀à❯ç➲ê➀ß❂é➵❻❬ã❊ì⑥Þ✰ã❼é⑥ésê❪ìsç➲ã✩à➏Þ⑥á ❾ ç➚à ❹ ➅②ß➄ç➚à➏Þ✪Þsä➝Þ✓Ý✘Þsß➄à❯é➂ê◆❽❷ê✩å♠á❊Þ✓å

q
➋✶à ❹ Þ✓å♠Þ✪Þ➇❺❊ç➡é➜à➲é

κ > 0
ç➚ß■á❊Þ❼❻➄Þ✓ß❲á❑Þsß➄à✡ê◆❽

ε
ã✩ß❲á

h
é➜Û➄ì ❹ à ❹ ã✩à

inf
wh∈V h

‖ũε − −π
2 u0(0)

ln ε− λ0
ψ̃ε − wh‖H1(ΩR) 6 κ (ε1/2 + hq)

➔ ➊ ➬✵➬✞✝ ➍
➵➥❫➂r✉❫❪❸❪⑨➀➓✇➓❲❦♠❨❬❫✪❫s➐❥⑩❬r♠❫◗✐♠✐♠t✇③❑♥✲③❑➑

uε ↔

ũε(x) = (1 − χε
1/2(x))

(
u0(x) +

−π
2 u0(0)

ln ε− λ0
v0(x)

)
+ χε

1/2(x)
−π

2 u0(0)

ln ε− λ0
V ε

0 (x)1ΩR\Ω̄i
ε
(x)

= (1 − χε
1/2(x))

(
u0(x) − u0(0) +

−π
2 u0(0)

ln ε− λ0

(
v0(x) +

2

π
(ln 1/ε+ λ0)

))

+ χε
1/2(x)

−π
2 u0(0)

ln ε− λ0
V ε

0 (x)1ΩR\Ω̄i
ε
(x)

❴✤③❑❦♠❫❷❦✉❨➄⑨✩❦

v0(x) = Y0(k|x|) + L1
0(v0)J0(k|x|) = Ỹ0(k|x|) +

2

π
J0(k|x|) ln |x| + L1

0(v0)J0(k|x|)

= Ỹ0(k|x|) + L1
0(v0)J0(k|x|) +

2

π

(
J0(k|x|) − 1

)
ln |x| + 2

π
ln |x|

❖◗P✌✭❘❖❚❙
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v0(x) + 2
π (ln 1/ε+ λ0) =

(
Ỹ0(k|x|) − Y0,0

)
+ L1

0(v0)
(
J0(k|x|) − 1

)

+
2

π

(
J0(k|x|) − 1

)
ln |x| + 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)

ũε(x) = (1 − χε
1/2(x))

(
u0(x) − u0(0)

)
+ (1 − χε

1/2(x))
−π

2 u0(0)

ln ε− λ0

(
Ỹ0(k|x|) − Y0,0

)

+(1 − χε
1/2(x))

−π
2 u0(0)

ln ε− λ0

(
L1

0(v0)
(
J0(k|x|) − 1

)
+

2

π

(
J0(k|x|) − 1

)
ln |x|

)

+ (1 − χε
1/2(x))

−π
2 u0(0)

ln ε− λ0

( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
)

+χε
1/2(x)

−π
2 u0(0)

ln ε− λ0
V ε

0 (x)1ΩR\Ω̄i
ε
(x)

= (1 − χε
1/2(x))

(
u0(x) − u0(0)

)
+ (1 − χε

1/2(x))
−π

2 u0(0)

ln ε− λ0

(
Ỹ0(k|x|) − Y0,0

)

+(1 − χε
1/2(x))

−π
2 u0(0)

ln ε− λ0

(
L1

0(v0)
(
J0(k|x|) − 1

)
+

2

π

(
J0(k|x|) − 1

)
ln |x|

)

+ 1ΩR\Ω̄i
ε
(x)

−π
2 u0(0)

ln ε− λ0

( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
)

+ χε
1/2(x)1ΩR\Ω̄i

ε
(x)

−π
2 u0(0)

ln ε− λ0

(
V ε

0 (x) −
( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
))

❴✤③❑❦♠❫✴❦♠❨➄⑨➀❦✶❦♠❨❬❫✯➓✇⑨❊✐⑤❦✢❦♠❨➄r♠❫❪❫→❦✉❫sr✉❭q✐✢③❑➑❬❦♠❨❬❫✯⑩❬r✉❫❪❸s❫❪❶❥t✇♥❬➅❷✐❧♦❬❭ ❭✘⑨➀❦✉❸⑥❨✰❦✉❨❬❫✕❶❥❫✓➦➄♥➄t➭❦✉t➝③❊♥☞③❑➑
ψ̃ε

ad

✐❧③❷⑨❝✐♠t➝❭q⑩❬➓✇❫✡❸s⑨❑➓✇❸s♦❬➓➝♦➒✐
✐♠❨❬③✩➔✤✐✴❦♠❨➄⑨➀❦

ũε(x) − −π
2 u0(0)

ln ε− λ0
ψ̃ε(x)

= (1 − χε
1/2(x))

(
u0(x) − u0(0)

)

︸ ︷︷ ︸
= T ε

1 (x)

+ (1 − χε
1/2(x))

−π
2 u0(0)

ln ε− λ0

(
Ỹ0(k|x|) − Y0,0

)

︸ ︷︷ ︸
= T ε

2 (x)

+ (1 − χε
1/2(x))

−π
2 u0(0)

ln ε− λ0
L1

0(v0)
(
J0(k|x|) − 1

)

︸ ︷︷ ︸
= T ε

3 (x)

+ (1 − χ0(x))
−π

2 u0(0)

ln ε− λ0

2

π

(
J0(k|x|) − 1

)
ln |x|

︸ ︷︷ ︸
= T ε

4 (x)

+ (1 − χ0(x))
−π

2 u0(0)

ln ε− λ0

( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
)

︸ ︷︷ ︸
= T ε

5 (x)

➵➥❫✪➔✡t➝➓✇➓➧➦➄♥➄⑨❑➓➝➓✇❤✼⑩❬r✉③✩➣❄t✇❶❬❫➂⑨❑♥✣♦➄⑩❬⑩➒❫❪r✡↕➒③❊♦❬♥➄❶☎➑➛③❑r✡❫◗⑨❑❸⑥❨✣③➀➑✢❦♠❨❬❫❷❦✉❫sr✉❭✘✐
T ε

i

♦➄✐♠t✇♥❬➅✼❢❚❦♠r⑥⑨➀♥❬➅q➓✇❫s❭q❭✘⑨❬➟

• õ ➈❪➉❪ò❯❮➫➋❥➉❪ò ➬ ñ ➬✛✝ ‖T ε
1 − wh‖H1(ΩR)

inf
wh∈V h

e

‖T ε
1 − wh‖H1(ΩR) 6 inf

wh∈V h
e

‖u0 − u0(0) − wh‖H1(ΩR) + ‖χε
1/2 (u0 − u0(0))‖H1(ΩR)

6 κ (hq + ε1/2 ).

✭✮✭✰✯✲✱✴✳✑✵✷✶✹✸✻✺✽✼✹✾✽✿✻❀✹❁
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• õ ➈❪➉❪ò❯❮➫➋❥➉❪ò ➬ ñ ➬✛✝ ‖T ε
2 − wh‖H1(ΩR)

inf
wh∈V h

e

‖T ε
2 − wh‖H1(ΩR) 6

κ

ln 1/ε

(
inf

wh∈V h
e

‖Ỹ0(k| · |) − Y0,0 − wh‖H1(ΩR)

+‖χε
1/2 (Ỹ0(k| · |) − Y0,0)‖H1(ΩR)

)

6
κ

ln 1/ε
(hq + ε1/2 )

• õ ➈❪➉❪ò❯❮➫➋❥➉❪ò ➬ ñ ➬✛✝ ‖T ε
3 − wh‖H1(ΩR)

inf
wh∈V h

e

‖T ε
3 − wh‖H1(ΩR) 6

κ

ln 1/ε

(
inf

wh∈V h
e

‖J0(k| · |) − 1 − wh‖H1(ΩR)

+‖χε
1/2 (J0(k| · |) − 1)‖H1(ΩR)

)

6
κ

ln 1/ε
(hq + ε1/2 )

• õ ➈❪➉❪ò❯❮➫➋❥➉❪ò ➬ ñ ➬✛✝ ‖T ε
4 − wh‖H1(ΩR)

inf
wh∈V h

e

‖T ε
4 − wh‖H1(ΩR)6

κ

ln 1/ε
inf

wh∈V h
e

‖(1 − χ0(x))(J0(k|x|) − 1) ln |x| − wh‖H1(ΩR)

6
κ

ln 1/ε
hq

• õ ➈❪➉❪ò❯❮➫➋❥➉❪ò ➬ ñ ➬✛✝ ‖T ε
5 − wh‖H1(ΩR)

inf
wh∈V h

e

‖T ε
4 − wh‖H1(ΩR)

6
κ

ln 1/ε
inf

wh∈V h
e

‖(1 − χ0(x))
( 2

π
J0,0 ln

|x|
ε

+ Y0,0 + l10(V0)
)
− wh‖H1(ΩR)

6 κhq

⑨➀♥➒❶✼❦✉❨❬❫✪➓➝❫❪❭q❭q⑨✺t➡✐✡⑩❬r✉③✩➣❑❫◗❶➧↔❥✐❧t✇♥➄❸✓❫

inf
wh∈V h

‖T ε
1 + T ε

2 + T ε
3 + T ε

4 + T ε
5 − wh‖H1(ΩR) 6

inf
wh∈V h

‖T ε
1 − wh‖H1(ΩR) + inf

wh∈V h
‖T ε

2 − wh‖H1(ΩR)

+ inf
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wh∈V h
‖T ε

4 − wh‖H1(ΩR) + inf
wh∈V h
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5 − wh‖H1(ΩR)
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